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FHNSHLD

1. @m FTHHe WEEeT OHTend 32,000. Seuisefsd 40% Gui yeismst, 25%
Cuir Quemidsell WBHD 2 _6TGenTi @WPHMBH6IT. YPHC6U HEH6IT LOBEHBILD
G WRHMBHH6MI6  sTemTenibend WGl ?

allemL : yewrdeir = 12800 Buir, @wbewdHHer = 11200 Bui

ellenésd :

eWis6iT 32000 60 40% = (32000 * 40 ) / 100

= 12800 Gui

Gbmaser Foaisn (100% - 40% - 25% ) = 35%
GbmeseT 32000 v 35% = (32000 * 35) / 100

= 11200 Gui

2. edlwmder 1ors eigorend RS.12000. seur CFuis@d Gatens RS. 1200.
Slaufleit GFAIy BEpID CFevelen FHeIHID HTEWIS.

allemL : 10%, 90%

ellenésd :

GFfllly = 12000 &@ 1200

100 &@ = (1200 * 100) / 12000

Cxilliy FmHeisd = 10%

QFevey FHaimd = 100 % - GFOI FHaismbD
=100 % - 10 %

QFevey FmHaimd = 90%

3. @m WHeuswnguier ellensv a5.1500 etaiipl GMSSLILIL BeiTengl. QHemen ch.135085E
QBBIeL, H6iTEPLIY FHAIHLD 61656 ?

allemL : 10%

allen&asLD :

G&¥lHH elemev = ap.1500,
alBusnen ellensv= ¢p.1350
Hoitenpuy = .ol - al.el.
= 1500 - 1350 = m.150

.15006&S SHeienuy = @5.150
etenGeu, .1006&S SHeimepuy = (150 / 1500) * 100
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Hoiepuy FoHeisw = 10%

4. A W eugpomend B uledr sugpomensensell. 25% oiFHHD eteiev B ufledr

auLomed A wiell eubLOTATISHnGHENL  6l6laleNe] & 6nmey?
el : 20% @emmey

allenébaLD :

R =25%
(R/(R+100))*100) %
=((25/(25+100))*100) %
=((25/125)*100) %

U5Ce B ulenr eugpomemd A ullelr eugonaihemnsail 20% Genme] YPGLD.

5. 240 emw ofl. 15% @enmeumen 616w SHT6wISb.
ellenL : 204

ellenésd :

=240* (15/100)

240 6 15% = 36

240 emw il 15% @emmeuren etewt = 240 - 36
240 emwl ofl. 15% @emmeumenr elewi — 204

6. 7500 w&H6T OFHTMH OHBTEWIL HTMDHHE0L LIgdHHeauisst 47% erellsd
LIQ&HEBTHEUTH6IT  6TwIenllbend 615360601 7

allemL : 3975 Gui

allen&asLD :

7500 60 47% = 7500 * (47 / 100)
UighHHeuiseflen eramreniidbensd = 3525 Guir
LIgsETHeTH6eMe slewtenideanad = 7500 - 3525
LgsETHeTHeMe clemieniibanad = 3975 Guir

7. OFetiB Yewi® G 6l Liflen eilensv 5.34,000. Qbs UG DHeh elenev
25% mBHOTSABH. DiBInBHL OBHTEMSHWD, GCOTHSH OCHTENHENMUWIUID HTEISH.

ofledL : 5. 8500, @p. 42500
ellendbslD
CFeiiB eWIh @R oVFLLflei allemev = 5.34,000
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am@BHooren ellemev (FHaibHdlev) = 25%

= 34000 * (25 / 100)

=340 * 25

Fa[BHevTen ellenev = ep. 8500

eogal Lflel Qords elemed = CFaim il ¢wm e0dml Ll efleneo + FnBHeomer
allensv

= 34000 + 8500

eognl Lflel Qomshs ellensv = ap. 42500

8. @m au@Luenpuisd 2 eieneuiseiied 20% Buir @euGeuTmaUfl(pD 2 HmiwsiT
emeudhgleienent. SiHIGUTeL, 40% Buir @euCeuTHEUFIL(pID 3 HMTEH6T EMEUHSBICTEEI .
G (peiTeeNiBeil QHeIMGBES @M ST eiHlD emeudgisinenen. PsHCe @ St
LB eneudbGleienauiseilen FHelHhHHlenais HTewb.

allewL : 48%

ellenésd :

Owrsge puisellen eeenlldensenus 100 eled GEBTeTGaUTLD.

2 FMiE6 WL B emeudhdieienauisefls elewienfldens = 20 Guir

3 ®mimsil WL meudhgleiemeuiserlei erevirenilbend 80 60 40%

80 * (40/100)

32 Gui

U566, @@ &M B> eweubHS isieneuiseen eremienibens = 100 - ( 20 + 32)
=100 - 52

=48 Gur

U561, @ &M WLGCW emeubHglsitenauiseaien Feaisd = 48%

9. @@ GuTmemsn ¢5.100 &G oummhid), @h.125 &G aIBBITL UTL FHONHLD 6l6u6eu66)?
el : 25%

allen&aID :

alBpelensy = @5.125

sl eflensd = 5.100

ool FHeispd = ( eomud / eumEidlw eflensv ) * 100
eomud = elBpelleney - eummidSlw 6llenev
=125-100

= . 25

eotu #seisd = (25/100) * 100
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oot FFHeisd = 25%

10. @@m FITOHHl6n WHH6M CBHTend YPMOLTHBISEG 7% aisb H b MBI
QUOUTIE WwEHeT OFHTemad 90,000 61afled 2 YMIBHEHSGL LUBG DiSHIMLOH S 60
LO&HH6T OHTN® 6IIaeUTd: RNHEBHGLD?

ellenL : 103041

ellenébaBID :

SBeuTeHW EH6T OFHTensd Q = 90,000, G eldsd I = 7%
n =2 <Ymibase.

@renip UemiBGHemed st QpTens =P (1 + (r/100))"
=90000 (1 + (7/100))?

= 90000 ( 107 / 100 )?

= 90000 * (107/100)*(107/100)

= 103041

Qrewip YIBHBEHES LB Db SHImosdHlen weEsl 0Hrend = 103041
11. 70 Gui O@&mewiL eu@GLlsd, 60% LoTemIeNTH6IT 6IcM6D, LOTGmI6, LOT6uI6EH 660
6T6U0T60N N BEMUID BT 6T0TE.

allemL : 28

ellenébaHID :

Qrggs BUissT = 70

LomemTelT 66 elamienlidbensd = 70 @6v 60%

=(60/100) * 70

= 42

LOTEWIEUT H6M6T  6TemIemlbend = 42

LoTewiellaelen eTemTenilbensd = GIOTHS LOTERIGUTH6IT - LOTEwT6UT 616  6T60016001 &M B
=70-42

=28

oremrelldseflen erewienlidonad — 28
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12. @ 2 Ceourads seveneuullsd 30% gmblyo, 40% HIGSHHTED, 153 HobH6e0
o eitengl. 20 &.& 2 _siten QbpH 2 Coordsd Heveweauuled HldsHelen jeney wWng?

allewL : 6 &.&8)

ellenésd :

QrHdy 2 Beunsds Hevenauuier emey = 20 &.&)

o Bourad Hovenalulled 2 esiten HMOFHHen ene] = 30%

=20*(30/100) = 6 &.8

o Beourad Hovenalulled 2 siten HIHHBIHHH6 leney = 40%

=20*(40/100) = 8 &.8

o Bourdds Hevemeuuled 2 sitenm Mbdellen ieey = Conshd 2 Ceonrsd HevmeUUl6T
oy - ( HNOFSBe Sieney + HHSHTHSD6 Dierey )
=20-(6+8)=20-14

o Bourdds Hevemeuuled 2 _sitenm MdbdHelle jeey = 6 &.&)

13. sallenld GWwHH60 BenLOubdB Chi(psd BFiellsd 1500 HUIISH6T H6vHE
Oarewi_emi. @60 12% puisenr GpHiey GFUILINILL L 6T 61afled, 61HHEMEM [BLITH6IT
Cxpiiey GauiwulLem? Goed sihHemed BUiEH6T CHiiey OGFUIWLILILLelebensy 6T6nd
SHIT61 .

el : 180, 1320

ellenésd :

semienfld GHUWHHe0 HOLOUBB CHipssdH CHialed HevbHH OCETERILauiHe =
1500 Gui

Cxpiey GEFuiwiul L puisefen elewienidmae = 12%

= 1500 * (12/100)

Coiey OFuILIILIL L BUTH6M6N clemienndensd = 180 Guit

Coiey QFUILINILILTS BUTH6E clemienibend = OOTSHEH HLITH6T6T eTewemibmns -
Coitey OEFUILILILIL L [BLITSH6IT6 6160016015608

= 1500 - 180

Coitey QFUILINILILTS BUTH6H6EN elemiemidemnd = 1320

14. @i gyemLuller eflensv ap. 2100 elmbBH hH. 2520 Y& JHSFEHS BB 6T6il6L,
FEFI FHAIHHMBH HNTEHIH.

ellenL : 20%

leNGHLID :
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W H6eVlev, yewLulledr ellensd = @p. 2100

SenLwer QUBUTensW eflensv = @p. 2520

alleneouied PO = 2520 - 2100

= . 420

SRR FHeipd = (SFBflHd OFTens | (WpHe OFHTens) * 100
=(420/2100) * 100

=0.2* 100

By Feeisd = 20%

15. Ueieu@pld 6bp HHeueLH6IT DHSFII] FHIHD HewL bd FABhd UfleutdHHemnen
UGD?

) SILEE eflemev = 36, @eomud = 17
Q) OLES eflensd = 50, Geomud = 24
®) oILss allensv = 40, @eomud = 19
F) olLés ellenev = 60, @eomud = 29

allenL : SILbBH allenev = 60, Georud = 29

ellenésd :

CaETRHEBLILLL IMNHH HHEULBEHHGWD VT FHMNHHBHENeN HMB D60
FED QmUUCH eallenL wWTGLD.

Beomu FHeisd = (Beomud / oILsHE eienev) / 100

ool FHaIHID CHETHHBILLL HBUOBHEHHE HMBHILLTL L b& eflenso = 60,
@eoTuD = 29 EIHIUGBEG LBBeNeUEmeT el SiFHENE oM FHIHLD
HenLSHGLD.

16. 5 : 20 elehiB GNBHHMSB FHNBHHBH6L LOTHBNS DIMDHS 616560 O]
SHenLBGLD.?

alenL : 25

allenéasLD :

5 : 20 o1l SHHMB FHNHHHL 5 6B 20 60 THHMN FHANHID 61Dl
GaB60MLD.

56eu, = (5/20) * 100

=5*5

=25
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17. @meui @wm SLBmIdw . 28.60 B@ euthisl, UBEG SibdH S Benyenul
.27.40 5@ 6elBBIL DUBMBESG GHBUBL [HOJL FHAHHMBH HTISD.

eflew : 4.19%

allenébaLd :

sl [Heoyule oiIbs elemev = ap. 28.60

alBs eflensd = ap. 27.40

QLD = SILHH alenev - aldp elemev

pegLlb = 28.60 - 27.40 = 5. 1.20

bodL FHeIHD = (baLd /| SILds elanev) * 100 %
=(1.20/ 28.60) * 100 %

bl FHaisd = 4.19%

18. (x -y) 60 50% - apib (X +y) 0 30% (pib FiowTGD. HHGe, Y B0 X -
Q1 FHIBHHIHMANDH  HTCUTH.

allemL : 25%

elleNb&ID :

(X -y)y; 50% = (x +y)y; 30%

(50/100) * (x - y) =(30/100) * (x + )

5*(X-y)=3*(x+y)

5x - By = 3x + 3y

5x - 3x =5y + 3y

2x = 8y

X = 8y/2

X =4y

Cxpemeuwimenr FHaisd = ( (y/X) * 100) % = ( (y/4y) * 100)% = 25%

19. @@ OGumbenoule oI &H& eallensv @5.56.50 WBEBID SIGLTDEMOUNET E60TLI
FHaiHd 25% aeafled, Db OGuTbenouien BB eallewevenuids HT6EwTS.

allewL : @5.70.63

allendbslD

Qumbenoulleir oIL&s eallewsd = @H.56.50
@eomu FHaisd = 25%

eolpp eflems = @5.56.50 &g (100 + 25)%
= (56.50 * (125/100)) = .70.625
Gumbenouleir el ellensv = 5.70.63



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

20. 242 60 12% eretiug 14.2 60 10% ersiiLengeil e6ieuene] DHHWD?
allewL. : 1.484
allenébaBID

= ((12/100) * 24.2 ) - ( (10/100) * 14.2)
=2.904 - 1.420 = 1.484

21. 15 e0LiT Sleneyeiteln Hewlewili OBEBID HLEVHABIEL YAHWIUBSET H6VEN6NUTED
20% <yevaaBTID, 158 SHamienimd 2 e6engl. LB, 3 LT HewmieniyTeng
SIBHVMENUTED HLBBLILBHMSEH 6Tafled LHul SHevenauuiled HeLBABTEIHT Si6TT6)
eTellaleN6) FHBHID SMHBESID?

allewL : 16.67

ellenésd :

evsamreder sene = (20/100) * 15 =3 &L Li

3 L sewienii GFisslLBEAmEH eleflsd YHw Sene = (15 + 3) = 18 e Lit
U&w sevenaluied yevsamreder oene = (3/18) = 1/6 = 0.16666

UHw sevenaluisd Sevsamrelsr e (FHalsHdHev) = 16.67%

22. A eaeiiueui Hiogl oTH eOTaISHemba 90% OCHTensenwiujd, B erereut
HH! TS aImLTaISHOmbha 85% CeTensamwulb GFevalBasmert. Smllaib
@meufleir GFLOID Fwowon@Gb. HPHC Qmeufler LOTH UMBOTOIHIH6N Fnl BHOHTND
tH.5000 eletfled, B ulledr oT%H eUIHLOTEILD 6T6i6N6TI6)Y?

ellenL : @5.2000

allen&asLD :

A wer @Ay = (100 - 90)% = A uflenr eugploTerddled 10%
B ulenr Gxudiny = (100 - 85)% =B uflenr eugomenggdled 15%
@meuflen CFOlIyH OHTENHUD FIOD 6T6tfl6,

A uleir auorangdlsv 10% = B ufleir sugplomenggslsv 15%
A:B=10:15=3:2

56eu, B ulewr 1o1® eugpomemd = (2/5) * 5000

B ulleir org eugpomenmd = 5.2000
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23. @@meui HeFH TG eumTaIHHed 10%CF 0SS BTT. DleUrdHl EUHLOTEAILOTEIS]
20% o sflsasuulLrsd 15% Grulladmpri eafed, Sleugd CFLOLLY 615 3Hemen
FHISD HEFHGW?

eflewL : 80%

ellenésd :

(WPhendW 1oTEH eIIeID = @.100

whmaw GFILSH COxTens = 5.100 60 10% = @5.10

SIFBfHSH 10TH euoTad = @.100 + @.100 & 20% = a5.120
IFsfHH Gy = ap.120 60 15%= ap.18

SenaswWred, Cxuillfled siFsfsHs OFHTensd = @h.18 - ;.10 = .8
4561, sFHfHs CFOILS CsTansuie FHeisb = (8/10) * 100 = 80%
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24. @@m eu@Liled Lomemieuise erupadw Cxiedlsd @ mewieusi 42% L0FHIGILI6wT
Oubp CxiFd wWHUGCuememialL 12 WHUCUMIEGT DHBWD CLIBBIGTETI.
BOmT®m wrewieusr 45% wAHUCUem GuBpl CxHisFd wWHCUsTeneaiL 30
HLOUIB6T FHHD OuBDIeTenTi. PHC6u DIFHBLILIQUITET Lo ICILIGHTEH M6
SHITE01 .

ellenL : 600

ellenébaHID :

walustisaflen alsIHumsFd (FHaisddlev) = 45% - 42% = 3%
walustiseflen alsHumsd = 30 -12 = 18 (oimTaigh 6 evwl 3 2 L 6
QUBSGS)

U566 FsLILgUITer WFHlGuewisst = 6 * 100 = 600

25. 16 QummL seflen elBusmenr elensowmerg 20 QUL seilel SILbH ellanevdE
gD elafley, DG GHHMN FHIHWD Georud L SIS, HOALLD 6T6nD
SHITEWI%5.

allemL : 25%

ellenésd :

elpuenen allenev = (C - S) / (S) * 100

ILES aleneowemlwl QuTmL seflen eremienfibens = C

elip aflensowjenLw QuTmLsefle eremienidens = S

=((20-16)/16) * 100

= (4 *100)/ 16)

=100/4

= 25%

GUY : BHHMmBW HMHGHeMe0 C - S 6l6iiLg 61ATOMmMB 6I6WIGwITS  6UbHTEL
HeYL OLoepId, GHienB elemIenNe aIbGHTED SevTULD eTaiBID GlEmsitenm Geuswr(BLD.

26. 5 : 8 e1NB Q&S WHIemer FHaIHHBH 60 seueuTBll GUILLIL6vmD?
alemL : 62.5%

allendbslD

= (5/8) * 100

=500/8

5: 8 ety e@lH WHNTehr FHeipd = 62.5%
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27. @5.2650 Syl H.1987.50 @60 eleleueNe)] FHAHD H@GLW?

e : 75%

ellenB&sLD

= ((1987.50/2650) * 100)
= 19875/265 = 75%

28. @@ Seomflufled LoTewIeNTaHEMHID, LTENIaIEEHD 3 : 2 616 alldHHH60
o eiteneni. Sjeuisemsit 20% omewiauiseEhD, 25% omewiallEEnd auwiHl abGHTIT
eTelled UGBl IBCHTT j6LevNH LoTewIaN LoTewIalGeIilen FHalsd wimgl?

allewL : 78%

ellenésd :

seoeumflufled 2 _eiten Giomd g omewien omewiellseT = 3 @ 2 = 60% : 40%
QLG albd remelisefler Fheisd = 20%

5Cel, ILGIGE euITH Lomemieliselen FHaiso = (80/100) * 60
WLSHIHG eIJTdH Lonemieliseflel FoHeis = 48%

QLG albs remalseien FoHaisd = 25%

5661, IWGIGE euITH Lomemielseien FHeipd = (75/100) * 40
AWLSHIGHG eIJTdH Loneuelselen Faaisnd = 30%

oTeniGeu, euwidl eNBHBHTT eTallod euwIZHl UBBHTT DIeL6VTS LoTewIe LoTewTalds6i 6
FHNMBHID

=48% + 30% = 78%

29. @@ HfB0s alfi uHH CuTigseied Fyraflures 38.9 FeiwsT 61BHBIBI.
Wwaev m Bumiigseflenr aymafl 42 erafled, epeiten HemLF BTG GUTL &6 6T
FITFfenUics HTEwIS.

alenL : 34.25

allen&sID :

Brei@ Gumisefllen Fyrafl :

= (usal Gumiysedlen Fgrafl * 10) - (@ Gumysefer aFyrafl * 6)) /4
((38.9*10)-(42*6))/4

(389 -252)/4

=137/4

sHeiten &L & Breng Cumiigsefler Fgmafl = 34.25



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

30. 6 cieviimemen FINFSl 3.95 YGD. 6 cIWIB6MED GHMeUFH 2 6clewIbeMen Fymafl 3.4
LBEID BB 4 eleiseiled gHTeugkl 2 elewidbeien Fymafl 3.85. YeHEHWIT6L,
BsOmBSLD 2 elemiserilen FymFflulenend HTewIs.

allewL : 4.6

ellenébasID :

6 eIeviIBeIM6e0 LOBHIOHBGID 2 6T6vIH6II6N FnHHev :
=(3.95*6)-[(84*2)+(3.85*2)]

=23.70-[ 6.8+ 7.7]

=23.70-145

= 9.20

6 elamimeiley BHOMHBESGID 2 elewiseflenr Fymafl = 9.2 /2
6 eleviImeIey LOBHOMHBGID 2 elevimerfledr Fymafl = 4.6

31. 16 GWhbmdHsT A wBoID B oo @m Siewisenmall Uflésliu’ G 10 wBpib 6
GLHMBHHET aiplD 2 _seieneni. g CHialed A oemflulled o siteln G LOHENHH6I
gyrfluns 75 g Hltusiisemstll CUBBImHEHNT WBBID 16 GhHmBEeier Fymay
IO 76 G eafed B oemflullsd o eiten GbmsE6T GQUBB

LGOI HEN6NSH BT 60T,

ellen : 77 * (2/3)

ellensbad :

Cxpemeuwirenr Fymafl :
=[(76*16)-(75*10)]/6
=[1216-750]/6
=466/6

=233/3

Siewiuiled 2_6itenm GEbenSHHeT QUBB FyTafl WHIGUemIEeT = 77 * (2/3)

32. 10 ysssnseier syrsfl ollensv h.12 HGW. HL 8 UbHSehseten Fyraif
alemev 5.11.75 YGW. BsLHHEGD QI LUHSEmS6MeL @ LUHSHHHDH N alensv
BEBTH Yssssden almevenwiel 60% oig@sb eaflsd, Reualyewi® Lid a6
alleneouilenend SHTeuIs.

alenL : .10, .16

allenébaslD :

Brewi® yssssHIen Gorss elenev = ap. [ (12 * 10) - (11.75 * 8) |
. [ 120 - 94 ]

. 26
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U506, QM USHHBHSI ellenevenl X eiedh Oomeis.
UEMBWLITEY, LBEBT®H UbssbHem ellemwsd = ap. (X + X 60 60%)
. (X + (x *3/5))

. (Bx +3x)/5

. (8x/5)

4&56a1, X + (8x/5) 26

5x +8x =26*5

13x =130
x =130/13
X =10

Qrewip UbHBmiGelen alleneo = p.10, @5.16

33. @m OGurmeien aiBusnen euflwrens 3*1/2% O@mbam 3*1/3% &
GMBHBH. Gmeut @m Curmeflensn op. 8400 &H@ 6UTHIGISIBITT 6TAN60 QLFLOLI
BEID GmpésasUl L eiBuener aufle@ LUl L elSHUTFHSMmend T,

ollewL : ap. 14

ellenésd :

Cxemauwiren efldAwnadp = (8400 e 3*1/2%) - (8400 v 3*1/3%)
8400 ev [ (7/2) - (10/3) 1%

8400 ev [ (21 - 20)/6 1%

8400 60 1/6%

ep.[ 8400 * (1/6) * (1/100) ]

tp. 14

34. @M elwIBEHEG @mLLULL elldHurgd 1500. ¢@wm erewienisn 8% oy eigi
oBOmrm erewtenilent 12% o@D elafled Sislell[H 6TewIHM6NTES HTCI0ND.

ellenL : 3000, 4500

allen&sD :

Qm eremwIBeMeN X, Y 6l60ids OBmeiTGeumid.
X 60 8% =y s0 12%

X =(120/80) *y = (3/2) *y

X -y = 1500

(3/2) *y -y = 1500

(1/2) *y = 1500

y =(1500*2)/1



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

y = 3000
@m ee®r = 3000
wBeBT®m et = 3/2 *y = 3/2* 3000 = 4500

LBOBT® efew = 4500

35. @ OGurmefen ellemeowmeng 10% @enpdalLl Beitengl. wHCan SIIGLTH6T 6
elBUmTLITRIL, SeuBBlen GorTds eaamisamaulsy 30% oFsflHHieneng elafsd
QrHde aumeuTuied MUl Beilen DHSFII DieVevH GMBONENANH HTEID.

eflemL : 11.7%

ellenéaBID :
Qurmefleir ailemev = RS.100 wmmnd efBusmeTTer QuUTsTHef6n slawenildens 100
olenics OB meiT@eumiD.

Qurss eugeurul = Rs. (100 * 100) = Rs. 10000

yadw eugeurus = Rs. [ (100% - 10%) * (100% + 30%) |

= Rs. (90 * 130) = Rs. 11700

almauTuled gmULlime@GL SiFsfliing = (11700 / 10000) / 100
aumeuTuled gBuULImEBGI FHsfiiy = 11.7%

36. @ LUsiaialigalled 2 6ilen g olewieniiedl QHMGHUled 15% iF&SFIILD, DiH6
uGauied 8% @emmiyd giul’ L g dSHaLsg Uydw erembd 15/16 eefsd
CHTLESHHL QhbH LeienshHlenends HNemis.

ellewL : 3/4

ellenésd :

CFHTLEBHI0 QbbHDH Lsiabsenen X/y eaids Qomeiis.
U,

(x e 115%)/(y s0 92%) 15/16

[ x *(115/100) ] /[y * (92/100) | = 15/16

(115x / 92y) = 15/16

(x/y) = (15/16) * (92/115)

(xly) = 3/4

CFHTLEHHS0 Bmbsd Leiend = 3/4

37. . 2800 eleiiug @@ &Il iger GQomsHs wEHNled 2/7 ukig UGD. P56 JibHS
el e GoTHS LG Ulemens HIesis.

ellenL : 9,80,000



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

allenébaLd :

el igehl GQoTHS LogUlenen X 616,
Um@, X e 2/7 = 2800

[ (2/7) * (1/100) * x ] = 2800

X =[(2800*100*7)/2]

X = 9,80,000

efl g6t QoTdHs wH = . 9,80,000

38. Qrewi( elewiberlel FnBHe0 2490. g elewrewiled 6.5% yengl LOHBOBTH
eTewtomien 8.5% M@ FWID 66D, SlelalTeRIH 6TVIHMEND HTEHISH.

el : 1411, 1079

ellenésd :

@ eTewIHeMeT X LOMOID Y 6T,

Um&, X 60 6.5% =y s 8.5%

X = (85/65) *y = (17/13) *y

X +y = 2490

X @e wFHlflener GoBsewiL Floemigsd Liysuil,
(17/13) *y +y = 2490

17y + 13y = 2490 * 13

30y =[ (2490 * 13) ]

y =[(2490 * 13) / 30 ]

y = 1079

@@ etewr Yy = 1079

wBemrm erewr (17/13) *y = (17/13)* 1079 = 1411

39. Qyewi(h elWIB6IM6T FmBHHOTHHI (PH6v oelewiemient 28/25 eIl LIBISTGLD.
B0, STEWILMD 616001 (LPGH6L 6TEWICHND 6THHMN FHOUHLD 6160 HIT6IIS.

allemL : 12%

allenébaslD :

@m erewIBEN6N X LOBBILD Y 616015,
X +y =(28/25) * x

[ ((28/25) * x) - x ]

[ (28x - 25%x) /1 25]

[ 3x/25]

<K<K
I n
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yIx = [ (3/25) * 100 1%
yIx = 12%
SIeWILMD 6lewl (LFH6ev erewrenilsv 12% Y@ L.

40. @M oTWIB6N 2_siteNad. DiFHev e olewrr X el 10% oBOBI eTewTeMITE Y
emwiell. GmBAITGID. Yemed Y ieugHl 125 a6 eremrenewiaill 10% oig&s0r@EId
eTeulleL, X 6I6diB eTeudTemned LOGHILTenNd HT6wIbH.

allewL : 123.75

ellenésd :

y =125+ 125 e 10%

=125+ 12.5= 1375

566,

x =137.5-137.50 e 10%
=137.50 - 13.75 = 123.75

X 616313 eTewiewiledl D] = 123.75

41. @wm eremienfledt 40% unidenen SieICauswIeRfled RMHHAH HWHs efenLwmergs 30
oI BeMLHBBHI 61all60, Si6)0leU6TITENNEMED BHITEHID.

allemL : 50

ellenésd :

QP eTewTenilene X 6T65&b.
U,

X -X 6o 40% = 30

X - ((40/100) * x) = 30
(100x - 40x) / 100 = 30

60x = 3000
X = 3000/60
X =50

X @61 gy = 50

42. @m Bzielled, GoThHk wremeuidHeflen sleenidmauilsd 35% Buir Bb)
uTtL e, 45% remeuisel QmESley urLsHFHeond, 20% Bui Ryewi®
urLmsefed CoidFd Oumellsbensy eraled @ uTLmseflgb CHidd
CuppauTseile FHalHHDMMD HT6wISH.
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allemL : 40%

allenébaLd :

A wppb B Uifley wreweuissit @b oB@BID WwhiSe0 UTLBiG6He0 GHhidFd
QuBTHeuisHei eres O@BmeT@suMLD.

LB&.,

n(A) =35,n(B)=45,n(ANB)= 20

emawimeo, N(A N B) =n(A) + n(B) - n(A N B)
=35+45-20=80-20= 60

b UTLHHEL SeveLEHI YISV DIeV6vH Temigavild CHiFd QLB SHeuT 6l 6
FgHaisd = 60%

U56a1, Bpialed CxHiFd GQubmealiseflen FmHeisd = (100 - 60)% = 40%
@rewi® urL_misefled BxiFd GubBeuisefenr FHaisd = 40%

43. A eteiiucufleir eaglunorengl B etsiueufler eagluibostensuilenarai 20%
GMmBaUTGID. Y&Beu, B uleh eagdlushHostens adbsHanen FHaisd A ulemerall
SIPEBID 6TMNH BTGB,

allemL : 25%

ellenésd :

Cxemauwimen Fmaiso = [ 20/ (100 - 20) | %

=[20/80] %

=[1/4] %

B ulehr esrgdlugosmens 25% A ulemenail. @B @GLD.

44. @@ SreMenel HH6L 6IBHH h.1 6IHD OCFeveUTHBH. @meut 1000 Hreinseir
bB6L TBHHLe 2% HeitepLiguiTang felbaliLgd Bl eiaflsy, 5000 HTeiTsmeir
bBOVBES PG OCFevalenersd STemIs.

alenL : ap. 4920

allenéasD :

Qurss eflemso = . [ (1 * 1000) + 1 apmed 4000 Basidend@ (100 - 2)% |
a. [ 1000 + (0.98 * 4000) ]

a. [ 1000 + 3920 ] = . 4920

561, 5000 Hreiisenen HHOVBHHE YPYGD CFevey = ap. 4920
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45. @@m eI BGSLD H6H 2/5 LnkE emmiBGHL RPewLBW 2 _eiten efl@Hd 510
AGW0. YPHCeal, SbH oelewienfledt 10% wngl erend HT6wb.

allewL : 85

ellenésd :

Db eclenienileonel X 6Ieidh OBT6iH.

m@, X - (2x/5) =510

5X -2x =510*5

3x=510*5;x=(510*5)/3

X = 850

456e1, 850 eteiB etemremiiey 10% = 850 * (10/100)
U506, 850 ety eramremiley 10% = 85

46. @@ BEITHHN (PHL QUBL LEHBL_OHTnsWTaH 9% DHHfHHI6TeNSH LOBBILD
@UewILTD 6UML LoHHL OHTenswnandl D% GenmboHleTendl. QIERILTID 6uHL
BmFluled QmbH OTHS WHHL_CHTMHWLTNGH 9975 YGW. P56 (PHL QIHL
OBHTLEBHH0 QHHDH WHBL CHTMHUIMEND HITEwIH.

ellenL : 10000

ellenésd :

(WPSH6L QUL OHTLHHHH0 QMHSH LHHL_OFHTeND

=[(9975) /[ (1 + (5/100) * (1 - (5/100) ] ] ; =9975 * (20/21) * (20/19)

(S0 L OHTLIHHH0 BMbHDH WwHsl 0xTens = 10000

47. @m STHHe0 40 FHalHD WoHE6T QFUIHSHST X el eurdldbslepet. 50
FHNBHID EH6T CFUIHSHBT6N Y enwl eunrdlddlempent. 10 FHeiHD LobH6T DTewih
CeuIgsBTeisamenu|d suTdlbEsalevensn 6laned, QTemi® CFUISHSHSHT6ITESM6TU|LD
UTFSGD &SN FHAHHHNMNEH HTCIIH.

alewL : 20 FHaIHD

allen&asLD :

n(A uB) =n(A) + n(B) - n(A NB)

=40+50-10;=90-10 =280 Fpaiswb

Qrewi® CFuIsHHmeseflsd X Sievevgd Y QFUIHHHHT6THm6N DL (BLD
eurdlliLeuiseT = 80 FHAIHLD

rewi® OFuigareisenenud eurdlliueuiseflss FHeaisd = 100 - 80 = 20 szeaisb
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48. m Gzpialed @M UTLMIB6NT emeudbsLLGBSemer. 35% Lomewreuis6i (LPFH6D
uTL S, 45% oremreuiser GIewiLmbd uTLSHed, 15% omewreuisst S
urLhselgib CaiFd Oumellsbensn. GOTHHWD 2500 LTewieuimsn Bziey
ST(DBHIBDBSANT 61606V, (PFH6L LML GHFH60 WL BLD LoBpId SQIewiLmeugl LML G560
LB Cxmlweiiseflen srewienllbmBbemuis HTERIS.

allewL : 1250 Gui

allenébaHID :

(WHev UTLHFH6e0 SHauplweriser = (35/ 100) * 2500

= 875 Gur

@rewmiLTeugl LML SHFHe0 SHauplwenissit = (45 / 100) * 2500

= 1125 Gur

@remip uTLSHe0 SHeudlweuiassit = (15 / 100) * 2500

=375 Gur

(WH60 UTLSHFH6e0 ol BGid Seufwenissit = (875 - 375) = 500

@yewiLmib um_ G360 LG Hepflweuissr = (1125 - 375) = 750

@rewiLmbd UTL S0 LB CHidFd OQubmeuissit + (WHOL LITL G0 oL BLD
CxiFd OQummeuissit = 500 + 750 = 1250 @uit

49. @m oIflF wewnguisd, gm SCeoom SiflFluier alemsouisd 2% @Genmiiy
gBUL_Beitengl. uFCe, gmeut usmpwl eflmeoullsd 49 &.& oifldl eunmIS G
eTeiBeu, LHw alensoulled erhHemen &HCeoraslymd oiflfl eummiseOTD?

allenL : 50 &.&)

ellenésd :

am S6eor sflFuier elemsv = . 100/ &.8

49 2.8 oiflF eurids CHemeulu® epuTuilesr gy =49 * 100 = ap. 4900

@m SGeor oflFuilesr YW eleneo = eap. 98 / &.&)

aifiFuienr oieney = 4900/ 98 &.&8

yaw elleneoulled eummisliLBL Siflfuler e = 50 &8

50. @@m ueiterilulled emiider BB OCueiselen el&HwoTeig 3 : 2 6l6m
alBHHIH 60 2 siengl.SilieTamuled 20 FHAIGHOYMIBEHD, 25 FHAHD CLI6ISHEHLD
e QeveusF FIMS OGLBISIEBENT 6IaN6d FeINS OLIBTSH LOTEwT6NT 61T 6T
FHONGHLD 6161601 ?

ellenL : /8%



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

allenébaLD :

yemisefleir alldsd = 3X

Quemiseiien efla@lmd = 2X

BeveuF FIME GUBTHaTHeMeT eamamiibensd = (3X 60 80 %) + (2x &0 75 %)
=((80/100) * 3x) + ((75/ 100) * 2x)

=(12x /5) + (6x / 4)

5, 4 &1 15.8.0 =20

(48x + 30x) /20 =39x / 10

QTHde eldsd = SX

geaipd = (39x / 10) * (1/5x) * 100

=78 %

51. @@ el g6 alemev 15 Qe Fb epuTUIIBBSH 12 @R6OLFID AHUTWLITSS
GMBHHSHI 6160 GHMBHD FHNHHMBEH BHTCIH.

alewL: 20 FHelHlD

ellenésd :

el g6 eflensv = ¢5.15,00,000

SBBuTenmdw eflensd = ap. 12,00,000

alensouiled @&emmse = 1500,000 - 1200,000

= 3,00,000

Gophsd FeHeisw = 300,000/ 1500,000 * 100
= 3/15* 100

GMBHSH FHAIBID = 20 FHEISHID

52. 11 Guemssefler oI saalensy 10 Guenmdmeien elBm eflenevd@dF &FLOW 6l6i6d
BTl DI6LVGI Bl L FHHHMBHDH SHT6NIH.

alewL : 10 FHaisb

allen&asLD :
CGuenmelleir eliBLene allemevenul X 6T6iI&

10 Guenmsseriian alemsv = 10X

11 CGuenmsseien SLssalensy = 10 Guenmsbsealilsnr alBuener ealleney Q@D
= 10x

@eomud = elBusnen elleney - DIL&HE 6llen6v

X =11x - 10x
ReoTL FHAIHLD
@eoTu FHeIHLD

@eorud /| oI_sbsalensy * 100
x/10x * 100 ; = 10 &#zeisd
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53. @@ evdnligenwl @.13,600 &@& elBuenen CFuwd GuTwpasl 15 FHeisd BLLLD
UIIBHI 61D DIHAT SILHEHEIMED 61660

allewL : @p.16,000

ellenésd :

ILsHelene0 @.100 @60, BLLID 15 FHalmd elaied, HLLID @15
elBuener eflensv = 100 - 15

alBuenen ellensv = @5.85

SILbEHelme0 = @5.100

eliBuener alleneodp.13600 aafled oi_dsaleneo = 100 * 13600/85
= 5.16000

54. 250 omewieuidkeil o siten @ Useieflulled, 55 Lomewreuisell FmenLLLBnSU|D, 75
LOTEWTENT &H6IT  BMTLLIHEMBUID, 63 LoTewIaNidH6lT eIILBMBUID BHID 2 _6iT6l
LOTEWTENT&H6IT DL emLLILIHenSWID ell[HLOLS M6t 6T6lls0 dmewL LIS LOMBHBILD
eiiLbemd eNHIDLD LoTewTeNiHeIle &FHeligHID 6I6T60r?

allemL : 22%, 25.2%

ellenésd :

ueitefuled 2 _sitem QomgHgd LomewTelimefen slewremildemas = 250

() smemLliubend eMIDLID LOTERTEITH6 M6 elewTenlldemnad= 55

250 @60 55 Guir smemLlLbeng elLdlemsern eIafled Sibd LOTEwT6MT 6163
goaipd = [(55/ 250) * 100]%

=(11*2)%

=22%

(il) emubensd elIDLD LOTERTaITH6M6 eTeuTenilbme= 63

250 @60 63 Guir eSluBeng MBS BT 6aNe0 DibHH LOTIaITE6TN6 FHeHLD
=[(63/ 250) * 100]%

=((63*2)/5)%

= (126 /5)%

=25.2%

55. 70 Guir GamewiL eu@Liiled, 60% LomewIGuTEHeT 66flsy, U@L 2 _6iTem LOTGMI6,
omemrelEBe1llein  6TauTeuN SeNH NS HTCWIH 7

allenL : 42, 28

allendbslD
G0 2 6iten OoTdHH HLTH6M6T 6clewiennsend = 70
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LoTewIET &H6M6N eTamiemiidbend = 70 s 60%

=(60/100) *70

=6*7

LOTEWIEUT H6M6H  6TemIemlbend — 42

orewellseflen eiewienlldmad = au@lllsd 2 eiten QOTeHd HUiH6e erewianlldbme -
LOTGWIEUIT FH6TT60T  6T60T 6w &b 6N

=70-42

=28

oTewiellseflen erewienflbonsd — 28

56. 5 / 10 ei@iuengdF FHeisHons IBHIS ?
alewL : 50%

ellenésd :

100 & ugHunss C@TewiL LD FHaimd aaL®BD. FHaisdhbme % 66
GBUWIG OBTemi® @HNidbE6UTLD.

=(5*10)/ (10 *10)

=50/ 100

=50 %

57. 20 : 100 erehiUeNG IFHNHIONS LOTBHBIS ?
eflenL. : 20%

allenébaLd :
=20:100
=20/100
=20%
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SHeleUL_Ig
1. @@ udPwW S WHHT alensv ap. 45,000. oiFHenr eallewev 15%
GMBESBLILBOLOWTEITeY gl ellensv eleileound SHmdb@LD?

ellewL : ap. 38250

ellenésd :

ysw efleneo = 100 % - 15 % =85 %
45000 6o 85 % = (45000 * 85)/ 100
walWhFHer yHw efleneo = ap. 38250

2. elGeamsd 65.12,0006@ SnaFssmalscamen aurmidElenmi. alBuener aufl el@sid 8%
oTelley, oleui QFashd Gouewigwl elBuens eufl, COTHSH CFHTeNd DB UICNBENMBEH
SHITEWI%5.

ellenwL : @5.960, p.12,960

ellenésd :

@massmallsefer &Hy = 512,000
elpusner eufl efalmd = 8%

elpusnenr auflG0sTens = (8 / 100 ) * 12000
elBuensr euflH0HTNH= H.960

alGemg OCFHSH Coustwiiguw OOTHHH CFHTMSH
alGemg OCFHSH Couswigwl QTSHHH OCFHTEND

12,000 + 960
t5.12,960

3. .15,625 5@ UG eully 8% aiHlD eleled, 3 YMIBHBEHHGHH Tl B 6ULIQ
SITEWI6YLD.

allenL : @5.4058

ollendaIlD :

3 emiBsen (Wigalled anl BH OFHTens A =P (1 + (r/100))°
= 15625 * (1 + (8/100))*

= 15625 * (1 + (2/25))

= 15625 * (27 / 25)°

= 15625 * (27 | 25) * (27 / 25) * (27 | 25)

=e.19683

oTeoiGeu, aml B eullp = A - P

= 19683 — 15625 = =5.4058
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4. alGaimd p.12,0006@ ansFsHsmeldamen eurmislenmi. elBusner eufl alld@sd 8%
oTeullsL, oleui CFSHH Goueiigws elduenss eufl, COTHSH CFHTeM®d & WeUBMHBES
SHIT601 .

allemL. : @5.960, @p.12,960

ellenésd :

@massmallsefer HY = 5.12,000
elBuene eufl al@sHd = 8%

eliuener euflsesTens = (8 / 100 ) * 12000
alBuener euflH0HTMH= 5.960

alGams QFVIHSH BGeuswiiguwl GOTHHH CHTMD
alGamd OQFHH Geuswitigul GLOTHBHH OFHTeND

12,000 + 960
5.12,960

5. @5.10000 @& 5 FFHelp S el lp aiHd 4 YIBHH6ered HML HGWD Heal el lg
616116)61T6)]?

ellewL : @p.2000

ellenésd :

safleu lg | = ( PNR/100)
| = seieulig

P= o0 = 510000

N = ®m6eold = 4 Y eIHH6IT
R = eauleaisd = 5%

| =(10000 *4 *5) /100

| = aleul’lg = ¢m5.2000

6. @ Somienuiler eflensv ap. 20,000. @m Hmieusid RH0HTENSEMW 10¢H
QUL 6T 36 LOTHSH HUMIWITESSH STEVTD 6INBIABH. NG UTHIGL6UT
Ceasd Gouemigul LOTHSH HEUMHT 6l66)6TT6Y 7

e : ap. 722 (Bxmmymwioms)

allen&aslD :

somiefiullslr ellensv = eap. 20,000, eully YeOLTeRSEG = 10%
&MeuD = 36 LTHMISH6T (3 eN[BHEH6N).

Gursgs eulg = 20000 * (10/100) * 3

= @. 6000

CFsHd Geauemiw GwrsHs GxTens = 20000 + 6000
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= . 26000

LTSS Heumew = Corshs OFHTend /| QTHSH LOTHEIH6
26000 / 36

5. 722.22

. 722 (CmpmymuioTs)

N

M. 900 Fma Hafeully 4.5% erem 6ieHHe0 HEWIGBSILLILILLTED 61HHEN
S eipselen eIl i9HoHTens . 81 e ewLujwb?

allemL : 2 SLEIBHSB6IT

ellenésd :

oFe (P) = . 900
safeu g (1) = ap. 81
smeud (N) = ?

el igeisd (R) = 4.5%

| = PNR /100

N = (100 * 1) / (PR)

= (100 * 81) / (900 * 4.5)
=81/(4.5*9)
=81/40.5

sreold (N) = 2 <y ewiBaseir

8. WOLTaBBE 18% el aully HHD GUEwHHed Jensid 5.10000 - &
WEHeS® OCFwsTi eeled, 5 auBLBEIGBEHSGL LIB@ euir GupId el iguimerd
SHIT6001 .

ellewL : ap. 9,000

alleNb &I :

SiF6v = 5. 10000

ol = 18%

&MV = 5 6UIHLMIGBEIT

| = Pnr /100

= (10000 *5* 18) / 100 = 1800 * 5 = 9,000

5 aumpLBsEhsGL LB Seui Gupid el = . 9,000

9. @ RQubAyHen alemevuied YeBH@G 10% WA GBEBSH erafed, 2
UWBEGL LD, Q6 WHBHG (PLD Sibd BuibSIdbslen wHlileneid
sTemid. QuIbSHTHH SHBCUTEMHW allenev 1,62,000 Y GLd.
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oflewL : 5.131220, ¢5.200000

allenébaLd :

Suibrsen HBCUTenzmW allewev = 1,62,000

Bn UMBBHGE Lt QubHIsda eleme = (162000 * (1 - (10/100)%))
= 162000 * (9/10) * (9/10) = @.131220

BB UNBBMEEG wWwa Bubdrsds ees = (162000 / (1 - (10/100)%))
= 162000 * (10/9) * (10/9) = 5.200000

10. ¢5.800 Heafleullp efpD 3 YMIBHHEHHG @5.956 OHTEMHWITOIH GUBLILIGSBSHI.
4eme0 el lguitengl 4% oid&fdECwwiremsd ¢5.800 & 3 YBHEDHGSG LIBG
BMLBEGID QUL I9HOBHTMHUIMND BTN,

ollewL : @p.252

ellenésd :

S0 = 5.800

Hafeu lg = p. (956 - 800) = ap.156

el gafsb = [ (100 * 156) / (800 * 3) |% = 6 * (1/2)%

yaw eugeiso =[ 6 * (1/2) + 4)% = 10 * (1/2)

ydw seie 9ostens = eap. [800 * (21/2) * (3/100)] = p.252

11. 9 6RUILL SEFasE Salally aigsHdled 3 amLmiselsd h.815 b, 4
QUHLMIG6TI60 ).854 1D, HMLHBMGH olafled DiFeleneiids HTwID.

ellenL : @p. 698

ellenésd :

@M AUGLSHHBEG SHoleullg = ap. (854 - 815) = 5.39
3 QIBLEISEHSG SHaialllp = . (39 * 3) = a.117
aFev = . (815-117) = ap. 698

DIF6L = H. 698

12. @ UL COFTen®dd@ 6 GUMHLMEIG6T WBHBID 9 QIHLBISEDEES eT
Haau’lp iHHIe0 UL IQUITEISH SHHSLUILGSBH 61660, DisueilHeumLhiserlsd
Guplu’L el sHosTensulsn alalsHHmens &6wnsasHS.

allewL : 2 : 3

elendsd : SFeL OHTensulenenr P etenayd, eulpuilenenr R ereeyb GasmeirGeurid.
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Cxpemeuwmenr el@sw =[ (P*R *6)/100] /[ (P * R *9)/100 ]
= (6PR) / (9PR)

=6/9

Cxpemeuwmen @B = 2 : 3

13. 5.64 Yaig SHalall g fHHH6L 05H.83.20 Yb 2 YMBH6M6L SN _HIHIBSH
ooy, oICp Haeul iy fHHHeL MH.86 YOIH 4 YUMBBEHHE HEWL&EGLD
GHllall 19 OBHTMBUIMEND BHTEISH

ellewL : ap. 137.60

ellenéaBID :
oF60 = . 64, S.I = . (8320 - 64) = @5.19.20

&IT6VLD 2 U(HLIBIGH6IT

enawrev, el igeisid = [ (100 * 19.20) / (64 * 2) %
=1920/128 = 15%

QUOUTE, SIFeL = @5.86, eullp = 15%, &meOlD = 4 eEUHLMISHGIT
Hafeu lg = p. [ (86*15*4)/100] = . (5160/100)

= . 51.60

4 QUMHLEIBEDGE MG SHalallly OFHTensd
4 QUMHLEIBEDGE MG SHalallly OFHTensd

®. (86 + 51.60)
®. 137.60

14. @5.1600 6163 OHTMHHE HOMAILIlY IHHDH6E0 05252 YMGH 2 YW [BH6T 4
LOTHHIBEHEEG DML_SHBHI 6lal60, @M UMLSHDEG Heeul lQuilenend HemrdhdHSb.

ellemL : 6 * (3/4)%

ellenésd :

&TVD = 2 QUMLMIE6T 4 Wremiser = 2 * (1/3) eumLmissT = 7/3 aumLmkibsl
aulgeisd = [ (100 * 252 * 3) / (1600 * 7) 1%

el lgafsd = 6 * (3/4)%

15. 5.4016.25 &@& PBHG 9% 6B iHHH0 Heafeul lQuiTag
SMSSILLILGSBGH 6lafled, 5 YWBHEnsHG LIBEG SMLs@ 6ordHs
CaTensuimend HTewIS.

ellewL : 5.8925

NleNGHLD :



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

aFe0 = . [ (100 * 4016.25) /(9 *5) ]
= ap. (401625 /45)
5 Yemibsendd UBEg oL@ Crds 0stens = . 8925

16. ep. 800 ez GOUULL Helleulipuiled 5.956 Y& 3 PMBBEHHGL LUBEG
HenLsaImH. HCal, Hafeau uimearm 4% ARBfHHTE0 . 800 YyaimHl 3
YMIBBEHEGL LIBE SmLb@d OFHTensullenais STesm.

allewL :1052

ellenéaHID :

safeall lg OpTens = ap. (956 - 800) = . 156

eulg =[ (100 * 156) / (800 * 3) 1%

=6*(1/2)%

ugw el =[(6*(1/2)) +4]%

=10 * (1/2)%

ysw en'lp = ep. [ 800 * (21/2) * (3/100) ]

= @p. 252

3 QMIBBEHEGL LIBE Mm@ 0Ftems = ap. (800 + 252) = ap. 1052

17. @ ePUULL OsTenswrag Saflallly eaisHPHe0 PUHBESH 5% eullgujb, 8
BB EHHE SEBHILTD . 840 YaiH e bBmEH eafled, CH 66y
CaTensulener 5 YeiBaellsd LB Heaulguleners HTels.

allemL : 8%

ellenésd :

sanau’lp OpTensd = ap. 840
el = 5%

&HIT6VLD 8 S emIBHEB6IT
aiF60 = p. [ (100 *840)/(5*8)]

= . 2100

P= . 2100

Helleu 19 OHTenad = . 840

&MV = 5 oerBHaH6IT

au_geisdb = [ (100 * 840) / (2100 * 5) |%|
el geisd = 8%
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18. @ &PUILL OxTenswraigh Sl ly aiHH 60 5 YMBHEHSGU LUBG 6.
9800 eraioyld, 8 YFIBHEHEHSGSU LIBG h. 12005 elaioyld HMLHBHTEL @
SYENYBEHTH UL I HHIHeNdH BHT60IH.

allewL : 12%

ellenébasID :

3 QMIBBEHEE& Hafallg = ap. (12005 - 9800) = . 2205
5 MIBBEnEG Satallg = ap. [ (2205/3) *5] = ap. 3675
U561, oF60 = ap. [ 9800 - 3675 ] = ap. 6125
mawneo, el igeisid = [ (100 * 3675) / (6125 * 5) 1%

el geisd = 12%

19. @ UMBLSHBG el6ieueNe)] eI lgaisd BHifewrulbaslulLTed ¢m SBIUILL
CaTenswneargkl 16 eu@mLkIS6f6d @i gliTglbd?

ollenL : yepEE [6 * (1/4)]%

ellenésd :

aF6v = P Upg, safeu’ly =P
&MEOD = 16 =)601[BH&6IT

el igaisio = [ (100 * P) / (P * 16) 1%
= s [6 * (1/4)]%

20. @ GBUILL OxTenswreis 2 YihsendE LIBg op. 1008 sl6ims
exTensuileneamn, 3*(1/2) yaiGsensd UG . 1164 ee6in OHTensullenemu|d
SHHBMSHI 616060, SIFSMEMUD, L I96NHHIHMMU|D SHT6wIHb.

ol : oF60 = p. 800, aullp = 13%

allen&sID :

1%(1/2) yemipd@ sefan gy = a. (1164 - 1008) = . 156
2 YMIBBEDHEG Salallg = ap. [ 156 * (2/3) * 2]
=[52*4]= ep. 208

o560 = . (1008 - 208) = ep. 800

augeisdb =[ (100 * 208) / (800 * 2) |%

el geisd = 13%
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21. m.800 &@ Haallly IHHH60 @5.920 6B CHTenHMW 3 Y eI BH6IT6EL
SHAEBSH. UBE aluwrangk 3% ofsfleadna eafsy, yHw OsHrensuienerds
SHIT601 .

el : ap. 992

ellenésd :

safall lg OpTens = ap. [ 920 - 800 | = ap. 120

IF60 = . 800

&MEOD = 3 <Y ewI{BHEH6IT

eul_lgeisb R = [ (100 * 120) / (800 * 3) 1%

R =[12000/2400] = 5%

yw e efsd = (5+ 3)% =8%

yw seaien g Oxstems =eap. [ (800 * 8 * 3) / (100) |

= @p. 192

ydw Gstens = ep. [ 800 + 192 ] = ap. 992

22. @5.5000 eI OBHTMBHG SHoalllg aIHHH0L 7 PMBBEHHS LIBE& ap. 1750
HenLsaIma. Rmpllgid el efssdled 2% oiFsfliiniear S s@G dHBfHH
QI 19 HOSHTenGBUTnTSH SHT6wISH.

ellewL : ap. 700

ellenésd :

safeulg (S.)=[(P*R*T)/100]

1750 =[ (5000 * R *7) / 100 ]

1750 =350 * R

R =1750/ 350

R=5%

el eisd 2% siFsflilear sailal s OeTensulsd HmLs@Gh HSFIHOBHTMSD
safeall lg Gatens = [ (5000 * 7 * 7) /100 ]

=49 * 50

= 5. 2450

alaisd 2% siFsfiilear safeuliysd CeTansullsd S s@Gn DSHBFILHOSTMS
= m. (2450 - 1750) = . 700

23. ep. 15,500 yenml @5.17,500 @5 @M SHIILL eu’gelssHdlsd 3
Y HBEHSHEG LBG HenLsbsmaH 6aisd, Ul 1QaiHHHMmeaisd ST,
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eflewL : 4.3%

allenébaLd :

safeulg = 17500 - 15500 = 2000
saflan g (S.)=[(P*R*T)/100]
2000 =[ (15500 * R * 3) / 100 ]

155 * R * 3 = 2000

465 * R = 2000

R = 2000 / 465

R=4.3%

el paisd = 4.3%

24. @meui amGUld MaIlLGOSTMSHWTS ¢ GUIUUILL QFHTensulemner
CFISHHIBBTT. JHOHTMBEHGH PMBHG 4.9% e gaimsshdled 05h.202.50 6Ier ¢
QUMLSHBGL QUBIFBIT 6alsd, IBH emallsHoFHTends@ D% el igaishdde0
alllg HESHIL LT Seui QUBID el pdhHosTensulst SIFHSFITenard Hres.

ollewL : ap. 22.50

aflenésld :

seafleullg = 5. 202.50
ol geisd = 4.5%
smeod = 1 euLLD
a1F60 = . [ (100 * 202.50) / (4.5*1)] = ap. 4500
SHBELTSHI,

SIF® = . 4500

el lgeisd = 5%

smeod = 1 euLLD

saflaulig= . [ (4500 * 5 * 1)/ 100 ]

= . 225

QI 19H0HTeNSBUT6L 6l GHaWITeFLd
QL9 H0HTnBUTL il HAWITEFLD

. [ 225 -202.50 ]
. 22.50

25. @meur ep. 1550 emw @meumeBE 8% wBmIdD 6% 6B Ul aiHHBe0
QUPRIGEHBTT. H6 CrHs I 19HHTEnSD h.106 6led ML HELD 6166V,
RITeRI® (wgellsd Qmeumd HHU CFisHHId CFHTensullenars SHTeis.

allewL : @p. 650, ¢m. 900
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allenébaLd :

8% eaupainpsHalsd BTBHD CHTenswlenar X eaab, 6% eaIligaipshied CBHTHHD
esrensuienar (1550 - X) sleayd QEBT6iTS.

[(x*8*1)/(100)] +[ ((1550 - x) *6 * 1)/ (100) ] = 106

[ 8x + 9300 - 6x ] / 100 = 106

8x + 9300 - 6x = 10600

2x = 10600 - 9300

2x = 1300
X = 1300/2
X = 650

8% el paimpsaled FHULT CFdbHId OFHTensd = ap. 650
6% eI aigpsaHled FHUT CFadbsid OxTens = 1550 - 650 = . 900

26. op. 4800 &@& YeihHE 8*(1/2) aieim aupaidHHe0 2 eHBEHET 3
LOTHRIBET (Pigalled HMLHGID Halall lgdh CHTenHUImend HTEwIS.

ellenL : ap. 918

ellenésd :

&MV = 2 YewiBdeil 3 WrHmissT = 2*(1/4) emiBser = 9/4 SemBaHsiT
el igefsid = 17/2

SIF0 = (5. 4800

safeu lg (S.)=[(P*R*T)/100]

=[ (4800 * (17/2) * (9/4)) / 100 ]

(6*17 *9)

. 918

. 4800 5@ FMLBGWD Sl s CHTend = . 918

27. feum elebiieui @h. 1200 evw e GBI L Haeully 6iHHH60 Liev
YBHBEHEHEG SL CUBISBTT. ST CFISHS (PYHGWD SmLFulsd . 432 enwl
QL uITE CFISHSHISBTT 61660, UL 196IHHBHMEH HTEHIS.

ellenL. : 6%

allen&asLD :

a&reod = R yemi®asein

el geisd = R%

SiF60 = (5. 1200

Haleul 19 OHTensd = . 432
saflau g (S.N)=[(P*R*T)/100]
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[ (1200 * R * R) /100 ] = 432
12 * R% = 432

R?=1432/12

R% =36

R=6

R = 6%

U5Cel, el gefsid = 6%

28. @meui @5.2000 g 10 % Sala YsHE aUMHRIGSBIT.OeUT 3 YHTBH6IT BHPHSHI
FSoUNB0BTEEGID CFHTensd 6l6ilelsre)]?

ollewL : @p.2600

ellenéasID :

SiF60 = 2000

au’lg = 10%

BTV = 3 Y ewIBEH6IT

safeu’ lg (SI)=(P*R*n/100)
=((2000*10*3)/100)
=(20*10*3)

=200*3

= 600

CTHHH OFHTend = Fsv + Heallalllg
= 2000 + 600

= 2600

oTenBeu, aui 3 YMIBHeN HWPHGH CFVHFHID COFHTewsd = H.2600

29. @H SHMLSHMIT H6I GUTIQHMSWITeNTHEHHG 10 FHASHD HeenUy HbdHl, 20
FHAHID QoMLID SIMLSABIT. e CUT[HeTleh 2 ewiend allenev @h.450 6lelsD,
SLuTmefen GNSHS elensvenuis SHTeIs.

allewL : ap. 600

allen&asLD :

SILHS ellenev = (5450

&5 elenev = 100 + @eorub% / 100 - Heiiepug% X SiILbs allanso
= (100 + 20) / (100 - 10) * 450

= (120 /90) * 450

= ap.600
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30. QaTLi SHeitEpUIgsst (Wenplw 10 FFHaisd, 20 FHIHD 6TaBTHI @
OaTmevBSTL AL ULy 05.14,400 @ aIBEULULLSE 6iafed DH6H GBHSH eallenev
61601601 ?

allewL : ap. 20,000

ellenébaHID :

W60 HeienLigH@ Ll albusmer alemev = 100 - 10 = .90
@rewiLmb HeimenLgsGL e eibBuensr efenso = 90 - 18 = @5.72
alBUenen ellensv h.72 eiaev, GBHSH allewev @5.100

alBUenen elenev (m.14,400 eialed GHNHSH 6ellenso

=14400 * 100/ 72 = ap. 20,000
aeeu GMlHs allewev = ¢5.20,000

31. @® elwrumfl ¢@m Oummenst h.1200 &@& euTHISEMT.LSIL DS SILHH
alemevd@ Bwed 30 FFHaimd 2 wisbd, GPsd alwew Ydbdemi.Q@snE 20
FHABID HeienLly OBHTHHSH BmrT eahsd, alBuemer alleney LBBID EH6evTL
FHNBID BB,

oL : 4 FHeIFHD

ellenésd :

G&BHS alemev = @p.130

ILES eflensv @h.1200 aiaied, GMISS alemev = 1200 x 130/ 100

= 5.1560

&eienpulg = 1560 60 20% =20/ 100 x 1560 = ¢p.312

alBuenen ellensv = @GMidHdH ellemsv - Heimenpuy = 1560 - 312 = a5.1248
@eomudb = elBuener ealleney - SILHH lensv

= 1248 - 1200 = .48

@eoru FHaiHD = @eorud / Lss alemsv X 100%

48 /1200 x 100 = 4 szeisbd

32. aafl @i YewgBd@ 7% eallly aigsHdlsv 3,000 CFOSSBIT. @ITewi® (Ligailsd
Sleut Gupd Hell euligemwiu|b, CrTshs CHTmSHMUILD SHT6ssH?

elenL : ap. 210, ap. 3,210

allenébaID :
aiF60(P) = 3,000
eB(T) = 1

el lg efsd(R) = 7%
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seafleu1g(Sl) = (P*T*R)/100
= (3,000*1*7)/100

= (30*7)

Sl =a. 210

A=P+ Sl

= 3,000 + 210

A= 3210

33. . 6,7505@ 219 BIL&EHEEG 10% eaullg aipd elafled SHevlleul 19enUILD,
QrH® OHTEHHMUWIULID HT6IH ?

ellewL : ap. 405, 5. 7,155

ellenébasID :

P = 6,750

T = 219 Breiamseit

= 219/365 yemiI®

T =3/5 e

R =10%

safl e 1g(Sl) = (P*T*R) / 100
Sl =(6750*3*10)/(5* 100)
Sl = egp. 405

A=P+ Sl

= 6750 + 405

A=m. 7,155

34. p. 7,500 @ 8% eully eIFHD @ GUMBLID 6 LOTHBIHEHHBTE OHTENSHMUILLD,
SHeleUL_19MHUILID HTEWIS.?

allewL : ap. 8400, p. 900

ellenébsLD

P =7,500

T =1*%(1/ 2) syempaosit

=(3/ 2) yewiBse

R =8%

A=P+ (P*T*R)/ 100

A =P * (1+ ( TR/100))

= 7500 * [1+ (((3/2) * 8) / 100)]
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= 7500 * [1+ ((3 * 8) / (2*100))]
= 7500 * (28/25)

= 300*28

= 5.8400

A = @. 8400

SI=A-P

= 8400 - 7500

safleu lg (SI) = ap. 900

35. @p. 7,000 SIFQIHGE 16 IHHIG6ME0 ). 1,680 Halaul iy HenLSHHT60, GILIg
BHHMBHH BTEWIDH ?

allewL : 18%

ellenésd :

P =@. 7,000

T =16 ongHmisei
=(16/ 12) <yemiBmsiT
=(4/] 3) yewiBHsi

R
(100 * SI)/ (P * T)
00*1680) / (7000* (4/3))
100*1680*3) / (7000*4)
18%

[EEN

Hniux;xoom

36. algul @p. 10,000emw 5% e’y el 0 walll] HHWUTEF CFNIHHISDBT.
THHme YewiBseled ah. 11,000emw Sjeui GLIpIEUTT?

el : 2 Y EwIHH6IT

ollendbsLD :

A= @. 11,000
P= . 10,000
r=5%

T=7

SI=A-P

= 11,000 - 10,000
Sl = 5. 1,000
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T=(100*Sl)/ (P *R)
= (100 * 1000) / (10000 * 5)
T = 2 yemipsein

38. emaugerd eleiiLieui ¢5.500 g7 GICaUTH WTHSH OCBHTLHSHHNID @I
DIehFVBHIL 5 YMBBEHHGHF OCFVISHSHIHBIT. au'lp aipd 7.5% erafled 5
U BH6IT (igalled Ui QUEBID CFTens 6T6ilousIe)y?

ellenL : @.35718.75

ellenésd :

@6lOeuT@® THUPD CFMISHICLBID OHTens P = @5.500
LOTHEIG6MET elamiemidemnsd, N =5* 12 = 60

el lg efsb, r% = 7(1/2) % = (15/2)%

Qs FasHw GxTens = pn = 500 * 60 = 5.30000
EzTLT eneuliysasmeod, N = 1/12 [n(n + 1) / 2] oy emiGasseit
=(1/24) * 60 * 61 = (305 / 2) =y ewIBaE6IT

e’ lg | =pNr /100

500 * (305/2) * (15/ (2 * 100))

.5718.75

yeRiBseier (Wgaled Seui Guupd Gxrens = pn + (pNr / 100)
30000 + 5718.75

5 gyenipserien (pgallsd Seui CuBID OFTens= @5.35718.75

T N T

39. allegmed @6lCeUTmH LTHS HiUSSHSHID @ 200 @ T DiEhFBHHEL 5
Y WHBEHSGHF CFHd ubSHTI. (WPallsd Seur . 13,830 CupisSpri erefev,
aully eiFld eredien?
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allemL : 6%

allenébaLd :

A= .13830, P = @5.200, N =5* 12 = 60 LOTHBHIHEIT

N=(1/12) [n (n + 1)/ 2] syemi®asei

=(1/24) * 60 * 61

= (305/2) <y ewipasei

QrHsd FIHHW GxTens = pn = 200 * 60 = 5.12000

Busuiled e d@d WHiadh GsTens = pn + (PNr / 100)

13830 = 12000 + 200 * (305/2) * (r/100)

13830 - 12000 = 305 *r

1830 =305 *r

r = 1830/ 305

el lp efpd = 6%

40. m sewlefulenr eflemsv ap. 20,000. @M BHoleuaid RHOHTendEemW 10%
QL IQUIL 6T 36 LoTHSH SHauenemWTedh HHBMEH oafed, Rend auThiGUaT CFISHD
Couewrigul LOTHH HEUENHETT 661666 ?

ollewl : @p.722

ellenésd :

somiefuilelr eflensd = ¢5.20000, aul'lp YeWIGLTepIsE = 10%
&MV = 36 LIHMIGET (3 emIBHIH6I)

Qwrghs eulg = 20000 * (10/100) * 3

= 5.6000

oieiBer QFVIHSH Ceuswiigul QorsHssH GdTens = 20000 + 6000
= .26000

oTHsH SHelenem = (QTssHsH CFTensd) / (COTHS LOTHHIHEI)
= 26000/ 36

05.722.22

(. 722
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QUG
1. orelbsd oleuflel HhHensule HHLMBHHBES DM UBLHRISEHSHSGL L6
Upsaspri. oyelbdenr HTUl Seuyd SLumeneusil. 5 euwigh Qenemuleui LOBHBID
aalbmsal 20 auwdl cpHHeui wBEID peilbdHlen euwgh 10 YIHS6N.
SemasWred Syelbder SIUTlBE@ 6bhd audHed Hmwewd BLbH SBmbBESLD?

allewl : 23 QI(HLMKIH6IT

ellenésd :

aralbdler sBCUTMBHW ewigh = 10 YT BEH6IT

Sleuang Sruler HBEUTensw euwigd = (10 + 20 ) = 30 S ewBHsI

Slaag Shmsuler HBEUTemHW ek = (30 +5) = 35 g emBHsi

oalbd LIBhsCUTE Sieuag Shasuiler eawgk = (35-10) = 25 yemiBesi
5601, salbsler stureler HmwaSHGICLUTH DiamBE MG = 23
&),601 (5 B61T

2. @@ L6 LBHID HHwd euiswerien euwigh eldlsd 3 : 8. &6
HhenHemwallL. 35 < euIBaEsT Senenwleui elefled, Djeuidsellen UGBS HIwIS.

alemL : 21 SYeWIBH6IT, 56 6HIBH6I

ellenébsID :

0BG UGl = 3X

SHhmd auwd — 8X

gOemaisy euwigl efalmb =3 : 8

& HhenHmwellL 35 emBoHen Sememwieut ereflsd, 8X - 3X = 35
5x =35

x = 35/5

Xx=17

wael auwgd = 3X =3 * 7 =21 yemiBasei

SHMSH oG = 8X =8 * 7 =56 Sy ewiBasei

3. @ L& LBHPID HHmd Reuisefler euuwig ellalsd 3 : 8. a6
ShemHmWallL. 35 eRIHEH6T EEMENMULIOUT 6IN60, DIEUTHEMET CUUIGHIHEN6END HIT6uIH.
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L : 21 SeIBEH6T, 56 Y eTBEH6IT

allenébaLD :

D&6HT UGl = 3X

HhndH aluH = 8X

gOenaisv euuwigl efladlsd =3 : 8

o&6iT HhenHmwal 35 SewiBHsT Semenwieui ereisd, 8X - 3X = 35
5x =35

X = 35/5

X=7

&6 g = 3X =3 * 7 =21 emiBsein

HhmdH eIkl = 8X =8 * 7 =56 < eniBHeir

4. A, B, C, D ga80umflen Fynafl el @QbH eIHLBISEHHE (P61 45
eiser. A, B, C, D, X galGumfler BGUTensdul aluidl 49 ewiBHeT eafled X
&1 HBCLUTENSHWI NUIFHI 616560 ?

allemL : 45

ellenésd :

Wb UBLEISEHEG Wl A, B, C, D o88wniflei euwiden ga®Bdeo = 4 * 45 =
180

sBéurgk A, B, C, D g@8wrflen euwider am®Bxhed = 180 + (4 * 5)

=180 + 20 = 200

A, B, C, D, x ga8urfler sBGUTensdw alwuder dm@BdHso = 5 * 49 = 245

X er emwg = 245 -200 =45

5. @meut Heigl SNl o gl wl SBOUTensW euwigiSTer B LImbseurs
STEITEIENL_UI QIWISTGLD. FHhHendwlen SBOUTEHHW euuidl 36 6160, 5 QIMLBEISHEHSS
SIUTSH LOSHANGT UWIGI clleouTd SMHBELD?

L : 13 gy erBasein

allenébaslD :
SHmSHUIGT uwigH = X
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LOGEUI6N 6UWE = Y

LB,

X-y=Yy

X =2y

FShmduier HBEUTMHW eI = 36 L 6uIBHH6IT

36 =2y

Yy =18 YmiBH6iT 5 QUHLBIBEDGE (P Lodeailen eluigh = 18 - 5
13 oyemI(HH6iT.

6. salowm ercieui SHalHrellel Lom6iT. HeBHT eIdTUNMT FGHbHH6OTEN LODH6I.
SHANCFHIT er6iiLIoNT FGbHeomellenr Sewroui elafled HaNCOTY HANCFHMHBE 666N
o _mey?

alewL : BusbHd)

ellenésd :

SHANCFHIT e6iiLIoNT FGbHeomellenr SHewioli. HOIGCFHT, FGHbHOT HSGWITleT L6l
sllBHT auri. selsrellen o6 HllOOTY IS TEL HNOLMY HaICFHMHBE
CusHad (wWenBWTGLD.

7. LOTEOT HGH LOSHANLLD, 6T0IH QUK NS HMEVBIOTS TSI 26
SuTelen aug HenLoHGD. Dt elaieneiall ApHHaul YOITT LOMEBID 6THIS6TSH)
alwger allbAunFid emisefer alLFen gnl HHOHTndEUNET 1/11 LBIGHE FLOID.
5Ca, meomelledl QMU eT6iieIaITd GHEHGID?

alenL : 45 Sy eBaEsein

allenéasD :

omeomalledl euuWIged SreiLmiLGHHled 2 _s6itenm EREVHHHBMEN X 6TANQLD,
QEIBIOL HH60 2 6iten RevdbEHHlene Y elamad CET6iTs.

wmeomelledr euwid = (10X +VY) S emiBaoeit

wreorellenr demieui euwigl = (L0y + X) oy ewiGasein

(10y + x) - (10x +y) = (1/11) (10x + y + 10y + X)

(9y - 9x) = (1/11) (11x + 11y)

9y -OxX =x +y

10x = 8y

X = (4/5)y
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B0 Y 61U QBB ReVHS CIEMIMTHOLD DGl SLLIWD 5 Sedr
QUmBBBLEIHT QIMHEUBTHELD SMHBGSLD.

X=4,y=5

wmeomedledl euwig = (10X +y ) oLemiBaH6iT

=((10*4 ) + 5) syemBHsIT

omeomeiled eMuIHl = 45 YewTIBH6IT

8. @ GOBLUSHD @M C,MYsEE& @M BT LOBBID @ LOH6T 2 _6iT6N6I.
sllurelen ewdl Seufled osefler euuigensrl GuUTeL cPGIHI LBIG UGLD.
LDGBE6N U0 LTS DiefdH SDDOTel6 allG UG&GD. SeufdEH evenall 9
SYMIBHEH6T Dieuenyall Genemuioui OBEHID BT euuIH 7 YeTBEH6IT o6t 6
awgmaral. SiFHsD. HHCa, Seuisefen DIDOTANE ULISNRNS HTEIS.

e : 60 S eIBEH6I

ellenésd :

o&eMle UGl X eTBEH6IT 616015,
Siureller e = 3X eI HH6IT
Sibwreler awg = (3X - 9) o ewBHsIT
aafer alwg = (X +7) yeniBamsin
aiHemmey, (X +7)=(3x-9)/2

2Xx +14=3x-9

3X-2x=14+9

X =23

SUMBWITEL, SiboTellen eluigk = 3X - 9
=(3*23)-9

=69-9

=60 <yEHIBE6IT

9. OpeBeden auwigl, Creugdulsh auwen el 3 Gemme). OHeiIBellen euuigk 18
eTenllsL, Greugluiled euuwigl eTedrenr?

allewL : 21 Sy erBas6iT

allendbsLD

Creugluler euwigHl X 6160

Oxeimelenr euuid = X - 3

Oxpeiipevlent euwigl 18 YewiBEHei el CaTHSHSLILIL (BeT6ng..
Xx-3=18;x=18+3

X = 21 gyzeomed Creuglulleir euwigd 21 S @LD.
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10. gn@e6v ereiLeuflel euwdl 15 euBLBEIBEHSHGSU UBG, 5 6UMLBIGSEHHE (Lp6dr
SIS UWHer 5 wLBmsUBUTey HGWw. HBC6, Seurd SHBCUTMSHW UG
61601601 ?

allenL : 4 SEIBHSB6I

ellenéaHID :

JT&60 ereiiLiedfled auwighl X eraidh Qbmeis.
X+15=5(X-5)

X+ 15=5X-25

4X =40

X=40/4

gr&edlen HBEUTenHW euwigh X =4 S erBaHein

11. Bhend Waaler alwgemearaill 30 e pdHHeli. 5 eI(HLBIBEHHS L6,
ShmBHUIT alugl oafen awgHemeaiGurey 3 LMIEG & BB Hhenguller
SHBOUTMSHW IULIFNNNE BHT60IH.

alenL : 40 S eRIBEH6I

ellenésd :

SHmBHUIT QLB ener X ealafb BT aluHenet Y elaiad o6,
X =30+ Y ----mmmmmememeeee (1)

X+5=3y +5 oo (2)

Foemm® 1 - eow 2 - @60 LFguiL,

30+y+5=3y+5

y+35=3y+5

3y-y=35-5

2y =30

y =30/2

5 UBLMEIGEHSE L6 wwaefler euwgb= 15 <y emiBasein
&SBOUTEH el auwig = 10 a6l

shensuler sBCUTengswW euwig = 30 + 10 = 40 Sy ewiGasei

12. ubH YSBHBEDHHG (Weieumsd A 6 euwgk B e euwglsd urgdlwns
BmbaHS.SBCUTHHW Sauiseflen euwgk alasd 3:4 erafed, Sleuiaserler
SBOUTNSHWI NWIFHIHeMeT Fn[BH6L 6T60T60 7

allemL : 35 eUHLMIG6IT

ellen&BHID :
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sBUTE A o1 euwgm = 3X

sBuTEl B e euwgm = 4X

UHSH UWBBEHEG et A e euwg = 3X - 10

UHSH YWBBEHEEG (WP B eir suwg = 4X - 10

UHSH YBBEHEEG (Wi A:B 6 aawig ela@lsn = 1:2
eteiGeu , 3X - 10/ 4x -10=1/2

6Xx - 10 = 4x -10

2x=20;x=5

oTeiGel, HBEUTH Sieuimeien euwiGHIBelen FBH0 = 3X + 4X
=15+20= 35

13. P oipip Q <@Buimflesr HBGumensdw euwider aladlsn 6 : 7. Q eeueni P
emwiell. 4 eIl apsHHall eafed, 4 alLEISEHGE LIBe P wobpip Q eler
QILIGHen eNadIHID 6T6dT60?

ollew : 7 : 8

ellenésd :

P wopmid Q efleir suwigl 6X, 7X Y@Ib.

&,

X -6x=4

X=4

Cxpemeuwimenr el@lsd = (6X +4) : (7x +4) =28 : 32

4 ampLBsEnEE& LUng P woppid Q efer euwger eldlsn = 7 @ 8

14. gibwr, geiaienw el 7 ewg Fflwent SeuiseEmenLwl euwiglen eildHLoTeig
7 : 9 eaafled Fowmelled euuigl 6T6dTenr?

alenL : 24.5

allen&asLD :

marauler elwend X e6s OsTes
Fibwreler elwengd (X - 7) el Q@BT6iTH
x-7Ix=7/9
O(X-7)=7x;9x-63=7x;9x -7x =63
2X = 63

X =63/2 =315

giowmeler enwgd = (X - 7) =(31.5-7) = 245
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15. A opgio B ulleir suwg elldlmmisst 6 : 7 @w. B gem@m A eoow el 4
QUL SIFBLOTGD 6laled 4 UMLEIBEHSHSG UBE A wBpio B uller euwg
61601601 ?

allew : 7 : 8

ellenébaHID :

A Bgid B uler euwengd 6X oB@Id 7X etend QHTeiTH

X -6x =4

X=4

el@sd = (6X +4) : (7x + 4)

=28:32

=7 :8

16. cpeiipl LomewicuiBeflen FITFfl UWISTEIH 15 QUHLMIBET SleuTHeMeT U]

@ SHhIB6T (WpemBBW 3 : 5 : 7 eafled Seuismeilev Fpjluwi omewreuifled euuIHl 6T6bT6N?

ol : 9 QUHLMBIHEIT

allenébaHID :

apeiil omemreuiseflelr ewiengd 3X, SX, MEPID 7X etend QHT6TH
(3x +5x +7x)/3=15

15x /3 =15

15x =15*3

15x =45

X = 45/15

X=3

Aflw rewieufledr euwigd = 3X
=3*3

= 9 GUIHLMIG6IT
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6T600T S 61T

1. @@ oclewienie LITHUL 6T DibFH elewieniled b6 @HUBINSHS Fal lgenmed 21
HMLBBBH. b 6l wWrgHi?

allewL : 30

allenéasID :

(x/2) + (x/5) =21
(5x+2x)/10=21
(7x/110)=21

7x =210

x =210/7

X = 30

Capemeuwimenr erewr = 30

2. SIBHSBHB WD PBMMB 6TIHEN6N FnBHV S51. SibDH 6CIMIBMEND BHNCHIDH.
ellemL : 15, 17, 19

ellenésd :

WS PBDB 6TeW = X

@ewILmD gienm 66wt = X + 2

APSIBTLD @PMeNB 6lewr = X + 4

IBSHSBHSHI APHIB QDBMMB 6lewIbemen aMHHWTFID 2 6leufled
X)+(x+2)+(x+4)=51

3X+6=51
3x=51-6
3x =45

x=45/3; x =15
Copemeuwirent etemigsil = 15, 17, 19

3. @ au@LLiled o eiten Glongs LomewIeY, LOT6IAIG6II6N  6l6wT6m0ISH S UT6H
LOTGRIEUT 61T  6TE0T6NNB6ME  LOTEmT6H6ITl6  6T6v0T6mN b emaeNWILIGLIT6L  peiT] LOL MG,
QG. YHCeu, Sslu@GLILIed 2 6iten OLOTEHS LOTewIE  LOTEwIN &6 6o
eTeTemNBMBSHG Ll meusieuBmien eelallenl. QUTHHSTH 611D HTCHIS.

) 48 o) 4 @) 42 ®) 40

alenL : 42

leNGHLID :

orewrelEerllain eleniemldend = X 6led OHT6TH.
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LOT6WIGUT 66N 6TEwIMNBM®E — X 6160Id OBM6ITD.

Qrsg Wrewiey LomeRTeNl&H6I eleiemidemad = 3X + X = 4X

566 OoTdHd Lomewiey LoTERINE6T SLLTWD 4 P60 eUGUL GouewiBLD. DIFH6MT6,
CaThesaIULL alLBEmeT 42 616l Gl SLLTWD LT Hd Lomenied  Lomewrellderedr
TEUTEMNBMBUITS S[HBES (LPIQUWITSI.

4. 366 UGBMIBET QBMMIL @M LHHBHHE0 2 _6ilem QoTdhd Hevddmidserein
6TEUICINI BN BMUIS BTG,

allewL : 990

ellenésd :

QrHs Bevdsmiseien eemienilbms = (BB GevdbsmisHeiea ememibans * 1) +
@y L Revudanhisen QBTN elamimbeien eclamiamiband * 2) + cpaip ERe0bHmISH6I
QEBTeRIL  eTemIH66 slewienldmae * 3)

=(9*1)+(90*2)+ (267 *3)

=(9+180+801)

366 USBHIHET CHBTMIL @M LHSHHHL 2 6iten OoTHdH H6vdEnmiHer 6
eTevilemlibend = 990

5. QeI eremideleal Fml BHOHTMS 72. GuUflwl etemr Fpjlul erewTemenIl Gumev 5
IDLBIG 6lafled, Db 6T6MIdH6T WmTeneu?

allenL :12, 60

allenébsID :

Aflw etemt X etedled GuIflus eTemr SX.
X+5x=72

6Xx =72;x=721/6

X =12

5x = 60

fflw etewt = 12 ; Quflw etewst = 60

6. auremfuilLb &lev 2 gpUTUI BHTEILIMISET LOBBID 5 (HUTUI [HTERILIMIGET 2 6iTeme.
BreRrLmIG6NeT OLoTHs eemienlldensd 15. CrTeHs WHUY 51. @elbeuTm cuensUIeID
® 6iTeN [HTeRILIMIGET6N  6T6mT6nllHMBMUID  HITERIS.

allew : 8, 7

allenéaId :
2 gpuUTUl [HTERIWIGIGEIET 6lemienibamnd = X
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5 epUTUI [HT600TWLIMIG6I6GT 6lewIemdbemnd = Y

BTewTILBIG6M6T QomHd elemienidend 15 6@, X + Y = 15 - (1)
Qregs wHY 51, erefsd 2X + 5y = 51 - — 2)

FOEHUTH ledw 2 Yoo OUmBES 28D FOGIUTLMLG HPdHd SlenLLLgl,
3y =21

y=17

y =7 aemensd X +Yy =15Yy; dyguiL,
X+ 7=15

x=15-7

X=28

2 epuTul Brewrwnhisefler erewlenilbens X = 8
5 emUMTUI [HT6WTWIRIG6IIGT 6lewienidand Y = 7

7. @ oclewiemied LUTHUL 5T Db oclevilenflled IHDHL QIHLKINSBS Fal lgeimed 21
HML_SBBH. b 6lewr WTgHi?

allemL : 30

ellenésd :

(x/2) + (x/5) =21
(5x+2x)/10=21
(7x/10)=21

7x =210

x =210/7

X = 30

Capemeuwimenr 66w = 30

8. IBHSBHSH WWHB QPMBMMB 6IeMIH6MT FnBHEL 51. bDH 6ITWIHMN6NDH HITCUIH.
e : 15, 17, 19

allen&asLD :

(P60 PBENB 6160 = X

SyewILTD @Bens elewr — X + 2

ApIBTLD @MBens etewr = X + 4

SIBHHBHS PN PMBNB 6TMIH6MT MNHHWITFID 2 6T6ulls0
X)+(x+2)+(x+4)=51

3Xx+6=51

3x=51-6

3x =45
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x=45/3
x =15
Copemeuwirent etemigssil = 15, 17, 19
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9. @ Gpeled 2 eieneuisenen 24, 45, 60 eleor Fwwonsll UfHHT60 Gpailed
9 _6iTeN GMBHILULF BLITH6IT 6l6l6u6I6)?

allewL. : 360 BLITH6IT

elleNnb&ID :

24, 45, 60 e WSFF@ OUTH OLMHIG STewr GeuswiBLD.
24 =2*2*2*2

45=3*3*5

60=2*2*3*5

24, 45, 60 et 8. =2°*3°*5=8%9*5

= 360

10. @@ LmewieuT @ elewinsm 27 YPev CUBHmSGHUSBGL UH6L 72 YO CUMHEBS
SIGEG FHmLHS el Fflwmer allewLenwl ofl 23175 9iFHHD iiLIgCWeTeL
Fflwimenr eTewr wimgl?

allemL : 515

ellenésd :

Capemeuwimenr eTemI = X

Fflwmenr QUmBHeL = 27 * X

SHOUBT OLmBHD = 72 * X

SHoUBmen OLMmeBBMBLeVsT = Fflwmenr GOUmBSH + 23175
72 *x =27 *x + 23175

72 *x-27*x=23175

45 * x = 23175

x =515

Cxpemeuwirenr etewr = 515
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12. @ otewienlledl 3 LOLMIBOIMGHSH 6 20H HPHBTL 18 SIS Db 616w
wirgi?

allewL : 8

ellenébaBID :

CapemeuwiTenr 616l X 616315,

eTewTemien 3 IOLMIG = 3X

eTewtemned 3 LOLmISeOhb&H 6 |H HWPHSHT6L SHlewL gl 18.
3x-6=18

3x=18+6

=24

x=2413

X=28

Copemeuwimenr eTewi = 8

13. @M Tl LSI60 2 6itenn LGFHD6N LOBBID ComPseflen @mevamer e
6TEUOTEMN MBS WITEIH] SIUBBIET HM6VH6IT6T eTeitemldandanwiall 14 DIHBLOTGID.
HBCa QoTHd LSFSHHeN 6 6T60T6wbMNBMUIDS  HTENRISH.

allenL : 7 USBDB6I

ellenésd :

LIGdH6TM 60 cleuilemnbend X elaied, GHmlaeien elewienidandemnul Y 6Iaia)]LD
Cseis.

LB,

Ax+2y =2 (x+y)+ 14

4K + 2y =2x + 2y + 14

4x + 2y - 2x -2y = 14

2x =14

Xx=17

566, UFSH6M6H eclmIMIBMB = 7

14. qmeur 220 Y BH&H6T WUSHFHSTT. eelbeuTsiienBuDd (5.650 IS alBpIs
SHMLHSH LM BHH6L LSFisHHmen eummidlenmi. @m Ugelsr eallensv @5.5800 ereafled Sieuir
THHMN LIGiHHm6N aummia Quumi oBoid SHOhEGD OHTensenulds HTemids ?

allewL : 24 LSBT, @538

allenébaID :
bs6m alim ellensv = 220 * 650 = 143000
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143000 / 5800
24 UGHBHDHET

GUTRISIW LISHHH6I60 616001601 45605
GUTRISIW LISHHH6I60 616001601 45605
B HBESLD OHTenEd = (1H.38

15. 7, 5, 1, 8, 4 aiehiB @evdHHMmGMENL LWALUGSHS WsUouflu sebdHlevds
eTemTEnemIWLID, WOIBFFNIW RHHeVHH 6TUImeNIWID BB DleUBBIEHsenL GuiuwiTet
ASHIHUTFHMBH BTOHIH. (RVHBMIBMEN @M (LB LB UWLSTUGHS CouswiBLD).

ellenL : 72963

ellenésd :

Quflw etewr = 87541

Adlw etewr = 14578
elsSunsid = 87541 - 14578
alHHungd = 72963

16. 925 el6iB 6l601 16 61603 6TEMIEMIL 651 OBHTLILGWL WGl 6T6l60, 835 6160M  6T600T
TSHMIL 60T OBHTLILEML WG| 61601  HIT6wIb.

allemL : 16

ellenésd :

CaT@aslIUlL aflamealsd 925671 SiMAISHH SHEVHIRBMENUID Fnl L. 16 6I6IB 616w
BHmLBGID. DHIBUTeL, 835 6leiIM 6TewTenillel DINMNBHH REVHEBRIBMEMUID Fal L 16
GT6ILIGH| BML_SH@GID. SIHTOUSI,

9+2+5=16,;8+3+5=16

17. O&TLfled X @6ii WFHienUd HT6wIH.

88% * 370 + 24% * 210 - x = 118
allewL : 258

ellendbsLD

(88 /100) * 370 + (24 / 100) * 210 - x = 118
(0.88) * 370 + 0.24 * 210 - x = 118

325.6 +50.4 - x =118

376 -x =118

376 - 118 = X

X =258
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18. @@ Gumbad X e16iiB BHISHSVMHbH UBLUGLEUTH SiFHed 2 _siten OoTHSH
QueNiisellen eTewIemNbmM® Y eIH6II6N slamIenlbenduled LUTHWTGW. UBG baID Y
60 10 Sy eviimeil SMHRISIATTIHeT OBEBID 5 CUesissT 2 6166 HIHIPHIHTIH6IT.
@UBurEkl OThHs Yewisel WBEHID OCLeHIGeT6T eeulenlldbmeds FIOWTH 266N,
eTeGeu, (PFH6eVl6L eTHHemen Liwlenlder CUBHSHL SHbHHHBH FnBLD?

allewL : 45

ellenésd :

Quewiseilen eTewIemidem®d = X

yoiserlein elewienllbends — 2X

BBEJD Y 60

(2x -10) =(x +5)

2Xx-x=10+5

X=15

456a1, (pHeded CUmbBH BMbd Lwenliseaien eemenidama = (2X + X) = (3X)
=3*15

=45

19. @ MOSHTHHIHIL GHHMHoif6n slewtenilbmBUD, SlUBIIEL SIOTHS
@mluecuisefen erewtenllbmBUD FIOTEH SHHHEN. DIGUTHEIT LILIEHT HIH NS
OaTLRISWeL 6T CoTHd GHenFHsT BEBID DieuBBled SIDiHH RmLILIeuTEH6r 6T
eTeitemnbemaUulled LITHWID BLbFH OFsodleimeri. BLbH GCaFsOLIeNTH6M6T HTEODH6T 60N
cTeuiTemnNbemd 70 6I6aN60, DIFGL 2 _6iT6N G B 60H6T6o  6T60T6m0NHNHMUIS  BHT6U0TH.

alenL : 14 GHemyabeir

ellenésd :

GIenHerlen clemiemibmnd — iOTHH SRmLILUTHeT6T cTemIenldmed = X
Qs sTeoseilen eememidand = 4X + 2 * (X /2 ) =5x

PMBWTEL, SX = 70 Sevevg X = 14

Cwrhs GHmymerein eleemibm®d = 14 GHenTH6IT

20. @ euGLuUemBuied 3/5 umig Teel®EHID, LWHID LOTERIETSHETHLD
Bmobdepeni. emTed, 2/9 LUMkIE WTeeNS6T WBEID 1/4 UGG LOTECUTH6T DD
AGLLSEEG euFalsvenevbuensd, SiETmBUL SHEID IGLUMNDBEEG 6)bSHeT a6l 6
LmISlenend STewlsb.

ellenL : 23/30

eNGBSHLD :



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

orewredldein = 3/5

wrewreuiser = 1 - (3/5)

=2/5

SiIMBW FHald UGLLUBG 6ujTsd Lomewien rewelseT = 3/56 2/9 + 2/5 0 1/4
= 6/45 + 1/10

45, 10 er 18.8.0 = 90

=(12+9)/90

=21/90

=7/30

SiGImBUW FHald AGLILEEG albdH Lomewiel rauelseT = 1 - (7/30)
SiImBUW Hald AGLIUESG albd Lomewel raelser = 23/30

21. @@ wremeue UFHleveliss 48 eallemebsailed geuGeurm Fflwren ellenLwefldHamns
SIbHH Qrewi® SHoUBTHT eNAIMbBHEHHE oflenLWeflbSBTer 6alsd et 615Hma
Fflwurenr elemeseEnsd ollen weflldbad i ?

allemL : 16

ellenésd :

orewieuedil LFHevellihad Fflwmen ellamensy X eleioyb, SHOBTS LGHeveMHSH eallarmene
2X elana)ld O\BT6iTH.

X +2x =48

3x =48

X = 48/3

X= 16

orewieedll Fflwnas uHevellds allenmesenen elawienisamnd 16 Y@LD.

22. QeI Guenmedeit LOBBWID cpaiipl OueiFlebsemen eflenso . 86. BTG
Cuenms et BBID @ GusFleler allemsv h.112. <HHCeu Guenm LOBBILD
Queiidleller ellensvenuis &HTEwIS.

el : ap. 25, ap. 12

allen&sLD :

CGuenmelleir ellemev = X Guendledleir allemey =Y 6laid OEHT6ITS.
2X + 3y = 86 -------------- (1)

4K +y =112 ------mmmmmme- (2)

FLOUTH eeilensB QRewiLmed GLMmHS DHmbH SBUeRILmD FoaT nL & HPhbHs
Geueutt(BLD
4x + 6y = 172
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5y =60
y=60/5
y=12

y eowl Fosiur® 1 iebeozdl 2 60 LpAuiL X = 25 eeiugl SenLs@ib.

CGuenmeaileir eflensv = p. 25

Queirfledleir eflemev = p. 12

23. @ oTWIEIL T TMid Fnllg, ellenLemul 5 P60 CUMmEBS aumEUMS 9 6L
AGSHSH BMLEGID FaledmbH 3 mwd HPSHHTEL 12 66l LHWTE SenL_db@GLbD.
566 SIbDH eCTHIMEWISH HITGWI .

allemL : 20

ellenébsID :

BWIBLIIgEHE Beuewiigul eTewIensll X 66l ObT6iTd.
(((x+7)*5)/9)-3=12
(((x+7)*5)-27=108

5x + 35-27 =108

5x =108 - 8

5x =100

x =100/5

X =20

seiBLlgbs Calemngul etewr = 20

24. @ a@LuTeikl 10 a.m. Bg SHeumd 1.27 p.M. B WgamLBBSH. Db
Cryr QemL_Geueriiuiled BT6TG LITL Couemenaseir HemL GBI SIBEL. e6elGeUTTH

urL Geuemenss@ LIBGW 5 BIOLLD LoTemeuisEns@ uley Grywrs SlefssliLBa B,
eTetllsd geilleum LML Geusnenuiled &T60 DieTen6UdH HIT6IIS.

allenL : 48 BIOLID

allen&sD :

10 a.m. mew 1.27 p.M. paew PmLCw 2 _stemr Gryd = 3 wewll Gmyd 27
Bl = 207 phdlLid

apeiiml UTL Geuemend@ SIBHEH LOTRINTHEDSHE DeNsGL @uie] Cprb = 15
BIOIL_LD

apeiten Guyb = 207 - 15 = 192 pldlib

Breii@ um_Geuenensefled @eiGeursipflen @mev eney = (192 /4) Bl = 48
BIOL_LD
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eeuleur® umLGeuemenullell &Tev Sleey = 48 HILOLLD

25. Quewi® (P 6TMBEDHEG RPOLCW 2 _siten alHHWTFID 5 LBBILD DibS B
W oelewismemen OumBsBUeVsT 500. 6o, DibH 6ITNNMIS HT6U0Ib.

aflenL : 20, 25

ellenésD :

@m W eTemiBen X, X + 5 616i1b.

@m W eemisedlel CQLEmSBHMBLUGVE 500. DiSHTEUS,
(x) * (x +5) =500

X+ 5x - 500 = 0

(x+25)(x-20)=0

x =20

45601, Q® W sleideT = 25 wBmib 20.

26. Qewi® Guenmdser MEID e CueiFlsomerilein allewey ap. 86. BTG
Cuenmdmeit BXID ¢ OueTFleden aflemev h.112. <&HBGeu GueNT LOBBID
Gueiidlellein eflensvenuid HTEIH.

ollewl : ap. 25, ap. 12

ellenésd :

CGuenmaileir eflemev = X Gueiifledleir allemev =Y eleids OET6iTES.
2X + 3y = 86 -------------- (1)

A +y =112 ---—---mmm--- (2)

FLOGILTEH eeilenp STewiLme0 CUmEBS DIFHeOmHEH SIEHILTD FOGLTL WL & HfdbDH
Goueuit(BLD

4x + 6y = 172
4x -y =-112
5y =60
y=60/5
y=12

y eowl Fwemr® 1 osiedeog 2 60 UFdHul X = 25 eeiiugl alenLsGL.
CGuenmeleir ellemsv = ¢m. 25
Queiidlellenr elensv = @p. 12
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27. @@ 66wl LBEID SibSH elewienien HMVSY YPBlweuBplen FEmBHe0 13/6 Y GL.
566U, SibH 6IIENWD BTN,

ellenL : 2 /3 Slevevgd 3/ 2

allenebaHID :

SibG eIHIEnem X 6I60dh OBm6iTs.
Xx+(1/x)=13/6
(x*+1)/x=13/6

6x°-13x +6=0

6Xx”-9x -4x+6=0
(3x-2)*(2x-3)=0

X=2/3 o000 3 /2

Cxremauwiren etemr = 2 / 3 oevevgd 3 /2

28. @i ecTewionem 4 6O AUGHH SIS 6 |b Sl LE SwLlug 10. b
GTERIENEINS  &IT6wISH.

eflemL : 16

allenébasID :

sIBLNIgHEs Calewrigul eTemt X 6Teild OBm6iTD.
(x/4)+6=10

(x/4)=10-6

(x/4)=4

(x/4)*4=4*4

X= 16

29. prei@ RevdshiEmen 2 el Wl WslCuflu etewr 12, 15, 18 wmpid 27
CureirpeuBmTed WFHuUleS I@GUBLD. YPHCo1 DIHSH BTG REVHS 6TRIMEIEH
&en1 L.

alemL : 9720

allendbslD

BT6iIE Sevdbsmisamnsn 2 el Wslouflul elemr = 9999

Copemaui@B etewr 12, 15, 18 wBE@d 27 YSlweuBmred Lglulle eu@u@BLD.
aiFTeug 12, 15, 18 wmpid 27 Qeudmled 15.8.10 Qv uGUBLD.

12, 15, 18 wmpid 27 Qeupmlehr W5.8.0 = 540

9999 enwl 540 YO UGHS 279 WBHWTS SHenL&HGLD.

Cxpemeuwirenr etewr = ( 9999 - 279 ) = 9720
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30.2x +3y+z=55,X+y-z2=4 wppw y-X+2z=12 eefled X, Y, Z
SiFBWweuBpledr L Henend Hmesisb.

allem : 7, 11, 8

elleNb&ID :

QBETBHBLILULL. FOMLTHHET :

2X + 3y + 2 =55 ----mmemee- (1)

X+Yy-Z2=4 - (2)

y-X+2=12 --------mm--- (3)

FaLTG 2-ow 1-0Ghs sWss SoLiug =X + 4y = 51 ------m-mmm- (4)
FaLTG 3-ow 1-0Ghs sWss SoLiug = 3X + 2y = 43 -------m--mm- (5)

FIDGILTG S5-mul 2 YPeo CUmEBES F6aILTB 4-ow AFHMHEH BPdHs 5X = 35, X
=7 eIiUug SHewL&HGID.

X 6 wHlenu Fosur® 4 - 60 UrHuiL 4y =44,y =11 dHenLsGlb.

X,y 6 w@lenu Fwaum® 1 - 60 LyduiL z = 8 &L sGlb.
x=7,y=11,z=8

31. X eleiug @@ Gpwienm elewr eialev, Llsieu@m 61bd OBHTGLIL Guiflw
wHlflener 2 _enLwHT@LD?
a)x/x b)x/(x+1) c)(x+1)/x d)y(x+2)/(x+3)

el : (X +1)/Xx

ellenésd :
(x+1)/x eteiugl wL. GO GQufiw WA YGD. goaed, BB JiMTHSDI
CaTeUleb CHTEHHuUled 2 _siten eleemimenidl LIGEHUI60 2 6iTen  eTewiensniail
FBWISTESLD.

32. pymengl 212° F oevevg 100° C 60 Qandlasipg wppid 32° F siebeog 0°
C o0 2_medBa. 560, Sb%H Hreflsd 35° C eemgl eeleuene °© F &@&&
g YEGL?

allemL : 95

allenébaLD :

(F-32)/(212-32)=(C-0)/(100-0)
(F-32)/180=C/100

C=35aais0, F=((35/100)*180)+32; F=63+32=95
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33. 20 ewuaFT LOBEDID 25 UFT YHweuBpledr GLOTHSH eTeRIemllbmd 324 YGLD.
Cugib SeuBsler FLBH0HTME .71 YGHW. PHCe, aHHMmN 25 MLFT
9 _6IT6eNG| 6160%H &HT6WI%5.

allemL : 124

el aLD:

20 ewUFT [HTERIWLIBIGEHEN 6lemIenldband — X 616i1&5, 25 6MUFT [HT6wrWInIHerein
TEUTEMNGBMNE = Y 616015

0.20*x+0.25*(324-x) =71

20x +25 (324 -x) =71

5x = 1000

x =200

U5Cel, 25 ewuFT Hrewiwnkisefler elewienfidens = 324 - 200

=124

25 ewUFT [HTERIWLIBIG6HEN clawienldbend — 124

34. QaEMEaHELILLL FloET edL LWeLBHSH X BEID Y 61 HienLd SHTewls.
X+2y=7,x-2y=1

olen: X =4,y =3/2

eflenésLb:

X=2y =7 -----mmmmmm- 1
X-2y =1 ---mmmmmmem- 2
Foemn® 1 260 Uygsuil...
X+2y =7

x-2y=1

2X =8

X=4

X=4 aer 1 60 UygduiL
X+2y=7;4+2y=7
2y=7-4;2y=3

Y =3/2
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35. O@EMEHEUULL FoMUT L LWeLBH X LB@ID Y 61 HLenLd HTewls.
3X+y=8,5x+y =10

elen: X =1,y =5

elené LD

X +y =8 - 1
5x +y =10 --------mmmmmeee- 2
1x5=15x +5y =40 ---------- 3
2x3=15x + 3y = 30 ---------- 4
FeiurT® 3 elmpbaHl FaTh 48 HPHsH,
15x + 5y =40

15x + 3y = 30

2y =10

y=>5

y =5 aer 160 Uygui
3x+y=8

3x+5=38

3x=8-5

3x =3

x=1

36. X :y egmgHeir ] 1 : 3 Y&, HCeu, (7X+3Y) : (2X+Y) ereILISH60n
wHlfenerd HTewIs.

allem : 16 : 5

allenéHID :

Xx:y=1:3

x=1,y=3

= (7x+3y) / (2x+y)
=(7(1)+33))/(2(1)+3)
=(7+9)/(2+3)

=16/5

(7x+3y) : (2x+y) er gy =16:5
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37.223*431 et etew1 OHTGULIGD * 6163 GBUILIBE uSeons ebd Fnslw
eTevitememil LTSI LTed DIHOSTGSLUUTEIH 9 K60 (PBBILTS euGUBLD?

allewL : 3

ellenésd :

6bd @M 6I6wl COHTGULID 2 _6iT6m 6TMIBET DIMMBHHID 9 6O UGLIL
CousmiBOLefled DHOBHTGLILEL 2 _6iten elemiBeMeN Fnl BHOSTHSWTHIH 9 K60
aIGLUL GeuewrBLD.

2+2+3+*+4+3+1=15+*

15 +* ei6hiB eT6w1 9 Yoo WBPVIOTE euGUL LigHui. Geuewi(BLd.

U506, OBTHSHBULLL. 66wl OBTGUY WHBPlID 9 Yev auguL LyHui
Geuevinigus FMlws 61601 3 HYGLD.

38. (544 )% + (544)' QargssiLlL o OBTEGLLI6D RBMTD BL_SH3H60
QUMD REVBBHBHMED BTG,

allemL : 0

ellenésd :

Copmauwmen @edan = (4 )%+ (4)H03

25661, 47 auFed @eipTD GLHH6e0 aIpD BevdsD 6 YEID.

215I8uTe, 4L @HMTID @ _HE60 UMD SBeVHHUPID 6 PGID.

MBUITE, 47 aiLFed emmd L G360 aimd @evssd (6 * 4 = 24) 4 @b,
eTerBeu, GHemeuwimenr eflen. =6 + 4 = 10

(544)1%%+ (544)' aeip erem C@TEGLLI PBMTD BeVHHHIN60 QUMD REVEHBHID
0 oBGLW.

39. 2, 4, 8,16, . ... .. , 1024 616t OFHTLfl6O 2 _6iten GLoTHSH 6I6wIHS6IT
61860601 ?

ellen : 10

ellenésD :

earhaslUl L GaTLITengd Geometric Progression sienwliied Sienlobaleimengl.
QBCeu, I = 2,

aitag 2', 27, 2°, . ..

OaTLle0 CTHSWD N 6l6iIH6T 2 _6iTengl 6Tafley,
2*2" 1 =1024

2" t=512

2n -1 29
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n-1=9
nN=9+1=10
SMBWITEL, GHTLfled 2 _6iten QonsHdH 6leviimeiei slwienndend — 10

40. SIMANHGH LST 6TeNIHEDHD emenBLLIL 6lewl G, BFH Fflwn? Heumm?
el : FHauml
ellenésd :

DIMANHHI LIST 6I6MIBEHD cBeNBLILINL. 6lewiemiTed QMhHE (WPIQWITHl. goaieaied, 2
61603 61601 GH LSBT 61601 YGHD. YGNTL DG @ DILMLLILIEDL. 61601 Y GLD.

41.2:9:: X : 18 etafled X 61 IS SIS,
allenL : 4

ellenésd :

2:9::x:18 aemded 2 : 9 aeiuengd 2/9 eqieyd, X : 18 eleiiuengd X/18
eTeeYLD, :: 6IILMS = 6leiald LoTBB Geuewi(BLD.

2/9 = x/18

Ox = 36

X = 36/9

X=4

42.A:B:C=2:3:4 aaievo (A/B): (B/C): (C/A) elleir odlienuid HT6wmisb.
ellem : 8 : 9 : 24

allenébaID :

A =2x, B = 3%, C = 4xete01ss Qmm6iTSH.
(A/B) = (2x/3x) = (2/3)

(B/C) = (3x/4x) = (3/4)

(C/A) = (4x/2x) = (2/1)

(A/B) : (B/IC) : (C/IA) = (2/3) : (3/4) : (2/1)
3, 4, 1 e 15.f.p =12

=(8/12) : (9/12) : (24/12)

(A/B) : (B/IC): (C/IA)=8:9:24

43. @ oclcwinem 44 YL UGHGWOUTH 432 elatiugl 158 0 elamoldD &SN SHaSIBHI.
I8 erewienem 31 6L UGHD L5FH 6Tl SMLSHELD?

allewL : 5
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allenébaLd :

Capemeuwirenr etewr = X 6l6iIdb

X /44 =432

X =432 *44 = 19008

X/31=19008/31= 613

5661, 15FH = 5

44. BTG SIBSHSHHD GBODBLILML 6lemiH6NeT FnBH0 24. 61eBoy, SiFHev GLIflul
CTERTENEWIDH  SHITEwIb.

allemL : 27

ellenésd :

BTG SIBHSBHS PBOBLILINL 6lamIdmen X, X+2, X+4, X+6 eraids QHmeiTe.
(X + (x+2) + (x+4) + (x+6) )/ 4 =24

(4x+12) /4 =24

X+3=24
XxX=24-3
X =21

UHCeu, Quflur etewr = 21 + 6 = 27

45. apeiipl elemidbere eauibsmiE6en FnBHev 138. ey elawibsied DIBSHHBHS
@m ereviimerilel CLHBBBLIGOGITB6MET Fn(BHev 131. 6lanBol, DIDEAPSHTIHI 6T6WT 6 6T
FnBHM6VDH HTEHIS.

elenL : 20

ellenébaHID :

Apeiiml elemidemen a, b MEID C et OBm6iTsD.
a’+b” +c’=138

(ab + bc + ca) =131

(a+b +c)’=a?+b%+c?+2(ab + bc + ca)

=138 + 2 (131)
(a+b +c)" =400
(@a+b+c)=20

Sibapsiig eremiselen gm@BHed(a + b +C) = 20

46. @m erowiewllen 1/3 et 1/4 et &y 15 eiadfled, Sibsp eremiamilenr 3/10 umig
6T6)16)61T6)?

allewL : 54



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

ellenBsLD :

(1/3) * (1/4) *x = 15

x=15*4*3

x=15*12 = 180

4566, (3/10) * x =(3/10) * 180 =3*18
= 54

47.1.5x = 0.04y 5661, (Y - X) / (Y + X) @61 wFHlenends Hrewism.
ellew : 73/77

ellenéasID :

1.5x = 0.04y

xly =0.04/1.5 = 2/75

(y-x)/(y +x)=(1-(xly))/(1+(xly))

=(1-(2/75))/ (1 + (2/75))

= (73/75) | (77175)

= ((73/75) * (75/77)

(y-x)/(y +x) &er wgiy =73/77

48. @ eclwieniled SUeRNIB HVHEHMIBEIT 2 _6iT6NFH. HN Fnl BHOBTNE 9. SibDH
eTewTemnedlhibdhl 63 6Bl BIPGBILLLTEL SN b@GID oG Lenpul  6T6wT6uf 6T
BQevdsamiEsT GLID oM QmESGD. UHC Db eTewIenNeMISH HIGHISH.

allemL : 81

ellenésd :

@ oeTewieniledl LHSHTD SevdbdHD = X 616015

IbGH eTemienilen @6IBID RevdbdHd = 9 - X 616015

b 66wt = 10X + (9 - X) = 9x +9

G elewienilen Be0bBBIB6T GL IDTHIAIHTD SeLs@G Wiy = 10 (9 - X) + X
=90 - 9x

=(9x +9) - 63 =90 - 9x

18x = 144

X=8

USHSTD QRevHHD = 8
REIBID @evbsd = 1
Copemeuwiren eremr = 81
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49. 3% =27 wigd 3% = 243 aeflsd X &1 LA DS BT

ellenL : 4

elleNnb&D :

3V =27= 3 -y =3 e (1)
3N =243=3 = X+y=5 e )

FOEUTH 1 WBEBID 2 MW dnl L SlenLLiug,
X-y+X+y=3+5

2Xx =8

X =4

X 6 iy = 4

50. @yewi@ eremimefenn eflGHwNFD 1660. Y566, @ ecrewienfler 7.5% eI
oBOomTm erewiewien 12.5% @b aafev, icieil[h eTERIBMENS BHICNHIH.

ellenL : 4150, 2490

elleNb&ID :

QrewiB elemIH6T X, Y 61635.
LB&.,

X 60 7.5% =y 6 12.5%
X = (125/75) *y

x =(5/3) *y

X -y =1660= (5/3) *y -y = 1660
(5y - 3y) / 3=1660

2y/3 = 1660

y =(1660*3) /2

y = 2490

X - 2490 = 1660

x = 1660 + 2490

X = 4150

51. @@m &Slgmod X - 60 2 6ien &S OHTens 68000 Gui. Digled yeihesaE 1200
Cuir eimld Genmpalsipeni. SIBHFLWID ST Y - 60 2 66N WHHL_OHTME 42000
Cui. oIPe0 SYiIBHE 800 Cui eipd DFHEFfealBenT 66D 6185566

S eihserlled Seual® STToSHH6N 10HSL_ CGHTMSHUD FOWTS HHBGLD?

alenL : 13 Sy erBaEsein
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allenébaLd :

X,y &Togdlen weHBL0HTend P eibhoHeiled FLOTSBSH 6l6ilev,
68000 - 1200p = 42000 + 800p

68000 - 42000 = 1200p + 800p

26000 = 2000p

p = 26000/2000

p = 13 <y w6t

X,y &mogdlen wEHBL0HTend 13 S eniBhEseied FIOTHSMBSI.

52. @ DBICUMTIHHI GUMOTEID eUQTH PWIHLD TLIQUILITESBS.
SbHpeIaISSHer OHTL&E aumonad 4 @Ol Fld apuTul eTafled, 5 Y ETBEHEHD S
UBe SIbBHDIIRISHSHen aIHONID eleiaieuTsd EmbEL?

ollewL : ap. 1.28 Gammig

ellenéasID :

96 AGLSIDG Une PoeabHs aworan = 6. (4*2) Gersb

B0 AGLSHNG Une Poaabss aorean = 6. (4* 2°) Gersb

5 apLsABEG UG Doeuamsds amoreb = @m. (4 *2°) Gl s

. 128 @Qeol gD = ¢p. 1.28 Gasmig

53. @@ UusieiMulled o eiten @elGeuT Liflalled o siten LomemTeutdHeriien 6reurenildhansd
24 g@. Usl wienalider Cxismassal Updg 3 ydw Uifleyseir
OaTLRIsUUGS BT SHBOUTH CrsHsh 2 sten Lfleyseflsr seamienfldensd 16
wBoId @abeurm Wflelend 21 rewieuisst o _sitenen eleaflsd LAHHTE GaFidaliul L
LOTGUOT6MIT S6TT60T  6T6U01 6001 b 616N UL 5T 6U01E.

allemL : 24 Gui

allen&asLD :

IusHFlev 2 eiten Lfleywefiein erewienidens = 16 - 3 = 13

YTUSBe0 2_6iten Lomewieuisefle eremiemidens = 13 * 24 = 312

SBOUTEH 2 _eiten LoTemIsUTHeM6N 6lemtemilbenad = 21 * 16 = 336

56 YHHTa BGardslul L omewieliseier slewenildens = 336 - 312 = 24 Gui
Ydare GaFisslul L omeureuiseiler elemismibonsd = 24 Gui

54. 5% %3 = 25(% Y qafich X e wAI DS BHTERIS.
elleoL : 11/5

NleNGBHLID :



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

5(x +3) — 52(3x -4)

DIQLOTEIRIGET FIOD 61660 DIBHHGHHEHL FOD YGSLD.
(x +3)=2(3x -4)

X+3=6x-8
6Xx -Xx=8+3
5x =11
X =11/5

X e gy =11/5

55. @ otewr QHTGHULL euGUBLD 6l6w 17 YHeyd, Fe| 9 6D, L5 5 elama|Ld
BMLHHTL QUGHLBID TR  BHIT600Ib.

allewL : 158

ellenésd :

agu@B eemr (Dividend) = eugd@ip etemt (divisor) * we (Quotient) + 16a)
(Remainder)

QIGUBD etemr =17 *9+5

=153+ 5= 158

a@u@BD etemr (Dividend) = 158

56. @ SBUILL eTewTiemimeg 899 e UGBS Gumgkl 63 616im 6lemr LOHWITH
HnLEBBH. PBCe, IBFH eletiiensst 29 YO QUGHGWEUTSHI L5 eleiTenr
BemL_dBGLD?

alledL : 5

allen&sD :

899 ereiiLigl 29 60 (WLBMIVID euGUBLD. Y 6eomed 63 el 29 6O UGHS 5
o6l HWTE SenLsGWw. YPs6a SHhed GBI L eemiensm 29 6O UGBS 5
eTeUGl LHWTES FenLH@GLD.

57. (64) - (36)°=20* X arafled X @6t WIS HTEIS.
allewL : 140

allenébaLD :

20 *x = (64 + 36) * (64 - 36)
20*x =100 * 28

X =[(100 * 28) / 20]
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X =5%*28=140
X @6 wFHy = 140

58. 4864 wppib 9P2 e6iip SQyewmi® orevIbeMen OUHBBMBLSVE 12 60 6UGLIBLD
eiellsd P @Qei1 oFlIllenetids SHTemiss.

allenL : 1

allenébaHID :

4864 eteiiLGl 4 60 QIGLIBID 616iLIGTeL IP2 er6iiigh S LTUID 3 Yo eI@GUBLD.
1,566,

9+ P +2) aeiiugl sl LTWbD 3 YO aIGLBLD.

SH0Ted P @eir 10Ny = 1 G Ib.

59. Ueiteumeusmoumien 11 <60 eu@GUBLD 6T6wTeN6NId HT6wIH.

S) 235641 &) 245642 @) 315624 ®) 415624

ellenL : F) 415624

ellenésd :

) 4+5+2)-(1+6+3)= 1, eten@eu, 235641 eraiigyl 11 b UGULTHI.
) (2+6+4)-(4+5+2)= 1, aenBeu, 245642 eleiiug 11 60 QUGULTSI.
@) 4+6+1)-(2+5+3)= 1, eteBeu, 315624 eraiiigyl 11 YO UGULTHI.
F) 4+6+1)-(2+5+4)= 0, aenBeu, 315624 ateiig 11 60 GIGUGBLD.

GOy : @M elewiemimengd 11 60 au@GUBLOT 6TaLMS DB CBTHHSLILILL
eTeviteulled @I emL LML @_SHHeVI6iTeNn DeVHEHMmIBM6ND Fnl 19, @BENBLILIENL

BLHI V66N HeVHBHRIGM6NE Fnl 19 QUMD FnBHeVled RmbH HPdHd CealewiBLD.
HenLHG allenLwimeigdl 0 UsBeour Ssvevd 11 Yev WBHules eu@GuLLmed
CaThsbalILl L slemigmid 11 <60 auGUBLD.

60. @ erelIemIelBHE 4 MW GMBHH Ll DIHemed 6 o0 uGHGW Curg 8
oI ellenL WTedl SHenLSHEmEH. DiHIGLUTevBou IBH eTevitemieBbHl 2 Wl HPHSEI
UB® 5 60 au@GsSCorD eealsd, S s@ allenLuwlmerd HTems.

alemL : 10

allenéaID :

QT ecTemIGmIEne X 6T60d O&meiT@Gsumid.
(x-4)/6=8

(x-4)=6*8=48

X=48+4
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X = 52

SYMBLIT6V,

HmLBGW ellenLulenenr Y eleid OmmeiTGeumid.
(x-2)/5=y

(52 - 2) =5y

50 = 5y

y = 50/5

y = 10

61. @@ eremienilod 1/4 60 1/3 umisTengl 15 PG, Y56 Sibs eaewienien 3/10
LIRS SHIewid.

allemL : 54

ellenésd :

@ oTewienilene X 6T6Icb.

X *(1/3) * (1/4) = 15

X *(1/12) =15

x=12*15

X = 180

X eteoip eremremienr 3/10 umig = 180 * (3/10)
=18*3

X eeoip etemremilen 3/10 umi@ = 54

62. @ olewicmITEISH @Iewi® LLBISTHSIUL B 9 YOH DISDIL6T Fanl L LGS BSI.
HenLH@GLD ellenLulledl (WL HISTRIH 75 616 HeNLSBMSHI 61660, Db
6T6UOTG0T MEUD I G0N .

alenL : 8

ellenésd :

@ eTeviiemilone X 6160id OBmeiTGoumid.
3*((x*2)+9)=75

2X +9 =75/3

2Xx=25-9

2xX =16

X = 16/2

X=8
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63. @i ciemiewflen 3/4 UBIBTAISH SibF eclewienien 1/3 @eir LBSmeraiL 60
SIFFBOTGID 6laNe0, Db 6TGwTNN6ND BHT6IIH.

ellenL : 144

elleNb&ID :

@T 6TGMIGNNENEN X 616315,
[(B/4)*x]-[(1/3)*x ] = 60
4, 3 @6t 18.H.0 =12

[ (9/12) *x ] -[(4/12) *x ] =60
[ (9x -4x)/12] =60

5x /12 =60

5x =12 * 60

5x =720

X =720/5

X = 14

64. @I eleW LOBEID SibH elewienien 3/5 Gei LUBISl eGILTFIOTNEH S50 6l6ud
B BB DG 6Talled, DibFH elcwienilensid HT6wIb.

allemL : 125

ellenésd :

@ 6TGMIGNNEME X  6T631.
X -[(3/5)*x]=50
(5x - 3x)/5 =50

2x/5 =50
2Xx=507*5
2x =250

X = 125

65. 144 g uUBTEH HTFeNH6MET DBHGHME CLHSHOTS TnDISb.
ellenL: 2° * 37

allendaLD:

144 =2*2*2*2*3*3

=2%*3°

144 = 2% * 3°
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66. SIBBGHS GB SAMWLLIED 6I(IPHIB. SIQOTID 3 6l TBSHHIBOBM6TH. 9 * 9 * 9
*9

elemL: 3°

el aoLD:
9*9*9*9 =9 gian BMD GLIBELTID.
9=3*3 a6z bBEGHH GFHFfUD.
eawrey, 9* = (39)*
9" =3°
67. @i elemiene 60 2 L 61 Fl BHLOUTIH HLUUK 75. SibDH 6IGRIM6NIH
HTEHID.

allemL: 15

el dabLD:

HIBLIgbs Calewrigul eTemt X 6Teild O&Bm6iTD.
allemalledl cpevlD SHMLH@GID FLOGILITEH,

60 +x =75

X =75-60

eleiiBGeu, X = 15

68. @ olewiewiledl 75%0 <YevigH 75 2 L6 Fwl L SbFH 6elewrGemr eflenLwiTsd
HMLBBBSHI 6T6lle0 DIGUO\NGHTENEWID  HITEWID.

allemL : 300

ollendbsLD :

X @6v 75% + 75 =X
(75x/100) + 75 =X

X - (75x/100) = 75
(100x - 75x)/100 = 75

25X = 7500
X = 7500/25
x =300

5601, obxp etewr = 300
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69. Qm elomIBENN FmBHEL 22 YGW. @I 6cleviieniled 5 LOLMIGBTHIGH LBOBIM®
eTelTEWNGT 6 LOLMISBE@ IO 6Teie0, Q@ olewiberled QUIflul eTevTenemId TS,

allemL : 12

elleNébaHID :

Q@M 616WI = X 6I6i.

BeBTm erew = (22 - X)

5x =6 (22 - x)

5x = -6x + 132

11x =132

x =132/11

X =12

oBOomT®m etewt = 22 - 12 =10

U566, Qm eremidberfled GQuIfiul etemr = 12

70. apeipl SIBHSBHS PBENBLILIENL 6T6mIH6N6N FnBHEOTRNH (PH60 6lewIgmIL 6 20
MUG Fal L SHMLHGID 6eaflsd, HBHalleL 2 66N 6TewIeN6wIS &HT6wIdb.

allemL : 9

allenb&sLD :
ApeiIml eTemibel X, X + 2, X + 4 el6iisb.

UB®,
X+X+2+X+4=x+20

3X+6=x+20

2x=20-6

2x =14

X = 14/2

X=7

oTerBeu, HOeM6L 2 6item elewt =X +2 =7 + 2
BBaleL 2 s6item elewi = 9

71. @m elemiserled (LPpHeL elevitewilon Srewi(h LOLMIGLD, GIERILMD 6Tevitellen P
IDLRBIGLD Ful gaImed 39 YGD. DMSHCUTEL (PFH6V 6TewTenil6n (PINl LOL MIGLD,
SrewiLmb elewienieh Qyewi® LOLMGD 36 Y. PHCeu, QrewiB sremisHeIeL
Cuflw eTeiIeRlleneNs SHTERIH.

allewL : 9
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ellenB&sLD :

Copemeuwimenr SQrewi(® 6cTewIHEN6T X, Y 616315,
2x + 3y = 39

3X + 2y =36

Foeamn@ (2) enw 2 60 QUEmEBS Fweiurh (1) eww 3 6O CUHSBS HPHD
GouswirBLb.

6X +9y -6x -4y =117 - 72

oy =45

y = 45/5

y=9

2x +3(9) = 39

2xX + 27 =39

2x =39 - 27

2x =12

X=6

Ouflw etewr = 9

72. Qi@ IBHIBHD RTLMLLILNL  6clenibeilen euibdmibemer alHHWTFID 84
eTelled, DibFH DIWIH 6TNIH6IMNT Fn[BHMEVD HITCWID.

allemL : 20, 22

allenébaID :

Byewi® eremibe X, X + 2 61601,
(X +2)?-x*=84

X?+ 4 +4x - x> =84

4x = 80

x =20

@@ etewr = 20

LoBEBTMm 66wt = 22

5060, Qrewi® erewrdeit = 20, 22

73. (pSH6v WD DIBHBHSHS 6clewiGenen FahHeo 87 ealed, Qb OB
eTeTH61TIe0 QLIflul 6TERTEN6EMIS SHITEwIS.

allewL : 30

aleNGHLD :
apeiiml eteudtadem X, X + 1, X + 2 6161,
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Up&,
X+X+1+x+2=87

3X +3 =87

3x =84

X = 84/3

X = 28

apeiiml elemideir = 28, 29, 30

566, cpeiipl eTewImenied GOuIflul etewr = 30

75. @@ olewieniledl 7 WLBIGLGT 15 enwd HWPHBHTEL SenL s ellenL WITeig
OlhS elemienfledl Q@ LmSmaal 10 SHHD YPGLD 6160, DibHSH 6I6I6wT M6
SHITEWI%5.

allewL : 5

ellenésd :

7x -15=2x + 10

7x -2x =15+ 10

5x =25

X=35

5661, CoHemauwiter OibFH 616wr = 5

76. @@ olewiemiTeigl 36 enwell. QUfwsTGL wBDID 86 emweall Fpflul elewTemITS
BMmEBG06aN6d, SibdH 6I6wT6m0NMED  HITCwISH.

allemL : 61
olleN&HID :

IbFH elewmienilensd X eied OomeiTGaurid .
B&, X - 36 =86 - X

2X =86 + 36
2x =122
X = 61

500, DIy el = 61

77. B® cewisefen elHHumgFd 11 wHEID Dicual erewiseien 1/5 Likiasen
FBHOTHH 9 YGLD 6160, Sislall[H 6clewIH6IIN6NSD SHTCUIISD.

alenL : 28, 17
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ellenBsLD :

SibG 6INIHM6NT X LOBEWID Y 6T60idh Qameits.

X-y =11 - (1)
(1/95)*(X+y)=9=2X+Yy =45 --mmmmmmmmeee (2)
gweut® (1), (2) eow gl L Beuewi(hLD.
X-y+x+y=11+45

2X = 56

X =28

X eow Fwenr® (2) @ev LgHuiL Y SHenLsGIb.
28 +y =45

y=45-28;y = 17

Slelell@p eTewrden X,y = 28, 17

78. @i elewiewilen 3@60 M LUMIG, 2@ @M UK, SR60 @@ UMIG 15 ereafed
T[T Colevor: 3 200 XY

allemL : 450

allenébaHID :

CapemeuwlTe 616w X 616315,

X @& (1/3),(1/2),(1/5 umg =15
(1/3)*(1/2)*(1/5)*x=15
X=15*3*2*5

X=45*10

X =450

oTeniGou CHemeuwimenr er6wr 450 Y GLD.

79. SIBHSBHSH UMD Pl (PIPBHMET FBHL 45. bSH (WPpHSeren Guiflw
GTEWTENENIS HTCWID 7

alenL : 16

allen&sID :

WPH6V (Lp(lp 6T6I X 616315,

@mewiL_eugl etewr = X + 1

apeimpreug eemi =X + (X + 1)+ (X + 2)
DIGH FBHO =X +(X+ 1)+ (x+2)=45
X+X+1+x+2=45

3x+3=45

3x=45-3
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3x =42

X=42/3

X= 14

U566 SibapeiIml (WPapdHeit = X, (X +1), (X +2)
=14,(14+1),(14+2)

=14, 15, 16

Seupileit Quflw erevr = 16

80. @i eremiemilel LGB0 @M USHSH 63. SibDH 6lenicnenid HleuwIds !
allenL : 630

ellendbasID :

sIBLlIgbEs Cealewngul 66wt X elad OBT6ITS.
(1/10)*x =63

@oUBL 10 O GLHEHSALD.
(x/10)*10=63*10

(10x/10) =630

X = 630

81l. @M SIBHSBHS Wend BB (PWHH6en FnhHe0 32 6660 Bi6i06\6)6wTHMm6T
SHITE1 .

allemL : 15, 17

ellenébaHID :

86 2655055 Was @Bop Wwdsst X, (X + 2 ) 6.
G, SuBBlT FBHL 32.

(x)+(x+2)=32

X+X+2=32

2x +2 =32

2x =32-2

2x =30

x=30/2

X =15

@@ 6T6wr X = 15 e1evll60, LOBOBTEH 616%1 = X + 2

=15+2

= 17

CormeuiL@B euallm DBS5SHHS s @Bens (PwHseT 15, 17 YGL.
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82. wPLY srewia (1% + 2% + 3% + —commmmmeev +10%) = 9

allemL : 385

ellenb&sLD :

12+22+32+ ____________ +n2
=(@1/6)*n*(n+1)*(2n +1)
N =10

am@Hev = (1/6)*(10)*(10+1)*((2*10) + 1)

=(1/6)*(10) * (11) * (21)

=(1/6)*(110*21)

=(1/6)*2310

= 385

83. 12401 el6liB 6l6WIENEM @I 6GIMIGMITE QUGBS BuITH DuBpllelr FeuTergl 76 LD
168 13 10 L HBHM60, 12401 & QUGHBGID 6TWIN6WIDH SHT6HISH.

allemL : 163

allenébaHID :

(UGEBGD 616wl * FaY) + 16FH = eu@GUEBLD 6T6wT
GBI elewt = (QIGUEBID etewt - 158) / Fey
=(12401-13)/76

=12388/76

=163

84. 75 &H@ GOBAUTH 2 _6iT6N DinSHSH RILeNLLILIENL. (1D 6T6RIdb6If6n FnBHHe0
SHIT6O01 .

alenL : 1406

allenéasD :

Gxemeuwiren ereismen =2+ 4 + 6 + 8 + -------—-—--- + 74
amBsed =(n/2)*(@a+l)

a= (PpsH60 eTewr = 2

d = @y eIeWBEHHEG REnLLUUL L HIAWTFD
d=4-2=2

n =37

| = semLd erem1 = 74

amBopeo =(n/2)(a+l)
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= (371 2) *(2 + 74)
= (37/2) * (76)

= 37 * 38

=37 * (40 - 2)

= (37 * 40) - (37 * 2)
= 1480 - 74

= 1406

85. 481 X 673 61603 6IGWIGWITEINGH 9 U6V (PIPMOWITES 6UGHSHBLILBSBHI 6T6v60
481 X 673 elehB (Y 6T6MWIH6IM6EL X 661 LOGIIL] 6T6dTenr?

allewL : 35

ellendbasID :

erewidbeian Fn@BHew = (4+8+1+x+6+7 + 3)

= (29 + X) [BewL_b@ID eTemiemTaisl 9 PO GLIBID elamieniid RMHbBE Golewi(BLD]
X=7

X=29+7

X = 35
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@eoruLd LOMDID [BLLLD
1. @m evamligenw 5.13,600 &@& elBusnen QFWLWLOUTWE 15% BLLLD wFmEH
eTeuNl60, DIHGT SILSBH 6ll6nev 616160 7

ellewL : @p.16,000

elleNnb&ID :

BLLID = 15%

alBp efemev = 5. 13,600

alLss alenev = ((100) / ( 100 - mrLIDb%)) * alBm eflenev
=(100/ (100 - 15)) * 13600

(100/85) * 13600

= .16,000

2. @Qura 5.36,0006@ @ CoTLLTT engdbslenst eummis, SigHer CHTBBL Gumedey
b6il@ Simwwiad Goad BHeiwpenpullsd Quinisald Hev QB LITSHHISM6IL
Qurmabdlenmi. e SubGTLLTT engFdHalenst (h.44,0006@ 10% Geomugdled
elB&lemri elafled @RHJ LTHMIB6T 6UTEIS 6l6leauene] CFeve] OFUISHMT?

ellewL : @5.4,000

ellenébaHID :

SILHS eflensv @5.100 6165,

@eorub = 10%, elBuener eilensv = 5.110
alBusnen elensv h.110 eialed DL && allewev 5.100
alBusnen elensv H.44,000 6TaM6L

aLEs eflewsv = (44000 * 100) / 110
= .40,000
Owres GFevelemissit = 40,000 - 36,000 = @5.4,000

3. @ UsdadHHen alemsouied 10% eitenuy OFuisTevd @ elwrurfeg 10%
@eoruD SeHLSSABEH. DIHHBSHHN GBHD 6ellensv 5.220 eIaNed, DiGHed
SL&HS elensv wirgl?

allewL : ap.180
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allenébaLd :

&oitemuy = 10%

@eorud = 10%

GBHS ealemwev = @5.220

olLss alemev = ( (100 - seitemg %) / (100 + @eomub %)) * @idHs alanso
=(100-10) /(100 + 10) * 220

=(90/110) * 220

SILES eflenev = (5180

4. grdlelr HHend euedliLd .70 QBTGHSTT. SUIGUTH Deuaf b 5130
AmEBIMHI 6160 (PHeV6d DiUANLLD 6T6lleuee) EHLITUI NHbHHSHI?

ellewL : @p.60

allenébasID :

el OHTemad X 6l6i1H
x +70=130

x =130-70

X =60

weilllppbsd eTend = 5.60

5. @meut 80 &.& Fisdenyenwl @h.13.50 S, 120 H.& FidssmIenw @H.16 HGLD
QITEIE) DIUBMB PHBTHS H6ObHGI 6leien allensvd@ alBpred 16% @eomuiomssL
Quieumi ?

elenL : @p. 17.40

allen&aslD :

HVBBLILL L Fissenguledn Sene = 200 &8

seubsIULL 200 &.8 Fidsapule o dHs eflewsv = a. (80 * 13.50) + (120 *
16)

= eap. (1080 + 1920) = . 3000

els eflemed = 5. 3000 60 116% = ( 3000 * (116 / 100) )

= . 3480
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&0BEIULL 200 &.8 Fidsamyulen elbs elensv (SGemelidg) = 3480 /200
@M HCeur HevdaUULL Fidsemyuier ellenev = . 17.40

6. Gefled eTediLNT GH LMW 6ol Led) H.4700 H@& euThis!, @5.800 el iFHled
gBUL_BeiTen LpSHensn Fflumiss OFeveuddsapri. LIBg, et SibH 0L L n]J
.5800 &@ eBHSMBMT elalled, Sjeui GUBB RevTu FHAIHID el6ialeN6)]?

eflewL : 5*(5/11)%

ellenésd :

SlLés eienev = 4700 + 800 = ap. 5500

alBms eflensd = p. 5800

@oomud = alBm elenev - DLHB eallen6v

= @p. 5800 - ep. 5500

= . 300

et FFHaisHd = ( Geomud / Lss alemev ) * 100
=(300/5500) * 100

= (300/55) = 60/11

@euru FHeisd = 5*(5/11)%

7. @meut GmiLmi engddlensn @h. 50,0005 euTmISleITT. @& WHIIL @eI6eT®H
YL 8% eaisd GBDSEBH, @ITenNgBE&L L @& e LI eTelelenalTs
BmEED?

ellewL : ap. 46000

allen&asLD :

GumLLmi engsdlerflerr elensv = ap. 50,000

GumLmi engsdeflen @alCeurm YemiBld Gempwb efs = 8%

(PH0 YewigB@ LIBG SiGen Wiy = Gum Lri engsdeflen elenso - (50000 *
8*1)/100

= @. 50000 - @p. 4000 = ap. 46000

8. @m OGaTuiuller oL &s eallewey @.80.90 WBBID SiGei BLL FHeisw 10%
QG. eafed SHOHTUIWTENSH 61hG allenevdd elBaLILLIgMmeELD?
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ellewL : @p.72.81

allenébaLD :

@® OsTululer oI s ellemev = @5.80.90
pLL FFHeaisw = 10%

elBp eflewsv = 5.80.90 &@ (100 - 10)%
= (80.90 * (90/100)) = ep.72.81
Camiiluller el elenev = @5.72.81

9. @@ UbsHTaHl @5.27.50 @& 10% eomuSHHIL 6T efBELILLL Sl 6IM6D
SIIYSSHIONEIH H.25.75 &@& alBslLGELWTaITed, L@ ool SieL60SI
YL FHIHHHMNNEH BHT6IH.

allewL : 3 %

ellenésd :

alBs eflened = 5.27.50

@eomud = 10%

iLEE eflemev = p.[ (100/110) * 27.50 |

= @p.25

USHSBHBen alBm eflensy 65.25.75 &b 2 etenGurgd @eomud = ap(25.75 - 25)
= @ap. 0.75

@eomub % =[ (0.75/25) * 100 | %

@eomub % =3 %
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10. @@ elwmumfl 6 eumemplLEEHIGEM6T .10 &@& eurhidl, Upg 4
UTER|OLILIPEIGEMET h.4 &G ealBUemnel QFUISBIT eaIaled SumebE HMLsHd Reomu
SIVVGHI HOYL. FHBHHDHMMD HIT6HIS.

elenL : 10%

allenébaHID :

QITRISIW euTemIplILIpBIGaflen eleamionllbemnsd — 6, 4 @6 15.H.0 = 12
OlLss alenev = ap. (10/6) * 12 = 5.20

eolip ellensd = ap. (6/4) * 12 = .18

padL b % =[ (2/20) * 100 ] = 10%

11. Guraisr aeuai @m WdHeuanguiemer SisHer alBusner eflensoulsr 9/10 umi,

alemevd@ aIMEGHBTT. e sihamer 8% eiiuener eflenevenwiail ISHHLOTH
alBHBIT ciafled Saui SIMLHD BeVTU FHIBHIHSENENH HTEWIH.

allemL : 20%

ellenésd :

alBm efleneoulensr X elend OBTeTGaUTLD.

ILEs eflemev = (9/10) * x

@euru FHeisd = 100% + 8% = ap.X 60 108% = (108/100) * x = (27x/25)
@eomub = Rs. [ (27x/25) - (9x/10) ]

= Rs. [ (108x - 90x) / 100 ]

= Rs. 18x /100

@eomub = [ (18x/100) * (10/9x) * 100 1% = 20%

12. @ efBueneiwmeni prBaTelenw 20% mad HIHBE& ebBprr. BrBsTedluier
alBuens eilensv @h.100 FSfHSMEHI 6Taled 5% @eomuld &enLSBBSHI.
SYEMSBWITEL DibHG HIBSTV DL HS 6lleneoulensiid SHTeIs.

allewL : ap. 400
allensbsID :

IILHH alemevenwl X ered OHBT6iTss.
Up@, (X 0 105%) - (X 60 80%) = 100 sivevg (X 60 25%) = 100
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X/4 = 100 Sieve0H X = 400
566, BrBsTelullelr OILbs eallewso = . 400

13. @ Ozsmiduler o ss elenev @5.80.90 BEBID SiGHei BLL FHeisw 10%
YGWD. eafled DGHOSTIIWTIH 61hP alemevdsd elBSULLIQHEBESGLD?

ollewL : @p.72.81

ellenébasID :

@® OsTiiuler oI &5 ellemev = @5.80.90

BLL Feeisd = 10%

olBp efenev = ¢5.80.90 &@ (100 - 10)%

eamiluier albs eflemev = (80.90 * (90/100)) = .72.81

14. 21 Qumpeimeriieh oI dbd alemeowmeidl 18 GQurmeseflen allBB almevdaF
FOMGLD 6lafled, HBOUTH GHBUL B6TeNm GH6VTLID SIGLVGHI HOJLHHMND BHT6NIH.

allem : 16 * 2/3%

allenébsID :

@m Gurmefler oI s eflemev = a.1

Ume, 18 GurmLseien efleneo = ¢5.18, 18 GummLsefleir alBm alensv = p.21
@eomub % =[ (3/18) * 100 ] =16 * 2/3%

15. gpewt eleiiout 20 L EQ6iiH6iT SILMISW GUTDenEmen @ L|efBE 0h.375
eipl eutmiGaEBTT. Upg, @éiteurm GuTbenwenwuld .33 &@& elBaimpni slefsd,
St QUBB ReOTUSHHEN FHNHHSDMEDH HTERIS.

allemL : 5.6 %

allen&sID :

@m Gumbenouienr oI ds alenev = ap. (375/12) = . 31.25
@@ Oumbenwuier eBB elemeo = . 33

@eomub % =[ ((33 - 31.25) / 31.25) * 100 ] %
=[(1.75/31.25) * 100 ] %

=[175/31.25]1 %
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@eomud % = 5.6 %

16. @m® Oummenmengl 5.34.80 efBaULGWEUTE 2% BLLD gBUGSBSH. <WHGCe,
SbhGH CuTmHeNe SILEHS elmeowlenend HTewIs.

ollewL : ap. 46.4
ollenbsLD :

aLés eflewev = @p. [ (100/75) * 34.80] =[ 3480/75]
Qurmeflen oI b&5 eiemev = ap. 46.4

27. @ OGunmeflen elBusmer eallemeownaigd SCUTHeTNen efliBLeneT 6uflujL 6T
Cridml h.616 @b, aiBumer suflwmergd 10% @b, elBueneTWITeNT
SGurmeflen epeod 12% Geomud QuUEISBTT eTelled, DLIGUTHeTeT DL &b
allemeouileneds SHrewsb.

ellewL : ap. 500

allendbasID :

Gunmerflelr allidm elensouisr 110% = 616
olip eflemeo = ap. [ (616 * 100) / 110 ]

alBms efleneo = . 560

olLss alensv = ap. [ (560 * 100) / 112 ]
SiILHS eflensv = ¢h. 500

18. @m sTwsM elBueneiwmsni 70 &.& 2 _memenddphidemer ah 420 &G
o), SGeondlymbd . 6.50 eip elpuenen OCFUILBTT 6T6aN6d, Ul DIMLHS
BeoTL FHNHHBHMENDH HTENIS.

allem : 8 *1/3 %

ellensbsD :

am & 2 mmensdpndla i sHs alenev = . (420/70) = a. 6
R &H.& 2 memensslpnidlen alBuener eallewe = . 6.50

@eorub % =[ (6.50-6)/6 *(100) ] %

=[(0.50/6)*100] %
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=[50/6] %
=[25/3] %
@eomud % =8 * 1/3 %

19. @meui @ WdHeusmnguilenenr . 1400 &@ eummhid), Sk 15% Bad HIBS
alB&IBrT elefled, e WGHeuswigenw eliBm ealenevullenes SHTewIsm.

el : ap. 1190

ellenébaBID :

elims eflemev = [ (100 - l0ss%) /100 ] * o sbs aleneo
=[ (100 - 15) / 100 ] * 1400

= (85/100) * 1400

=85*14

= @. 1190

20. JU@6L eIGLeNT @CH LOMEN @h. 6,75,958 aiHD @ LoeHEISHEITIEN6 CUTHIGHSIMBITI.
einy, geitemp 16% @eomusHIB@SLD, WwBOBTeIenB 16% BLLABSW elBapri
eTelley, ST SMLIHH 60T SI6VeVGHI Bl L FHAIBHHHNAND HTWID.

allemL : 2.56%

ellenésd :

RHHMmBW GlpBlensoulled B LD WL GO Smb@o. HH6a, RHBEH alBs eflenso
(PSS WILDTETH606V.

BLLD % = [(Qurgieurer BULD wB@h Georub%) / 10 ]?

=[16/10]*%

=[8/51%

=[64/25] %

ITT&H6L SMLBS BLL FHaisd = 2.56%

21. @meUT P GHMFHWU|D, DISHBHTEN euetlgenWILD ap. 3000 BG euTmiss),
ey gdengenws 20% ReomusFHBE&LD, Genyssrer euswngenws 10%
BLLSHSHBGHD aBGLeUTE, OCrsesHdlsd 2% Geomud SimLEDBITT 6T6aNe, G&aeny
LBEID GHmy euemnguileh o H& allensoullenend HTewIs.
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ellewL. : ap. 1200, ap. 1800

ellenBsLD :

GIHmywler oILbH ellenevent X 6Iadh OFHT6iTs.

&Iy euemnguiet oI bs ellewevenuwl . (3000 - X) elend CETeis.
X @ev0 20% - (3000 - x) @sv 10% = 3000 @0 2%

(x/5) - [ (3000 - x) / (10) ] = 3000 * (2/100)

(x/5) -[ (8000 -x)/(10)] = 60

5, 10 @61 5.0 = 10

2x - 3000 + x =60 * 10

3x - 3000 = 600

3x = 3600

x =3600/3

X = 1200

U5C6eu, GIHemyulen oL && elenso = ap. 1200

GIyalewiguien SiILés elemev = . (3000 - 1200) = Rs. 1800
22. @@ Oun@mensn . 100 BG BB @eut ¢hH. 15 GeoTUID SIMLEMIT, 6T6M6L
SlmMLU GeoTl FHalHHBHmend HTewIH.

eflem : 17 * (11/17)%

ellenésd :

Gurmefleir alBm elemsv = ep. 100

@evmud = . 15

@eoru FHeisId(%) = [ (15/85) * 100 ] %
=[300/17 1%

et QuBs Georu FFHaimo = 17 * (11/17)%



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

FiHHGHB

1. Ueiteupd Uleiiaiibengd &HMHeHa GS@ISW 6ugeiled 61(1pHIH.
391/667

allewL : 17 / 29

ellenésd :

CaT@HEsLIULL  eTewiemmen 391 BEBID 667 YWslweuBBBg L5.0u.6u HTewr GeuemiBLD.
U5Ceu 391, 667 e 15.0u.6u = 23

23 W UGS LBEID BTG USWeuBEBIL T IGHHH CalemrBLD.
=(391/23)/(667/23)

=171/29

2.x=1+V 2 wpgp Y=1-V 2 . aeBe, (X°+Yy?) eeiusen wHienLs
SHITE0T .

allewL : 6

olleNb&ID :

X*+y?=(L+V 2)yY+@-V 2y
2((1)"+(V2)%)

=2*3

6

3. amebea : [(1*(1/3)) +(2/3)] * (8/15)
eflemL : 1 * (1/15)

allenéasD :

[(1*(1/3)) +(2/3)] *(8/15) =[ 4/3 + 2/3 ] * (8/15)

[] 8bs s UysEGHulsd 2 slenanal (PHeded SHmbaILL GalemiBLD.
= 6/3 * 8/15

=2 * (8/15)

=16/15

=1*(1/15)

4, ams&as : 501 * 505

ellenL : 253005
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elleN&BHID :

=(500+1)*(500+5)

@&, (X +a) (X +b)=x*+(a+b)x +ab

x =500,a=1,b=5.
(500)°+(1+5)(500)+(1)(5)

(500*500) + (6)(500) +5 = 250000 + 3000 + 5
253005

5. (a+b)=10,ab =20 eefled, a°+ b?, (a-b )’ Bweber wHILBMETE
SHITE01 .

aflenL : 60, 20

ellenésd :

()a’+b?=(a+b)?-2ab

(a+b)=10,ab = 20 gFweBemBH LFSull LTed FenL LI,
:(102)2-2*20:100-40

a®+b” =60

(i) (a-b)*=a’+b?-2ab

a’+ b? & iy NrHuUL HoLiug,

=60-2*20

=60-40= 20

6. elalawp Cxrensuenw eeflul algeallsd LOTHBRIS..

6x%-5x + 1

9x?+12x -5

6L
2x -1

3xX+5

a6 LD:

6x%-5x +1=(2x - 1)(3x - 1)
9x? +12x - 5 = (3x + 5)(3x - 1)
6x%-5x + 1

Ox%+12x - 3

(2x - 1)(3x - 1)
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(3x + 5)(3x - 1)

2x -1

3xX+5

7. amesGS : (489 + 375)% - (489 - 375 )% [ (489 x 375)

allewL : 4

olleneb&sID :

= (489)? + (375)% + 2(489)(375) - [(489)? + (375)? - 2(489)(375)] / (489 x 375)
= (489)? + (375)% + 2(489)(375) - (489)? - (375)° + 2(489)(375)] / (489 x 375)
= 2(489)(375) + 2(489)(375)] / (489 x 375)

= 4 (489)(375) / (489 x 375)
= 733500 / 183375 = 4

8. @m ustefuler FHflB0E. G LBOBTIH usTefluler SfS0E. GHUOLT SiQul
Y Lmisefler eremienfidens 20. Reubpled W M Usitell 25% i L kisenem Oeueipgi
eTellsd QOTHBHID GCeueiims ' L miserlen elewrenlldbomnad WTdH?

allewL : 5

ellenésd :

Sloul GoTHs L miseflen elemenfidensd = 20

WwaB ueitefll Geueiip Y L miser = 25%

Qrehsd Oeues <y L kiseflen elamenidansd = (20 * 25) / 100
CrHHID Ceueims ' L miserflen erewtenlldmnad = 5

9. X :y a6z ] 1 : 3 Y. HUH6a1, (7X+3y) : (2X+Yy) ereTLZH6N
FHINneTdS BTN SH.

allemL : 16 : 5
ellenéb oD :
Xx:y=1:3
x=1,y=3

= (7x+3y) / (2x+y)
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(7(1)+3(3))/(2(1) +3)
(7+9)/(2+3)

=16/5

(7x+3y) : (2x+y) er Py =16:5

10. ame&s : (212 * 212 + 312 *312)
allenL : 142288

ellenB&sID :

(a*+b%) =Yz ((a+ bgz +(a- h)?)

=1 ((212 + 312) +(2212-312)2)
= 15( (524 )% + (-100 )?)

= 15 ( 274576 + 10000)

= 142288

11. améds&as : (31/10) * (3/10) + (7/5) 1 20
ellen : 1

olleNb&ID :

BODMAS ef&uller Lig,

= (31/10) * (3/10) + (7/5) / 20
=(3.1)*(.3)+(1.4)/20
=0.93 + 0.07

=1

12. p-q=3, p2 + q2 =29 aiedled pQg efledr WFHI w6 Hrewis.
alenL : 10

ellenéaIlD :

2ab =(a’ + b?)-(a - b)?
2pq =29-9 =20

2pq =20

pq = 20/2

pq =10
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13. @ BTVSHIHBG EHTUIBBIGSPMLH6M60 510 UTFHTHEHD, BB Hlemhigsers0

240 UTFHTHEHLD GUMHSIANBEIT 6160160, 30 BTLEH6T OQBTEWIL QPG LOTHLOTEOIH EHTUI®I
6160 HMHBH60 OBHTLBIBIATED DTS BETVSHHHMBE 6UbFH OLOTHSH UTFHISH6i 6o
FynFfl eTeleuene)y?

allewL : 285

ellenésd :

@@ WIS EHTUIBBIGSIMOUTE CBHTL RIS DIDTHSHHD 5 EhTUlBBISILLEmLD
auD. HECe,

=((510*5) + (240 *25) )/ 30

= 8550/ 30

BTVsHIBG albd CorTdHs eaunFsisefer Fgmafl = 285

14. @ Gpiwens eslaiigmil 6 17 66iLUmS DHBLULBHSRMeL FHMLHGLD
ellenLWreligl Sibd GHioenMm 6Temienie HMeVSD algeuSHSHIL T 60 enwl
CQUmBGaUSHID FOWTH PHHESLD. PHC6, SibHH CHILOMB 6IHINMD HTCUIH.

allemL : 3

ellenésd :

Capemeuwier 616l = X  6T601%.

X + 17 = 60/x

x*+17x - 60 =0

x+20)(x-3)=0

x =3, -20

X etehilgl Gpioens 66wt eTLIHTL CHemeulIIBID 61681 = 3 SGLD.

15. @ BEIHDH HH6i OFHMensd 18,000. W&HEHATOHTMNS (PH6L IMHLHHL 10
FSHAHUPD QWL ToUSH QML SHH6L 20 FHANSH(PLD 2 WIHLOTEITeL, Srewr®H
QUL MIGET BPHFH HEIHHN LoHEH6IT CHTnS?

allewL : 23,760

allen&sD :

D&H6T OgTens = 18,000

W60 aumpLHSe0 aFsfiuy = 10/ 100 x 18,000

= 1,800

Wa60 aumL WwassT Garens = 18,000 + 1800

= 19,800

@yewmiLmd LSS0 P& fiiy = 20/ 100 x 19,800
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= 3960
eTeBe QTEMILMD QUL GHHev OTHs WwaHH6eTeHTens = 19,800 + 3960 = 23,760

16. @ OFmLieuswiguiled OIFH LWeIGHH M OFHTLMmIGLOUTH LwlewilsenTed
BIriuliu.Geitengl. (PpHed BemeowidbdHev 1/3 unkig uwenllser Spriseyn 280
LwenllseT gpad CFuiHen. SIewLmd Beneowlbdled 1/2 umi@ vLuwlewiosit
@mprisayb 12 Bui gmejbd QFUIGHeli. APIBID HemeowHIHB@H CFeOMIDBLITSHI
O TLTeuemnguiled QLOTGHSHID 248 LILIWIEH6T 2 _6iTeNadni 6lalls0 OFHTLTI6wTIg

LW SHHenel CHTLmIGEUTSHI SMmibdH Liwiewhoeren 6lewmrenilbamndemulds BT,

allewL : 288

ellenésd :

CBHTLEHHH60 QHTLieusmiiguileh o 6item Liwiewimeriien elawienilbend = X 616i15.
(S0 BlemeowHIBE& LIBg uweniseaien eeuenidamnas = (X - (x/3)) + 280
= ((2x/3) + 280)

@uewiLmb BlemeowHH B LUm@ uwenilsefler erewienfldbmas

= 1/2 ((2x/3) + 280) + 12

1/2 ((2x/3) + 280) + 12 = 248

((2x/3) + 280) = (248 - 12) * 2

((2x/3) + 280) =236 * 2

(2x/3) = 472 - 280

X =192 * (3/2)

X=96*3

OBHTLESBHH6L GFHTLieuemriguilsh 2 eitenm Liwlewflderien elewremiioend — 288

17. ameb@s : 3640+ 14*16+340-8="7
allenL : 4492

ollenébsLD

BODMAS elgluilemg,
=3640+14*16+ 340 -8
=260*16 +340 -8
=4160 + 340 - 8

= 4500 — 8 = 4492
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18. 1*(3/16) e6hip elewieMNIB@GD, BN HENGVSD QIYNSIHMSD 2_6iT6rn
Al HHWTFHBHMND BTN,

elenL : 105/304

ellenébaHID :

1 *(3/16) eetip erewiemilenenr 19/16 er6himl 6T(1QSBEVTID.
19/16 e ewevdp eugeud = 16/19

elsswnrgd = (19/16) - (16/19)

16, 19 Qe 15.8.0 = 304

= ((19*19) - (16*16))/304

= (19% - 16%)/304

= ((19 + 16) * (19 - 16))/304

= (35 * 3)/304

Bwm ammisEpsG @mLBuw 2 eten elsFwrsip = 105/304

19. @ Gouenenuiled 4/5 Lk elWOMUI oG BFLILLLL BeiTengl. IFedmbH 6
urCigevseir (bottles) eramrGemiul eiGdbaiL’G LI, 4 urligevssit (bottles)
eTewrGemIul GaFrdbalLl LLINTer @Geuenenuisd 3/4 LUMIE eIemiOewIul 2 _6iTeNgl 6T6u60
Goueneenul BTl eldhHemen LT Igevder (bottles) eremGemiul GxHemeuiLBLd?

allemL : 40

ellenésd :

Gauenenenl Bl CHemeuBID etemiOemiul LM igevdent (bottles) @emenm X ereud
O smeiT@Geumib.

m@, (4/5)x - (3/4)x =6-4

(16x/20) - (15x/20) =2

x/20 =2

X = 40

Galenenenl BIFlil CHemeulBID eatemiOemul LM _gevdsen (bottles) = 40

20. 5.312 oyeng 100 TEMINTHEHSHEGLD, TMNNBEHEGLD LIflGHHIH
CaThsaILGIBE eTafled, eelbeuTH LTIMMIGELD h 3.60 b, @6ICsuTM®
wremellb@GW ap 2.40 10 S HaBH. PHC GConss Temiallse e
6T6U0T6MN 6N HEMUIS  SHTEU0TE.

alenL : 40 Gur

NleNGHLD :
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QLOTHSH LOTERIEUTHEIT GlewTenNbend — X 6I60ldh OQFBT6IH.

U560, CTHSH wrewiedsefilen eewienfidens = 100 - X  GQa&smeit@Geurmid.
3.60x + 2.40 (100 - x) = 312

3.60x + 240 - 2.40x = 312

3.60x - 2.40x = 312 - 240

1.20x =72
X =72/1.20
X =60

A5Ca Quorshs nemalsefen erewiewidens (100 - x) = 100 - 60
QorsHd wremellseflen eeenfidens = 40 Gui

21. @ auMIHHe0 WMbHl BT H6iT Geuemev BT HENTGW. SIFHL @eNCGUTTH [HTEMHLD
alomi 8 wenfl@By S Lmwiors Beuenev GFUILI Geuemi(Bd. YHBou @meur LewlldE
m 2.40 evwl FHemupd s Lmwiorsd QFuub Gouensvd@ld, wenfld@ ah 3.20 emul

overtime 6 GQFulLIGEIIQUI Baimeud@ld QUBIASIBTI. Deut BTG TISHH60 @h.432
W el arhHHene el CHIID Geusmev GFuIgSmLILITT?

ellenL : 175 wewll @BHYLD

ellenésd :

gmeur Overtime 6 QFuUIH Gouenev GBIHIlenen X 616iH.

Sleur 4 amysHFHed sLLTwiond Gauemev GFulxks Gwyib = (5 * 4 *8) = 160
160 * 2.40 + x * 3.20 = 432

3.20x + 384 =432

3.20x =432 - 384

3.20x =48
X = 48/3.20
X=15

5661, 4 auMrHFHled St OFULH OTdHs Beauemev GmyLD = 160 + 15 = 175 6w
@Cmyib

22. GWbmssel FHen alprallerCurs Seflisst usieuled 2 eitem 175
GWHMBHEHGHE Fownrs UflHes 0EThHSUILBSBEH. YR, GLHESHH6IT Hl6r
allpralle@urgl 35 @WhmSE6T UsiTellag augalsvensn. Heomed eelbeur
GLHMBEGD 4 QANULH6T FnBHHEVTE GUPBRIBLILILL HI. UHC6N, GHLOHMHHEHHES
QUPHIGUSDBETE RHHH SDeLILIE6IT6T  6T60T60NHNHMUIS HITEwIH.

allewL : 2800 @elllIm6iT

ellendbsLD
Qs 2 eiten el EeMeN elewTemlHmBMUL X 616015,
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(x/140) - (x/175) = 4

140, 175 @eir 18.8.0 = 700

(5x/700) - (4x/700) = 4

SX -4x =4*700

X = 2800

QrHID 2 _citen QeI w66 cleienidensd = 2800

23. @ Cxicuteng @elGeuTm Fflwnenm elenLsH@D 4 WHLICUIHEDHLD, eeusUTTH
soupTen ellenL @G 1 WwHUICUMIBEDHD S ssUCUBIoTE HLSHSUILGSBH. @
LoTewiededl 60 elledimebaenen 6119, 130 WHICLIIH6T 1BHSHI6TeNT6eN. Y HC6,
olauell Fflwns erpdHwl ellemaaseflen slawenilEmBenuls STewIS,

allewL : 38 ellemeaseair

ellenésd :

Cxpialed aflwmas erpadlw ellemesefilen elaienildmes X 6161sb.
5661, Houprs P elemdbseflen eewienidmad = 60 - X 6.
4x - (60 - x) =130

4x + x - 60 =130

5x =130 + 60

5x =190

x = 190/5

X = 38

Cxpialed Fflwras erpadlwl ellemeseflen elcionfidomnd = 38 ellemabasein

24. Ueiieu@pld FLOSTUTLIQMENF  Fi(HdHE)S.
46+18*6+4)/(12*12+8*12)= ?

allemL : 79/120

allenéHID :

BODMAS ealguflebig,

= (46 + 108 + 4) / (144 + 96)
= (158) / (240)

= 79/120

25. amaas : (272 - 32)(124 + 176) / (17 * 15 - 15)
allenL : 300

eNGBSHLD :
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BODMAS ealgulleimig,

(272 - 32)(124 + 176) / (17 * 15 - 15)
(272 - 32)(124 + 176) / (255 - 15)
(240) (300) / (240)

= (240) (5/4)

=60*5

=300
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26. (@-b) uler wauureng (C +d) ewel 6 oF®b wipd (a + b) uller
wgHuureng (C - d) enwelL 3 oiFs eiafled, (2 - C) uler wHLTHeNE HTENIH.

allewL : 1.5

ellenésd :

(a-b)-(c+d)=6

(@+b)-(c-d)=3

(@-c)-(b+d)=6 wpgw (c-a)-(b+d)=3
(b+d)=(@-c)- 6 wimw (b +d)=(c-a)- 3
Cuomsei. @@m FweLTHBmeN FOULUBHS HenLLILG],
(a-c)-6=(c-a)-3

2(a-c)=6-3
2(@a-c)=3
(a-c)=3/2

(a-c)ullewr waly =1.5

27. a,b, c oyl apeligid (WD GTEWIH6IT G LD. a’+b%= 45 LoBEILD b+ c?=
40 eaiedled, a, b, ¢ AW apeim (WP eremidefei A INmTD BHITEIS.

allemL : 3, 6, 2

allenébsID :
a2 + b2 j— 45 ____________ (1)
b2 + C2 = 40 - 2

gwemn® (1) enw (2) 60 QmbdH HWdHd SlenLLilg,
a’+b%-b*-c’=45-40

a’-c?=5

(a+c)(a-c)=5

(@a+c)=5 wpgd (a-c)=1

CuBEewiL. QremienL WD dnl L &SenLLILgl,
atc+a-c=5+1

2a=06

a=6/2=3

3+c=5

c=2

C wiletr wglllenen &Fwein® @pewigsd Lysuil. &SenLliugi,
b* + 2% =40

b%+ 4 =40
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b?=40-4
b’ =36
b= 6

28. X/5-X/6 = 4 aafled X @6t WHINMNE BTGB,
ellenL : 120

ollenebsID :

X/5-x/6 = 4

5, 6 @6t 15.8.0 =30
(6x -5x)/30=4

6x -5x =30*4

X = 120

X @6 iy = 120

29. Quewi LLeweudseil, 4 FLenLSerfleir alemev p. 1600. 2168z elleneoullsd gmeult
P LLMeuHUWU|D, 6 FLENLSHN6MUD UTHIGSIBIT 6Iaied, 12 FL ML &H6IT QUTHIS
eleleuene) OHTeNE CHeneulIIBLD?

ellewL : ap. 2400

allenébaId :
2X + 4y = 1600 ---------------=-mmmmo—- (1)
X + 6y = 1600 ?2)

gwen® (1) elmbad FwauT® (2) eow 2860 CUMmBS HIHdHH HenL LG,
2xX + 4y - 2x - 12y = 1600 - 3200

-8y = - 1600
y =1600/8
y =200

y eow (1) 60 Uygdui,

2x + 4 (200) = 1600

2x = 1600 - 800

x=800/2

x =400

U50eu 12 FLemLseflenr allemev = 12 * 200 = 2400
12 siomLseflenr alemeo = @p. 2400
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30. @ uRwWIHiTFCFTemevulled 9 SJehHderian alensv 5 Ylleiiseflen alensvdH@LD,
5 glesmerien eallemeowimengl 3 ombUPRBIGeTer eallensud@ld, 4 LOTLDLIPRKIGS 6 6or
allemey 9 eIIOFmIFHerlen eallenevd@ FIOWD YPGD. PHC6U, 3 TNIOFnT H6if60n
allensv h. 4.80 erafled, P UTEHF6N allMeVMUIS HTEWISH.

ollewL : ap. 1.20

allenébaHID :

4 mbuphisefler eeienlldamnsd = 9 eIIOFmFHollen eTevewildamd
=[(4.80/3)*9] = . 14.40

@@ LmbLpkiseier eewienfidens = 14.40/4 = ap. 3.60

5 gieit = 3 wombLpriseien eflenso = 3.60 * 3

= 5. 10.80

9 YJehaimefen elcieanfldbmed = 5 lilenmeien erewiennbmaseian alenso = b.
10.80

a® Jehder alemev = Rs. (10.80/9) = ep. 1.20

31. @ eu@luenpuied o 6item geuCeuTh LevenBUTEVID 6 LOTEmTGNIT&H6IT
SIDTSHSUULLTO @ Levnds BCHmaulILBEBSHI. YM60 @ LIvnsdHE 7
LOTEWIEUTEH6IT SIDTHSULLLT6D G LIvenduled 5 LomewreuiHEhebHTen DML SLLb
AmEbHmHI 6Tfed auGLLenBUled 2 6iTenm LoTewToT Heiflel eTevewmNbMBMUIS SHT6HISH.

allenL : 72 LOTERIENTE6IT

ellenésd :

aI@GLIUmBUleL 2 6iTen LOTewIaITSH6M 6 6TewTenlldbomed X 6l6iHb.
B,

6(Xx+1)=7x-5

6X +6=7Xx-5

x =11

456a1, au@liLenpuisd 2 eiten oTewiauiHeflen eememiidend = 6 (X + 1) =6 * 12
aI@GLIUmBUled 2 6iTen LOTewIaITH6N 6cTewTenlldbond = 72 LOTewIGUIT &6iT

32. @m Cxieled 35% omewieuisst CHiFd OUBBITH6T. 455 LomewieUiadsT G HTevel
IIMLHSHTTE6T. YHCeU, BHi6y 611psHlw QLOTSHS LOTEuTEUT 66 616516301 HMUID
SHITEWIH.

alenL : 700 LOTEwIENTE&HEIT

allendbsLD
Cxpiiey eTpHw OLoTHH Lomemreuiderlen slewenildbme = X 616s5.
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X @60 65% = 455 rewreui &6t

65x/100 = 455

X = 455 * (100/65)

x =700

U566, Bpiey erpdw Glondhg Lomewieuiseien elsweniibenad = 700 LoTewToNTH6IT

33. 6I(HEMLOE6I LOBEHID UTHHIHH6IT JILMSUW @M Fnl LSHIH60 QOTHSH HTELSH6I 6T
TEITENNBMS DIMEUSBGITNT HMevdelilen elevlenildamaulet @m L midameiail 24
SIFBID 6TM60 BTl LSHFH60 2 _6iTeN 6IHMLOSH6IT6  6cT6vT6MNHMBENUID  FHTEU0IH.

ollewl : 12 6IHEMLDEHGIT

allenébasID :

ST(HEMLDEHEIMGT  eTeRTEmNHNE X 616015,
QUTHHIHHEIMGAT 6TRIGNNDBMND Y 61601,
Ax+2y =2 (x +y)+24

4K + 2y = 2X + 2y + 24

4K -2X =2y -2y + 24

2x =24

x=12

GT(HEMLDHEME eTewienlibend — 12

34. @m elenemwim B HemalpraleCurgl, 30 GLHMSHHT @b
epGaflenguilsb(Column) BPialeipernt. Selorm BBensuisd 16 CpGeuflendseir
o _meutdleper. UH6el, @m OHBflMFHEG 24 GLHMHHET H6IBTEL 6155660
OmpBouflengHamen 2_[HeuTeHEH60MD?

allemL : 20

allen&asLD :

Qs GYHmSHSEsT eemenidensd = 30 * 16 = 480

@6lOeuT® OEBflNFsGD 24 GLHMSHET BHBIGHSLILL LT 2 HauTG OLoTHsH
OpGeuflens = 480 / 24 = 20

35. 225 BLLT BlLeme Osmewi @ HH60 26 EAIBIHEmen HBSBeT. DiFH6V,
SHS QPLHHT R (Ppmenseriled S LOTHBIBISHM6T [HBS BN  6Ie,
SBHH0HH DHEGL DM WrssABpIEais QenL UL SHIFHBHMEH HTCHIS.

allewL : 915

allenébaslD :
26 WISHHBDIBEHHHMLBW 25 QenL_Oeuerll 2 _eiTeng.
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45Ceu, Chemeuwirenr Fmyp = (225/25) 1S
=91
SBS55BHS DHEGL DB LISSOIDBIBEHSHMLLILILL. SHIJD = 9 1S

36. @m Cxiey oemmmeit A LBEID B o eitenenr. 10 wmewisuiser A wiledmbad B
5@ SiUulu@Seamernt. HBOUTH A wBmId B ulled 2 _eitem oTewIOUT&H6IT
eTemTeNNGMmE FIONTE QMmEBSBH. LUIB@ 20 wrewaliser B uledmbsm A &6
SiWINULILGS et eened A ullsd 2 _6item LoTemTeNTH6IT 6lemwienilbend B ufled
®_6iTeN LOTEWIaITH6IT 6Tamtenllbandemuill BGurev GmIoLmIG elafled, A uled
LOTGWT6MT 61T 60T GT6uiI 6N e Ullen6ies  SHIT6uiIb.

allewL : 100 LomemIeNT 6T
olleN&GHID :

A uiléb 2 6iT6N LOTERIGUTHGT 6cICmTIEMNEHMNE X 616015,
B ulled 2 siten LomewicuiZHeiT 6lawmionlbemnd Y 616015,

x-10=y + 10

x=y+20

X -y =20 --m-mmmmmmememe oo (1)
Xx+20=2(y-20)

X +20=2y-40

X =2y -60

X = 2y = = 60 -=-m-smemmmemmeeeeeee (2)

gweit® (1) - (2)
X-y-x+2y=20+60

y =80

y eow (1) 60 WygduiL,
x-y=20
x-80=20

x =20+ 80

x =100

A WleL 2 _6iTeNm LOTEWIGUTHET olemisnndend = 100 LOTemIeUT&H6IT

37. QAflwir wTemTeUNLID @i eleigmIL 601 25 el OUMmSBEF OCFTELSBIT. 66D
LOTERTEUGT 52 6Nl DibdH 6IIEmIL 601 OLIHBGSIBI6N. Sisieurml GCILIHEEMBUT6ED
MBS Fflwmen alenLenweal 324 Fsns S ssBaH. PHCen 324 e16tim
allenL 6lbg eTewigmIL 651 25 enwl OUMmBS SN SHELW?

alenL : 12
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elleNb&ID :
QT eTEmIEMNEMEN X 6160Idh OBM6ITH.
s, 52X - 25x = 324

27x = 324
X = 324/27
X =12

561, 25 evw 12 2 L6t QUmEBs 324 6l6eiiB allel HenL&GLD.

38. 4 SyeWIs6N LWBDID 2 Oueisele ¢m LTH MHUWISHoHTEWIH FBHEL 5.
46,000 Q@. @M OCueHienien omAuioTeaigh o ewiler agluibslemearall . 500
IIHEID 61660 @h Ouesiiemiied TS 2MHUIGHOHTMBUNNED HT6UIb.

el : ap. 8000

ellenésd :

PMm YT LOTH amFHUSHHener ah. X 6led QEBmeiTs.

U,

@m® OGuemienien wTH eagwibdemer . (X + 500) etends GaETeiT@suriD.
A&56e1, 4x + 2 (x + 500) = 46000

4x + 2x + 1000 = 46000

6x = 46000 - 1000

6x = 45000
X = 45000/6
X = 7500

@m OGueienien wTH 2aBusostends = . (7500 + 500) = ap. 8000

50. @@ eu@LiLlled 2 _sitenn LomemieuiSHerlei el6vilemlbmEBWITERIHI, SleUaIGLLI60 2 _6iT6m
orewrellaseflen  eTeviTenflldbenaullei  6l6uiremndbendemWILIGLITE0 5 1L BISBE FIOWD G
eTeflé0, 72 LomemIc), LOTemIeN&6T DILMISIW 6u@LiLllsd LomewTeuT a6t 6o
6TEU0T6U| B0 HEMUID  SHIT6TIE.

alemL : 60 Guri

allen&asLD :

QrHs remiey LoTemiea&EsT = 72 Guit

LOTEWTEUT 6160  GTRIemNHmMBMU X 6land Olomeis.
oremellselen erewicnllbmeamul Y eland Comens.
X +5(x)=72

6Xx =72

X =72/6
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X =12
LOTewTENT 66N eTewlomidbend — 12 Gui
566, oTewredlBelen elewieniidensd Y = 60 Gui

51. (64 )%-(36)*=20*X. eiefled X =?
allenL : 140

elleNnb&ID :

(64 )2- (36 )2 TGTLIG a’ - b? GiID AlgaT6L 2 _6iTeNgI.
a’-b’=(a+b)*(a-b)
20*x=(64+36)*(64-36)

20X =100 * 28

X=(100*28)/20

X=5%*28

X =140

52. 517 * 324 ei6hip eTEMIGWITENGI 360 (PIQMOWITES IGUGBLD elafled * 2 sitem

BLHP aumD WSFABIW eTewt 61 ?
ellenL : 2

@eI0aITH BVBBHIHID 2 6iten elemideflel amBHeo (S5 +1+7+x+3+2+4)
= (22 +X ) g 3460 auGUL GeuewiGo. X = 2

53. amebead : 107 * 107 + 93 *93 = ?
ellen : 20098

allenébaIlD :

(107 * 107) + (93 * 93) = (107 )* + (93 )?
= (100 +7)*+ (100 - 7)?
(a+b)2+(a-b22:2*(a2+b2)
=2*[(100)%+ 7¢]
=2*[(100)%+ 7%]

=2* (10000 + 49)

=2 * 10049

= 20098
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54. ames&Hs : 8988/8/4= 17
ellen : 280.875

allenébaLd :

8988/ ((1/8)*(1/4))
=8988/(8*4)

= 8988/ 32

= 280.875

55. 6 edewenuum B Gumbenioseflen allensowiTengsl . 264.37 elafled 5
Qumbsninsefler eflensv eTeite?

ellewL : @5.220.308

ellenésd :

5 Qumbsniseflenr alensvenul X elaid OHT6iS.

Qumbsninseflen erewicnlldmed GmpauTd EMbHTEL OLITIDENLDGHEMET GIThIGLD
allemeLWITaIHl GHmmaITd SmB@LD. olanBo Hend GBiommsons Gomsiten Geuewi(BLD.
= 6 : 5 = 26437 : X

= 6x =57*264.37

=>x=(5*264.37)/ 6

= x =1321.85/6

= X = ¢5.220.308

56. &GS : [ (753 * 753 + 247 * 247 - 753 * 247 ) | ( 753 * 753 * 753 + 247
* 247 * 247)] = 7

allenL : 1 / 1000

allen&asLD :

CETRESHILL YBEGD efemarag (a>+b%-ab)/(a’+ b’ agib eugelsd
o _6iTeNgl.

aenBeu (a°+b?-ab)/(a®+b’% =1/(a+b)eeip FwaLmn oL LLELEGSHS
Gi(hHESH6EVTLD.

a=753

b =247

1/(a+b)=1/ (753 + 247)

1/(a+b)=1/1000
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57. 2 Guengy LBEID 3 BEBSTEIG6M6 allemweowimengl 53500 wBEID 3 Gwengy 2
BIBETedEeMer ealleneowimegl @5.4000 erafled e Coengguilsht ellenev ereiten?

allewL. : @p.1000

ellenésd :

Coengenul X elaue)yld, BHIBHTEMUW Y 6elaIalD OHT6iTHm.
2x + 3y = 3500 --------- (1)

3x + 2y = 4000 ---------- (2)

(1) * 3= 6x + 9y = 10500 ---------- (3)

(2) * 2= 6x + 4y = 8000 ----------- 4)

(3) - (4) = 6x + 9y - 6% - 4y = 10500 - 8000

Sy = 2500

y =500

(2) = 3x + 2(500) = 4000

3x + 1000 = 4000

3x = 3000

X = 1000

eTeiiBeu g Gengguiei allemev 5H.1000 Y GLD.

58. amb&Hs : (87 *87 +61*61-2*87*61)
allenL : 676

allenbsLD :

=(87) %+ (61) - (2 * 87 * 61)
= (a® + b? - 2ab)

@nig a= 87 wppw b= 61
(a-b)?=(87-61)?2

(26) = (20 + 6) 2

(20) 2+ (6) 2 + (2 * 20 * 6)

= (400 + 36 + 240)

= (436 + 240)

= 676
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Fal_(HeUL Ly

1. @5.15,625 &@& <Ami® aullp 8% eaizd eafled, 3 YMBBEHHGHD Fnl [ 6ULIQ
SGITETEYLD.

ellewlL : @.4058

ellendbaBID :

3 ueiBEsT (peled sl BH Qatems A = P (1 + (r/100))°
= 15625 * (1 + (8/100))3

= 15625 * (1 + (2/25))

= 15625 * (27 / 25)°

= 15625 * (27 / 25) * (27 | 25) * (27 | 25)

=5.19683

aienBel, Fnl B eaulg =A-P

= 19683 - 15625

=a.4058

2. YWBHS M (WMB alllg SFIL6 CaidsiuLTed RS. 8000 &@ 6B
alllg s 15% eislig, 2 YHBH6T 4 THBIBEHEGHDH Tl B I IQ BHIEWIS.

allemL : RS. 3109

ellenésd :

&T6VD = 2 YewiBHell 4 WTHhiEen = 2 * (4/12) yemiBesit
=2*(1/3) =yewmihebsit

QUL IQUITENISH UBHS P (WPMB DIFNIL 6 CFIHSILLLTD DIHBEHTN GHHILD :
ezTens =P * [ (1 + (R/100))" ]

ezmens = Rs. { [ 8000 * (1 + (15/100))2 *[1+(((1/3) *15)/100) ]}
= Rs. [ 8000 * (23/20) * (23/20) * (21/20) ]

=Rs.[23*23*21]

= Rs. 11109

gl (el = Rs. (11109 - 8000) = Rs. 3109

3. o] YBHEG @M (WPB ULy dFNIL6n CFidaslulLmed RS. 10,000 &@
UG aully aip 4% eiplug, 2 YHBHEHHEGHD Fnl B QI HITCUISH.

ellenL : RS. 824.32

ellen&BHID :
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SF60 = Rs. 10000

ally = SIM) YWIbdHG 2%

&MV = 2 YWBBHEIT = 4 DI Y6WI[BHIH6NT
QULIQUITEISH SID] PMBHS G (LB DIFNIL 6N CFresLlILLLTEY SIHBESTE
GBS :

esTems =P * [ (1 + ((R/2)/100))™"]

Gstena = Rs. [ 10000 * (1 + (2/100))*]

= Rs. [ 10000 * (102/100)* ]

= Rs. [ 10000 * (51/50) * (51/50) * (51/50) * (51/50) ]
=Rs.[(51*51*51*51)/(5*5*5*5)]

= Rs. [ 6765201 /625 ]

OaTenad = RS. 10824.32

@l B e lg = Rs.[10824.32 - 10000 ]

gl B eulg = Rs.824.32

4. HTOTHBHS @M (WMB alllg SFLel CxisdasiuLred Rs. 16,000 &
eWIB alllg aisd 20% eisliug, 9 WIHHIBEHEGD Fal B I lQ HT6wHIsH.

allemL : RS. 2522

allendbasID :

S1F60 = RS. 16000

ol = geuihsd 20% = sreoremiGhdd —95%

&Teold = 9 remiseT = /12 yeiipser = 3/4 eHIBH6IT
QUL IQUITENIEHI HTOTHIBHG @ (PMB DIFVIL 6T CFiobSILLLTE0 DIHBSTEN
GSITD :

egrenas =P * [ (1 + ((R/4)/100) )™ ]

Gstena = Rs. [ 16000 * (1 + (5/100))* "]

= Rs. [ 16000 * (105/100)° ]

= Rs. [ 16000 * (21/20) * (21/20) * (21/20) ]
=Rs.[2*21*21*21]

= Rs. 18522

Cstenad = RS. 18522

al @B eullg = Rs.[18522 - 16000 ]

gl @ eulp = Rs. 2522
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5. &yeourl erediueui @. 8000 vl 2 YMIBHEHHEG MEULILISHOHTENSWITS,
UM BBEG 5% FmlBeully aip caumduled CFISHHISBIT erafled, M M6
SmFuled Sieur CUBB (WHiey CFHTMHUNN6ND HTEIb.

el : @p. 8820

ellenésd :

QUL IQUITEISH UMBHS P (WPMB SIFVIL 6 CFIbSUILLLTD DISBHTHN GHHILD :
eztens =P *[ 1+ (R/100)]"

Gatena = 8000 * [ 1 + (5/100) ]2

=8000 * [ 105/ 100 ]?

= 8000 * (21/20) * (21/20)

Bm gt @miHuied Seur QuUBB (WHliey OHTems = ap. 8820

6. PHBHSH F® (WMB el lg SFIL6 CaidsiulLred RS. 7500 &@ <0G
el lp efpid 4% alslig, 2 YaIBHEDEGH Tl B I lQ SHTERICYLD.

allemL : RS. 612

ellenésd :

QUL IQUITISH YBHS G (WPMB SIFVIL 6N CFISSILLLTD DISBEHTN GHBHILD :
ezTens = P * [ (1 +(R/100))" ]

Gstens = Rs. [ 7500 * (1 + (4/100))?]

= Rs. [ 7500 * (104/100)? ]

= Rs. [ 7500 * (26/25)]

= Rs. [ 7500 * (26/25) * (26/25) ]

=Rs.[12*26*26 ]

= Rs. 8112

al Baulp =Rs.[ 8112 -7500] =Rs. 612

7. @ GPUILL OFTenss@ SHalallly alndhdled YaibsE el lgeisd 5%, 3
ABBEHEEG RS. 1200 HenLsdmEH eTafed, IBH SieNe] OHTNBHE U IgaisHLD,
SMTeVD YBWIeuBled LOTBMBD SDL6VTIEY Fnl (HoULl lQuilenals &H6wIeHa ([BHb.

alemL : Rs. 1261

allendbslD

QL eispd = Yewmpbg 5%

&MV = 3 eIBHaEH6IT

Heaileul lg GOpmensd = RS. 1200

maWTed, aiFev = [ (100 * 1200) / (3 * 5) |
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= Rs. [ 120000/ 15]
o1F60 = RS.8000
Gal_(HeULly STENIHED :
QULIQUITENIEH UMBHS G (LMD SIFNIL6N CFiSSULLLTD DISBHTN GHBHILD :
eztens =P *[ (1 + (R/100))"]

Gstena = Rs. [ 8000 * (1 + (5/100))° ]

= Rs. [ 8000 * (105/100)° ]

= Rs. [ 8000 * (21/20) * (21/20) * (21/20) ]
=Rs.[21*21*21]

Oatenad = RS. 9261

gl Beullg = Rs [ 9261 - 8000 ]

gl Beullg = RS. 1261

8. o GUUUILL ozxTemswrner . 18,000 HBG 2 YMBBEHEHES L Bolly,
Salleul 19 STaEIDBUTH SeuBpilen ellSGAWTFID . 405 SlewL BB 61afl6v,
QUL 196N HHHMNND  HTIH.

allemL : 15%

allenébsID :

el aisdhslener R% erend OameirGourib.

gl Baully - SHelledllg

[ (18000) * (1 + (R/lOO))2 -18000] -[ (18000 * R *2) /100 ] =405
18000 * [ (100 + R)2 /10000) - 1 - (2R/100) ] = 405
18000 *[ (( 100 + R)2 - 10000 - (200R)/10000) ] = 405
9/5 * [ 10000 + R? + 200R - 10000 - 200R ] = 405

9/5 * R* = 405

R® = 405 * 5/9

R°=45*5

R® =225

R=15

5Ca1, e geisd = 15%

9. @ GOUILL oiFeomeng GOUILL e eisdhsled 2 emiBseilsd . 7350
eTeuald, 3 Y eWIBHere0 ap. 8575 elaalD ML SHBBHI. PHCa, SiFelensu|id,
QLIS HHMANUD SHT6wIH.

ellewL : ap. 5400, 16 * (2/3)%
allendbsLD
. 7350 & @ITWBHG SHMeullghH0stensd = RS. (8575 - 7350) = ap. 1225
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auligefsd = [ (100 * 1225) / (7350 * 1) 1%
aullgeisd = 16 * (2/3)%

SiFVlenel X eleuid OBTETCUTLD.
[x*(1+(50/(3*100)))*]=7350

X * (716) * (7/6) = 7350

X = 7350 * (36/49)

X = @. 5400

SIF6L = . 5400

10. 9 &PUILL OxTenswnaigk ol (Baully aidsHHle0 h. 6690 eler 2
YMIBBEHGE LUBGW, . 10,035 oler 3 YaiBHEnsE LBGD S sangl
GTAN6Y, DIFVMANE TR,

ellewL : ap. 4460

allenébaID :

SiFedenen op. P erend OBT6ITS.

[P*(1+ (R/00))%] = 6690 ---mmmreemmmmmmeeemv (1)
[ P*(1+(R/A00))°] = 10035 ----r--mmmmmeeemmmav (2)

Fgweith (2) ~ (1)
[P*(1+(R/100))®]/[P*(1+(R/100))%]=10035/6690

(1 + (R/100) )* = 10035 / 6690

(1+ (R/100))*=3/2

(1+ (R/100) )* = 3/2 eeiiens sweLn@ (1) Sev Hygduil. aenLLiLg,
P *(3/2) = 6690

P = 6690 * (2/3)

P =2230*2 = . 4460

5601, oiFeL = p. 4460

11. YwiBHE @R (PMB el ly FNIL 6T CidsiulLmTed ap. 1,000 <yeigl
e alllg aisd 10% eisig, mh.1331 Ps aHHmean YIBEeMe0 el s@E?

allewl : 3 Sy ewIBH6IT

allendbslD

SiF60 = . 1000

SmLsGD OpTens = ap. 1331

ally alsd = yephsa 10%

&MV = N YeRI([HSH6IT

QL QUITENS YBEGH @ (POHB DFVILEST CFrbalUL LT DHBHTN GHHILD :
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12. QJYMBES PO (WPMB alllg DFIL 6T CFidbslu’LTe0 ap. 500 g Q6w
S eiBHerled . 538.20 &b HLHBMSH elafled, YUHIBEHBTO 6UL_196)HdH I M6
SHITEWISH.

allemL : 8%

ellenésd :

IF60 = p. 500

SHmL_BEGID OFHTend = ap. 538.20

&MEOD = 2 <Y ewi{HH6IT

el eipd = Ymihdam RY%

QUL IQUITEISH YUBHS GO (LMD SIFVIL 6 CFTHBILLLTD DISBHTO GHHID :
@ztens = P * [ (1L + (R/100)) "]

[ 500 * (1 + (R/100))? ] = 538.20 oieve0a

(1 + (R/100))? = 5832/5000

(1 + (R/100))? = (5832 *2) / (5000 * 2)

(1 + (R/100))? = 11664/10000

(1 + (R/100))? = (108/100)?

1 + (R/100) = (108/100)

100 + R =(108/ 100) * 100

R =108 - 100

R=8%

U566, @GBS el lgaimd = 8%

13. . 15,625 & P eully 8% eaipb eafed, 3 YBHEHHGHD Fnl B 6ULIQ
SBITET0TEb.

allewL : ap. 4058

allenébaslD :

3 gemipsen (Wgeled anl BH Ozptens A =P (1 + (r/ 100))3
= 15625 * (1 + (8/100))*

= 15625 * (1 + (2/25))
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= 15625 * (27/25)°

= 15625 * (27/25) * (27/25) * (27/25)
= . 19,683

gl @B eulg =A-P

= 19,683 - 15,625

= p. 4058

14. . 1600 suengh 5% ewiB Tl (B el ly 6iHldD CETemi(B 6T5HHM6
e oerled 1852.50 G Ib.

allemL : 3 SERIBHSB6IT

allenébasID :

P= e 1600, A= . 185220, r =5%,n ="
A =P(1 + (r/100))"

1852.20 = 1600 (1 + (5/100))"

1852.20 / 1600 = (105/100)"

185220 / 160000 = (21/20)"

9261 / 8000 = (21/20)"

(21/23) ® = (21/20) "

n = 3 SemIpHee

15. o0 YUGMIBES PO (LB alllg DFQIL 6 CFidsiu’Lred . 1000 &G
e aullg e 10% efzlig, 18 TSHBIBEHHGHH Fnl B 6ULIQ HTCIS.

el : ap. 157.63

ellenésd :

P= . 1000, I = 10% <ye0ipsHG

N = 18 wrghsst = 18/12 aumLBIS6T = 3/2 QIHLBIS6I
18 rpmseT GnFHuled sl BH CHTems
A = P[1 + 1/2 (r/100)]*"

= 1000[1 + 1/2 (10/100)]?>"

= 1000 (1 + (1 /20))°

= 1000 (21/20)3

= 1000 * (21/20) * (21/20) * (21/20)

= . 1157.63

gl @ eulg =A-P

=1157.63 - 1000
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= . 157.63

16. ep. 20,000 &@ 15 FHeispd Yei® ey aissIBE&. 2(1/3) WHBHEHHGS
Gl (B GULIgenWIEH SHT6WI%5.

ellewL : ap. 7772.50

ellenbsID :

P= . 20222, r = gyewiOLneipisg 15%, n = 2(1/3) syemBaosit
2(1/3) yemipseT @umAuled gl BH OHTME
A = P(1 + (r/100))* [1 + 1/3 (r/100)]

= 20000 (1 + (15/100))% [1 + 1/3 (15/100)]
20000 (1 + 3/20)? (1 + 1/20)

20000 * (23/20) * (23/20) *(21/20)

. 27,772.50

gl ® ey =A-P

= 27,772.50 - 20000

= . 7,772.50
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Fyngif
1. 100 gYbmsseie Fymafl euwgh 10 eumLLD. Sjeuisemsd 25 Guidkeflenr Fymaifl

WG 8 euHLLD. LBOMT®m 65 Guizmeflen Fyrafl emwg 11 eumLib. Wahpsitenm 10
GWhmBHeM6N FInFf eUBH HTEwIS.

allewL : 8.5

ellenésd :

100 Gwhmssaian alwdsd Fapxheo = 100 * 10 = 1000

25 GWhmamehar FmhHed = 25 * 8 = 200

65 GWhmBbEeMaT BT aEmBHed = 65 * 11 =715

ISspeiten 10 Glbanssefen auwder gwmBmHeo = 1000 - (200 + 715) = 85
gyrefl =85/10=8.5

2. apeiim elemidbeflenr Fymafl 20. Seumplled S erewibsit 16, 22. HHC6u, CPEIMTLD
TEHRTENEINS  &T6wI&H.

allemL : 22

elleNb&ID :

APSIIDI 6T6MIH6T (MBBW X, Y, Z eletids OHT6isH.
(x+y+2z)/3=20

(16+22+2z2)=20*3

38+z=60
z=60-38
z2=22

eTeorGeu, cLPEHTBTID eT6mr — 22

3. 100 Gubmsseien syngfl euwig 10 eumLLD. Seuiseflen 25 Guiseflen Fymaifl
awgl 8 eumLLD. BOmT®m 65 Guiseflen syrafl ewwig 11 eumLib. Wapsitem 10
GWHmBH6 FInFf QUGS enens HTewmIs.

allewL : 8.5

ellenésd :
100 Gwhbemsseien gl BHesTemsd / 100 = 100 @wbemsseflen Fyraf
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100 Ghenssefen gl BhH0smme / 100 = 10 eugpLLd

100 Gbmsseien gl BhHosTens = 100 * 10 = 1000

25 GhmsHelar gl BH0sTme / 25 = 8 au@mLLD

25 GUhmpmeMar gl BHosTens = 8 * 25 = 200

65 GlbmBEeMear gl BHosTens / 65 = 11 aupLID

65 GWhmBpmeMan Fnl BHosHTens = 11 * 65 =715
Sspeiten 10 Gbanssefenr Fyrafl = 1000 - (200 + 715)

=1000 - 915

=85

ISspeiten 10 Gpbensmefen Fyrafl = 85/ 10
=8.5

4. 1pFH6e0 40 Quied eTMIB6IMET FTTFFeNUI BHT6UIHD.
ellen : 20.5

ellenésd :

WH0 N Buied aremimeileir am@BHeo = (N (N + 1))/2
n= 40

(pHe0 40 Guied eremimeilen FnBHed = (40 (40 + 1))/2
=(40*41)/2 ;=820

Cxemauwirenr Fymafl = 820/40

Cxemeuwirenr Fymafl = 20.5

5.2, 7, 6 oBmid X yPw eremiseflen FyrFfl 5 . igH6Gumev, 18, 1, 6, X
wBpid Y SBweppler syrafl 10. ou56eu, Y @61 FITFflenwis HT6IS.

allewL : 5, 20

ellendbslD

2, 7, 6 vB@Id X YAl elewiseflenr Fymafl 5 :
2+7+6+x)/4=5

15+x=20

x=20-15=5
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X=5

18, 1, 6, X wBmId Y ywsSlweupmleir Fymafl 10 :
(18+1+6+x+y)/5=10

X 6 wHidener UysuiL,

25+5+y =50

30+y =50

y =50 -30

y = 20

6. SIBHSBHBH UMD BTG @I emLLILenL elewimeriien Fymafl 27. HHCa, iFH60
Quflw eTeNIENENTH BTN,

allewmL : 30

ellenésd :

SIBSHHBHSHI UMD BTG @RI MLLILmL elemidenen X, X + 2, X + 4 1oBmpidb X + 6
ol ObmeiTs.

(X+X+2)+(x+4)+(x+6))/4=27

(4x +12)/ 4 =27

X+3=27

X=27-3

X =24

Quflw eter =X +6=24+6 =30

7. 25 Gxitey (wpyeyseflleir symafl 18 Q@GWD. DFHL (PH6L LGTINOTeHIB (g6 6Tt e
gyrafl 14 wBpd SenLdl usialOyeih (wipeyserenr Fymafl 17. erefled
uglapeipreugs Csiey (Wpgellenaids HTemis.

alenL : 78

ellendbslD

uglapsipreug Bziey (wigey = 25 Cxiey (peyseien FmhHHeL - 24 Biey
(pgeyseren gnBH60

={(18*25)-[(14*12)+(17*12)]}

=450 - (168 - 204 )
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=450-372= 78

8. @m eugLUayeiten 10 wrewieuiseien Fymafl o _wgb 166 QF.15. erend
SHMSHILLILULL G HHeUeOHMNF FfuMisGeuTsdl @wm waHy 150 0F.16.6@
ugleors 1600F.15. eteiipl GBUUILLULL & SHewiGLIgsSILLL Gl 6Tellsd Fifluimeot
FInFfl 2 _WrHmeHd SHTRIsb.

allewL : 165 Q&.6

ellenésd :

gyrafl o _wgb = 166 GF.15 wmpw N = 10

gynFfl = 10 memieuisefer 2 wiyid / LOTERIGNTEH6IT 6T6wTenTBemND

166 = 10 omemieuiseien 2wy / 10

10 rewieNismerileln 2 wWgld (Heummenm FnBHe0) — 1660

Fflwren FmBHe0 = BT Fa(HHev - HeumTen W] + Fflwmer B
= 1660 - 160 + 150 = 1650

gflwmenr Fgmafl o wb = 1650/ 10 = 165 G&F.16

9. Ueireumeuemouimieit 10 omemisuiserfledr LoHIOL6IE6T OBTBHHSLILIL [BH6iToment.
45, 34, 67, 84, 73, 27, 71, 60, 70, 59. @euBnilen &iF&H HBEPID ML HlEN6L
OGNS HTCID.

allenL : 57, 63.5

ellenésd :

alFg: = WBUGUm wFHIIY - WBFHB WA
BU6U@®m Wy = 84

B&Fm gy =27

elFs = 84 - 27
= 57
QMLBlen60 :

QmLplensv BT GETHHBUILLL  eleniimemen guiuflengd SiLevdl BB&G6ufenauied
61105 GouewiBd. euflenswiTang SILeMHLLILINL 6lemismend CaTamiBeTensTed S
wHHW wHlsenen FIrsflCu seuBpilen QenLBlensy Y GLD.

guieuflenguied :

27, 34, 45, 59, 60, 67, 70, 71, 73, &4

@enLpleneo = (60 + 67) / 2 = (127 / 2)
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@enLplensv= 63.5

10. ©IB55bBHH UG AHIH (PRHH6H FnBHe0 45. DibDH (WPIPHHMENH
S&T6001b.

ellen : 14, 15, 16

ellenésd :

WSV (p(Ip 616w X 616015,

@rewi_meugl etewt — X + 1

apepmeugdl o6t = X + 1+ 1 =X+ 2

IIFH6N FmBH0 = X + (X + 1) + (X +2) =45

3x +3 =45

3X=42 ; x = 14

U560 Slbapeiml (WwpHseit, X =14, X +1 = 15 wpmd X + 2 =16

11. 43, 24, 38, 56, 22, 39, 45 &w yeitell alleuymiserileir 6lFs wBEID aiFsH
sy SHTEMIS.

allemL: 0.436

alleNébabLD:

oflFg:x =L-S

=56 - 22

=34

ofFs:s0s0p = (L —S)/ (L +5S)

=56 - 22/56 + 22

= 34/78

=17/39
= 0.436

12. 30 eVmHEH 50 MG DPOLBW 2 siten LST ecTevIH6MeT FITFFMUIS HTENISH.
allewL : 39.8
allendbslD

30 bl 50 B& RPmLBW 2 _sitem LHT 6cT6RTHENT :
31, 37, 41, 43, 47
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30 eV@mbH 50 B QLBw 2 _sitem LST eletimeren FIMSFf :
=(81+37+41+43+47)/5=199/5
30 eV@mbH 50 B@& QLB o_sitem LEHT elewideilenr FymFfl = 39.8

13. (pFH6v 30 Quisd 6TeRIHEMN Fn[BH6D HTGWID.
ellenL : 465

ellenésd :

N Quied elewideian Fal BHOHTMS :
=(n(n+1))/2

@mg@ n = 30

=(30(@30+1))/2

=(30*31)/2 =930/2

N Quied eleiisele Fnl BHOBTMS = 465

14. A wmpib B ulewr wors eugonensHen FynaFfl @ 5050. B wmpip C uledr
IoTg euoTerhHen FynaFfl ap. 6250. A wmmpid C ufler 1o1%H euOTEIHI6 FITFS
th. 5200. FHCea1, A ulledl LOTH GUHLOTERILD 6l6lGMI6T6)]?

allemL : 4000

ellenésD :

A uWieir 1OTH GUMHOMARID = A 6T6iIH
B ulenr 1omrs eugpomemd = b ereiiam
C ulleir 10T eu@HLOTEND — C 61651

R T <1011 J—— (1)
SRl A< J— )
SRSl 0o JE— 3)

gwerur® (1) + Fwerwun® (3) - Fwerur® (2)
a+tb+a+c-(b+c)=(2*5050)+ (2*5200) - (2 *6250)
2a = 2(5050 + 5200 - 6250)

a =4000

A ufleir 1o1® euepLOTEID = ¢mH. 4000
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15. 7 &1 (1pH6ev 10 OUHBSHMLGOGIH6I6N FITFMUID HT6UIHb.
ellen : 38.5

ellenésd :
=(7(1+2+3+4+....+10))/10
=(7(10(10+1)))/10*2
=(7*110)/10*2

=770/ 20

7 &1 (pFHev 10 QupbsBLeveTIHele Fymafl = 38.5

16. 6, 16 BEID 8 YSWIUBDIL 6T 61HFH 6CIMIMEWIDB Fal_Ig60T60 FIMFFlImengl 13
oT60ch  BlenL_d@LID?

allemL : 22

ellenésd :

6, 16, 8 wmmd X et FyrFfl 13 HGLD.
(6+16+8+x)/4=13
6+16+8+x=13*4

30 +x =52
X =52-30
X = 22

17. 50 eieviseflenn Fynafl 30. Qyewi® elewime 35, 40 HHSLILLLT6D &HleNLHGLD
yHw spreflenuids SHrens.

alenL : 29.68

allen&asLD :

SQrewi® elemIBeN HHSLILLLTEL LHD LG = 48 6T6vIsH6l
48 aemiseienr gymafl = (50 * 30) - (35 + 40)

=1500-75; = 1425

gynafl = 1425/48

gyrefl = 29.68
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18. @m Oummeflenr Fflwmew G 420 LOBOID DS HEUBTSH HENBSLILILL
I 390 eIHBIeL, (WPIPUUIMPENWIUL|D, FTTLL LenPenWULLD SHTemids.

ellen : 30, 0.0714

ellenéaHID :

wwieny = sFflwmer ALY - SHeuBTed HewNodSIULL WL
=420 - 390

wawuienyp = 30

gmiyl Wenp = (pepudenp / Fflwmer i)

= (30/420)

gmiyll femp = 0.0714

19. @® BEITHI WHB_CFHTmE 1,76,400. WHBHL_CHTHBWLTOSH YswibBHS D%
oiPsfledpal cansd, BrHiG UMBES WD, BTG UHBEHG Leid
SIHHBTHBH G DEHBL_OBHTNHMUIS HeWTEHD[BHS.

ellenL : 194481, 160000

ellenésd :

2 FHBBEEGH DG BEjSHE wHsL GsTme = 176400 * (1 + (5/100)7)
= 176400 * ( (100 + 5) / 100 )?

= 176400 * (21/20) * (21/20)

2 YiBBEDEGL LIBE bEIHHen wbsl 0stmas = 194481

2 HIBBEHGE (W bEISH6 s GsTms = 176400 / (1 + (5/100)7)
= 176400/ ( (100 + 5) / 100 )?

= 176400/ (20/21) * (20/21)

2 HIBBEHSHES (P& BEIHHen WeHE.0HTens = 160000

20. 11 ereimerfledr Fgmafl 60 YGL.DIFHL (WPH6O 6 elamiselen Fyrsfl 58 HHOYLD
sMLS 6 cieamisefler Fyrafl 63 HBOYD DMHHSTEL, YMTEUSH cTERI6wN6T LOGIIL]?

allewL : 66

allendbslD
W60 w1 eremiseilein QTHEH WFHII] = 58 X 6 = 348
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smLF ml eremiseilen GoTHs wFHY = 63 X 6 = 378
Owres wHlsefer FnBHe0 = 348 + 378 = 726

11 etemizsefleir QTHs wFH = 11 X 60 = 660

= 66

21. 25 pyeyseflen Fyrafl 18. wpHev 12 wyeyseflenr Fyrafl 14 wBE@IDd @IS
ueitellyewi® (wigeysmeleit Fymafl 17. SIILIQUITEITED LI\ GTCPeiBIeudl (LpIg6) 616Teor?

allewL : 78

ellenésd :

25 weasefler GQorszsd = 25 * 18 = 450

waev 12 wyeasefler Gorss = 12 * 14 = 168
Bma 12 wyeseien Quorssd = 12 * 17 = 204
ugsiieepreugl (pigey = 450 - (168 + 204)
=450 - 372

=78

22. 10 ercwimerlenn FInFfl 7 Y@. 12 6IM 6lwInemT @6NCGUTTH 6TERTENIL_ENILD
CumasGID Gurgl SaLb@Ed UHw FyraFflenwid HTewmids.

ellenL : 84

ellenésd :

10 arewimeflenr Fymafl = 7

10 arewisefleir gm@BHeo — 10 * 7 =70

X1+ X2+...... +x10=70

12X1 + 12x2 + ....... +12x10=12*70; 12X1 + 12x2 + ....... + 12x10 = 840
yaw eremisefenr aymayfl :

(12X1 + 12x2 + ........ +12x10) / 10 = 840/10 ; (12X1 + 12x2 + ....... +12x10) /
10 = 84

ydw eremiseflenr gyrafl = 84
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23. @@ eu@LiLiled 2 _sitenm Lomewiey LomewieNlEeren euwiglenr Fynafl 15.8 ewTIBH6I
G. HYFHl6L omewieuimerfled euwdet FInFf 164 BEHET 6T,
wrewiellseflen euwglen Fyrafl 15.4 YeHIBH6IT 6IEYD OCBHTEILT6D LOT6IIGN,
rewrellsellen erewienlldbme alldlHHIHMmeand HTewIs.

allewL : 2 : 3

ellenésd :

Cxramauwiren ell@Hd =K : 1 etends Qomeits.
=(k*16.4)+(1*154)=(k +1)+15.8
16.4k + 15.4 = 15.8k + 15.8

16.4k - 15.8k = 15.8 - 15.4

0.6k =0.4

k =0.4/0.6

k =2/3

Cxemauwimen efl@sHd = (2/3) 1 1
Caremeuwitenr efl@lHd =2 : 3

24. 25 wrewmieuiseflen o wysHHenr ayrafl 1.4m. LIB@ 5 omewieuiassT HhideImey
o wsHPen FymFfluiled 0.15m oigsflédipa eeflsd Brdw 5 orewTelserflern
gyrasfl 2wy eleieieouTd QmEGSL?

aflenL : 0.8m

ellenésd :

5 wremieuisefelr 2 wWrsHen FmBHe0 = ((25*1.4) - (20*1.55)) m
=4m

Cxpemeuwienr Fymafl = 4/5 = 0.8m

Cxpemeuwirenr Fymafl = 0.8m

25. @m Beweowmisst A wBpid B galwamping QeoLiul L GFmensvey 778
B.15. @m OFTLisuewngwtengd A wWelmbd B &@ wewisg 84 &5 BousmshHdlsd
OFeipl, Wi A wiemenr wewidE 56 &5 Cousld eiHld CFeLESBHI 6rafed
OsrLieuswnguileit GomTsHe LweniHFHmETen FITFS Cousdhdlenen Hmewmis.

allewL : 67.2 &.15/1oemi
aleN&&HID :

Cxpemeuwirenr Fymafl Geusmd = [ (2xy) / (X +Y) | &.u5/wewfl
=[(2*84 *56)/ (84 + 56) ] &.6/1oew
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[ (2*84*56)/(140)] &.8/wewf
67.2 &.18/wew

26. SIBHSBHSH UMD WPHIB PHBMBLILIHL. 6TeRIH6M6NT FnBHL YMB DlbD
eTeviiseifel FymFflenwell 38 oFHHLD 6latlled, (GBI 6TEMIHEII0 (LPH6L 6TEwT6w0N NS
SHITE01 .

allewL : 17

ellenéaHID :

ChremeuwiTel GBEMBLILINL slewibems X, X + 2, X + 4 ete0ids Qbm6iTe.
[X+X+2+Xx+4]-[x+x+2+x+4]/3=38
(3x +6) - (3x +6)/3 =38

O9x +18-3x-6=38*3

6x +12=114

6x =114 -12

6x = 102

x =102/6

X= 17

AP 6T6TIH6IMNGD (LPGH6L 6lewr = 17

27. @ au@GLLiled o siten 5 LoTewIaUideMen U6 FTTFfl 16 ) 6wIBEHSIT.
SIFIBurey 8 wreallBaflen euwdenr Fyrafl 15 S IBH6IT olaflsd SlsUaI@GLILNED
® gitem LDmewIeN LomewieN&ellen euwgen FITFflenulids HTEwRIS.

allenL : 15.4 eTBHSI

ellenésD :

5 rewialiseien eluwigd =5 * 16 oy et

= 80 «yewilhmeit 8 Lomewieldeflednr euwigd = 8 * 15 <y euiBaseit

= 120 yemiHaseit

aIGLILIeL 2 6iTem QOTHS Lomewiel, oTemaiseflen euwglenr Fyrafl = (80 + 120) / (5
+ 8)

=200/13

aGLLIeL 2 6itenm OLOTEHS Lomewiey, oTewialseien euwigen gyragfl = 154 yemBas6iT

28. apsiipl G(W&HH6iMeT LomewTeuT Heiflel slewienildma (PempBw 55, 60 wB@ID 45
UG, SlbapeTy GpdHseren wremeuiseilenr Fyrafl wHUGUeHssT 50, 55, 60
eTeullsL, OLDTEH S mewmieuisellen Frmafl LS ICLICHIISHMETS HT6TIsb.

el : 54.68 LFHIGLIETIHEIT
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allenébaLd :

Cxemeuwirenr Fgmafl = [ (55 * 50) + (60 * 55) + (45 * 60) ] / (55 + 60 + 45)

=[ 2750+ 3300 + 2700] /[ 160 ]

= 8750/ 160

QorsHd remieuisenen FInFfl HOLEHIBT = 54.68 HICLIGWHISET

29. 5 eromimeian FITFfl 27 YGD. DHVBHSH QP 6ITM6NT 611608 85)GNT6D
FprFflunegl 25 eleid SlmLbSBEHI elailev, 6llevdbBLILILL  clawlcnloneIds BTGNS,

allenL : 10

allenébsID :

ellevdaslILl L elewr = (27 *5) - (25 * 5)
=135-125= 10

5Ca1, ellevdslll L etewr = 10

30. m Caxpiailensr 1100 Lomewieuidke LOBBID 700 OUEIE6T 6IIRHIF BT, EF5l60
42% orewmieuiseEnd 30% Ouemiaend CxHiFd GQUBIS BT 6alsd GLTHS
Lorewieu, Lomemralldeiled CHiFd CLBTHeuTH6I6 6T6wT6nlleH6Nd 6636 ?

ellemL : 62(2/3)%

ellenésd :

Qrsha Lremiauisefen elewieniidamnas — 1100 + 700

= 1800

CxpiFFOumy rewieuisefen eremieniidems = (1100 6o 42%) + (700 60 30%)
= (462 + 210)

=672

CxpiFdl QuBTHauiseien elewieniidenas — 1800 - 672

= 1128

CxiFdl QupTHaiseien Fsaisd = 1128 / 1800 x 100
=188/3

= 62(2/3)%
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31. @ GBLUSHHD STHST, LTI, QUBECBTTHET LBDBID CPSIBI G LLHMHEH6I

o _eitenieadl. @0 H1HHM, umiguiledt Fymafl euwigh 63 wmpd CuBCBTisefen Fymaifl
oWl 37 LBDID paipl GWRhbmSEenen FITFfl euwgHl 7, eieiled @& BLOLGHI60

o _eiten Qg Buikellen Fymafl euwighl elerer?

el : (221/7)

allenébaID :

gyrafl = (63 x2)+(37x2)+(7x3)/(2+2+3)
=(126+74+21)/7

(221/7)

32. @ au@lLled 16 nemieuiseienr Fymafl erenLwimeng 50.25 Kg s o eiten 8

omewteuiderflen etenLwimengl 45.15 Kg elafled eu@liied o _sitenm QuomdHs
oTewiedi Beflenr FymaFifl eT6mL 6T60T60 ?

ellenL : 48.55kQ

ellensbasd :

ggnafl = (16 wrewieuiseflen Fynafl stemL. + 8 wremeuisefesr Fyrafl etewr) /
QoT&H LoTemTeNTH6IH 60 6T6001 60T 60 &b

= ((50.25 x 16) + (45.15x 8)) / (16 + 8)

= (804 + 361.20) / 24

=1165.20/ 24

aI@LIlled 2 _e6itenm Qomdhd Lomewieuisdefenr Fymafl etem. = 48.55 kg

33. o BEID & eofel FBCUTeHGHW FyTFfl elslswreard 5 : 7 YGSGW. 6
QUHLMIBEDGE (W6l < BB o el euwgk CoumumTengl 2 euLLD 6Ialed
S BEID & eflel HHBOUTMHSHW UL 6T6dT60r?

alenL : 48 euwigl

allenéasLD :

S BEID & oflel FHBOUTMHSW Wi SX LB@BID /X
7X-(Bbx+6)=2;7x-5x-6=2

X=4

S BEID & ofel HHBOUTMHSW euwigkl = SX + 7X
=12x ;=12 *4 = 48 euwigl
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LLILe6)

1. 5 eugaull LHBHTLLSHIHle ubsD 40 1. UHCHTLLSHMHF &bBm WL LMHEBS
.10 eisp CeuellGUTL PG OFevencud HTEWIS.

ellewL : @p.1600

ellenébaBID :

FEHIT augealll UWhCHT L HHen ubsd 40 1S

CouevlBuTL. @I OomdhHdh OFeveneud HTewt CHTLL S FHBMeNeneld H6wl{H
MG B LHEGH Y& CFevalLel OUmbBHlemed GUTHIDTEISEI

gy augealll UWhCHT LS e ammene — 4 * udbsld

=4*40

=160 15

CouelBUTL. @ WL L®BSE& P& OF6vey = @5.10

160 B LMHEBEGH WG CF6vey = .10 * 160

= 5.1600

2. 80 IS pemb 2 _enLwl OFeueNd ealgald CHTL L SHGen uyliuene] 3200 &.16.
CaHT LS SIBLHMBDH HNCHID.

allenL : 40 1S

ellenésd :

bemb =80 15 , ugliiene] =3200 &.15
CFelusHHe LUFLL6Ne| = [BeMD * Dj&H60LD
SIBVID = QFelusHdHer UFlilene) / MHemb
=3200/80=4018

CaM L SF6 oiB6vd = 40 1S

3. 40 f 2wy GerewiL @@m (PHBsTem augeud CHTL L SHGer ugliLeney 800 &.15.
SISH SIQUILIGEHHHN HENHMNBHDH HTEHID.

alenL : 40 1S

allendbsLD

(Wp&Camemiaugeald BHTL L HFHer Lpliuene = 800 &.15
1/2*b *h =800

1/2*b * 40 =800

20 * b =800

b=800/20=40 1§
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SYLILSSSHH 6N Hend = 40 1S

4. QWi FEHISHST SBmene] (WPempBw 40 OF.15 wBEID 32 CF.L8 YSGLD.
APSIIBTeUSI FHTHSIAHT UFLLeTeUTEIHI BB STy FHITHSHen UFLLIeTeedr
A HHWTFRIBEHSGHF FIOD YGD. PHC6U APHIBTD FHITHIHI H(DBB66Y SHTCUID.

allewL : 24 Q&5

ellenésd :

(WHev FHIIHHen ubsd = (40/4) QF18 = 10 QF.15
@yewiLmb FFHIHHen ubsd = (32/4) =8 QF.16
apeiipnd FEsAa uiueney = [ (10)? - (8)° ] G&.8
= (100 - 64) Q.15

= 36 QF.5

ApSIDTD FHIHH LSSD= V36 OF.5 =6 QF.LS
ApPIBITID FHITHBHT &HBmene — 4 * 6 = 24 QF.15

5. @i @memarHdlen UFLiLeTe] 480 QF.15° Sugliussd 24 GF.15 QsTemiL
QMMBTHHN GHHHIWITLD 6T6dT6017

allenL : 20 G&F.15

ellenésd :

ugtinene] = 480 Q&5 Swplriussbd b =24 QF.16
Benemiasyhalen UpliLene = 480

b*h =480

24 * h = 480

h =480/ 24

= 20 G&.15

6. gTul FHTID @eimbled ugLiene] 150 F.0&.15. 9561 @@ cpemevall LD 20 GF.15.
LBOBI®H PVl L HH DieNeneud HT6ewIH.

alewL : 15 QF.16.

allenébaslD :

ugliueney = 150 #.08.15, @wm apenevall b d1 = 20 QF.6
gTull FgyHSen uyluene = 150

(d1*d2)/2=150

(20 *d2) /2 =150

10 *d2 = 150
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d2 = 15 Q&.16
LBOBT®H penevall LSHHen Seney = 15 OF.15.

7. @f @eemiarHAH Uglileney 56 QF.18% G GHHWID 7 OF.15 eafsd
MM BT HBIGT DIQLILIGSHLD 6163160 7

allewL : 8 Q.0

ellenéaHID :

ugliueney = 56 Q&.15°, GHswWyDd h =7 Q.8
@enemiasrHalen UpliLene = 56

b*h=>56

b*7=56

b=56/7

= 8 Q&.0.

QmemBIHSHN DlgliLBHD = 8 OF.10.

8. o Camendder yplugl 98.65 &.0&F.15 elafled YJHMBHDH HTTISD.
ellenL: 2.8CM

alleNdab1D:

Camend et ypLugly = 98.56 &.0&.16
411’ = 98.56

4 X

22
7

X r’ = 98.56

= 98.56 x (1/4) x 7/22
=112x7
=784

r =7.84

r=2.8cm

9. @f 2 _mewen euged G T iguileir Gsmeitenemey 1848, m?>, aipen el 14 m
eTeullsy, 2 [Hemen 6uged QBT QUi YPSHSHMEH SIS,

allenL : 12 m
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allenébaLd :

&l Sene] = 1848 m?

el = 14m erefled <yyb = 14/2 =7m
OxTguie Spshdener h eend QaBmeTGsuTLD.
1848 =M*(7)" *h

h = ((1848*7) | (22*7*7))

h = (1848 / (22*7))

eamguiar e (h) =12 m

10. @ FBOUFHITHHl6n @euGeur wememjldb 50% SiIFHfHSILLLTED, DigH6d
Gupuriniler ugiied gBuLBeilen iHSfITlmen FHalHSHDE0 SHTewics.

allewL : 225%

ellenésd :

(peneruileir memb = a

Gomuyinier uyliy = 6a’

yadw peneuilenr Bemb =a e 150% = (150/100)*a
=(3/2)*a

ugw Gwpuyinfer gty = 6 * ((3/2) * a)?
=(6*9*a%)/4)

=543’/ 4

GupLytiies giuL Geiten oPafiy esalsn = (27a°/ 2) * (1/ 6a) * 100
= (27/2) * (1/6) * 100

= 225%

11. @m OFuussHIH6er UFLY 16 &5 LK. DB HeNbD, BVHMBAIL HT6IE
IDLBIG DR elafled OCFelueudHH6 HBMENE] 6I6)66TT6)?

alemL : 20 1S

allenéasID :

OFcleusHIH DIBVLD = X 6160H

(Memb DIBVSHMSLICLITEL BHT6IIG LOLMIEG DHHD, 6I6m6v)
OFsucusdH e Hembd = 4X

GFsucusdhden uriy = 16 gy 15

(1*b)=16

(4x *x) =16

4x* = 16
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x? =4

X=2
oienBeu, OFcucumssH A6t ammeney = 2(1 + b)
=2(8+2)

QFsilaussHHer SHmmene] = 20 1S

12. @ OFeleuBHIHH [HOND DSH6 DIBVSHHMAMICLTD SHIOLMHIG Y GLD.
bemoneighl 5 OF.18 GmBEHSILLBID, DiBeowTaH 5 OF,15 SiFH@flebsiul B
AmbIHT0 QF6uaNBHBHe Henoneigk 75 F.0F.10 dFHaflaBmm. o6
CF6lUBHH HENHBHMEND BTN,

allewL : 20 Q&5

ellenébasID :

DIBEVID = X 6160155.

B, Bemb = 2X
(2x-5)*(x+5)-2x*x =75

5x -25=75;x= 20

560 OFeleus HBHen Henbd = 20 OF.15

13. @ OFclusHIH6 apensvall LGHHem Hemd 17 OF.15 @G, DG &HBmerne) 46
OF.16 erafled OFelouBGHIH 6 LFLILIETONN60D HIT6wIb.

oL : 120 QF.15

ellenb&ID :

HEMD = X, SIH6VID =Y 6T6iIdh
2(X+y) =46 spvevz (X +Yy) = 23
wigh X2 +y? = (17)° = 289

(x +y)" = (23)°

x% +y% + 2xy = 529

289 + 2xy = 529

2xy =529 - 289
2xy = 240
Xy = 120

OQFsisussHder ugliuene = 120 QF.15
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14. @@ UeLOeueiwnengl OFeleus eugeudHHed 2 : 3 el iHHHe0 LIbHRIBM6NSH
Caremi@emengl. LsvGeuefuler uplieney 1/6 QaméGLied erafled, OlFsiiendsdad e
HOND LOBEOID DIBHEVHBHMEND BTN,

eflew : Bemd = 33 * (1/3) 15, @imevid = 50 1

allenébaLD :

QFsleusH ST Bemb = 2X
QFslaIBHHET DiBELID = 3X
uptiueney = (1/6) * (10000) 18* = (5000/3) 1
2x * 3x = (5000/3)

6x° = (5000/3)

x% = (5000/3) * 1/6

x% = (2500/9)

x = (50/3)

Bemb 2X = 100/3 18 =33 * (1/3) 18
aiseolb 3X = 150/3 15 = 50 1S

15. 5 16 44 Q&5 Benpd, 3 16 74 QF.15 DiBHOIPD 2 MLW @H SMBUiEd FHIT
augallevren @B&E6T UHHS (WPIYoaBHBILGHGBH. UHCa1, CHemeuliLBLD
GMBHSLULF FHIJ elgen @BH6IM6T 6lewmTenlbmeemnulds HTewIs.

elemL : 176 F&HIT @BDH6I

ellenésd :

pemd =5 * 100 + 44 = 544 Q.15

s =3 * 100 + 74 = 374 QF.18

siempuier ugiiuene = (544 * 374) QF.15°

CoremauILB GMBHSULEF FHIT 6ugen @HE6ren eclomienibend = 544 LBEBID 374
@etr 15.6\L1.6

544 G&.15 wBpd 374 GF.8 e 15.0u.6u = 34 QF.16

256861 @wm FH @Uiga ugilene = (34 * 34) GF.15

CxpenauliLBD FHIy @bseien eemenildens = (544 * 374) /(34 * 34) = 176 &z
QB®H6IT.
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16. @M BETHIGT (PHEL QML LHBLOBTnBWTIH 5% DHBFHHI6M6NGH LOBHID
SUWILMD 6UHL LHBL_OHTensWTaEH 2% GmBHIHITENS. RTEWILTD 6HL

QuFuled QpHH CISHH LWEHE_CBTHHWTHH 9975 YGW. PH66 (LPH6L 6UIHL
CBTLEBHHHD QHHS WHBLOHTMBHUIMENSH TS,

ellewL : 10000

ellenésd :

(PHL L OBTLHHHH0 QMHbH LHHL_CHTMD
=[(9975) /[ (1 + (5/100) * (1 - (5/100) ] |

= 9975 * (20/21) * (20/19)

(W60 QL OHTL_HHHFH60 Rmbd WwHsl 0HTens = 10000

17. @® el L6 YrsHFHev 50% @emmhHTed, SiGHei LFLiLeneled @GenpibaleiTer
FHNHHHMNND  HTEWIH.

allewL : /5%

ellenésd :

SYIIDLUSH0 el LHHlenr b = R

ysw gyp = (50/100) * R = R/2

SUTIDLISHSHE0 aU LSBT LIFLILIeNe)] = mR?

ygw ugiiueney = T(R/2)* = (TR%)/4

LpiiLeTelsd gBuL Geiten @eompey = [ (3TTR%/4) * (1TR?) * 100 1%
[3*25]% =75%

ugliuenelled iU [Beiten Genmaled FFHaipd = /5%

18. @m WwaCaremimiseanan LFlLsTalled al&lHd 4 : 3 WBBID Dieumslen
o wiymiseilenr al@lHD 3 : 4 YGW. P56, B (WoHCHTemImIS 61 60T
SlQLILIGSHIG 6N 6ll&HHDHMH HIT6IIH.

alemL : 16 : 9

allen&asLD :

Bm WsCosmemmiseien QLSS (PmBOW X, Y LBEBID SeuBpled 2 WiIFmiseT
3h, 4h 0.

[(1/2)*x*3h]/[(1/2) *y *4h ]| =4/3

[ (3x)/(4y)]=4/3

xly =1 (4/3) * (4/13) ] = 16/9

Copemeuwiren ellaslgd = 16 : 9
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U506, QB (WIHCHTMIB6T6 DiglibshiSeT6 alslgd = 16 : 9

19. @9 DDOMBIHHN SIQLLSHLOTHH DIGH6H 2 _WJHHemes Gumev
QMWLBIBTGD. SenemBFHHen LUFluene] 72 F.0F.15 61ale0, SIHT 2_WIJdHI)enend
SHITEWISH.

allewL : 6 QF.0

ollenb&sID :

QmMBIHHN 2 _WrHHenens X QF .15 erand OComeins.
LB&.,

SlQlIUSEHID = 2X QF .10

SMBWTeL, 2X * X =72 &.0F.10

2x% =72 x> =72/2

x? =36 X =6

QmemEBIHHlAT 2 Wb = 6 OF.10

20. @@ el L eugelleomen LymisTelled LFLL 13.86 GaB&HGLIT GD. LBISTem6F
ampl Geuell SiMWES L [HEG h. 4.40 YSWD 6660, GLOTHSLD 6l6i6N6T6)
OsTens CoHemeuliBLD?

ellenL : @p. 5808

ellenébsID :

whisTeller ugliene = (13.86 * 10000) 5 = 138600 15’
mR” = 138600

R? =[ 138600 * (7/22) ]

R® = 44100

R = 210

b R =210 1§

UhisTaler s&mmere = 2TTR

=[2*(22/7)*210] 8

=[44*30] 18

yhisTaller &bmeney = 1320 S

eIl L engefleoren ymismalenens &bl Geued iemwéss @b GFewe] = a. (1320
* 4.40) = 5. 5808
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21. @ 5T 88FH.8 HNIHHemen 1000 HBBIGH6T FHOIUSH PEOLD DML BB
HBC6U, FHBTHHN YJHDH NN BTG,

allewL : 14 1§

allenébald :

@@ FBO Fpevaudred SLESGW FHmyo = [ (88 * 1000) / 1000 ] 1S
=88 I

2R =88 1

R=[88*(7/22) * (1/2) ]

R=2*7=14 8

FHBIHIN QIb = 14 15

22. @@ (WP&ECHTeM aligeN BEVSHHIN DQUILIGHOTAHI DS 2 WIJSHHlenarliBLmev
APSIIDl L MISTGID. HlevdHdHled allenenbdisiienend dipieunL. QFuIL CensCLmEba .
24.68 aisD ap. 333.18 OQFeveuTadmEHl. YUHC6, (PHBHTEWT [HleVH I 6T
IYLILSSHSHHMAUID, 2 _UWITHHMAUID FHT600Ib.

aflenL : 900w5, 3005

ellenésd :

(p&EB8aTem Blevbdlen UpliLene = QTHd OFTms /| @wm CaBsEBL MBS
CFevauT@lD OHTMS

= (333.18/24.68) = 13.5 Qam&BLismei

= (13.5 * 10000)m? = 135000 15

2 _upHFmer X IS eiavia)ld SigliLsSHHenen 3X eleiafd ClomeiT@eurid.
U,

1/2 * 3x * x = 135000

1/2 * 3x* = 135000

3x% = 135000 * 2

x% = 270000 / 3 = 90000

X =300

o wyb 300 5 SGLD.

56e1, Sglinssb = 3 * 300 = 900 1S

23. @ FHTHB6N @ICUTH USBHBETVID 25 FHAHD JSBFHBBHI 616160,
SiFe uFliuenalled HEfHH FHNHHDHMEDH HTCRISH.

ellenL : 56.25%

allendbslD
FHTHB6N ICeUTH LSBHHenMMUD a 6l ObTeiTs.
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24. @ Ffleusdsde Qm Qenewiwimen LbSmIS6lMe albSwrgd 4 OF.15 MDD
SiH6 2w 19 QF.18 Y. wH6a1, FflaussHer UTiLeney 475 QF.18° eeaflsv,
@QMmWUITES 2 _6iTell LIGBHIBGT HeNHIH M0  HIT6wIH.

allewL : 27 Q&F.15, 23 @Q&F.6

ellenésd :

FiloussHHeT R SenewiTen LbEHIEmen a, b OF.18 eendb Osmeiis.
m@, a-b =4 ---—--—---—-- (1)

h=19 Q@&.6

FllaussH @6 UliLene] 475 QF .15 Su@Ib.
FfleussHHer uyltiuene = [ (1/2) * (a+b) *h ]

[ (1/2)*(@a+Db)*19] =475
(a+b)=(475*2)/19

(a+b)=50-------—-------- (2)

gweaur@ (1) + (2)

a-b+a+b=4+50

2a=54

a=>54/2 =27 Q@&.8

a eow Fwewr@ (2) v yHuiL b AenLs@b.
a+b=50

27 +b =50

b= 23 Gz.5

Qememiuite 2 _eiten Q[ LbSEIB6MeT Homd 27 QF.15, 23 GF.15 YGLD.
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25. oy eulL eugalleomen LsvGeusll geiimlen el L 14 B.o1pB& &Bm Ceusd
SMWES P BLL®GSS . 10 aipbd CFevey WslBH 6lalsd CISHH OCFevemeud
SHITEWISH.

allewL : @p.360
ellenbsLD :
el L d= 14

4 = 14/2 =716

Sim] el LI ammena], P = (Tr + 2) * r oie0@®ei

=227 +2)* 7

=(2+141/7)*7

P = 3615

1 BLLmpEE Bp Caleld Simodss Y@ 6Feve] = ap. 10

eTeBeu 36 I L méb@& FHBpIBaied oemioss Y@ 0Feve = 36 * 10 = 5.360

26. 8015 memb 2 el W GFeleud ealgealdh CHT L GHler LyliLene] 3200&.15
CHMT LS SIBLHMBDH HNCHID.

ellenL : 4015

ellenésd :

bemb = 8015, ugliuene) = 3200 &.15
CFelaudHHeT UFLLeTe = [H6MD * Di&G6vID

SIBOID = QFelausHHer UFlilene) / Hermb
= 3200/ 80

= 4016

CaMLSFler oiBevld = 4015

27. @@ BIBSEIHH6N ugliLene] 525 &.15 e @ 2 FFselledmha penso
Al L H3B@& euemwlL®BL OCFm@GHHen HenmiseT 1515, 2015 e cpensvalll L g6
bemGIL6dTenr ?

alemnL : 3015

ellenésd :

ugliueney = 525 &.15

hl= 156, h2 =205

BIBSIHSH6 LUgliLieney = 525 &.10
1/2*d *(h1+ h2) =525
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1/2 *d * (15 + 20) = 525

1/2 *d * 35 =525
d=525*2/35

=1050/ 35

= 3018

apemevalll L Sl Hemd = 3015
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28. BUGIE GeNTHEMeNS QBT @T DMHBUI6T HOMD, SISEVD LOBEHID 2 WiyLb
@B 7 : 5 : 4 B LIy 86415° elelled DIG6T HETHENGHHG LI eTedren?

allewL : 31516

ellenésd :

BTeNG Siclismend Oamewi Senpules uglene =2 (I + b) * h
| =7x,b =5x, h=4x

ugty =2 (1 +b) h

864 = 2(7x + 5x) * 4x

96 x° = 864
x> =864 /96
X=3

penmd 2116, siseod 1515, 2w 1216 @1
aenBau Hemy Henbdlenr ugin] =1*Db
21 *15 = 31518

29. e L eugelleoren @m SHMOFs swlilulen b 35 0F.15. @FH @M FHIT
algalled QIMENSSLILBESBH 6160, DFFHTSH 6N LSHHMNSHD HT6WIS.

allewL : 55 Q&F.15

ellenésd :

Il LGFleir b I = 35 6.5

S8 DLW FHITIONS 6UMeNHHLILBH MBS
OULL HIl6l HDBB6TIe = FHTSB6d HBB6T6
QI L SHHT Hbmene] = 2TTTSI60EH6I
p=2*22/7*35 Q&5

P = 220 @Qz.5

FEHTHI N Gbmene — 48 IGVGB6IT

4a =220

a= 55 Gg.f

FRHTHPH USHD = 55 QF.15

30. 80 1S membd 2 enLwl OFeieusd eugeans GHTLL Haletr LFliLens) 3200 &.15
CaHTL HF6 DIBVLHMBDH ST,

allewL : 40 S

NleNGHLID :
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pem = 80 15, upgliueney = 3200 &.15
OFsileudHSeT LUILY = [B6mD * SIH6VD
SiBVD = QFeleussHSer UFLiLeTe] / [B6mD
= 3200/ 80

CaM_L g6 60D = 40 1S

31. @i @mamsErsHen LJiLeTe 480 QF.15°, Suglibsd 24 OF.8 QsTemiL
QMMBTHBHM GHHHIWITLD 6T6dT60 7

allewL : 20 Q&5

ellenébasID :

uglinene] = 480 Q&.15°

SlglIudsd = 24 QF.16
@mewmiasysH e uyliuens = 480

b *h =480

24 * h = 480

h = 480/24

h= 20 Q.15

QmeMBIHHN GHHWFD = 20 OF .15

32. 40 1 2wy Q&MWL @ WPHBsTem algeud CHTU L SHHem UFliuene) 800 &.10
IS SIPLILBHHH6T HeNHMBHDH HT6U0Ib.

allemL : 40 1S

elenésd : (PpoHBomemiougaud BHM LSl upLlieney = 800 &.15

1/2 *bh = 800

1/2*b * 40 =800

20 b =800

b= 40 1§

33. Gurgsl ysliugiy 216 &.08.15 OsTewiL SIFFHITFHHET LSS DieNenaldH
SBITET0TEb.

el : 6 Q&.5

allenéaID :

QurHsal ypluugiy = 216 F.08.16
6a° = 216

a°=216/6
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a’=36
a= 6 Qz.16

34. @ HMFOFUUBHIH M HOND, SIH6VD WBDBID 2wy (WwemBBw 20 &F.15, 12
OF.5 1oBEIw 9 OF.8 e6afed, DG CQOTHBHU LUBLUTLEDLS SIS,

allewL : 1056 F.6&.16

| =20 Q&.5, b =12 @&.15, h = 9 Q&.5

Qurgasi ysiuginy = 2(1b * bh * 1h)

=2[(20* 12) + (12 * 9) + (20 * 9)]

=2 (240 + 108 + 180)

=2 *528

= 1056 &.G&F.10

35. pemb, Sis6evD LoBEID 2w (WeompCw 20 0F.5, 45 GF.6 wB@ID 50 OF.15
SlenemLwl @m C.P.U albg 2 _op mmpss mral almoliemsr. o empuier eilenev
1 #3517 BLLMGSS . 50 ealled, 2 B MHHD HYGID OFeveneld HTEHIS.

ollewlL : 537

ellenésd :

| =20 Q18 = 02 15, b =45 Qz.6 = 045 15, h = 50 QF.5 = 0.5 15
o enpulledt Uyl = udbs ugly + Gsd LTy
=2(+b)h+Ib

=2(0.2+0.45) 0.5 + (0.2 * 0.45)

=(2*0.65*0.5) + 0.09

=0.65 + 0.09

= 0.74 .5

1 gy LT gewlufledr ellenso = 5.50

etenBeu 0.74 &gy SLLT gewiulesr efleneo = 50 * 0.74
= .37

36. b 28 GF.15 2 LW Il L SHHT S&FBMee], LTLILIENeY] O8UIeNBenBEH
HITEWIH.

allenL : 144 Qz.6, 1232 #.6F.15
NleNGHLD :

Syl L Hdler aibmeney = (7 + 2)r
= (22/7 + 2)28
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= 144 Q5.6

SIMIEULL HHT UFLLeney = e/ 2
=(2217)* (28 * 28 /2)

= 1232 5.05.18

37. @ OFeleusd Sl Hem, Sisevmissien BB 4 : 7, Siweod 77 GF.L0 ereafled
SIS HNHMD HIISH ?

allewL : 44 Q&5

ellenéaHID :

SiBevD = 770F.16

e Didevmiseren all@lsd =4 : 7
CF6lUBHHT DBV = TLIBIGH6IT

7 uBIG®eT = 77 QF.10

1 umg =77/7 Q18 = 11 QF.15
6D = 4 LmBI@GE6I

4 uBGseT =4 * 11 QF.15 =44 QF.6
CFelaussHHe Hemd = 44 QF.10

38. @ 2_sieafLBB 2 menenulen o 61 wBEWID Oeuell YymissiT (WPemp@W 12 & .15
BEpID 18 OF.16. e6is. GeIDd SiHeT 2 WD 14 GF.16 erafled Siela|mensmulle
euemeLITLIL B@ID Gorghsl UpLuylienLd STenids ?

allenL : 2640 &.05.6, 377142 &.05.15

ellenésd :

r, R wpmpp h esimuer wenp@u 2 _sitef BB 2 menenulesr 2 eityyid, Geusflyyid
LOBEBID 2 _WIJLD 6T6018.

4&56e1, = 12 GF.16, R = 18 QF.5, h = 14 Q&F.15,
euenenuyli] = 21Th(R + 1)

=2*(22/7)* 14 * (18 + 12)

= 2640 &.6&.18

Qursdsi ypiuginy =2m(R+r)(R-r +h)

=2 (22/7) * (18 + 12) (18 - 12 + 14)

=2*(22/7)* 30 * 20

=26400/7

Guresl yplugiy = 3771.42 F.05.8
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39. @@ Slevwiio Gpi eul L 2 _mewenulledl SYJUPWL 2 wWgupd 2 : 5 e1iB elaHEH 60
o _eitenenr. SiHent euemeniiugiy 3960/7 #.0F.15 erafled, 2_pemenuien IO LOBERID
© WD HTeNIsH?

allewL : 6 QF.8, 15 QF.8

ellenésd :

r-h=2:5

rfh=2/5;r=(2/5)h

Grieul L 2 emenufled euememuyin] = 21rrh

2*(22/7)* (2/5) *h *h =3960/ 7

h®=(3960*7*5)/(2*22*2*7)

h?=225=h=15

r=(2/5)*15;r=6

2 mowenmulelr 2 _wigib 15 QF.10 BEBID YJb 6 CF.10

40. 120 @&F.15 Ben(wd, 84 GF.L0 el L (b OHTEWIL ¢ FTemeveNW FLOULBHSHID
o memenenwids (road roller) Qsmewi @m alenemur GHIHL6O FOULGHSUILGSBSHI.
allensemwT_BdH HLemev FOLLBGHS Sela)menen 500 (WIRF HBBISHEH6IT &ip6D
CouewiBLD. ellememuT._BHHLeme0 FOULUGSHS @M &F. WBLLMBESG 75 enugdm eaisi,
FHLmeVF FOULBGSHD PG OFeveneuds HTewrs?

ellenL : 651188

ellenésd :

FTemeVENU! FIOULBSHSHID 2 memenulen b 42 GF.5 wB@Id Hembd 120 GF.15.

o memenuilen ewemenuyli] = 2TTrh

=2*(22/7)* 42 * 120 ; = 31680 Q&.15

500 (pw& SBdpiseied FLULGSHSILGL Heder ugiy = 31680 * 500 = 15840000
QF.15" SiBTaIE,L(10000 QF.15° = 1 &.15)

= 15840000 / 10000 = 1584 15*

1 & BLLGSG FOULUGHS &G 0F6vey = ap.(75 / 100)

allenenuUT_BHHLme0 FOULUGHS PG Cordhss GFeve = (1584 * 75) / 100 =
.1188
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Geyw wmmIbd Beuemev

1. yebd eleiLedi weld@ 20 &5 CoussHdled @OBIMIT. eeafled eaumbd 400 LS
OxTemevallenaiids HLHH PG CHIHHneNs SHTewIsm.

el : 1*(1/5min

ellenébasID :

Aebd - et Geumsid = 20 km / hr

= (20 * (5/18))m/sec =50/ 9 m/sec

400 15 GxTemevalmend HLbd Y& Gpyp = (400 * (9/59)) sec
=1*(1/5) min

=72sec=1%*(12/60) min

=1*(1/5) min

2. 100 1B mempeiten QHMLiieuemiiguimegdl ewid@ 30 &0 GCaudsddev
CFevdBEl. YPHCel, DibH OFHTLieusmnguitarsnl @ruisd@eol LITenGHUIEL Bleirsl
OsTewIBeiTen @R LAIGHM HLbH CFevev IBHHIS OCFBMeiEHD GHYdHMmend
SHIT61 .

allemL : 12 SsecC

allenébaHID :

eamLiieuemnguienr Geusid = (30 * (5/18)) m/sec = (25/3) m/sec

By CETemigmEb@GLD afiGemel &L bd OFHTLiauewNg IBHHIS CHTEIEHD SHIFD =
100 18 Bxpemautiu@ Gmyw = (100 / (25/3)) = (100 * (3/25)) sec

=12 sec

3. @meut (P& H6v Bl @h. 20 OUBBI GO h. 15 W GFeveulfbaIBTiT. L6y
ApeiIBTD BIei WemiBd 520 BB .15 evw OFeveufedpri. &6, ReucuTy
Slaut BFevey CFUIH CHFIHHTEL 61HHMeN BHTeTHEHEGL LIBG eurs ensulsd .
60 QmBEL?

alewL : 17 eugl BI6iT SufH enduled . 60 HMHBGLD

allenéaID :

Sleui Qrewi® BT &eMed FLIQul OFHTens = . 5

st 16 eugl BIL&efed Flilgul Oxtens = @. ((5/2)*16)

= 5. 40

otanGeu, 17 eugl BHI6N SiIP Sieui endulsd 2 eiten OFHTenas = ap. (40 + 20)
17 eugkl H6T iy Ui endulled 2 eiten OFHTemsd = . 60
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4. A eaiiueui @@m Geuemevenws 20 BT S6eMlgd, B eeiiueuir 91635 Geuensvenws 30
BTLSeflgId QFIE (wWlumiser. Seuelmeumd CFibd ielCGouensoemwd GFulgl
(PY&5H 6IHHMN BTLH6IT YGLD?

el : 12 BT S6I

ellenésd :

am® Brefled A Qaud Geuemev = 1/20

am Brefled B GQauujb Geuemev = 1/30

am bBrefled A, B @meumd Cxibal GFuujb Geauemev = ( (1/20) + (1/30))
=((3+2)/60)=5/60=1/12 ugd Geismev

A, B @maumb Cxibzs SieuBauemevenws QFuisl (Wds P& Brissr = (1 /(
1/12) ) = 12 prisefled WoIQLILIR.

5. @ Ceousmevenws A, B @meumd Gaibg 8 mHILseiiled wpiglini. A oLl (BLb
SleGauemevenuws 12 B &erfled (pglimi. B LBl i6iBeusmevenul 615566t
BITL_&G61fl60  (Lpiglimi?

ellenL : 24 BT 6iT

ellenésd :

A, B @meumd GFibal @m Breflsd (wigH@o Gousnso = 1/8

@@m Breflsd A LG GFulud Geuensv = 1/12

am Breflsd B ol Go Gauluyp Geuensv = ( (1/8) - (1/12))
=((3-2)/24)=1/24

B w @ ssiBaemevenwiF QFuisl (pibs HJ@b sreod = ((1/(1/24) ) = 24
[HTL_G61T

6. A @m Causmevenws 10 BT Seigb, B oengd 15 Brisefled Gauig gl
Ameum CFihgd SieUCaumevenwF Gkl ap. 1500 - & FLIQEITED, DIHOSHTMHMWI
eteleuTm Lflsgs Oasmeieur?

allewL : 900, 600

allenébaslD :

A @m mrefled GQFuiyd Geuensv = 1/10

B @m mrefled QaFuigd Geuenev = 1/15

ooy Sieuiseilen GouamevdFmeiimeien efladgd = (1/10) : (1/15)=3: 2
OureHss GsTens = 1500

A @ar umg = (3/5)* 1500 = 900
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B @er umig = (2/5)* 1500 = 600

7. Simewt ereiiLieui wenlld@ 30 .S CousdHaled OFaimBTed Seut 5005 emHuidb
&HLHEH ereleNene] CHILD HGW?

allewL : 1 min

ellenébaHID :

Cryib = O&HTemeve)] / BGeusid

Goumld = emflb@ 30 .16

30 * (5/18) m/sec = 50/6

Gmyib =500 * (6/50) = 60 sec =1 min

8. A eetiueui @ Gouemevenws 8 B Hefleuid SIBH BGeuemevemws B er6iiLieui 10
BT _SeflId (LpshaIBrissit eialsd Seuallhaumd CFibaml GFUIL i6iIBauemev
THHM BT _Hefled (LplgdbBLILIHLD?

ellewL : 4 * (4/9)

allenébsID :

A uileir @@m werflGBy BGousnsv = 1/8

B uleir @m wenfiGpy Gsuemev = 1/10

(A +B) wWer gm wewiGry Geuemev = (1/8) + (1/10) = 9/40

4561, A wBpid B du @maumd oibd Ceusnsvenws 40/9 = 4 * (4/9)
efGBIHBH60 CFUIg (LpIQLILIT.

9. @ GBUIILL GCeusmevenws (pipHd A eleiiieui 30 BT SHEHD, B erediueui 40
BT BEHID IBHHIS Oomenslement. SisiGaensvenut A, B oi@dlu @meumd BF b
(PYES IHHMEN [BTL&H6IT Y GLD?

ellenL : 17 * (1/7) mm_seir

allen&sID :

A wieir @m BreT Geuemev = 1/30

B uler @m mmeit Geuemev = 1/40

A, B wier @m mrsit Geuemev = ( (1/30) + (1/40))

=7/120

Si6uBsusmevenws A, B sl @meumd Caibagl (Pdhd 61BHHIEOHTETEHLD [HTLSH6IT
= 120/7 B _smeit

=17 * (1/7) mm_smeir
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10. gmd eTehiLeuT HJ6WT 6IILIGUT 6@ Gouemevenwl OFUWIZHI (PYHH UG HTLH6160
urgl BTLSerMlsd 9I6%h Geuenevenwt QFUIGHI (WQLILITT. HF6wl eleeut @M GMULILL
Couemevemws 24 BT &eiMled OFUIGH pULTT. HPHGeu, Rmeumd CFibhd
SI6UCAUMEVEMW (PSS THHMN BTLH6IT YGLW?

el : 8 B S6iT

ellenésd :
&I P Couemevenw! (PYHE YPGLD BTLSH6IT = 24 [BTL&H6IT
gTd I8 Gouemevenw! (WPYHE PG BTLG6T = 12 [BTL&H6IT

Bmoumb CFibmH SieiGamevenwl (Pidbd PG BILssT = [ (1/24) + (1/12) ]
12, 24 Qe 8.0 =24

=[(1 + 2)/24]

= 3/24 = 1/8

5001, Qmeumd CFihad SieUCaIMEVEnUW (PIYHE YGLD BT &6 = 8 BT &H6I

11. A eeiiueui g uswiullenen (Wigdbd 20 HTL &6, B ereiiueui o iLiemiuleneo
(Wwdbs 30 BT &6 eiaad 6ihHHIS Osmeiadprisst. A wBpld B &lw
@meumd GFiha Sliuenflullenend QFuibTed 10 BT HEHHEG WP SiLIL6wNEmHU
(PYEHB\BNT 6T6aN60 SILILIERANUI (PIpHE 6THHMEN [BTL_H6IT Y EGLD?

ellenL : 18 [BIL 6T

ellenésd :

A ersiiueui g Uenflullenen (pHd Y& BTL&6T = 20 BT &H6I

B eaeiiueui oiiuswiuiensit (pigdbs HPGW HTL&H6T = 30 [HIL &I

A ppib B galu @meumd Gsibal Siluenflulener (ppdHs @D BIL&6T = X
[HITL_&61T

B eteueut X mm&e opiLemfuiensn QFuIHTed, A eteueui (X - 10) BT _&Se6it
Slluemiulener G&uleur.

A eatuaui uenflenw (X - 10)/20 mm_sefigib, B eareur X/30 mrl_serflgoid
(PIQLILIT.

[ (x-10)/20] +x/30 =1

20, 30 ®en 15.8.10 = 60

[ 3(x -10) +2x ]/60 =1

3x - 30 +2x =60

5x - 30 = 60
5x =90
X = 90/5

X =18
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12. A eteiiueui @@ Ceusmsvenws 12 BT L Sefled pgdbaipri. B eemeui A enwiedlL
60% amBHeors Geuensv OFWISMTT. 616iBou, B LB Si6uGsusmevenw GF UL
THHME [BTLH6IT PGLD?

ellenL : 7*(1/2) mBm_smeir

ellenésd :

A Bpid B «@@uni Geusnevenws GFuiwl eihHSHIS OCbTeiiemd B dHeflen ellaslsHid
= 160 : 100

B Gousmevenuwi QFuiwl eiBH@EIs OFBMeiTEemD BT &6l = X [BTL&6IT

LB&.,

8:5::12:x

8x=5*12

X = 60/8

X = 7*(1/2) mm _ssir

13. 45 yemideil @@ Gouensvenw (WPpdHd 16 BIL&6T IBHHIH OBM6idlsipet. 6
BT SEHSGL LUBG& lealisen GCaienevenul OHTLMIGDS M6, ieuisenLer 30
YeiBe CFiba OEmsiidleiipent, @UOLTIH SieuissT ieuGauemevenuwl CFuIZ
(PYES 6IHSHMEN [BTLH6IT Y GLD?

el : 6 BT _S6i

ellenésd :

am eeflel ¢ Brem Geuemev 1/(45 * 16)

=1/720

45 yemiseflen 6 BT Hefler Geuemsv = (1/16) * 6 = 3/8

8 (eiten Geuemev = 1 - (3/8) = 5/8

75 yemiseflen @@ Hsit Geuemev = 75/720 = 5/48

5/8 Gauemevwitengl 75 SyemideNTe QFUIHI (WPpHd G BT &em = (48/5) * (5/8)
= 6 [BTL&6IT

14. @@m elomemonengl @i FHITHIH 6N BTG LibsHG6s0 (WemmGuw wewiédg 200,
400, 600, 800 eieti3 &.I5 @iHHHL LUBSHSMBHI 61660, DIILIGHuiled
slsualoreansglen Fyngf GeusdHHlenen Hemidbas[BHo.

ellewL : 384 &S / oewf

NleNGHLD :
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FEHTHBH BI6IG LHBRIBMEN X .16 eled OQBTeTGeurid.

SLUGHuilev ellorensdHlen Fynafl Cousdhdlenen wewld@ Y &8 eend QHTeiTGoumLD.
(x/200) + (x/400) + (x/600) + (x/800) = (4xly)

200, 400, 600 wBp 800 @6 WB.F.ws = 2400

(25x/2400) = (4xly)

y =(2400*4)/ 25

y = 384

elorend e FyrFfl Geusid = 384 &S / ewf

15. 7 o &6l @ Couemevenws 52 BI HeMev OFUIH (PydHBampent. i6H
Couemevemul 13 Y &6l 61HBHMEN [BTL_H6MMl60 QFUIH (PIQLILITTSH6IT?

ellenL_: 28 [BITL_&6IT

ellendaLD:

HIBLIgEE Beuswiigul HIL_Herfler eremienfldbendsonul a eleipl GSMILLIGBGsuTLD.
Qni@ < Fefleir elemicnllbmnd AHSfHGLD QUTRSHI, HTL_H6IH6 6T6wT6wlSHmD
GMBUWLD. eleiBeu, @I eIFHTLOTMBEL.

STE\ITLOTBEVIGTLILG

7*52=13*a

13*a=7%*52

a=(7*52)/13

a=28

eTeiGou, 13 Yl &6it QbH Gouemevenut 28 BT S6rl6d (LPIQLILITITEHSIT.

16. A vwppb B alu @meaumd @m eflgenet L iguplgdHs 72 HTL&Enn, B
wppid C Hdu @maumd SI6H el pener &L igpigdbs 120 BT SHEHD TBHHIH
Cameidlenperi. SI8h BGausmeoulenen A, C @l @meumd GFishdk 90 BT Hefsd
Caug wysdempern. Ps6e, A LBWL i6UGmMeeNL GFUIHTEL 615HHM

BT _&6fled (pigliLImi?

alenL : 120 BT &6

allen&asLD :

(A+B) @n @m BTeit Geuemevr = 1/72

(B +C) @en @m mmeit Geuemev = 1/120

(A+C) @en @m mreit Geuemev = 1/90

2*(A+B+C) oudfw wpeufler @m mmeit Geuemsv = [ (1/72) + (1/120) + (1/90) |
72, 120, 90 @en 15.H.0 = 720

2*(A+B+C)=[(10+6+8)/720]

2*(A+B+C)=24/720
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2*(A+B +C)=1/30

(A+B+C)=(1/30)*1/2

(A+B+C)=1/60

25601, A Bet m BT Geuemev = [ (1/60) - (1/120) ]
60, 120 Qeir 15.8.0 = 120

=[(2-1)/120]

A @er @m BreiT Geusnev = 1/120

A 9i6IBaimevenul (PI9Hd G0 BT &6 = 120 BT sH6l

17. A oppd B gm @piililL Geauemsvenws GFuleug et cpeold @h. 600
Qupisenmenri. A ereiiLieui LB SieuGaienevenuws 6 BT Hefled (pigdbHmmi. B 1ol Bib
318x Geausmevuienenr 8 BT Herfled (Wipsammi. C ereiLeuflen o gelujLer A, B
QI Gmeud 3 BILH6Me0 DiciBeusmevuienean QFUIFH (LPlpdSl@BeTT 6166V,
apauflell LIBISeneids &Teids.

ellewL : ap. 300, ep. 225, ep. 75

ellenésd :

C @61 @m mrsit Geuemev = [ (1/3) - ((1/6) + (1/8)) ] = 1/24

A:B:C= epaumenLw g bHreinr Geuemevuienr efladsip = (1/6) : (1/8) : (1/24)
6, 8, 24 @eir 15.8.10 =48

A:B:C=4:3:1

A et umig = ep. [ 600 * (4/8) ] = ap. 300

B &er umig = . [ 600 * (3/8) ] = ap. 225

C @ ukiE = a5 [ 600 - (300 +225)] = @. 75

18. @m <yewIdse LOBBID 3 Tewieuide @M GUUUILL Gsusnsvenul 10 [HTL &6
Ceuislepent. o6 Geuensvenul 3 Y EUIH6T LOBEBID 2 LTERIGNTHNT @ ST
Couemevemuw! 8 BT &6iT CFUIFS|GIBEIT. Y MBWITED, 2 Y6 @ CaFimbaHmTed
SlslCaueneoullenar (pi9HE YGLD BT HM6NEH SHT6IISb.

alewL : 12.5 BT &e6I
allen&sD :

Q@M yewllen @ BTeT Geusmev = X
@@ Lmewieuflei @ BreiT Geusnev =Y

B,
2X + 3y = 1/10 -------mmmmmmeeeee- (1)
3X + 2y = 1/8 ----mmmmmmmm e (2)

gweaiur® (1), 2) owd Hics S LU,
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X = 7/200

y = 1/100

2 Syemime WwBDID 1 wrewieuflet g Brsit Gsuemev = [ (2 * (7/200)) + (1 *
(1/100)) ] = 16/200

2 Syemime WBDID 1 wreweuflel @@ Brsit Gauemev = 2/25

500, QMH YUMISEHD G LT Caibsh euGaumevenwt (PYHE YGLD

&mevld = 25/2 B &6t = 12.5 BIL_&6IT

19. gmauir @ SBUILL Geousnsvulenen 5 B mefled (Wigbdlepmi. e eugg
oelen 2 SHelujLer 3 BT &6Med I6H Geausmevenwl (plpdbdlaimmi. HHC6al, iU
0&60 DL (BID Si6lBeueneveml (PIgHd PG BTVHIHN6NSH HTERISH.

ellewL : 7.5 BIL&6IT

ellenésd :

waaien @m Breir Gauenso = [ (1/3) - (1/5) ]

=[(5-3)/(15)]

= 2/15

D&H6T LB SiciGaienevenl (PIYdsd PG &Teod = 15/2 B seir
D&6T DL (BLD SielBeuenevenul (WI9Hd 7.5 [BILH6IT YGLD.

20. A vppb B a8lu @meumld @@ eflgemen @&HHd GFuiw 8 BT senb, B
wpgid C au meaimd 6% afl ener HHHD OFuIul 12 BT &EHID IHHHIH
Cameidlenperi. S8k BGausmevuienen A, B, C g@w apeumd GFidhal 6 HrlsHeifled
QFwigl (pysdemern. HHCa, A wBEID C Yo SmaImBLD Genewibd
i6)Bsuemevulled QFUIHTEL 6THHEMN [HTL&H61M60 (LILILIF?

el : 8 BT G&6iT

allenéasD :

(A+B +C) ou8lw apeuflen @@ HIeiT Gouenev = 1/6

(A+B) @en @m BTeiT Geuemevr = 1/8

(B+C) @en @m Bmeit Gouemevr = 1/12

(A+C) @en @m Breim Gauemev =[ (2 * (1/6)) - ((1/8) + (1/12)) ]
=[(1/3)-((3+2)/24)]

=[ (1/3) - (5/24) ]

= 3/24 =1/8

4566w, A wBmId C Y&SCwmt Penewibgdl CFUISTEL il igenen 8 BT &H6rMe0 FiGH LD
C&uieur.
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21. 6 Quediizseir LWBDID 8 Yewideil CFibH @@ Couemsvenws 10 BT SHerfled QFUIHI
(wysslepern. i85 Geusmevenws 26 CUeNIH6T WBDBID 48 Yewiwen CaFibHl 2
BTL&6M60 (pipdbdleiment eialed 15 GuUeNImeT WBEID 20 yewisen CFibd IBH
Couemeveml 61HHME [HTL_&H6ITI6D  (LPIQLILITT&H61T?

el : 4 BT S6I

allenébaBID :

@@ Ouemi ¢ BT QFUISH (PR&HGL Coumevenwt X 6iaidh CHT6ITH
PM UM @@ b6l QFuIH WYsSGWD Couensvenws Yy eeis CsTeiTs
6x +8y =1/10 ---------------- (1)

26x +48y =1/ 2 -------------- (i1)

(i)*6=36x+48y =6/10

(i) - (i)

36x + 48y - 26x - 48y = (6/10) - (1/2)

10x =(6-5)/10

X =1/100 eten Fwemwr® (i) 6o Llygui_

6 (1/100) + 8y = 1/10

(3/50) + 8y = 1/10

8y =2/50

X =1/100 wipip y = 1/200

(15 Quewisenr + 20 yewideir) @wm BrsiT Gauemev = ((15/100) + (20/200))
= (30 + 20) / 200

=1/4

15 GQuemiseil OBEID 20 S eviE6T ieUBsuensvenws 4 BT SHerlled OFUIgI
(WIQLILITT &6iT.

22. o @@ Beuemevemws 10 BT FHofleud, < Dw 15 BT oD CFUIgl (LpIQLILIF.
Ameumd CFihg SieNCamevenwF GFuigkl ap. 1500 & FLIQEITsD, DIHOSHTENSHMUI
eteleuTm Lflsgdis Osmeieur?

ellenL : @p. 600

allenéasLD :

3 @m Brefled GQFuud Gsuemev =1/ 10

& @m Brefsd Gaud Geuenev =1/ 15

eranBeu Sieuiseilen CauemevdHmeiimeen efldgsd = (1/10) : (1/15)
Cwrsss OsTensd = . 1500

o @eir umig = (3/5)* 1500 = gp. 900

o e umig = (2/5) * 1500 =gp. 600
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23. x6lsT @m Ceousnevenws 15 BT S6MEID, Laliapt <165 Ceusmevenws 20
BILSefIbd QFUIE (WPybdlaimeri.Qeuiser Qmeumb CaFibd SIBxH Geusnsvenul
BT6i@ BTL&6IT OFUIH MmEBS M6t 6T6imBTe0 WHD 2 _6ien Ceuensoulledt iemene
et sHaled Fnpics?

allem_ : 8/ 15

ellenésd :

sellpralen @m breT Gauemeo =1 /15

yelsrelesr ¢ Breim Geuenev =1/ 20

(BalesT + yaiar) eler @m Bmeim Geusnsv = (1 /15 + 1/20)
=71/60

(@allsr + yelsr) eller mBren@ BTl &6 Gauemev = (7 / 60) * 4
=7/15

B0 2 _eiten Gauemevullen oieney = (1 - (7 / 15))
=(15-7/15);=8/15

24. o em Gouemevenwl 4 wewfl CHIHSHL CFUIHI (PYHHBTT. I6H BGeausnevenwl <)
wBp @ CFibas 3 wewl CHISHID, @ WBEID @ CFibsk 2 wefl CHISHIEID
QFUIE (PYSABTT 6laled, SieiCaemeven <y et e1HHme Lewil GBYHH60
Ceuigl (wiglimi.

ellenL : 12 wewfl CryD

ellenésd :

3 Wleir ¢ wewfl BBy BGeouemev = 1/4

(e, + @) weir @@m wenfl Gry Geuemevr = 1/3

(o1 + @) ulelr @ wenll BBy BGouemev = 1/2

(o + o + @) ulelr @m wenll Bpy BGsuemsv = (1/4 + 1/3)

=(3+4)/12

=7/12

& uleir @@ wenll Bpy Geuemev = (7/12 - 1/2) = 1/12

o, gemelt oeIGaamevenw GFUISH (WPYLILGDHBEG& 12 wewi GBI THHHIS
QasrmeiTUNTT.

25. gell etetiueui g GCeuemevemws 20 BT Hoflgd, Fregm ereiiLeui IG5 Ceuemevenu
30 priseflend O&Fuigl WpliLmissT. deualmeumd CHibEH ieUBaensoemwIF
Ceuizml (PYH® 61HHMEN BT H6IT YELW?

allenL : 12 BI el
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allenébaLd :

am® Brefled gell GFuwiuyw Geuenso = 1/20

am Brefled gregr QFuwuy Geuemsv = 1/30

am bBrefled gei, greer @meum GFipmH GFuuyd Geuenev = 1/20 + 1/30
=3+2/60

=5/60

=1/12

ateniGeu Jail, greT @meumd CFibdH ieiuGausmevenws 12 BT SHefled QaFuigl (Wil
26. @ Couemeverws FHalsT, Heuwmr Qmeuld GFibgdl 8 BT H6rMed PQLILIT. SHelSHT
LB iciuGaimevenwt 12 BT &erfled (Wiglimi. SHlewm LB DiciBaieneveni
THHM [BTL_H61M60 (LpIQLILITT?

el : 24 [BIL eIl

ellenéaBID :

s, Fewr Smaumd CFibsH @@ bremed (Pipb&d Geauener = 1/8

@@m Brefled seflsm LG GFUuD Geaemer = 1/12

@@m Brefled eiwir 1wl G QFuluyd BGeusnev = 1/8 - 1/12

=3-2/24

Fewim 1L B> SeIGaimevenF QFUIH (PIgdhd PG &Teold = 1 /24 =24
IHITL_&b 61T

27. A, B @maumd @m Geuemevenwt 12 Bl sefled GQFuig puui. B, C 9165
Geuemevemws 15 BT &sefled GFuIs (pigiui. C, A 2185 Geausmevenws 20 BT H6rle0
Gauig wlur. apeumd GFibal LOBEBID HNHSEILTSD i6iBouensvenul
eTHGHMeN BT _Berled GFUISHI (LpIgLLIT?

elenL : 10 [HTL_&sIT

allen&asLD :

A, B g@m mrefsd GFulyd BGeuenev =1/12

B, C @m mrefed GQFuub Geauemev =1/ 15

C,A @m brefled Gauiujb Geuemer =1/ 20

am breflsdo (A+B)+(B+C)+ (C+A) Qeulgd Geuemsv = (1/12) + (1/15) +
(1/20)

am breflsd (2A + 2B + 2C) Gsuugd Geuewsv =5+ 4 + 3/ 60

@Cr mrefled 2 (A +B + C) wpys@&id Geauewsv = 12 /60

@Cr mrefled A, B, C wrs@ Genso = (1/2)*(12/60)=1/10

apaumd Caihg SieiCeuensvenws 10 BT &6ifl6d (LpLQLiLIT.
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Pipes and Cistern

1. 9 OsT W QM GLTUIS6T SASHSEIBW wWenpGw 30 Bl miseir, 40
BOLmsefed Brlysemsal. wBomTm GTwl Bi BFbllwu BT igenw 24
BOLmsefed &medl OQFWIWb. OFHTLIY STedlwns QmbEH DOPETHl GHWPTUISEIHLD
@Cr sWHHO FHBHH lLULLLTH, ASCOSTLIY aHHMme HIbLhisefled BIFbLD?

allewL : 1 6wl

ellenésd :

WH0 Grul 1 Pl sFed SGeSM genw Biyigw ursd = 1/30
@rewiLmd @Glemul 1 HLsHFed HOSHT Igenwt Byt ursp = 1/40
apeiipmd Gemul 1 BiLsgled Bi Brwlw AT genul 16l GFUILD UTEHD =
1/24

@6y FLLWHHL Sapip GTUISMETULD FHBhHEH el Lmsd, 1 B SHgled
OaT1guiled WIFbLD LITSSID

= ((1/30) + (1/40) - (1/24))

=((4+3-5)/120)

=(7-5)/120

=2/120

=1/ 60

aienBGal, 21HOHM 19 Bybyd s&meod = (1/(1/60)) = 60 WO mibsit

=1 wewi

2. @m GTUS6T @m OHTLIgenw Byt (wewpGw 12 wenfl@ryw, 15 wemiGhyWD
aiBHHe0 BIUUNUGSBSI. ApeBId @eruiled cpeold QHTLIQUiled 2 _6iTem BTG
GeuefCuBBLILLLT6L B (Wweugid GeueflGwims 25 wWenll@hIL YWSBHI 6l6isD,
eyl GTUISEDD @6 Fwowb FHoha e’ LTed ST IQUITEISHI 615 5H6N6T
ewlCBIHBH60 BIiLlILBGESIBEI?

eollenL : 9 * (1/11) wewfl@myID

allen&sID :

AP GOTUISEMTID ¢ Wenl@BHrHdHe0 BruuiLGL Bl iene)
=((1/12) + (1/15) - (1/25))

=(25+ 20 -12)/(300)

= 33/300; =11/100

U561, QT iguiTeng Biybu @b Grrid = 100/11 =9 * (1/11)



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

3. apeiipl GETuiseT wempGw A,B wppid C sudwensy @@m O Tigenws 5
efGBIHIH6e0 BImeL BIUU 6IhHHIBOBTNHBMBH. Gerl C em B eowell @m
wLRE GCouswrsalb, Gt B oeisd A eowell @@m wLmE Geuslonse)d
CFwebLBEBEHI eialled, @GPEmul A WLLEW OBHTLigenwl BIFUL eleieusney GBIL < @&W?

el : 35 ewl@HyLD

elleNébaHID :

Gt A e Gsmigenw BFiU X wef@rrd CHemauliLBESBEH 666,

Grul B, C geng 2/X, 4/X e 6ibSSHId QHT6TESBS.

((1/x) + (2/x) + (4/x)) = 1/5

7/x = 1/5

X =35 wenf@riyD

GloTul A 10l BI QT genwl Bl aBsHHis Qsmeiend Ghyb = 35 wenf@hyD

4. @m GwTuset A wBpib B m Ostiiyuilener wempGw 36 B, 45
BIOLLD et CryHdHled Brlyslemer. Gmul C oengl 30 BIOL S@le0
OaT guienenr &16d CFUIBBH. OFHTLSHHHH0 A BBIdD B e6im Sm

GTUISEHID Hmbd el luGasmear. 7 BOLkhsensGl UBE Gerul C Semgsib
Fsbg L LILGHmBEH 6160, QBT IQUITEIHI HTeVWITS el6lelene) GBI @LD?

el : 46 BIOLID

ellenésd :

7 BALG8ed A wmpid B o0 Osmigenwt Byiuliu@Go sene =[ 7 * ((1/36) +
(1/45)) 1 = 7/20

158 oene) =[ 1 - (7/20) ] = 13/20

GTisst A, B oppid C gdlwener Fmhdl Bme&GD @wm BLOL SH5led
Brouiu@n Bfler oene = [ (1/36) + (1/45) - (1/30) ] = 1/60

1/60 aeiiug @@m BIOLSHSHed BIiuiL@GD Bl iene| QEGLD.

13/20 sieney wBymeng Bylu Cxeneuliu@Go Gmyid = 60 * (13/20) = 39 midLib
OaT genwl BiFliu Csemeu@ld Gorss Gpyb = (39 + 7) = 46 BidLId

5. @m Gwrusst @Cr GrrHdled Geusnev CFUILD FowGHSed GHT QuiTeng 12
wewll CHIHHL BIULLLGSBEH. (PHO GTwnengk ST uiensn LLBEBT®
GTuLer gUUiBensullsd 10 wewl GBIL (WPeTWSTE BHIFLILSIBH. DHEVMT6D
SrewiLmeugl GTWTeD 6iHHmen Lewl GrrHaled Gsmiguilens Byl (wiujd?

ellenL : 30 wewil GByLD
allendbslD
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WHL GTw Osmiguiemer BIFlL aIhSHHIE0BTeTEHLD GBI = X Wwewl CBILD
SremiLTeud Gemi Osriiguiener Briu ahSHHIS0HT6eTEHD Gryn = (X + 10)
ewi GByLD

[ (1/x) + (1/(x + 10))] = 1/12

[§x+10+x)/(x(x+10))] =1/12

X“-14x -120=0

x-200*(x+6)=0

X =20

Srewi_mealdl G&omul Osmguiemer Bl aGHHB0sTsMEnD Goyp = 20 + 10 = 30
oewil  GByLb

6. Weubureid @@m OFmlguiener Bflemed Byl 3 wewl GBHIL YPHMHI. DML
QM 1guiled emUL (Beitenm FHml Hlewen SMyewiors OFHTL g By 3*1/2 wewil GBYID
PIBH. PHCeu, QBT PUITEIH (WU ID BIDLIUlmESCLWNaITE, DigHmer Fyl
Hlewen euPluinds oL B0 STellwnds sidhHemen ewl Cryd BxhaneulLBGESBEHI?

alenL : 21 wewil GBHYLD

ellenésd :

Aol semen anfuiras 1 wewfl GrIHAsy OeuelGuipid Bfler osene = [ (1/3) -
(2/(712))

=[(1/3)-(2/7)]

=1/21

Fpl Hiewen euPlwites BITerg OGeueMGup o Gmyd = 21 wewfl GHILD

7. @m GTUS6T ¢m OBHT Iguiener 14 wewfl GBI, 16 wewll GHYL 6T6IM
oipHBls0 PLILSlsBer. @6 GRTiISEbID @O FoWHDHH HBhal el ILGSBSHI
BBID OHT iguie DNlILGHUled gBULL Hienen SMTERIOTS SeUBMHB Byl 32
BLD oi8swre CoHmaliGaBs. pH6e, QBHTLIQUITEISHI (LPUD6USID
BrbiulmesgCuwremsd, Sisemen @l Hienenm auPluiTes WL B STEOIWTSE 61556
wewil Gryd CxhamaulILBEBEHI?

ellenL : 112 wewi GpBILD

allen&asLD :

Bm Grusenmed Gsmuiemer Biriu Geuwniu@n Geuenev = [ (1/14) + (1/16) |
=15/112

Bm GTuisenmed Gsmiuiemer BIFiL aBSHHs0@TeTEnDd Ghrd = 112/15 wewi
Covyib =7 wewill 28 BHIWOL D

SlglILGdHlulled gmBulL gliensnulleamsd GHT g HBiybu Y@GWw CHrbd = 7 wewll 28
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BOLD + 32 Bl 8 wewil @By

Am GTUSseT wBEI CFHTLguils DILILEGHUTL GHULL HINET & ULIBBT6D
@@ wewl CrrHded GFWWLGL Gouenev = 1/8

OaTLiguier oigluGg Hulled gBuULL FHiensnulenmed @ LNCHIHIHI0 GFuILiLIBL
Geuemev = [ (15/112) - (1/8) ] = 1/112

Camguier onliugasulled giul L Hienenulemed GHTigenul STellwmdsd 112 Loewi
Cryp CxmemeulILIBLD.

8. @ OHTLQWITEIHI BHITEL GTUI eeimbledl apeod BIFlL 4 wemf@ByLD
CaramauiLBamHl. SIBHBUTEL, LBEBTH GTUI cP6vDd DIHOBHTL Iguiled 2 _siten
bflenenr GeuefCwmB 9 WelCHID CHMaUILBGSBSHI. <UHC6, QM GTUISEHD @O
FOWSHHeL QuIniElemed QHTilg BIFbU IhSHHIH0BET6TEHD CHyHHenaid HT6wIH.

el : 7.2 enfl@GByLD

ellenésd :

@® ST BT Iguisd peny BIFiu Yw&Ww GrJb = 4 wenfl@hywD

LBOBTH Grul OFmliguigsien Heny OCeueMCumBs @G GBID = 9 WIGHILD
B GWTUSEDHD @PHMTE SUIKIFEMeD @ LWalCHIHHed OHTLIguisd BIFtLiLGLD
wleir oteniey = [ (1/4) - (1/9) ]

=[(9-4)/(36)]

= 5/36

Bm GTUSEDHD @CF FowHHe GunElemsd STl BIFbU aBHHIHCHN6ITEHLD
Gryib = 36/5 wenf@HyD = 7.2 WenAGHyLD

9. @m OGaTliguiensi HIFLL Gmul A &@& 5 wellGrprup, Gt B &@ 10
wenl@Byup, Gomul C @& 30 wenl@Hrup CoHamaliLGEBH. HC6, ApeiisI

GTUISEHID HmhEH DMmEE0WwaNsd OFHTLiguiener BFlL UG Bbyddened
SHIT6O01 .

allewL : 3 wemfl GByLD

allen&sID :

r A, B, C sdfwebprsd @wm wefl@prHaled ByiuiuGn oeme) = [ (1/5) +
(1/10) + (1/30) ]

5, 10, 30 @eir 15.8.0 = 30

=[(6+3+1)/(30)]

= [10/30]

=1/3

et A, B, C ygaflweumpprsd Osmiiguiener Byiu e Gpyb = 3 wewll Gpybd
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10. @yewip @mssit A woBEid B gm OsTiguimen sHelbseafiGuw Byl
wempBw 60 PO, 75 BOLLD YSBSE. CPIBIUSH GPRTWTIH CHTLIguller
SlglLGFHulled OHTLIguied 2 _siten Hiflewesr GeuelGWBBL GUTHSHILILIL (BH6iToNI.
WwaIp GRTUSEDHD @Cr Fowdhsed SHmhba LUl LT OHTLIguwiTeigl S50
BOLSHH60 BIbUsBEH. uH66u, cpaimBrToud GETwlemmsd LB OFHTLIgulsd 2 et
bflener GeuefCWBB UG BBIHHmeans SHTewIS.

el : 100 BIOLID

ellenésd :

@M BOLSDH0 cpsiprais Gmul QFuiubd Geisnsv

=[ (1/50) - ((1/60) + (1/75)) ]

60, 75 Qe 1WB.8.0 = 300

=1 (1/50) - ((5 + 4)/ 300) ]

=[ (1/50) - (3/100) ]

=[(2-3)/(100) ]

=-1/100 ( edisaedwureagd Bi CanlCwpiams @&NlésasIns )

apeipregdl Gloruilemmsd L B QBT I1gulsd 2 siten Hiflensnr GeuefGWBB G
Geyo = 100 BUOLLD

12. A oppnd B gl @pesip Gomuiseied, @Gomul A gergl @mul B enw
alL 3 wLAIEG PSS OBTLIgenw BILYSBSH. @&or A wBpw B oyalul
Qrewip GTUISEHD CFibgkl 36 BOLSHSL OHT I9enuwl BIFlLSBE 616msd @&Lomul
B wueugl ercusuene] BIOL S0 GOHTLigemws BIFlib?

alenL : 144
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allendad : GPTil B oyeig OFHTLigenwl BILUusHBE 1BSHHIS0HTRIL. BBy X
616015 0\BT6ITS.

ST A g OsT W BIluyasBE IhHHIH0sETemL GBI (X/3)
616015 O\ B IT6ITS.

= (1/x) + (3/x) = (1/36)
= (1/x + 3/ x) = (1/36)
= (4/x) = (1/36)

=X =4*36

= X =144

13. A vBpb B o Sewih GLTUISEHD @M OFSTLigemuwl BIlLasBE 24
BoID 32 PO mSeT IBSHHIHCH TS DB, QbeH DUewi GLTUISEDHD @O
CrrH@lsd GBTiigenw BiFliLesBaTs Spbaelliu' G FPig Cprszled @omir B
OB HpSSIUGHBSH. @oiiaid Ot uirais 18 BIOL S0 BFliULLGSEBEI.
Gt A 1oppib B gmbaelLiu’ @ esieisne] GhyHaled Glomul B oyeugl
BOISSILLL $1?

alenL : 8

(x * ((1/24) + (1/32))) + ((18 - x) * (1/24)) = 1
(X * ((4 + 3)/96)) + ((18 - x)/24) = 1

(x *(7/96)) + ((18 - x/ 24)) =1

((7x + 72 - 4x)/96) = 1

(Bx+72)/96) =1

33X +72=96

3Xx=96-72

3x =24

Xx=24/3

Xx=8

14. A wppidb B galu Qe @oruisend 20 wBmid 30 Bl S860 @wm
OzTiigenw BiLSlemsl. Qb QTG GeTuismemun @6y GByHle0
SIBhHIONILLILIL L Te0, eTeleuene) GBIHHle0 GHTLIgenwl BIFLiLeLTLD?

alenL : 12 BIOLID
am BLHHe0 @Gt (A+B) aiens Osmyenw Byiyw Gy = (1/20)+(1/30)

= (3+2)/60
= 5/60
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=1/12

= 12pWlL1b

A wppb B galwu Qrenip Gomulsend 12 Bl ggle0 QBT igenud BIFLILE6Tser.
15. @@m eumerulledr O&meiteneneunengl 13.5 eV Li 2 _edLwig . b  eureluled e
OaTlyemw FHIrtiyusBg 12 eutefll sHewienli ChemeuliBaSBal elaflsd 9 edlLit
Qasmeiteniene] 2 _emL_wl eumailuled DHOSTLIgenul BIFLILISBGS, 6T6leuens)] eumeri
gHowrewit ChHemeul @B ?

allewL : 18 eumerf

QM guier Gasmeitemene = (12 * 13.5) &L

= 162 edlLit

eureulelr Qameitenene) = 9 60 _LIF

Cxremauwiren eumeriamefen Hewienii = (162 /9)

= 18

9 eIlLii Gameitenene) 2 _enLwl euTefulled DHOSTL I9emuwl BIFLIuGHBG 18 eumerf
GHewienit  CHemaUl LGS MBS

16. oI, < BB & PIW ApHIBl GTUSEHD CFibhak @m OHTIgenwl 5 L6
Cprsslsd BPlislsiper. @Hed GRT @ UoH GET o e ol ByewiG
IDLBIG AHBOTS ST Igenwl BILLD SHmel 2 enLwighl. GCued Gmil & SIS
S w6l el @i WLBIG DSHB0TE BT Igenul BIFLLD SHBT 2 _enL WG

eTeOle0, GTUI O G BT igemwl BFleugBE elsieusney GBI 616G HSHIH
GameiTEpLD?

ellenL : 35 wenf@GHILD

ellenésd :

ST 9 g ST gemwl BIFlilausB@ X wewl GBI BHSHHIS0ETeTNSHTHS
G&smeiT@eumid.

ST & wHpd § eg BT gew BFiyasBe (X /2) wigd (X /4)
ewnCHILD 1B HHISOETETSBSHI.

A/x)+2/x)+(4/x)=(1/5)

(7/x)=(11/5)

X=7%*5

X =35

ST 9 Seig Tl gemw BIFlusBE 35 WanlGHIWD 616 HHIHCHTETSBSI.
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17. A vBpio B galu Q@ueuih @TUISEHD @@ OSTLgenw Brllyusng 12
BEID 15 PIOLKIS6T 6IBSHHIECBTENSMBeN. RbdH Drewi® GWPTUISHEHD Db
OsTlgemw BlySBETE @6y CEIHDld SpbaelLILGSBEH. Dyen®
GRTWSEHD SpbaelL i@ 3 BLOLD WYbsoid GYTu A yagl
BBISSUILGSBSH elallsy, OHTLIguied STEOWTE 2 _6ilen LiGHemw HIFLeISHBE
Gt B oz eeielsney GhID 61BHHISCST6ITEHID?

el : 8 PIOLID 15 QBmgH6iT

ellenés :

3 PIOLgae0 QHmiiguilsd Bt ursd =3 * ((1/12)+(1/ 15))
=3*((5+4)/60)

=(3*9)/60

=9/20

Qamiguied 18HID 2 eiten umsd = (1 - (9/20))

=(20-9)/20

=11/20

1 POLSS0 @Gomul B oeng QBT genwl BILLasBE 1GHHIH0ETsmenDd GhyD
=1/15

=(1/15):(11/20)::1:x

x=(11/20)*1*15

x=(11*3)/4

x=33/4

Xx=(8%*(1/4)) HiiLb

Gt B geag Osmigenw Briyeusng 8 BIOLID 15 Opbmoedselr
61} & FH1dbC\B 61T STz 60T
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15.6ur.eu BEID 15.8.10

1. QoW elewimemen OUmBBMBLEVET 4107 WBBID Sjeuall slemideien L0.0L.6u 37
G 660, Q@ oelewrberied QUIflu 6cT6wTENEWIH HTEID.

allemL : 111

ellenéaHID :

@rewi® eremidenen 373, 370 eid OHT6iTS.
mg, 37a* 37b = 4107

ab =4107/1369

ab=3

3 Qar Qemet usT et (Co prime) = (1, 3)
U561, CHemeuwmen elewigenr : (37 * 1, 37 * 3)
iBTeug !, (37, 111)

@m ereviImerled GuIflul etewr = 111

2. @m elewiseflld 10.8.10 495 BEBID iGei 10.0L.60 5 HYGID. SiskalH 6166161 63T
Gl BHO0BHTmE 100 etalled Sislall[H elemiBEHHE SRMLBW 2 _eitem
Al HHWITFHBHMeD BTG,

allemL : 10

ellenébaHID :

Bwm erewideir (WemmpBw X, 100 - X ete0ics Qa@M6ITG6UNMLD.
X * (100 - x) =5 * 495

x? - 100x + 2475 =0

(x-55)(x-45)=0

X =55 opvevsl 45

B0 Chemeuwimen ereiImsll = 55 LB@WID 45

@m ereviserilen allghgwiTgLd 55 - 45

@m ereviserilen allghgwiTgLd 10

3. apeiiml elemidenn 1 : 2 : 3 eI} NSHHHEL DINOHGI6T6NGI LOBBID Dieumniledr
15.60lL.60 12 6Tal6d DIDEPGIBI 6T6TNHEN6NE  BHIT6TINS.

allem_ : 12, 24, 36

ellendbsLD

Capemeuwiren etemidme (PMBBW X, 2X, 3X YGLbD.
Slbapeyl eremiselen 15.0.en X = 12

eTeni@eu, CHemeuwiren etewidenr — 12, 24, 36
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4. @m eremiseflen 15.0u.6u WBEID WB.H.0 50 LBEID 250 YGW. DGO (LPFHeL
GTEUTEMNENEN 2 6L GUGHHD FeuTaidhl S50 6ld HeMLbHBBEHI 6T6le0 STewILTeug
6GTGOT6N6NI S ST .

allewL : 125

ellenésd :

wxev etewr =50 * 2 = 100
@yewiLmb etewr = (50 * 250) / 100
= 125

@rewILmb efewi = 125

5. @m oremiserfleln OUmBHMBLIVE 1320 LOBBID iGei 15.0L.60 6 elaled Dieieilm
eTeitemner L5.&.10 HIeviss.

allemL : 220

olleN&BEHID :

15.8.10 = elemimerien GLHBBHMBL6VET [ 15.CLL6M
=1320/6 = 220

Am eremimerlenr 15.8.0 = 220

6. @m eremimemean 15.0L.6u 11 wBBID WB.H.10 693. SeuBNled @ 6Tewt 77 eledfled
LOBEBT[H 6TERIENEWIS BTGl H.

allemL : 99

ellenébaHID :

BEBT® oW = M (Rm olewideen 15.0L.60 * B elewideen 15.5.0) / @ oT6wr
610

=[(11*693)/ 77 ]

= 693/7

=99

@m erevimeriled LOBOBIM ettt — 99
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7. Sm elewiberled FINFfl X YSW. DIV cpeiiml elewidbeiled FymFf Y Q@L.
BaWOmEBS 3 eclemiseilen Fynafl Z elevlev Lleiioupd eidbamBml Ffluimengi?

) X=Y+Z &) 2X=y+2Z @) X=2y+2Z &) SQeubniled ergieyilsoenev
il : &) 2X =Yy +Z

ellenébaHID :

x=(3y+32)/6

=3(y+2)/6

x=(y+2z2)/2

2X =y + Z aeiuBs Fflumed FmBBTELD.

8. 2/3,8/9, 16/81 wmpnp 10/27 s @weumpilerr 15.0L.6u oBEID 15.8.10 SHTEwHIS.

allem_ : 2/81, 80/3

elleNb&ID :

CaT@RaHBLILL[Heiten Letenmisefler 15.0u.60 = (2, 8, 16, 10 yBweubpflenr 15.6L.61) /
(3, 9, 81, 27 HFWeuBMleN 15.8.10)

= 2/81

Car@sHaLILL[Heiten Letenmiseflen 15.8.0 = (2, 8, 16, 10 gy @wieubpdlesr 15.8.10) /
3, 9, 81, 27 HFWeuBMeN L15.GlILL.6M)

= 80/3

9. @m elemiHeMlN FmBHVL 216 LWHBBID SeuBpsledr 5.GL.eu 27 eldled sk
6160 BE06TIE  SHIT6WISH.

allenL : (27, 189)

ellen&sLD :

CpemeuwiTen elewigen = 27a, 27 er6is.

27a+ 27b =216

a+b=216/27

a+b=28

8 ety eremiemilenr CO prime-6v 8 etan eu@HD erewizmer (1, 7), (3, 5)
Cxpemeuwiren etewigen = (27 *1, 27 * 7) wwmmpup (27 * 3, 27 * 5)

= (27, 189) wmmpud (81, 135)

Cupsei. Qe CHTEGLLS6M60 (27, 189) el6iiLgl SFfluiTen eT6wIS6T QG LD.

10. (2/3), (8/9), (16/81) wmpnd (10/27) eenp ecremigmisbE 5.4.0 Leend Hrewmid
?
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elen : 80/ 3

allenébaLd :

15.8.10 efleit Neitemd = 15.8.0 elle QBTG /18 Qum.eu a6l LG

= 155Ap Qumg 1wy (2, 8, 16, 10) / BLIGUE® CuTH auGH3 (3, 9, 81, 27)
= (2*4*2*5)/ 3=80/3

11. 16, 24 eiWisEnHG WFHB QUTHIOLBIG HTEHIH?
allenL : 48

ellenébasID :

16 - @61 IDLMIGSH6T 16, 32, 48, 64, 80, 96, 112, 128, 144, 160,......
24 - @6 WDLMIGH6T 24, 48, 72, 96, 120, 144, 168,......

16, 24 - @en 165FAm QuraoLmE = (8* 3 * 2) = 48

16, 24 - @enr WOFFP OUTHIDLBIG 48 YGID.

12. 30, 42 aIMIBEHHG WBUOLMH CUTH IGHIH ST6wIH?
el : 6

allendbasID :

30-6i1 UGHHB6T : 1, 2, 3, 5, 6, 10, 15, 30
12-6n uGHBseT : 1, 2, 3, 6, 7, 14, 21, 42
30, 42 Qurgl auGHH®eT : 1, 2, 3, 6

30, 42 aiemimerler OGO QUTH GHSH = 6

13. 2% 33x5* 72 8% 32% 52474 2% 34534 7% 11 gemimend@ WBFAD
QuUTHIDL HIG HTeRIS?

eflenL : 713097000

ellenésd :

B.8.0 = oBsGHelen gliienLuied euBpleli GLImEBS6T Leveliel LOGILILT60
IIFBID 2 _6iten elewienilen LOHIML 61(BHHHIHOBT6ITEN GouewiBLD.
=23 53 7%x 1]
=(2*2*2)*(3*3*3)*(B*5*5)*(7*7*7*7)* 11
=8*27*125* 2401 * 11

=216 * 300125 * 11

=216 * 3301375 = 713097000
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14. 16, 24, 36, 54 e16iiM 6IMIH6NMED AUGHBHGWLOUTH WBHWIB UMD WHH ReVHG
eTeuiTb61Te0 FlnSlul  eTevdTememtTds  SHIT6vIH 7

ellen : 10368

ellenéaHID :

MbFH Pevdb@ elamidberlled (PFHeL etewt = 10000

16, 24, 36, 54-e 15.8.0 = 432

10000 evwi 432 Yo UGHGD CuTdl 64 168 HlewLSHELD.

16, 24, 36, 54 eIhM 6IMIB6NT6L IGHGWOUTH Uiy ML SGHID Wb
Bevb@, elemisefley Fw etewr = 10000 + (432 - 64)

= 10000 + 368

= 10368

15. (128352 /238368) @eir HAnflus 10| eTeiren?
eflew : 7/13

ellenésd :

128352 1oBmid 238368 @eir 15.0um.6u = 18336

(128352 /238368) @e1 UG BEID OHTGHS elewiencmr 18336 enul OCEHTewHIH
alGHDd Geuemi(BLD.

(128352 / 238368) = (128352 / 18336) / (238368 / 18336 )

=7/13

(128352 / 238368) @eir fpflw gy = 7/13
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all@HD WBEILD el&HFID

1. a.120 geng A, B, C 88wrmpsal Uflsss QsrhssiuGang. A uler
uBg B enwelL 520 sFswrsew, C emwell @h.20 @GanpeuTseyd CuBIESBTT
aleflev, B ullelr LUMIE elslaueTONTE SMHBED?

ellewL : @p.20

ollenbsLD :

C ufleir UBIE = X 6T6iIs.

A uler umig =X - 20

B uler umig =X -40
X-20+x-40+x =120
3x-60=120

3x =180

X =60
A:B:C=40:20:60=2:1:3

B ulewnr umig = 5.120 * (1/6) = 5.20

2. @ GPUUILL Ozmenswneisl 5 : 2 : 4 : 3 eep eldbsHHeo A, B, C, D
AFBCWUTHESG TfHHs QBTBsaILGABH. C eemeni D ufler CoHTensenuwiail
5.1000 P& GupEBIT ealsd, A, B uler OsHmensdenuis SHres.

ellewL : @p.5000, @5.2000

ellenébaHID :

A, B, C omgid D s@Guimflesr umki@ = @5.5X, @5.2X, 5.4X LoBBID 0H.3X
4x - 3x = 1000

X = 1000

A ufleir umigy =5x =5* 1000 = 5. 5000

B uler umigg =2x =2 * 1000 = gp. 2000

3. A oppib B @Cwmt emeusHmbd Oatensulls smBHed @5.1210 g@w. A
uller 4/15 umE OzrTenswraig B uler 2/5 umkg OsTMHHE FWOWOTGD. ey,
B omeusdmhbd Ostensullst wdlenud HTemis.

allenL := (5.484
allendbsLD

(4/15) * A = (2/5) * B
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A =(2/5) * (15/4) * B
A=(3/2)*B

A/B = 3/2
A:B=3:2

B eveuddmhbsd OsHrens
B eveuddmhbd OsHrens

@ (1210 * (2/5))
5484

4. @meUT SO LOTH eU@GLTAISH60 2/5 uklig OFHTansemwl 6f B ITLMmEBHGLID,
3/10 umE o _auealB@d WBEL 1/8 Uk OFHTMmEMUW YUMLEGD CF66)
CFuIsHIBUTE 1BHID @H.1400 QmbaEmH 6lafled, Saui 2 calBGD, UM HGLD
OFevey CFUIH OBHTMHMUWIS HT6NISH.

ellewL : @p.2400, @p.1000

ellenésd :

IOTS eIbTaIHHe0 WBHD BmeG Ostens = 1- ((2/5) + (3/10) + (1/8))
=1 - (33/40)

=7/40

DTS QUHLOTIHBHn6 X 6l6ild OBT6iTd.

X'y; 7/40 = 1400

X = (1400 * 40) / 7 = 8000

o emalBaETs OFeve GFuIH Gxtens = ap. ((3/10) * 8000)

o euielBETs 0Feve] GFulk GFTensd = 3 * 800 = 5.2400

AML_EHTE 0Feva| OFUIH OFHTens = . ((1/8) * 8000) = @5.1000

5. @ &mlged 3/10 uggd wikisemen 50 BT &eflsd X Geoul Bamrer. 40%
gmisenet 40 B &efled Y Gaul Gamrer. 1/2 ugd wymisenen 80 BT &HerMed Z
Ceul_B&Ipmedr, eteimBTeL WMT (PHevled Beuemsvenwl (PIQLILITT?

allenL : (pHevled BGouemevenwl (wigliLieut =Yy

allen&sLD :

&ML 1g60 100 JmIGeT QHUUSTE CETeiT@surid.

X Seupens Gl GasBe G smew = (50/30) * 100
(500/3) = 160.6 pri_se6ir

Yy seubenp Gl GausBe &b smeob = (40/40) * 100
= 100 pr_seit

Z supmp el BausBe G smeod = (800/50) * 100
= (8000/5) = 160 pBr_sesir
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HBCe, (WPpFHeVleL Y - FHTetr Geusmevenwt (LpIQLILITH.

6. m.1162 emw A,B,C aCurmée 35 : 28 : 20 o163 elalghdHd60
SIH0sTmsWImer LflHHe OBTHHBHTE0 (PIHBGLD SHMLEGLD LKIGSMmID HTewISs.

ellewL : @5.490, @p.392, @5.280

ellenésd :

CaT@dsIUL L afdshisefe Qrdbd FmEBHed — 35 + 28 + 20 = 83
A @er umig = 1162 * (35/83) = 14 * 35 = 5.490

B &1 um@ = 1162 * (28/83) = 14 * 28 = .392

C @61 umig = 1162 * (20/83) = 14 * 20 = @5.280

7. @® emuuilsd 10 ewusm, 25 evuUsFT LHBEID 50 ewuUFT GUTEIB [HTERILITKIGSIT
OCeusiGaum Lfledlsd 4 : 9 : 5 e1hB elBBHHHleL 2 _6itenen. SeuBMled FnBH6L 5206
PG ealled, @elbeun@m Lflefleud o 6item [HTeRTUIBIG6IT6T 6165160 HMHMUID
SHITEWI%5.

ellenL : 160, 360, 200

ellenésd :

10 emugm, 25 evUFT LBBID 50 emusFT Gumeip HTewTLImIS6T6 6T6uT 6wl &L
4x, 9X, 5X e QHmEiTGEUTLD.

(4x/10) + (9x/4) + (5x/2) = 206

GOy : .1 = 100 ewuFT YGLD

2,4,10 @eir 18.8.0 =20

(8x/20) + (45x/20) + (50x/20) = 206

(8x + 45x + 50x) / 20 = 206

8Xx + 45x + 50x = 4120

103x = 4120
X =4120/103
X = 40

10 ewusT Bremiwnbisefer elemienidamnas = 4 * 40 = 160
25 emUFT [BremILImIE6Ten elewienidend — 9 * 40 = 360
50 ewugT BHreIwmGeHleN elewienlisens = 5 * 40 = 200

8. @ HEVEMeUUIEL 2 _6iTeN YELVHABTEL LOBWID BYTedH 4 : 3 el MalHHa 60
SIMWHGIGTNGH. DH6L 5 a0 L Bymeng Caissliu@GLCUIgsH LUslw eldsorag 4
2 5 cloid SHMLSHBBH. U566, DibHHevenaUUlled 2 6iTeN DY ELBABTEN T
SleNleneidh HTEwIS.
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allemL : 10 el

allenébaLd :

OBHTLEDBHH6L Bevencuwilguieinen YeoHamBTed WBEID Bfler eney 4X wBpd 3X
616015,

[4x [/ (3x +5) ] =4/5

4x *5=(3x +5)*4

20x = 12x + 20
20x - 12x = 20
8x =20

x = 20/8

X =25

Hevenaauiled 2 e6itenn SevdamTedlen ene] =4 * 2.5 = 10 LI

9. cpeiiml elemidBel 3 : 4 : 5 eliB QlBHHBH6O 2 66Nl DIDEPGIDI 616001 FH61T 6T
auibamIBeler FmBH0 1250 YGD. Y566, DiDAP6IDI oT6wIH6M60
Fal_BSHOBHTMBUIMEND  HTEw0ID.

allemL : 60

ellendaID :

Ap6ipl eTewIBemeN 3X, 4X, 5X  6l6isb.

9x% + 16x° + 25x% = 1250

50x° = 1250

x% = 1250/50

X = V25

X=5

Slbepeipl eTemIB6MeN dnl HHOBHTemd 3X + 4X + 5X = 12X =12 * 5= 60

10. 76 yemdH 7,534 ety all@ssHHed UflesslLbGaSng aeafsd FABw walliemers
SHIT6001 .

alenL : 12

allenéaID :

7:5:3:4=176

elslgniseien amBHed = 7/ +5+3+4= 19
Aflw Ay =76 *(3/19) =4*3 = 12

11. 9 I5HIBGW, 1 aBLSIBGL DL Cuwmrer aldlsHmdHs HTews
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allew: 3 : 4

allenébabLD:

alalpsHe0 Cr suenswme Qm Sleneysemen LWL BOWL UUL (U] 6T6ILIGHTED
QUL SHMS LIHHHBE IBB GCeuswi(BLD.

SIBTaUGE!, 1 U@L = 12 OTSHHIS6IT

9 ITHSHHBSW, 12 WIHSHBSWL PenL Cwwimenr efladlsd =9 : 12

9 : 12 ergiugenen 9/12 616w 611PFHEVLMID.

eteGeu, 9 : 12 = 9/12

= 3/4

=3:4

12. @ &PUILL Ostenswnens P,Q wwipid R eemwenisendsslenCu 3 : 5 :
7 ety ell@HHPe0 LflHHIe CHTOHBILGSBSH. Q eremieufler LIBIG o5.1500
eiefls, P wieniewLw umidiBaglo R waemw und@bgld @enBuwi 2 _eiterm

Al HHWITFHBMND BT,

ellewL : ap. 1200

ellenésd :

Q olleir uBE =[ Qrss OFmmas *(5/(3+5+7))] = a.1500

Qwrds esTens = (1500 * 15) /5

CwrHs CHTensd = . 4500

P uler umig =[4500*(3/(3+5+7))]

=[ 4500 * (3/(15)) ] =4500 * (1/5) = . 900

R uler umig =[4500*(7/(3+5+7))]

=[4500 * (7 / (15)) ] = 4500 * (7/15) = ep. 2100

P Wenemw um@Bed R e w um@Bgld Qe Bu 2 _eten allghawingid
. 2100 - 5. 900

P Wenemw um@Bed R e w um@Bgld Qe Bu 2 _eten allghawingid
. 1200

13. apenipl eTemisenen al&SmissT (WPempGw 3 : 4 : 7 OBHID DDEPEIBI
eTeniseNeN OLMHBSMBLIGVET FnBH60 18144 YGID 61660, DIDEPEIID 6lemIH6N N6
HITEWIH.

ellenL : 18, 24, 42

allenéaID :
apeiiml etewdtaeim 3X, 4X, 7X.
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3X *4x * 7x = 18144

84x° = 18144

x° = 18144/84

x> =216

x° = 63

X=6

Apeiiml etewidem =3 * 6,4 *6,7 * 6= 18, 24, 42

14. geil 1B@ID TG0 2adHushodTamsuis @l 2 : 3 YGSLD.
@olCeuTHaUmENL W 2 HuiGH0STamsullevd . 4000 DiFEfEGD eafed Lghw
@B 40 : 57 ealeid HMLSBBH. YPHCeu, TG0 HBOLTENSHWI
261 U ISHHNRND  HTED.

ellewL : ap. 38,000

ellenésd :
gefl LBBID JTGel6 (WPhHenHW amBLISHOHTMS @h. 2X, @h. 3X 6I6b.
LB&.,

(2x + 4000) / (3x + 4000) = 40/57

57 (2x + 4000) = 40 (3x + 4000)

114x + 228000 = 120x + 160000

228000 - 160000 = 120x - 114x

68000 = 6x

3X = 34000

gr@eleil HHBEUTMSHW 2emFHluid
gr@edeil HHBEUTEMHWI erduib

. (3X +4000) = a. (34,000 + 4,000)
a. 38,000

15. ep. 1210 Gerenaswiteigl A, B, C o8Cwurmese Nfiess CsarhasliLbBamgl.
A B umgaeflsn aldsd 5 : 4, B C ungasefler al@sn 9 : 10 aeilsd C &@
SML_EGWD CHTBUIMNES HTEWISH.

elenL : @p. 400

allenéHID :

A:B=5:4
B:C=9:10=[9*(4/9)]:[10*(4/9) ]
=4 : (40/9)

456, A:B:C=5:4:(40/9)=45:36: 40
al@Huisefen dgmBHe0 = 45 + 36 + 40 = 121
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C wieir umg =[ 1210 * (40/121)] = ep. 400
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16. QoW elevidemen aldFHD (WemBCW 3 : 4 YGW WBBID Sleuelyeni®
eTenImeNIeN Fn(BFHev 420 olellsd STeii(h ocleviiberiied GLIflul eTewTeRllenemids HT6wIH.

allemL : 240

ellenéaHID :

@yewi® eremimein (PemmBW 3X, 4X el QBm6iTH.
3X +4x =420

7x =420

x=4201/7

X = 60

Qe eremideir = 3 * 60, 4 * 60 = 180, 240
Qrewi® erewidbefled GQUflul etewst = 240

17. @pewi( erewizkeit 1 : 2 el aNBHIHHeL 2 6itenier. 7 6I6HIMB 6Gl6TGMNME S(H
GTEWIBEHLAID Fnl L, SeuBBlen eldHD 3 : 5 e6ld SemL_SSBSHI 6iale0, B
oTemidbeiey GLIflul elewTenflleneds HITewTD.

allemL : 28

allendbasID :

Bm eTeWIB6IT X, 2X
x+7)/(2x+7)=3/5
5+7)=3(2x+7)
5x + 35 =6x + 21

Xx=35-21
X= 14
P@m 66w = 14

LBOWBTM eTew = 28
560, M erevideriled Gl et — 28

18. e &evaumfluiled o eiten Lomemiey, Lomewiallserledn elswmTenlldensule el HLd
(WwempBw 7 : 8 Y@Ib. omewie, Lomemiaiseflen eremiemidensd 20%, 10% ereis
FHNAHHHL DHBFHHTE0, SieUTsHeren elemremnbendulen LsHwl elldsHdhamears
SHIT6T01 .

alenL : 21 : 22
oleN&&HID :

seoeuMfluflsd 2 _6iten LomewI6N, LoTewIRIG6ITEN 6TawTenNBmME /X, 8X.
Siauisefen eremenibamauisd gBUBLD DSHBFIL] YeHl,



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

wremellsEnsd = /X 0 120%

oTemeNiHEHHE = 8X 60 110%

DISHTUFI,

[ (120/100) * 7x ] wmguo [ (110/100) * 8x ]

(42x/5) 1omgnd (44x/5).

HwLs@G U el@sd = (42x/5) : (44x/5) =21 : 22

19. ¢ e&PUILL Oztenswnens A, B, C, D qa8wrmésad QeovLBw 5 : 2 : 4 :
3 e al@HHHe0 LflHHe QBThHBILGEABH. C yemaufler ukisTargd D
ereiLicufledl LmiGlenaiel @5.1000 DFHHID elafled B uleh LmISlenend SHTes.

ellewL : ap. 2000

ellenéaBID :

A, B, C,D g&88umfler umi@ 5X, 2X, 4X, 3X S@lb.
HB&,

4x - 3x = 1000

X = 1000

U56eu, B ulleir umig =2 * 1000 = 5. 2000

20 A:B=8:15B:C=5:8, wpgo C:D=4:5 aaiev, A:D eaemgeir
HUneNS BTN,

allem : 4 : 15

ellenésd :

A/B = 8/15, B/C =5/8, C/D = 4/5

A/D =[ (A/B) * (B/C) * (C/D) ]

=[ (8/15) * (5/8) * (4/5) ]

= 4/15

U56eu, A D eretmugeir gy =4 : 15

21. . 782 enwl cpeiim UTEEIGeNTS (WeopGwi 1/2 : 2/3 : 3/4 aenl LIflGHHme0
(PHL UTHSHSle FHlTenend SHTemnis.

allewL : ap. 204

ellenéb oD :
Car@asiILL_HBeten alalsd = 1/2 @ 2/3 : 3/4
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22. @@ Omneiimevaflsd 60 edL LT Sjemallsd LML LOBBID B <Yslwiemey 2 : 1 6l6im
B HHIH60 2 s6iengl. ScuaBHonegd 1 : 2 el6iiB el&HIOTE OB 6T6l6I6T6)
bImTengdl Gavld Osmesevaioy BaFidamliL CalewmBHLd?

allewL : 60 edL_LI

ellenésd :

uredleit Bews = [ 60 * (2/3) ] &Lt

=40 edlLi

OwrdHs Bevpuled Bfer owemey = 60 - 40 = 20 eI Lit
Copemauwirenr LsHw el&dlsd = 1 : 2

Caidsd Geuswigwl Biflel Slenaiensst X 6L LT eleids G&BmeiTGeurmid.
m@, umev : B =[ 40/ (20 + x) ]

[40/(20+x) ] =1/2

20+ x =80
Xx=80-20
X = 60

1: 2 aeip al&HD HenLbd BFicdas Geustingul Hfler Sieney = 60 6L L

23. @ eremienfilen 40% wAlLTeng BOBI®W eewienien 2/3 @@ &b elafsy,
(PSH6L LBEID SJERILMD 6elevidbeen 6ll&SHRIBM6ITS HT60IH.

afledL : 5 : 3

ellenéaIlD :

A 40% =B uled 2/3 umig
LB&.,

40A/100=2B /3
2A/5=2B /3
A/B=[(2/3)*(5/2)]
A/B=5/3

A:B=5:3

5C0, Qm erevidelen alHgluwmgd = 5 : 3
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24. Qyewi® elewiIBeMen Gen Ll L el&SFHoTard 3 : 4 B al&SHHH60 2 _6i6ngl.
SleuBBlen WB.F..0 eng 180 ererlled, RTeWIB 6T6MIB6IMED (LPH6L 6lewr WimgHI?

allewL : 45

elleNb&ID :

OBTBHSBLILILL  eTewtenem 33X WBEID 4X eiend Qomeiten GeauewiBLD.

3X wmpib 4X e 5.8 = 12X

12x =180 ; X =15

(WPH60 elemiemiled WFII] = 3X ; =3 * 15

(WP H6v eTewitemfled o] = 45

25. apeiipl elewidbelel FnBHEOTEIH 98 YGID. IibApeipl elamidbefled (PpHev Sewih
sienisenan alldlsonaigl 2 : 3 wBEID BH5S DG eaiselen &g 5 :
8 eTeulloL SIEWILMTeuZ, elewieuwilei LI 6T6dTe0n?

allewL : 30

allenébaId :

apeiipl eTewidemen A, B, C aienids Qbmeiiam
A:B=2:3

B:C=5:8
B:C=(5x3/5):(8x3/5)

=3:24/5

A:B:C=2:3:24/5

=10:15:24

B =(98 x 15/49) ; B = 30

@rewILmD elewremiledl OAWI] = 30
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26. Qewi® eTeWIB6INT LOFHILITEIH PSBToUS I cTewieniion FmBHmev el 20
FHOSD LOBEID 50 FHAHD DHBD 6Iaed (WPHL QRewi(h eclemiselan alla HLb
61601601 ?

e : 4 : 5

ellenébasID :

APSIBTEUSDI cTewIenem X 6l OBTeiTd
wHev eremr = (100 + 20x) %

=120x / 100

=6x/5

@yewrimb etewr = (100 + 50x) %

= 150x / 100

=3x/2

(WwHev @remi(h elewiseflen efladpd = 6X /5: 3x /2
12x : 15x

4 : 5

27. .92070 elehiB OFHTemsuilemen 135 pUIBEHESG Lflda euphslLBSIBE eamed
@oUCUTHEUMBGSID HMLHGID FlowTer CFHTend

ellenL : @p. 682

ellenésd :

CwrHsy OHTensd = H.92070

135 puiseEns@ Fwwors LUfisa 0srgsagl 6sTens = 92070/ 135
= p.682

28. 60 mewieuiad6T GETWIL @ 6uGLILI6y, Lomewied, LomewialldEndE enL Guiuwime
@SB 2 : 1 eraled, SiiaI@GLILI60 LoT6emIeN, LOTEwT6NEH6TTI6  6T6301600N 6N NS
BTN,

allewL : 40, 20

allenéasLD :

Cwrgg TemieuiseT = 60

Lomewred, LomewielaEmeAemL Guwiwmer efla@gsd =2 @ 1
Oureds uaed =2+1=3

remeuiseflen eclewienidens = 60 @60 2 /3 UG
=(2/3)*60 = 40
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40
QLTSS LOTEmTEUTH6IT - LOTGHT6NT 61T 60T 6T60016001 60 H

LDIT6UT6MIT & 6111651 6T6u0T 6005 6N
Lomewredla61TledT  6T6w0T 6 5 6M &
=60 - 40

orewiedlmeillen erewienidend = 20

29. 24 16 wenwsiten @ fller 3 : 2 : 7 el NBHHH6L 3 HiEW(BHHENMTH
Ceul LILGSBSH elalled, @eUCeUTm HIGWIYET [H6ILD 6T6dT60r?

eflenL. : 615, 45, 1415

ellenéaHID :

apeipl HiewiGsefen ellashiser =3 . 2 7
QTHe uGHBNT =3 +2+7 = 12
(pHev Flewngenr wemp = (3/12) * 24

= 615

SyewiLmb Fiewngen pemp = (2 /12) * 24
= 46

ApeIBmD Flewngeir wemb = (7 /12) * 24
= 1416

flueder cpeip HieHiGEofen Henmickst 615, 415, 1415 YGL.

30. @ eu@Liled 2 _siten Lomewioy LomewiedlEerel ellaled 4 : 5 LomewIeUT 6T 60
cTenTenndbend 20 6IaleD, LOmawTaN&H61f6 6I60T6mlEeNHMUIS SHT6wISH.

allemL : 25

eI :

Lomewred, Lomewiaddeler all@sd =4 : 5

LoTemIeUT B6Med ecTemiemiidend = 20

LoTewiellaerlen eTemTenilbenad X 61651&

Lomewred, Lomewiallderleir eramienidenduilen elalgd 20 : X
4:5,20: X @yewiGD Lomewied, LoTewiallBamenGul @&nslbaimg
eteniGeu 4 :5::20: X

FiROpewIBefer OUmBS&HHOBTmE = 4 * X

QoL eremiseflen QUBHGHHOHTMmE = S * 20

aldld FHIHL, FBOBetIHailer CUMmBGHHOSTEME = ReML  6l6wTEH6M 601
CuUmBEGHHOHTMS

4*x=5*20

x=(5*20)/4;x= 25

remiellseflen eleviienlldmas = 25
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31. Gymegr Hmeir auMRIGL GTHs FouemsbHsd 20% m oL@ eurLemass@w, 10%
;M GUHMBH6T Hevald@h, 20% CUTWHILICUTSSBEGW, 0. 5760 & GFLLL
CaTenaEWTSa|D LWSTLUGSHHIS BT iafled Grregm eummi@l Omgs FLoL6LD
eTeueu6Te)] 7

ellewL : ap. 11520

allenébaBID :

Cumregr, &fLB auTLM®, GWHMmSBH6T Heval WBEBID CUTWSHIICUTESBE CF6va)
QFud GsTensuien Fxeisd = (20 + 10 + 20)%

= 50%

8D 2_eiten FHeizsd = (100 - 50)%

= 50%

= ap. 5760 (Bx> 2 _eiten 50% OCFHTMSH)

= (5760/50) * 100

=5760* 2

= . 11520
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Gryw wbmIDd Geussld

1. @m peweowmiset A wBEID B & @eLulL 0xTensvey 220 &.15. @
Lehseuemrguwimeidl A eleiip BleweowsHSHlelmba B 6@ wewilsa@ 80 &5 GCeousddssd
QsevaiBgl. SIBSa oy el CEISHBG LUBe, B adip pamwssalobs A
@ Wails@ 100 &5 Casshdled CFevdBH. YPHCeu, QM Usnmeuswiiguid A
Welmha 6bd CFHTensvaled FhHHHid OBTeiEHLD?

allewL : 120 &5

allenébasID :

Camemeuwimenr GHTem6ev6] X 6l6id OBT6iTS.

(x/80) - ((220 - x)/100) =1/2

80 wmpnb 100 18.£.0 = 400

5x - 4(220 - x) = 400/2

5x + 4x - 880 = 200

9x = 1080

X =1080/9 x = 120 &.i

Am ymasauewmigujld A uledmbd 120 eugl .0 LIJ60 FhHHHid OBTeernLD.

2. @m Memeowmiseit A wppid B M@ @enLulL Gxmenevey 800 &.b. ¢
OaTLieuewmngowimenigl A ulellmibad B enw oiemLw wewllds@ 90 &S CausdHaled
CFe0dB@l. ewIBD A Heneowihend enLul enfldg 65 .5 GoussHdlev
CFe0dBEH. HC6eu, OFHTLieumg OF6iIB Ordhd HTTHH6N Fyngf CouddHamdHd
BITCWIB.

allemL : 75.48 km/hr

eI :

gyrafl Geusd = ((2xy) / (x +y) ) km/hr

X =90 km/hr

y = 65 km/hr

=((2*90*65)/(90 +65))

= 11700/155

OarTLicuewig Q6B OonsHs HMysHdHen Fyrafl Ceusd = 75.48 km/hr
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3. @m GoriLmi smymengk 70 &8 / wewfl e1eB CousHe0 GFLSBHI. DIFH6i
Gouzsld qeueur@ 2 wenfl CrrHIABE& Une 10 &b / wenll ea6aip PsflbaBH
eTeulle0 DIBBTIMeL 345 &S HMyHFHlenen eleleueney CHIHBH0 DenLW (LPIQULD?

ellenL : 4*(1/2) wewil GmyID

ellenésd :

WwHev 2 wenll CrIHHed &M &HLbH OFHTanevey = (70 * 2) = 140 .1

SIBHS 2 wenll CryHHed &MF &b OFHTemeve] = (80 * 2) = 160 &.i6
ISspeiten GpTemevey = 345 - (140 + 160) = 345 - 300 = 45 &S

mbsTaugl el Grrshaley &mfler Geusd = 90 &b / 1ewf

45 &if el HLbH HTHEG Cxhema G Gwyid = (45/90) wewfl = 1/2 wewf
CxramauliLiBd Gorss Cry = (2 + 2 + (1/2)) = 4*(1/2) wenll CmyD

4. @ SLB6n i @wm Gumliguied 200 B Lewy 24 elemguisd @BaIBTT 6refled
SIH CausHHemand SHIewIsm.

allemL : 30 &).15/ 16wl

ellenésd :

Geusmid = (200/24) 5/aNemmig

= (25/3) 15/eflemmig

= (25/3) * (18/5) &\.15/wewfl

sLa6m efyfler Geusd = 30 &.15/1oewf

5. @ welsenr 5 &.b/oewhl 66y CausHFHed BLBEH 15 BIOLSHO @M
UTeLSSeneiid &L SHBTT. PoHBeu UTeOGHBH Henddlenen (L5LLflev) Hmemids.

alenL : 1250 1S

allen&asLD :

Geusmidb = (5) * (5/18) iS/eNeurmg

= (25/18) 15/eNeuvrmig

15 PlLHFHed et sLHS GsTensvey = (25/18) * (15) * (60) = 1250 18
15 PILSHSH6L Seui LTeLSHHemen &L bH OFHTemevey = 1250 1S
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6. @meut wewlesE 5 .8 CousdHHls0 BLESDBIT eaed 7 BIOL SHFHl60
OaTLieuemnguienen SHeupellhapri. 9165 Fwowib wenlldg 6 .6 Coumksdhdlev
BLbSTEL OHTLTeuewg 6UMEUSHBEG 5 BIOLLD (6laIHTd DIENLSIBTT 6IaNeD, Sieult
OHTLTeu6mIy HeneOoWSHHM DML YPGW CHTensvellenssds HT6wmIdb.

allewL : 6 &S

ellenésd :

Capemauwiren GHTmeve) = X &I

Bwm elsrer Gpymisefsd gBUBL aldHwrsid = 12 Bolb = 1/5 wenll GmyD
[ (x/5) - (x/6)] =1/6

6X - 5X = 6

X=6

aTeGeu GHemauwitenr GFHTemevey = 6 &S

7. 9B 756 Guiedr ais @G GUUILL ChrsFlsd wIPTs CousdHdled
BleneowisSHellGhal UBLLGSBE. 6 wel CErsPne UBe @® adbsvlyad @yuis
UG BemeowibHHelmbaH SICh FHengulenenr Gprea wewidd 90 &b BCoudHded
CFe0dB@l. eiberoLiFerd @ruied eidh FrHG Sruiensd 4 wewll CBHYHE60
SIMLIBHI. HHCa FrHg Gruileler GCoudddlenens HTewIsb.

allemL : 36 &5 / e

ellenésd :

6@ Qruieder Bousdhdlenen Wenfld@d X &0 eed OBTETBaTLD.

10 wewll GHrHIHe0 FrHE RAruied &LbHFH OHTemeve] = 4 wewfl BBYdHI560
erdboroLiigerd @ruied HLbHH CHTemeve)]

10*x=4*90

X =360/10 ; x = 36 &.5 / wewfl

8. @m OpmLicuswngseflei Cousmiseflen el@FHd 7 : 8. GyewiLTaugl
OaTLTeusmguiTeighl 4 ewll CHyHHe0 400 &.15 OFHTemsvalenaids HLHSBEHI 6T66D,
Wa6v O TLieuswiguilsh GeumddHdened HTewIS.

e : 87.5 &.15 / ewl

ellenésd :
Bm OaTLicuswnguien Gousmiseiionss el 7X &S wBEId 8X &S eed
Gemei@eumib.

fp@, 8x = (400/4) = 100
x = 100/8 = 12.5
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(pHe0 GFmLieuewnguien Geusd = (7 * 12.5) &b / wewfl
(PpH60 OFHTLieuewnguien Geusd = 87.5 &1 / Loewh

10. gmeuir A Wiedmba B eueny o _siten GOgmemsvailener BL[b&GID, WeniBo B
wWelmbas A & @ipujd euf 5 wefl@prb 45 BIOLLD B Hd OCEBTeTaEBIT. DUt
Bmpenpaefed @B&BmIT ealed 2 WelGHID WHwrdpa. <566, Sleut
Ampenpaefieud BLbSH OCFevaspri srafled MBS CHmaulILBD CryHIHlenend
HTCWIB.

elenL : 7 wewCHID 45 BIOL LD

ellenésd :

Capemeuwitenr GHTemevellensn X &5 eleid OaTeiTGourib.

(x @18 enw BLBSH HLHH PG GBID) + (X &S el QI HLES PG
Gmyp) =5 + (45/60)

=5+ (3/4) = (23/4) 1en@miyiD

(2x @S eow BLBSH BLES PG CBID) + (2X &S W @I HLbEE HYGID
Gmyb) =2 * (X SIS W BLESH HLEB YGWD GBHILD)

=2 *(23/4) = (23/2) 10emi@mIID

e, 2X @i mw QI BLbS PG Cryb = 23/4 - 2

= (15/4) wemi@mriid

2X @18 edw BLBB sLbES Y& Cpyd = (23/2) - (15/4)

= (46 - 15)/4

2X @18 eww BLbH sLES G Gpyo = 31/4 wenl@py = 7 wenl@pyb 45
BIOL_LD
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11. @meui wenlls@ 15 H.6 alzd gigemsd 80 &.uS Bemwpsiten LIT6VSHI M6
BLBED YGWD CHISHHmend HIewIs.

el : 5 WeGHIL 20 BIOL LD

ellenésd :

Gouzsldb = 15 &8/ woew

OxTemevey = 80 &S

Gryib = 80/ 15 = 5*(1/3)

80 &S menmpeiten LUMTVHHmeNdH HLHH PG GBID = 5 well@Hyd 20 MO LD

12. @m wealsHer 6 F.6/wewil a6y CoussHFed BLBH 18 BIOL SO @M
LUTeOGHSlenend SLbBIMTT. PH66 LTOGHI6 BHendhdlener (LBILIFl60 SHmevins.)

allewL : 1800 S

ellenésd :

Geusmb = (6) * (5/18) m /sec =(30/18) m /sec

18 PIfLHPHed Sieui UTevGHHenenr HLbH OFTemevey = (30/18) * (18) * (60) = 1800
]

13. @ OFHTLicu6wg O YNGH LILIgedBhdH STens0 5 wenfld@ LUBLIULG 9
weflds@ OLsvellenw OFeimenLSpg . BEBIMm CHTLTeuswiy < GLevelluilsd
@mbaH 7 welld@ UBLUL®G WrlenL 10.30 wewisE aubHMLSBH. ey
OaTLTeusmgU|D 6Th%H CHISHH0 FibHIHHIBOHT6ITEHLD?

elemL : 7.56 wenllb@ FhaHdbELW0

ellenésd :

Il gB@ OLevels@Gn @enLLl L COFTenevey X &.10 66is. &HTene0 efldE LIBE,
Bm OHTLTeuemngujld &FhHHHIH0ET6TEHD GBI Y LewiCHyLd

3 YOG 4 WWaBHIHHL X &H.15 HNTSHHend SLSIBH. ), 6160MB OCHTLTeU6wIIg
X @15 gnysHenen (7/2) wefCrrHdled HLSSBE.

3 eiep OFHTLTeuewniguier Geusid = x/4 km/hours

&), et GBI euemniguier Geusid = 2x/7 km/hours

o eiep OpmLieuewng (Y + 2) wefCprHdled Lbd OsTencve) + Y 10ewGHYHIS6e0
&LbHS OHmenevey = X

[XI4)*(y+2) ]+ [ (2xI7)*y ] =X

4, 7 @6t 15.8.0 =28

[ (7x(y +2)) +(8xy) ]/ 28 =X
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[ (7(y +2)) +(8y)]/28 =xIx

7y +14 + 8y = 28

15y =28-14=15y =14

y = 14/15 weni@pyo = (14/15) * 60 = 56 PuiLLD

560, Qm OHTLieuewNguld 7.56 ewfld@ FhHdBELD.

14. Quewip GumbHB6T O WBEBID < 300 H.15 CBHTEM6VR6ITN @I LILIEHT HI N6
7*(1/2) wemfiGpyHeled SienLdleiper. BoBID Sisueilyenih CU®mBHIBEHD 450 &S
OaTensvaysiTell LBOBI®H LWRISHSHmer 9 LaflGhIHIle0 (WIgHslamasl slefev,
Qrewi® Cumbdlen Cousmimealls alslddHHlenensd HT6wIsD.

e : 4 : 5

ellenéasID :

CoumsihFlen el@lmp =[ 300/ (15/2)]:[450/9]
=[300*(2/15)]:[450/9]

= (20 * 2) : (50)

=40:50

=4:5

et CumbHlen Geousmiseien elldlHd = 4 : 5

15. @m smymengl wenfldd 108 &HGeombiLi GousdHdled @hdmal. <UH66u, 15
BPOLSBH60 &M SLbHH OCHmenevalleneis HTewilsb.

allemL : 450 1S L

ellenésd :

Geusldb = 108 &.L5/Lo6wo

=[ 108 * (5/18) ] 1L it/efeormg

=6 * 5 15 Lii/ellenmg

= 30 S Li/eflenmig

15 Pl P &M &LbH OFTaneve = (30 * 15) 6L
= 450 S

16. @@m wWHWHH 360 &lGeor LT HNMyHensd 4 el CHISHH6L &L &S GBS
s Ceousmhgled W& WPHH CFsded QuTIH, 6 wewil 30 IO Misefed erelieueney
HNTHMBHH SLSGWD 7

ellenL : 585 &6
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allenébad :

[6*(1/2)] wewil CEyHaed &HLbH SMIHMS X 6@ GMILIGEeuTLD.
Gmryd (wewll) =4 :[6*(1/2)]

uwenids M (B.B8) = 360 : X

LWeIGHIID DIFHHFHSHT60, LwewiHd SHMTIPLD DHBfBEGD. aTenBey a1 Criommsd
ASLD.

@ /360)=[6*(1/2)]/x

4*x=(13/2)*360

X =(13*360)/(4*2)

X = 585 &S

6 wewil 30 BOLMiB6fled Lwemidhsd HMJD = 585 &.1b.
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wmped (Chain Rule)

1. @m Gouemevenws 36 yevizmer 25 wewl CHISHIHEL (WPpHE@mBe. 6H
Couemevemwt 15 Sy ewIden QFUIHTEL 6idHHened Lewll CHIHH60 6k BeusnevwTengl
CFwim (WpssULBL?

allewL : 60 wewil GHYLD

ellenésd :

CapemaulIL@LD WemI@HIID = X elad b6,

S eIH6I6T  lamreniband GHmBWLBUTEH BChemeulILBd CBIHIlen jene]
P BfBEGID. aaiCal BFH G1ATHBHH6ND DiWLOULD.

36:15::25:X

(36 * 25) = (15 * x)

X =(36*25)/15

X = 900/15

X =60

15 gyemser 9685 Geuemsvulemen OQFUIHI (WipdHsd 60 wewl GBHILD YGLD.

2. 6 Yyemiwelien 15 B HEHHSBTEN 2mFHUID (5H.2100 Y@&GW. SiH6uTev, 9
S eNIBeMST 12 BT SHEHHHTN 26NFHUIGHIBENND HITEWID.

ellewL : @5.2520

ellenésd :

Capemauwiren 2mHwHoHTenHUlene X 6laidh OBT6TSH.

DY ENIH6IT  cTamienllbemd DG BfHGHIOCUTH 2adluish OBHTMmSWD DIHSHHELD.
DY ENIH6IT  cTamienlBend GHmBWbBUTSH 2amgluldh OHTendsuld Gemmulb. U561 BHI
CrisHHHals0 DIMOBHSISTENSI.

yerdset 6 : 9, mrissit 15: 12 11 2100 : X

6*15*x=9*12*2100

X =(9*12*2100)/ (6 * 15)

X = (108 * 2100) / (90)

X = 226800/90

X = 2520

9 gyeniseman 12 BT HEHHBTN 2mHUISHOHTENS 05.2520 DY GELWD.
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3. 20 syewidmeiT 56 WL Hen(peiten @ Seuflensst 6 BT SH6rlsd HLIg
(Wdbslepernt. Si6H6UTev, 35 YeWiseT 3 BILH6MED HLIg (PSS sieuifleir
HENHIH NN B TEwIH.

allemL : 49 OLLIT

ellenésd :

Capemauwiren HenbBHlemen X elend CameiT@eumib.

S NIH6IGT  clamTemnibemnd HBHFBHGSIOUTH DiFHld HembD &L L (LPIQUJID. ,60136TH 6T
eTENTENNBMS GHMBUWIDBUTHI GMBHS Hembd S L (WiQujid. 5B S
CrisHHHale0 DIMOBHSITENSI.

o6 20 : 35, Il &st 63 56 : X

20*6*x =35*3*56

X =(35*3*56) /(20 * 6)

x = 5880/120

X = 49 15

35 oyemiket 3 BT Serfled Sy (PH@LD Fouflen Hembd 49 OLLE SGLD.

4. e GPUILL Cousmeowneid @M BHTEHHE 8 Wwewfl CHID afmHbd 46 BT Herfled
117 syemisenmed QFUIGZI (WgdsILBSBEH. 33 BT s6EHnsHG LIBg 4/7 ukg
Cousmeowitenighl (WPIYHHILGHBEHI. UHC6 Gousmevulemenr 2 Fflui CryHIHlev (PgHEH
CaremeulILBLD geubleuTH emid 9 wewl CHID Gouenev GCFUILSIBTTH6IT 6T6Hfl6D,

W peiten Causmevenwl (igHd CHmaUlILBD LHwl Y emiserien  6T6umemisemnsemuis
BITCWIB.

allenL : 81 S| 6euIH6IT

ellenésd :

8 (eiten Geuemev = 1 - (4/7) = 3/7

8 eiten Gy = (46 - 33) = 13 I _sei

CapemeuliBd OCoThHd evwiserilen Geuensvemnul X 61601,

GMBHS Couemev OFUILI GemmeuTer YewiHsT CHewel. DFHH BGousnev GFUIL
DIFHBIOTEN Yenibel CHenel. Digslorer Wenf@HID / Hrer elaflsd GHmmbHSH
SeiEser CHemel. BB BenaunanSHID CHTHHHAIND DIEMLDHSHIGITETEN.
Geuemev 4/7 : 3/7, wmismeit 13 : 33, wenl@py/prer 9 8:: 117 : X
4/7*13*9*x =3/7*33*8* 117

((36 * 13)/7) * x = (99 *117 * 8)/7

X=(99*117*8*7)/(7 * 36 * 13)

X =(22*117)/13 ; x =198

Caremeulu@B UysHw yemiseien eremieniodenad — 198 - 117 = 81 oy emismesit
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5. @@ Ouewizser sTUULLOTeIE 150 QUEHIBEHHEG 35 BILHEHHEG GFHeneuumer

o _ewiened GUPRIBWEHL. 10 BTLHEHGEG UBE, 25 Ouewissl SiGSTUILSHmS el (b
CFapell(Be\@BeITT 6IAIBTEL, DibPH 2 _MLOUTHLEMN WBFHD RHSHELWD
CUEIBEHHG DIBHGBLULFIONS 61HHMN [HTLSH6IT 6UPHIGEOTD ?

allemL : 42

ellenéaHID :

150 QuesisEnHE 35 BILHEDGEG BCHneUWITeN 2 _ewieuTaldHl IPHIGLILIBESBSI.
25 Quesizsen SBHTUIILSMmS el (G CFsipielll Lred 125 QUTIHEHHG 2_6wi6)
QUPRISLILIBLD BT SHemen X 6leaid OEBmeis.

GMBHS CUIB6T SMHHSTO DHS BT HEHHES 2 _6WIaleNeT IPHRIGEVTD. 6IenCeu
@mg erFHiommeors Gammeiten Bouemi(BLD.

= 125: 150 :: 35: X

= 125*x =150 * 35

= X = (150 * 35)/125

=>X=6*7

= X =42

6. 35 wmbupnisefler eflensowimeigl @h.1517.25 elelled 49 LEQ6&T LOMDLILG I 60T
Camymwimone ellenev erciien  ?

ellewL : @p.2500

ellenésd :

49 Lgg6it ombLIPSHSH6 aleneowimengdl X olend Cbmeis.

SIF\BIOTET LOTIDLIPHIGET ITHRIS M0 DB HUTUI CHemaulIBLD. eteBau Rend
@Gpiormeors Gameitermr  GeuswiBLD.

= 357 : (49 *12)::1517.25: x

= 357x = (49 * 12)* 1517.25

x = (588 * 1517.25) / 357

X =892143/ 357

X = 5.2499

49 Lggeit mbLs S CoHmymwimores ellenev 5.2500 Y @LD.

7. 36 yewisel @m Ceousmevenws 18 BT &Hefled QFUIH (WPYSepet eraIBIed ICH
Couemevemul 27 YIS 6IHHMN HTL&Herled CFuiIgl (WpQiLmiseT ?

allenL : 24 [BIL &6
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allenébaLd :

Couemevenw! OFUIHI (PYSHGD BTLEH6T X 6I0d OBm6iTS.

GmBEUTE YL H6iT Couemevenwt QFUIG (WPYULSBG DIHES BTLE6T 1HHSHI
Oameiteumi®seir. eleiCoy GQengd CwioTmeoTs Cdmeiem GeuswiBLD.

= 27: 36 :: 18 :x

= (27 * x) = (36 * 18)

= X = (36 *18) / 27

X =12*2

X =24

27 yemizmeit 24 B SHeifled Gouemsvenul OQFUIZHI (LPIQLILITTSH6IT.

8. 7 QY &6 @ SLYLHMSH 52 Beiidsefled &Llg (Wpdbslamernt. 6%
Couemevemul 13 I &6l 61HHMEM B6iTH6Ile0 QFUIZH (LPIQLILITTSH6IT?

allemL : 28

ellenésd :

BWIBLIgEHE Beuswiigul Hrsiiderflen elewienlidendenul a eleip @GMILLIGGsuTLD.

YL Herileir erevieniibensd = 7 : 13

breiiselelr elewiemiibens = 52 : a

Y Ferileir erenieniibend DHEFHEGSWD QUTIRHI, HrsiTEHer6n elewlemllbend @ 6eNBULD.
oTeiGeu @@ I GIHITIOTBEL S GLD.

7 *52=13*a
13*a=7*52
a=(7*52)/13
a= 28

13 g 61 QbH Gouensvenuws 28 BeiTdmeifled (LIQLILITTESEIT.
9. @6lCeuTmH USSHHID 35 eufldenend OCBTHIL LGHHBHHN GIOTHSL LdSHMmIH6IT

120. 918 OGFuig) ealbauT®H LESSHINID 24 auflEenTes RBHHBHTEV, LHDHBHD 6l
CTHHL LSHRIB6T eleleueToUTE SMHBELD?

alemL : 175

allenéasD :

HMIBLIgSHCouemngul L&shIGeTeT eeienlldmasmnu X eaim GOIULIGEsuTLD.
@6leuTH USBHIHVID 2 6ilen GoTHdH euflseien eewienidamns = 35 : 24
usaniseflen eemienlldomad = 120 : X

RMm USBSHD60, euflsefler samianiesme GMBULD CUTWEI, LHHHDHBH60
L&SmISET6N crenienllEmed DB &S HHHBH. 610Gy Dl TSHITIOTBL Y ELD.
(35 /24) =(x/120)
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(35*120) = (x * 24)

x =(35*120)/24

x=35*5

X =175

M UBSSHIH0 24 alfldel QMBS CQUTWSH, LUHSHHHlen CrsHs il Lidbsmigserer
eTewTewNdBemed — 175

10. 16 QuenFlevmerileir eileney @p. 48 eraiev, 4 GuUeFevmerlen allMEVEMUID SHTEID.
9

ollewL : ap. 12

ellenéaHID :

4 Queidlevserien ellensvenul X ereid GamTeiT@oumiD.

QueiiFlsvmerileir eramiemiibenas = 16 : 4

alemev(em) = 48 : X

QuendFlevserilein elctiicmibmed GHMBHBHTED, DIH6 SIeN6OW|D GMBU|LD.
oieiGou Pbd P Slenad GBI LTBEL Y GLD.

(16 /48) =(41/x)

16 *x = (48 * 4)

X=(48*4)/16 ;X = . 12

Breil@ OueiFlevdefien ealenev = eap. 12
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Partnership

1. A, B, C g8Cwri g®m Ozmbenev p.1,20,000, @51,35,000 wBmid @5.1,50,000
Cumeiip (WHESL(BL6T OHTLBEIGHment. UB@ <wewi® SHeorud ap.56,700
HMLEDIBGEHI 616060, eeuGleUTHEUFlET LIMIdlenends 8HiTeusb.

efleowL : 5.16800, @5.18900, @5.21000

ellenésd :

A, B, C ga8umfleir (pseSiigen efldxsid = 120000 : 135000 : 150000 =8: 9:
10

A @ar umg = (56700 * (8/27)) = 453600/27

= Rs.16800
B @er umi@ = (56700 * (9/27)) = 510300/27
= Rs.18900

C @eir umiE = (56700 * (10/27)) = 567000/27
= Rs.21000

2. A B, C 80wri gm 0smdellsd wpHeS® OGFuideimpeni. A eleiLeui B
QFUISMBLICUTeL cpsiiml WLBIG (PHeS® CFwidpri. B eeeui C Gebr

(WH6S g6 Sjenalled 2/3 UBIG (PHS® CFLIADBTT. aIBLSHIHeT Bmiduied @r.6600
@eomud QUEIBSIBITH6T 6T6llsd B S6it LIBIBSm6D BHTEWIS.

ellewL : @p.1200

ellenésd :

C et Pp565B OHTend = RS.X 6l6i1s.

B @61 368G Ozmends = Rs. 2/3 * x

A B wHeSB OFmens = Rs. (3 * (2/3) * x) = Rs.2x

A, B, C g@8wrfleir (pa6eSl hHosTensulsn alalsd = 2X : (2/3)*x : x=6:2:3
B @er umig = (6600 * (2/11)) = 600 * 2 = Rs.1200

3. A B,C g80wri seor 520,000 aipd ¢m OGHTHeNsd (WHSB Oaulaeimeo.
5 aumpLmsEnEE LIn@g A eemeur @5.5000 enwiwjb, A eleiueur 5.4000 enUWIU|LD
Slmbull Qupiseisperni. gemed C eteieui @5.6000 svwl (WHSH GFuid .
500, Syewngent PuIsHluled m.69,900 YiGH MBS BEHI 6166, (LPOIHENL LI
LUmSlenend STenlsb.

allewL : @5.20500, @5.21200, ¢5.28200

leNGHLID :
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A, B, C gaCwrfléii (pseSBiHosteansullsn alalsn = [ (20000 * 5) + (15000 *
7)]: [ (20000 * 5) + (16000 * 7) ] : [ (20000 * 5) + (26000 * 7) ]

= [1200000 + 105000] : [100000 + 112000] : [100000 + 182000]

= 205000 : 212000 : 282000

=205 : 212 : 282

A @e1 um@ = (69900 * (205/699)) = Rs.20500

B & umig = (69900 * (212/699)) = Rs.21200

C @ar umig = (69900 * (282/699)) = Rs.28200

4. QObHS WBEBID HUd YIS PmHeUGL @mH OBTHedls0 @5.22500, 35000 6zl
W9 OGFuleudhen cpeold H.13800 emwt Qomdhd @eomuons CUDIE GIBEIT 61660
SLUGB6 LIBIS e JHT6lb.

eflemL : = Rs. 8400

ellenésd :

YehSH LBDBID Sud PSw Gmeufledr um@ = 22500 : 35000
=225:350=9:14

susder umi@ = (13800 * (14/23)) = 600 * 14

susdenr umi@ = Rs. 8400

5. apeipl BUTH6T @ OBHTHeNed gnl L mefldentas 10 OTSHMIS6T, 8 LOTHBIE6, 7
LOTSHMIG6IT 61608 HemdbHed GUILLILL OFHTensuimen (WPHed® OFUIseTBei.
SlaNTH6IT SIHOHTPe060 ML HGID @eomTLbGHlenen 5 : 7 : 8 6B alld)HHaHe0
Wfsais Csmsidlsimpert. H6eu, auidseT (PHeVh OCFulsh GHmenauiler

B HH I M  BHT6HISb.

allemL : 28 : 49 : 64

allen&sD :

eIl BUiEeT GFuls (PHEOLIgemen (h.X g 10 THHISEHSGW, .Y NS5
8 LTHHIGBEHSGID, (h.Z PG 7 LOTHEBEHEGWD OFUleusts GemenGourd. LIBG,
10x : 8y :7z=5:7: 8

@ueureal, 10x/8y = 5/7

70x = 40y

y = (7/4)*x

LOMBID,

10x/7z =5/8

80x = 35z

z = 80x/35
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z = 16x/7
U566, cpeiipl BUIH6T QFUISH (WpHeSLigen alladlsd X |y :z=X: (7/4)*x :
(16/7)*x = 28 : 49 : 64

6. A etsiiueui 5.3500 QHTMSUL6T @ OBHTPeney YFOLISSBTiE. 5 LOTHEIBEHES
Uma B ereiueui A @6t sl Lmellwns Qenewidbspri. @@m GLSHBS LB,
@eomuiomengl 2 : 3 eliB elBlHHHev LflbHs OsmeteniLBaSIBSE. eienBer, B
yeeui A 2 161 @emewnboUTIpdl CFISSHW YJbLS OFHTMHUInes SIS,

allemL : @p. 9000
ollenb&sLD :

B Q&1 gubussrensullener X eeids OQomeirs.
U@, [ (3500 * 12) / (7x)] =2/3

14x = 126000
X = 126000/14
X = 5. 9000

B syeeuir A o L6t @ememiuboumapdl OFaibslwl UIbLghosTens = . 9000

7. P oppid Q 4aCumi Genemibdl @m OFmblenso p. 85,000 oBmid p. 15,000
o1l OHTendsUL 6T bl idbslamert. Gm aImLBIBESGU LIBE& Smelmab@d
BMLBEGID ReOTUSHOBHTMBUI il HHBMmend HTewISH.

allem : 17 : 3

ellenésd :

P : Q =85000 : 15000

=85:15=17: 3

Am aumLESEHSGL UBE DmaumesG SHLsGld Seorushosrensulls elldEsd =
17 : 3

8. 4 smenL LeigniLeuisel 4 gnenLdemen 4 BT &6rlled Llecigndleimpeni. SiG5HGUT6v,
8 smenL LleiigniLieuisenTed 8 B &6ill6d 61HHN6M FnenLHemnen Liledrer (Lpgu|b?

el : 16 FneNLBH6IT

allendbsLD

gL LegniLieuiselen eleuiienilbansd DD EfoHs menLserilen  eremremnlldsemauLD
P sfEHEWw. D16x5CUT6,

BT._Seflen erenicnlliEmes DD EHE FnenLH6riled ereHlenlEmMBULLD DB &S HELD.
gmenL. Leigniuieuissit 4 : 8 = pmiaser 4:8::4:X
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UH6eu, 4*4*Xx=8*8*4

XxX=(8*8*4)/(4*4)

X =16

8 gmedL UleiigniUeuidsented 8 BML&elled Leiignd dmenLHeiflein erewienlidomnsd = 16
Fn GDL_B6IT

9. 8 Yeimsil 80 OQamsGLimeMed LWL uulisemen 24 BT Heifled SimleueHL
Ceuizlempent. BB, 36 YeideT 30 BT Herlev erelauene] GamésGLT Lulifseans
SipieuenL. GgFuiw upigujb?

allewL : 450

ellenésd :

Capemauwiren GCemEBLiTHefl6ln eatienflbmeenut X elaid OComsiTs.

SYEHIH6T  6TemTenlHMB HBfbd CamsGL w6 eramewlsmaud DIFH®f&ELD.
BT_Seflen elevienlldams SiFHsfobs CansGLismefen eeaiamicmauld DB BFHEGLD.
560, Q& CrisbmHHeled 2 siteng.

Sfewiweit 8 : 36 = prLsenr 24 1 30::80: X

8*24*x=36*30*80

X =(36*30*80)/(8*24)

X=90*5

X = 450 OamasGLiseir

36 oyemiwer 30 BT &erflsd 450 Cams&GLiEeT Lulidenst SipieuemL. CFUIW (LPIQuUiLD.

10. 10 yeideil @@ BIEHHG 6 WeICHID Couenev GFUINGHTEL 18 B SH6rflsd @
GUIUUILL Geusmevenwl (PIYHBABTTIH6T. 6H Gousmevenul 15 YIS @TH
BTEHdHE 6iHHmen WefGhyD QFUIHTeL 12 BT Hefled DisuGsuensvemUl (WPIQdsH
(P1gu|id?

alenL : 6 LeGHyLD

allen&sID :

@@ Brefsd CoHemauliBL CrrHdlenen X elend O@BTETCEUTLD.

S, CNNH6M6G  TemTemHmnd HEfHE RM BTEHHEG CHemeuliiBG GCrydHder
6TERTERNHEMNE  (&HENMULD.

BT _Seflen eTewienlldme GBI BGurgl, @m BTEndE iHse GBI ChHemeulilLD.
5601, Rmeu AHTHBHBANGD DIENLDHHICTENS).

emisen 15 : 10 = priser 12:18::6: X

15*12*x=10*18*6

x=(10*18*6)/(15* 12)

X = 6 wewi@py



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

9ICp Cousmevenws 15 YeWIH6IT @M BTEHHG 6 WeWICHID OCFUIHTEL 12 [HTL&H6IM6D
Si6UGeumevenuwl (WPI9HEH (LPIQULD
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Bapsse (Probability)

1. @@ BTEWIWLOTEIGH SHWILULGLOUTH SeuBpile BHEWeHHe] Henevel(peusHBasTer
FIHSWEBInB WTH ?

allemL : 1/2

allenébaHID :

gaplOedeil, N = (&H6M6V,LL)

B&WFF, N = (Hen6v)

Bapsse, P = n/n

=112

2. Quewip FLBHeNTAH 52 FLBHMN 2 LW @M FLBBLIgL Qb3S
BHBILGSBSHI. TBSSUILGL Qrei® FLBHefled @ FLLmang ervCULTHa)LD
LOBOBTEIH QABTTLIQITE|D SIMLOGUSHBEHTNN HHIDSHH6) 61660 ?

allemL : 13/ 102

allenébaHID :

anpliGeuef,N(S) = 52C2

=(52*51)/(2*1)

=26 *51

n(S) = 1326

BawFA,N(E) = 13 e0BuB i enLseflled mbal @m 0CUB FB, 13 BTl g6
L &6flsd QmhHEH @M QBIiligsn FLBL 61HHSLILL CouswiBLD.
= 18g, * I8¢,

=13*13

=169

Bapssa,P(E) = n(E) / n(S)

=169/ 1326

=13/102

3. @m emuulled 6 OGleusiTEMEMLILIHSHIGET LOBBILD 4 SHULLILBHSGISHET 2 666
SuBBedmha Rremi® LbGHiseT CoHmyrwions ebBHsLILBS B, 61(BHSLILGBLD
Qrewip UbGHIBEHD GCF HBOTE DIMOUSHBETH HHWHBS] WTH ?

elenL : 7/15

leNGHLID :
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aploeuef,N(S) = (6 + 4) R0 QmbH B LbHiseT CHTITULILOTS
6T(B 5 LILI[BH 5| TB 6T

_ 10

=C,

=(10*9)/(2*1)

=5*9

n(S) =45

BapFH,N(E) = apdsiu@Bld UubsHissn @yeniBld Qeusitenem BBLOTE @hdaGalew(BLD
DIGVVGHI S@MHLIL BIBLOTE B HCeuemIBLD.

_6 4

="Cr+7Cy

=((6*5)/(2*1)+((4*3)/(2*1))

=(3*5)+(2*3)

=15+6

=21

Bapssa,P(E) = n(E) / n(S)

=21/45

=7/15

4. WPpH60 RmUSB Ruied eTemIHeMEOMBHSH @M (LAY 61601 FLoeUTUINL (Ppenmuiled
CaihOSHBHELILGDSBSHI. SibDH 6160 GH LIGT 6lewieniTes SmUILSMBEHT6N
BB HB MDD,

allemL : 2/5

allenébaID :

amploeuefl, S={1,2,3,4,......... ,20}

n(S) = 20

CaiibOHBHBLILIBLD 6T6%T LISBT 6T6wieniTd Mm@ HopFFlenws A 616iH
A={2,3,5 7, 11, 13,17, 19}

n(A) =8

areiBau, P(A) = n(A)/ n(S)

= 8/20

=2/5

5. @ eu@Liled 2 eiten 35 omewieuiseriied 20 Guir yewisei BBID 15 Gui
Quemiiseit. Fweumuil (Wemmulled e Lmemieui CHihoHBHSLILGBSBTT 6refle,
CaiibosBHSLILIBLOT LOTERIIINS, omalLTE QMBS HEDHH| TS,

ellen : 4/7, 3/7
ellenésd :
S eeiug RFCFTHmeanuicd FmpiCeuet etend OBm6iTHD



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

Qorss remieuiselen elewienmibensd N(S) = 35

QFCFTHmeuUl6d LOTEwIGUe LOBBID Lomewied YHCWimenysdh BCHiThoHBHELD
bapsFfamen B wppid G eend Qomeirs.

n(S) =35, n(B) = 20 wmgo n(G) = 15

orewielenend CHibOSBLILSBET Bapssa P(B) =n(B)/ n(S)

= 20/35

= 4/7

rewielenuids BHibOSBLLSBET BEpsHsea = P(G) = n(G) / n(S)
=15/35

=3/7

7. 35 QuUTELS6T SILRSW OHTGLY @mled 7 GUTmLE6T &eBUTHENL WG
IIHHTGUNBBSH ®m CuTmsit Fweuruil (pepuled CHIHOSBHGWLD CuTg
G GMBUTLMBB QurmenTs QdULSDBESTEN BHSWLSH6] WIrH?

alem : 4/5

allendasLb

Qurssll Qurmlseflen sewieidans N(S) = 35

GmBUTBmLW GuTmLSeller semienlldens = 7

GOBUTLBB uTmensnd BHiboHBHGID BowsFdenw A eeis
GMBUTLBB QurmLseflen elewienidensd N(A) =35-7 = 28



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

oTanGeu, GemBUTLMB Qurmenend CHibosBEGIL MapsFdulea Bepsse P(A) =
(n(A) I n(S))

=28/35

=4/5

8. Quewi® BTWILIOTEIG] FHew L LILGIOCUTSHI SieuBmle BoDSHHaIT6ISH]
SFsULFIOTE H S LusBETen FTHHWEGIBI Wrgkl ?

alemL : 3/4

ellenéaHID :

(S) ={(H,H), (H,T), (T,H), (T,T)}

n(S) =4

(E) = Pabssailed Si@asul gions @m H SenLlugsBaren FTdHguiddnpisel
n(E) = {(H,T), (T,H), (T,T)}

=3

P(E) =n(E) / n(S)

= 3/4

9. @ USMHLWTOIGH 2 HLLULGOUTSHI SeuBpilen BEeHIaITaig 3-601
CUMBGLILIRTS SIMOISHBETN HHDHEH6)] 6l6er 7

allemL : 1/3

ellenésd :

S={1,23,4,5,6}

n(sS) =6

E = denLs@d wHliumerg 3-61 QUmBSGLILvTE SmeHHe0 GeuewiBLD.
E={3, 6}

n(g) =2

P(E) = n(E)/n(S)

= 2/6

=1/3

10. @m Csmg usenLwimengl o MLLUUGLEUTH SieuBlen gl BH0SHTEHSWITIS]
16@ DHHOTE ML LLSBHTR HHDHH6) 6l6nem 7

ellewL : 5/12
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allenébaLd :

n(S)= 36

E = s s@ cemiseiel gnl BHoSTensunaidl 7- &G HBHNE S[HHH60
Ceuemir(pLd.

n(E) ={2,6), (3,5), (3.6), 44, 45), (46), (53), (54, (55), (56), (62), (6,3),
(6.4, (6,5),(6,6)}

n(E) =15

P(E) = n(E)/n(S)

=15/36 ; = 5/12

11. epeiipl HTEOILILDTEIGHI FHILLILGIOEUTSH Sieubmlen BEHDSHBAITISH]
GMBHSLUILLFID Qpewih H SevLlugbarer FrhdHudbsdap wngk ?

eflew : 1/2

olleNb&ID :

apleeued(S) = {(T,T,T), (T, T,H), (T,H,T), (H,T,T), (T,HH), (HT,H), (HHT),
(H,H,H)}

n(s) = 8

BapFd N(E) = papssalsds Gamphalu b Rreni@ H e ligmarer
FTHBWISBIn Bl

n(E) = {(T,H,H), (H,T,H), (H,H,T), (HH,H)} ; n(E) = 4

P(E)=n(E)/n(S) ; =4/8; =1/2
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Permutations and Combinations

1. 6 yemimei BEID 5 CueHiseT 2 6iTen Gupelled RMHH S5 L_&H6iT
CaibOmpBHHLILBHeBan. CHIHOBBHHILLL 5 Y Herfled 3 YeWIBEHD, 2
QuesisEpld BCHiHOBHBHEHBLILIGES GBI elafled, DiaUTHemeN 61HHmen 6660
CaibOHBoHBETID?

allewL : 200

ellenésd :

(6 yewimeriled 3 YeidBEHID) WBEPID (5 CueHIBefed 2 HEIHEIHLD)
Caiih0\&HBHBLILIBS\TBETT.

3 oyueidsEHD, 2 QuaisEnD CHiHosGHEILGuSBETM afsst = (°Cs) / (CCy)
=((6*5*4)/(3*2*1)*((5*4)/(2*1))

=2*5*2*5*2

=200

2. 15 ellewenur @ elyiser o siten HlflB0s. GHupalsd @ambaml 11 elenemwim_ B
elyisene sihHemen ellfideried BHibOHHHHEOMD ?

allemL : 1365

ellenésD :

lllss)ﬂmmu_lrn'_cs sfjisemen CaHibOGEHSILGMSHETa aufsst = (*°Ciy)
= 15(:15 -11

= C4
=(15*14*13*12)/(4*3*2*1)
=15*7*13

= 1365

3. APPLE eeip eumigensenwl eidsenent eulflderiisd ol erqpgHeomd ?
alenL : 60

allendbsLD

APPLE eeii3 eumigengd 5 OQFmBasensm GuUbBmIsTeng.

Qapplsd @® A, @i P, @6 L wppd @® E 2 sieng.

APPLE 663 eumiengenwt wrB eiqpdieusBaten euflasit = 51/ (11 * 21 * 11 *
1)

=(5*4*3*2*1)/2
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=5*4*3
=60
APPLE eaeiB eunigemgdenws 60 euflsefled wommsl e1upgHeomid.

4. BIHAR 6163 Q&me0edled 2 66N 61(0SHSHIBHMENL LIWLSTLGHS 61536060
QUM HMHHMEN 2 [HEUTEHHEVMLD?

allewL : 120 6t &HenFHH6IT

ellenésd :

BIHAR a6t Gamevedlsd o _siten Qomds 6l11pHHIHH6T = 5

H5Ca1, CoHemauwitan QLOTHSH CUTTHMBHET = Pg=51= (5*4*3*2*1)
BIHAR a6t Gamevellsd 2 _sitenn 6110HGIbHM6NI LWILBGHS 120 6t HenSHaH6iT
9 (H6UTHSHEVMLD.

5. LOGARITHMS eratis @&mevellelibibghl 6THHenen i HaH(LPpeiten  LoMBILD
SITHSIOMMB UTTHMNDHHMEN 2_(HEUTHS (PIQULD 6T HTERIS5.

GOy : @albeurm eumibensulsild @wm 6WHH @ (WPemB WL BHEL eImLD.
allenL : 5040 QUi &HeNBHBH6I

ellenésd :

LOGARITHMS 616t Qamevevmenigyl 10 GeusiBeuml 61(1pHHIbHm6NH QS TEmIL G,
U566 BHemauwirenr QoTHSH uTiHmBHHeT = 10 61(RSHHIBH6T CBTewiL  euiflenguied
o _6item euTiHmHUlled, @ FLOWSHH6D 4 61SHHIHH6IT CBTERIL  UTTHEMFHENUI

9 (HEUTEHEHH60

=p,= (10*9*8*7) = 5040

6. °P, @i L Tenerds HTewIs.
allemL : 5550

ellenébsLD

P, = (751 / (75 - 2)!
=[(75*74*(731)]/ (73!
= 75 * 74 = 5550

P,@eir &y = 5550
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7. QeuBnlei WHIL HTEWIS :

ellend e :
ggpr ="P@n-n)

P,= 75!/ (75 - 2)!
=75 /73!
=75*74
= 5550

75
P2
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6T6m1 LOMBEID 611RHHI OFHTLIT

1. Uereupd QBTLfled eumd Fflwimen e1(pSHmSHdH HIewidbs.

UaB, I, P, W,?2.
allewL : D
ellendaID :

CaThSaLILULL 61(1pSHHIHHED6IT DBHS 61(IRSHMSL QLB (PHMBHW 61(DSHHIL 6T
YhBlev auflenFullsd 7 e11pHHIBH6T (PHIBaMBHF OFevev CouewiBLD. DIFHTeUS,
Uu+7--B

B+7--1
IBIBuTev OHTLfled eBULL 611RSHSH,
W+7--D

2. Ueteu@md OHTLfled eflBULL  6TowTenemId HT6wIH.
2, 3,5 17, 11, 2, 17

allemL : 13

ellenésd :

OaTLfled CEm@dHalIl L elemide 2 60MhbdH OBTLBMIGID LSBT 6lewideri e
alflmFuns Semwbaisiend. Ps6el, 11 - BEG DBGHH UMD UBT 66wl 13 HGLD.
allBULL etewr = 13

3. Ueteumd OHmLfled aflGULL  cletienemid STeuwlIdb.
1, 3, 4, 8, 15, 27, ?

allemL : 50
oS :

OHTL0 2 _6iten geuGleuT ecTemigmID DIBHHBHBHI DINHSBIGT6N (PHenHUl CLPEIDI
TEMIBOMAT Fnl I9HOBHTME YGWD. DISTOUS,

1+3+4=8
3+4+8=15
SIHIBumev,

aluLL etewr =8+ 15+ 27 =50

4, A,P,R, X, S wipb Z @m euflnguied Sioibgk 2 eiteneni. S wBmd Z
I Qmeumld BHeled Siwibgk 2 eiteneni. A wBmd P oualGuimi @pigeisd
DIihFH 2 _eieneni. R eteoieui A &g SLFHIYBLD 2 eitenmi. Y&Bou P &G
QUEVGILIBLD WITT  SILOFH|HLILITT ?

allemL : X
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allenébaLd :

auflemgulled SioibleTeneNTHeIleT DMl OBTHHBULLL. FHEH6U60H6I GILIG
Ueteu@morm SmabELb.

PXSZRA

560 auflwguisd P 6@ euevHImblD 2 eitemieui X SLeumi.

5. Ueteu@md QOBHTLengll Widhd OFuism.
ATTRIBUTION, TTRIBUTIO, RIBUTIO, IBUTI, ?

aflewL : UTI

ellenésd :

WSV Hlemevuled (WpFH6vL LBEID HWLF 6IWRHEH HHEHILLB DBHD HenevenuiLl
Oump (ub. QreiLmd Blemeouled (WPHO SIWIB 611IPSHHIBHMEN HhHd ABHD
Bevev SMLBGID. BbH Srewih Hensvdensnujld ompsl wrml Gauiw eflGulL  Blenev
SML_bGLD.

6. Ueteu@md OHTLemIll Widhd OFuism.
BCFG :HILM ::NORQ : ?
allem : TUXW

ellenésd :

@alCeuTm OBHTGULIID DIBHSIsTeN Hensvenuwill GUB Yhdew iE] auflenguisd 6
TIDHHIHBHET (PHTBaTHS 6Fe060 BouewiBD. DIHToUHI,

B+6--- H;C+6--—-- l;F+6---- L;G+6--—-- M

alBuULL eTpdhaibdeT = TUXW

7. SIBHSBHH UG M eTME6MT FBHH6O 75. Db 6T6WIH6I WITen6u?
elemL : 37, 38

allensb&ID :

WpHeL etemi X, SIBSHSI u®D oremr X +1
X+(x+1)=75

2x+1=75

2Xx=75-1=74

Xx=74/2

X =37

Xx+1=37+1=38
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Cxpemeuwimenr etemigme = 37, 38

8. OaTLfled SIBHHI UMD 6IEMTNEMISH BHIT6IIH.
1, 4, 7, 10, 13, ?

allewL : 16

ellenésd :

OaTL0 SIBHS erenienilenal QLB @eICeuT 6TERIGDIL ID 3 MUWIH Snl L
CouewiBD. SiBHTUF,

1+3=4

4+3=7

7+3=10

10+3=13

13+3=16

OxTLfl0 aumld SIBHSH elewr = 16

9. Ueireumd OHTLfled DIBHH QUMD 6I(IRSHIMENS HTCTID.

M, T, W, T,F?
o) AayB @ Hm®S

olewL : F) S

ellenésd :

OaTL0 CEThSBULLL DMOISHH 1QHHIGHEHD UTTHBH T 6§D HTL &6 6
WH0 apHSHenaBul GiEG. wHCa, OFHTLFed al@ulL Spenp Saturday.
eiaafley, OHTL6L efBuLL alpeniouleir (pHed 61RHHI S.

10. Weireu@md OBl DBSHS BHlenevenuids HTemisb.
FIELD : GJFME :: SICKLE : ?

eflen : TIDLMF

ellen&sLD :

CarT@asiul L OBTLed (WP He0 Beameoulsd QmbaH DBHS Hemsvenwil Gum
s D) aflensuled @m 1RSS! (PeIGamesalF OFsbev CouswiB. DiIHTEUSI,
F+1=G

[+1=J

E+1=F

L+1=M
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D+1=E
S1BIBuTe, GHTLfen eflGulL Mewev TIJDLMF oy@w.

11. Jeireumo OHTLfleD DBHS BHenevenlld SHTewldb.
FIELD : GJFME :: SICKLE : ?

allew : TJDLMF

ellenébasID :

CarT@sslulL OBTLeL (WpEHev Bemeouled QwmbaH SiBHS bevevenwil Gum
Yhslev ET aflFulsd @wm 1RHH (WPHICameHF OFsvev CouswHiBL. SISHTeUS,
F+1=G

+1=1J

E+1=F
L+1=M
D+1=E

SIFIBumev, GHTLfledr aflGulL memev TIJDLMF s@ib.

12. Ueteumpd OHTL60 SIBHSHI UMD 6T60IEN6NIdH HT6wIDH.
1, 2, 3, 6, 9, 18, 7, 54

allemL : 27

ellenébsID :

OFTLH6L SIBHSH eUMBID elewinewics Hmemt GousmBOLoaisd, 2emuiujid, 3/2 eneuud
SIBHHBHSHI UMD 6TMIBEBL 6T OLIHBD MBLL L 6TewTIRITEIS &6nL_db@LD.
SISTeUS),

1*2=2;2*(3/2)=3;3*2=6

SIHIBLIT6V,

el®uLL etewr = 18 * (3/2) = 27

13. Meireu@md QBT DBSHSHI UMD CTRIENEMIS BTN,
1, 2, 3, 6, 12, 24, 48, ?

alemL : 96

allenébalD :

CaTLfled DIBHS elemienemill QLB (PHeL Qrewi(h olewienemids Fnl L Couewr(BLd.
SIBHHBHSH UMD ecTemIHMeNLl GLB QI ellenLU|L 6T (LPHENSHUI  6T6TTEH6IT
SIMANHMSWD Fnl L GeuewiBlD. DIFHTEUDI,

1+2=3

3+2+1=6
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6+3+2+1=12
12+6+3+2+1=24
24+12+6+3+2+1=48
48+24+12+6+3+2+1=96
U5Cen allBuLL etemr = 96

14. deiieumd OHTLIled DIBSHS Henevenulds SHTewldb.
PASS : QBTT :: FAIL : ?

alewL : GBIM

ellenésd :

OaTLfl6d SIBHSGI6TeN Hensvenid HTewl CouamiBOLOaNeL, Y mIBey SiBT euflenauilsd
(WPHMSW HMEOU|L 6T @ 611RHSHI (WIBamesdHlF OFevev CouswiBLD. SISHToUS,
P+1=0Q

A+1=B

S+1=T

S+1=T

@6ty e eMBGULL Bleweo GBIM eranids &lemldb@Ld.

15. Heieupd OHTLfled alBULL Henevenuld SHTewdb.
CEDH : HDEC :: ? : PNRV

allemL : VRNP

ellenésd :

@6lGeutm Heneoulelmbad DIBHS Hemevenwill GLUB (WPHMBHW Henevenuid
SMVBIPTS 6115 BouswiBd. dipmeugkl, CEDH et Hemevdsp eugeud = HDEC
PNRV &1 sensvdp eugeud = VRNP

16. alleomd GOUILL QL HFH60 6uy Gouevngwl 6115 - o161 Bomeney 61817
P3, ?,J9, G12, D15

allemL : M6

allenébalD :

CarT@sslUlL QBTG 2 6Ten 611SHHIHHET DMMHIHID YHISD DB
auflenguled 3 e1WSHSHIHH6NT LlenGanmaasslub, erewmiseit 3 eramisenmd (YPerGenaasiuib
SiMLW SIBHH Hmen alenLdH@LD.

1S5S Bxmemeu :

P-3=M;M-3=J
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oTewr Gammemey :
3+3=6;6+3=9;9+3=12

17. Jeiieum GOHTLFl6D aupD DBHS Henevenuid SHTewldb.
N*O:14*15::F*R: ?

aflenL : 6 * 18

ellenébaHID :

CarT@aaslulL OBTLfed S mhidlev i) euflengullsiiuig 611D & gid e er
@LFIuneng SHIULLBeTeNnSHl. DISTUSHI,

N - et @Logdy = 14

O - alleéii LGy =15

®6xBumed F * R a1 @L1oglny 6 * 18

18. eiieugpd et6mt QHTLHF6O DIBSHS Hlomevenulds SHTewIb.
4 :19 =7 :?

allemL : 52

ellenésd :

Capemeuwitenr eflenLenwill OUB (WPHMSBW 6lewmTenien liHHHBHnNS HHIB DIHEDIL 6T
apeiienBd dnl L GouemiBD. SiSTaUS,

4 +3=16+3= 19

(7 +3=49+3= 52

19. Weireu@d etemr OHTLF6L DBHSHS Henevenuid SHTewmisb.
335 : 216 :: 987 : ?

allemL : 868

allen&asLD :

CarhsalIUl L eletr OHTLFleD DBSHS oleienewil GUB @BeBLUmML S SHIH60
QUL eTevitemNedlb&I 119 616IB elemienemiss HWPHd Coucwi(BLd. DIHTUSI,

335 - 119 = 216

SIFICUm6v,

987 - 119 = 868

20. Uleieupd etemt QBHTLFl60 DIBHS Hlenevenwid HIewis.
10 : 99 : 9 : 80 :: 8 : ?

allewL : 63
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allenébaLd :

CarT@saslUlL OBHTLf6L 2 6iTem geueurm OSTGUUIRID @yewiL D
QEBHIM OUB (PHMBW ReVHHHIHIE eUiHED BB AHBHEH GHIMBEH
B|PbH CouswiBD. DIGHTEUD,

(10> -1=100-1=99

(9)°-1=81-1= 80

SIHIBUIT6V,

@8)*-1=64-1=63

21. Ueiteuid etemi QHTLfl6L (phHemSHUl Hlenevenuids Heulsb.
8 :24 = ?7: 32

allewL : 6

ellenésd :

CarhsalulL OaHTLfled 2 6iten QBTGSeI (WPHMGSW Blenevenwlll G
QrewiLmd L HFHlev 2 _siten HalGHHal QevdbbmiBmen GCLHBD Couewi(BlD. DISHTeUFI,
2*4=38

SIHICUmev,

3*2=6

22. Usiieumd Blemeoulsd SIBSHSH QUGB Hlenevenuld HTewIsb.
QIOK : MMKO :: YAWC : ?

alemL : UESG

ellenésd :

CasTGsasIU L Hameoulsd @mbaH BSHS Benevenwill GUB @ataTm CHTEGLILIID
@BMBLLNL. 6TIRHHMe Yhislev SiE] auflengulled BTG 61(1DSHHIHSH6NT
erGemaaluid, QUL enLLILenL 61(ISHHN6 [BT6iIE 6I(DSHHIBH6IT (Lp6iTBerTeaIu|Lb
(105 IBSHS BHlensoullenaill GLIBEVTD. DISTEUSI,

Q-4=M
|-4=M

0-4=K
K-4=0

23. Uemeupd Blemeouled DiBSHEHI 6UMBLD 6TERIENEmMIS HIGwISH.
14 : 9 = 26 : ?

allewL : 15

leNGHLID :



https://www.facebook.com/nithra.solutions
http://tnpscexams.guide/
https://goo.gl/PvICkX

CarT@sslulL auflngulled @BemBLLML QeVoHHHIGH6MN60 QUMD 6T6mIH6T DIBHDI
QMBS ecTewienem SQIeRILTed CUMHBSE), BHTaSmen DHNWmbEH HPdHD
SHMLLIUSTGWD. DIHTeUSH

14 =(2x9-4)

26 =(2x 15-4)

24. Uereu@d Hleweouled SIBGSHSHI QUG BlN6VMUIS SIS,
MO :1315:: HJ:?

alemL : 8 10
olleN&BHID :

CBTBHSBLILLL 6TeRIEH6T (PHMSW Blemevulled 2 616N 61(IpSHHIBH6IM YHISEL DB
aflmguiet GLioglilemards GnBsIDH. PH6 HJI o @Liogdling 8 10 @ib.

25. Ueiteud Hlemeoulled SIBHH UMD HlnevenUids SHTewIdb.
123 : 13* = 235 : ?

olemL : 25°

ellenésd :

@BemplUmL L 560 eI Gevdsnidseflsd HHG UMD He0HEHIOTEIH], (LPH6EV
BBID QIRILTD RevbsHHmensF CFidbd IH6n SBHBHTH 61105 CouswiBLD.
BTG, 123 = 13

SIHIBLIT6V,

235 =25°

26. Ueiieumid Hemeouled DB HEH UMD 6TEwTEN6wISH  HiT6wIH.
3:12 =5 :7?

alemL : 30

allen&asLD :

CaThsalILUl L elemr auflngFuled DIBHS 6lewINEMIS BT (LPHESGHUI  6T6wT6501 631
QUTHEBID HWIBH Db 6IINN DHMIL T Fnl l9dh OGBTeiTen CouewiBLD. DiFHTUSI,
3 +3=9+3=12

(5)>+5=25+5=30
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27. P aeiiuengd gl L6d (+) etemieyd, Q er6iiLengd HPHH60 (-) etamayd, R ereiueng
QumBHed ( * ) etameyd, S el6iLMS UGHHL ( / ) elaiayd SRMHHSHT6L
2P4Q6R8S1R3Q5P7 ereiiugein wdlienUds SHT6emidbs.

allewL : - 136

ellenésd :

Carhsaiul L GBluiBsanstll LW6ILGSHS SenLLiLgl,
2+4-6*8/1*3-5+7

BODMAS efgulleir Lig,

WH6L QGHHHNID, SBHBH CLHEBNID, DIBHSH Fnl LD, SDIHUWITS
BN HHMOUWID Fidd GeuswiBLD.
=2+4-6*8*3-5+7

=2+4-144-5+7

=6-149+7

=13 - 149

=-136

28. Ueiteupld QFHTLfl6d D DIBHSDH 6T6MIN6WIDH HTEIb.
144 : 10 = 169 : ?

allemL : 11

ellenésd :

CarT@sslulL BT alfulL QLo i Wiss Ceuiw (phendul elesiemfler
T SBAPLHSnads HIB AHMHH 2 Wb HWPHs CouswiB. iHTeUd,
=144 -2

=12-2

=10

SIFICUm6L,

=169 - 2

=13-2

=11

29. Ueireumd OHTLfl6d umD DIBHS 6CIRINEMS HTTIb.
1, 3, 4, 8, 15, 27, ?

allewL : 50

allendbsLD
Carhsaul L OHTLfléd DBHS slemienemil OUB DSHBEG (WHMSW (PGB
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oTemIBemeN Jal L Couewi(BD. SDiSHTEUS,

1 +3+4=28
3+4+8=15
SIHIBUIT6V,

8 +15+27=50

30. Ueteu@md QHTLf60 DiBHH MBULL  6T6wHIenemId HTEwIS.
2, 3, 3, 5 10, 13, ?, 43, 172, 177

allewL : 39

ellenésd :

CarT@eslulL OBTLed @bemplumL SL S0 UMD 61emIBEHL 60T GHulsd
GTENIBEM6N SIHBFHH euewiend Fnl L BGoueii(Gld. QUL enLLiLenL. SL_HFH6L QIpLD
GTEMIBETHL AT BUI6L 6IewIGBmeNLl QLHEBD Ceouemr(BLD.

@BempLUmL LI :

2+1=3

3+2=5

10+3= 13
SrlenLluenL. @i :
3*1=3

5*2=10

13*3 = 39

ellBUL_L eTewt = 39

31. Ueteu@md QHTL60 DiBHH MBULL  6TemTenemId HT6wIH.
6, 12, 21, ?, 48

allenL : 33

allen&sD :

CaTLyTengl 3 &1 QUmSSBUVGIE6T 6 IBHH OHTLES DBHHBHS 60T 6T
Gl L OBHD 66wl HLHG. DiFTaugk, +6, +9, +12, +15, +18.

6+6=12;12+9=21;21+12=33;33+15= 48
56 allBuLL eremr = 33
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32. Gasm@ssUULL OFHTLfle0 eu@d eMBLLL  6l6wTen6wms SHT6wldb.
864, 432, 440, 7, 228, 114, 122, 61

allemL : 220
olleN&BHID :

CarThsalul L OHTLfled 2 6iten 6lamienem (LPHeVI6L 2 6L QUGHHD
CouewiBLD. SIBHH DISDILH 8 P0H Tl L Beuswii(BLD. DIGHTUSI,

864 /| 2= 432
432 + 8 = 440
SIHIBLIT6V,
440/ 2 = 220

33. Ueteu@md OHTLf60 DIBSHSHI UHLD 6T6RIENENID BTGNS,
25 : 37 =2 49 : ?

allewL : 65

allenébsID :

(PH60 eTeWIGRAEN GUTHHAPSHMS HMWI([H DSDIL T PBMBS Gl iy SIHBEG 6UTHBLD
WM DHDIL AT PBMOBH Gl L Ceuswi(Bd. DiGHToUS,

25 =(5+1)°+1=36+1=37

49=(7+1)*’+1=64+1= 65

34. eiteumd OHTLfl6d eumLD SIBHSDH 6T6MINEMID HIT6wIb.
10 : 99 :: 9 : ?

allemL : 80

ellenésd :

Carhssul L OsHTLfled alBulL @ SHmFL UisHs O6Fuiul (Lphendul 6T6uremt 6
AUTGEHD HIB ST 1 & HPHH60 CeusHiBLD. DIHTEUSI,

(10)*-1=100 -1 = 99

(9)>-1=81-1= 80

35. Uereu@md OFHTLfls0 ellBUL L 6lemienemid 6.
3, 15, 2, 63, 99, 143

allem_ : 35
Carhssul L OHTLfled DIBHS slemienemill GLB RIL enLLILIEHL  6I60IHEhHE)

smr';a'saub &SI SN 1 B HPHH0 Couemi(BLD. DIGHTEUS,
2°-1)=3
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(4°-1)= 15
SIHIBUT60
(6°-1)= 35

36. Ueeu@d OFmiameriisd Coumpl L. QFTeLem6vH HTERIS.
(o) wilwurengwren (<) uswiey () Fealed (F) GrienLowiTe

allewL : (@) Falev

ellenésd :
falled Hally SimaSHHID el Ruisdl] OFBTLILTIN Y GLD.

37. Ueteu@md QFHTLIfl60 6UHD DIBHHSD 6I6NIenewId HTGHIH
1, 9, 25, 49, 81, ?

allemL : 121

alendasld : SIBHHBHSH UMD @HBMBLILIGHL  6I6WIEN6wT GUTHBD HT6w BFHemeuulmer
6T60T  BleNL_& GLD. SISHTUSI,

(1)2=1

(3)°=9

(5)% = 25

SIHIBLIT6V,

(11)% = 121

38. Ueiteu@md QHTLIfl60 eMBLILL  clewienemids STeuldb.
3, 15, 7, 63, 99, 143

allemL : 35

allen&aID :

Carhssul L OHTL6d 2 6iten @aIGUT®H 6TeNIgmID ST ML LILIEDL  6lemISemTen 2
R0 QG OHTLMIF DFHBG idHD MG LIBE SiHmHH 1 - ow siflds
SML_BGD. DISHTOUS,

(2*-1=4-1=3

(4?-1=16-1= 15

S15IGum6v,

(6)°-1=36-1= 35

39. Ueiteumld eremiQBHTLemyLll WisHad OFuis.
48, 24, 96, 48, 192, ?

allewL : 96
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allenébaLd :

CaTBHBULLL 6TenidHerls0 menBLLML L SHH60 UHLD 6THIHMENT 2 P60 6UGHDHD
IBSHS 6wl HMLHGW. 9i6FH CGumev, QULenL L SLHH6L QUHLD 6cleiensr 4
Y0 CUMmBES SDIBDHD 6160 HMLHGLD. DIBHTEUSH,

4812 =24;,24*4=96;96/2=48;48*4=192,;192/2 =96

40. Ueireugpd OHTLMIL LiSHE OFuis.
K/T:11/20 :: J/IR : ?

ellewL : 10/18

ellenéaHID :

Car@sasiur L OsTLfleo K/T eeiug ymidley sy auflmsuisd Sigenr @Logiy
11/20 gew. 9im6urew, J/R aemg ynide 57 aiflngullsd SiHer S 10
10 /18 &b. 566, GHTLFed efGur Lenen 10/18 si@ib.

41. deiteugd OHTLMIL UiSHa OQFuism.
68 : 130 = ? : 350

allemL : 222

ellenésd :

CaT@esIULL OBHTLF6L 2 _6iTem ¢euleuT(h 6IeIgmID HTeSemba CHTLMhIS)
@elCeuTm eTemieMBGL Hed HewiBUpSHSH ML SGWD elenL ULl Db
cTemTenemids gl L GouewiBD. SIHTEUS,

(4)°+4=64+4=68

(5)®+5=125+5 =130

(6)>+6 =216 + 6 =222

(7)% + 7 = 343 +7 = 350

allBULL 6Tewt 222 S GLD.

42. Jeiroumd 61hg oclemrenimeidl OETHHSILIL L OHTLFle0 QUTHHSTHSH 616dH
smemis. 1, 8, 27, 64, 125,...7

) 256 &) 512 @) 729 )1000

allemL : 256

allenéaID :

OaTLfl6d CBTBHSLILLL 6clemIEH6T DIMAHHID OHTLT Huied eTewiberlen &b
STeml SMLLLSTGWD. U566, 256 e1aiiLigh OHTLFleL CBTHSHSLILLL  6160I1HEHHSE
QUITHHSHHTGLD.
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43. deiteupd OHTLMIL iS5 OQFuism.
13, 32, 24, 43, 35, ?, 46, 65, 57, 76

allemL : 54

ellenésd :

@BenplUmL WBDID @I enLlIumL. QL HH60 UMD DienaishdHl elemisehL 6 11
MWS Sl L FSMLSGD el wnais DbdHS @DeOBLUML LOBHID Sl enL LILenL
BLSHI6L QI QeVHEBHIBEHEHEG MENLITGD. DISHTEUS,
PDEMDBLILIDL :

13, 24, 35, 46, 57

@ enLlLenL :

32, 43, 54, 65, 76

5661, elBULL 616w 54 HGID.

44. Jeiieumd OHTLFl6L SDIBHSH QUHLD 6IIMENID  HIT6uIH.
13, 35, 57, 79, 911, ?

ellenL : 1113

allenébsID :

CaT@asluUl L OBHTLf6L 2 6iTem geleuTh 6lemigmid DIBHSBHH UMD SIewi®
@BemBLLL  TeniBenenF CFidhdl 611QBHIUBTL HlMLHGID. DISTOUHI,
PMEMDBLILIENL.  6T6RIH6IT

1 wBmpid 3 = 13

3 wmmib 5 = 35
5 wBmpb 7 = 57
7 oB@io 9 = 79
9 wBmp 11 = 911
SIHIBUIT6V,

11 wigw 13 = 1113

45. Jeiroumd GOHTLFl60 SIBHSH QULD 6T60IEN60IH  HTEHIS.
66, 36, 18, ?

alenL : 8

allenéaID :

Carhsaul L OHTLfled DIBHH UMD 6lewisemenll GLB (LPHMSHUI 616w
CaTeULlled 2 citen Qpewi® slemidemenU|d CLmBS Gouswi(BLD. DIHTEUSHI,
6*6=36;3*6= 18

3185 Bumev,

1*8=18
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46. eiteupd GOHTLIfl6L 21 6ugHl 6lewTeMITS UHOUMBEH BHTCWID.
3, 9, 15, ...

allemL : 123

ellenébaHID :

CaT@aslIUlL OBHTLf6L 2 6iTem geleuT[h 6TeNIgmIL DI 6 Mwd Fml L SBHD
cTeRTeMITaNGl HemLb@GID. eleBeal, QFHmTLJmegk Arithmetic Progression ereiims
SIMIDLILN60 2_6iTengl.

Arithmetic Progression wug,

a=3,r=e.

A56e1, 21 eugl etewr =a+ (21-1)d

—a+20d=3+20*6 = 123.

47. Jeieumd OHTLFled DIBHSH LD 6I60IEN6NIH HTEwIS5.
28, 33, 31, 36, ?, 39

allemL : 34

allenébaHID :

CarT@eslulL OHTLL SIBHSH UMD 6IwIEMmeNLl CLUB giemplUmL L SHaled
© 616N 6IGMIBEHLET S5 enWd Fnl Lajb, @I enL LIl L HJH60 6UHLD 6163185 EThL 6T
2 emwd BPGsaD GFuIu GeaiewmiBlD. DIBHTOIS,

Q@MBEMBLILIENL :

28 +5 =233

31+5= 36

QUL enLLiLenL :

33-2=31

36-2= 34

al@uULL ertem1 34

48. eireu@mld OHTLfl60 SDIBHSHI UMD 6TERIN6EMS  SHT6wISH.
1, 27, 125, 343, 729, ?

alemL : 1331

allenéaID :

CaTLfled 2 eiten elemideil DBHHHBHH UMD @PDENMBLILIENL  6TRISHEI6N  &HEUILD
STEMILIST6L SHleNLLILISTESLD.

1°=1; 3% = 27; 5° = 125; 7°= 343; 9°= 729; 11° = 1331.

Ul L etewr — 1331
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49. 10, 17, 24, 31, 38.....
Ueiteud 6lbdH 6temnt OamBaHalUl L. OHTL LT CHTL L Wgh?
S) 48 &) 346 @) 574 w) 1003

allemL : 346

allenébaHID :

CarThsalUlL OHTLfled 2 6ol DN I 6INIBMENU|D 7 6D 6IGHHGSOUTSHI
BHUTRIGH 3 SMLBEGID IMBUIED DIMDBHSHIGTNSH. Disilalnsuled 346 6I6Im
eTewtonell O BB 7 S6v auGHGD Gurgkl 168 3 g S dbsll GILBEVTID.

50. Ueiteuapld OHTLIfl60 DIBHSH QLD 6T6RIEN6WID HTEWIS5.
6, 17, 39, 72, ?

allemL : 116

ellenéaHID :

CarT@asluUlL OBHTLf6L 2 6iem geueuT( eleigmi gid 11 - 6
QumEBEBLVMNS Tl L SIBSHHBHD elemienemill GLBELTID. DIGHTeUSHI,
6+11=17

17 +22 =39
39+33=72
72 + 44 = 116

elBuULL etewt = 116

51. Ueiteuapd OHTLIfl60 DIBHSHI QLD 6T6RIEN6WID HTEwIS.
240, ?, 120, 40, 10, 2

allemL : 240

allenéasLD :

Carhssul L OHTLfled 2 siten @elGeuT® 6TevrsmnedlBhbe @emlembal
URQLILQUITE SIBHHBHS TR UGHD DIBHIHIGTEN 6160l HML_HGD. DISHTUSI,
240 +1 =240

240 +2 =120

120 +3 =40

40 +4 =10

10+5= 2

allBuULL etewr = 240
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52. Ueiteu@pld OHTLIfl60 eMlBULL  6lemienemids SHTeuldb
3, 15, 7, 63, 99, 143

allemL: 35

allenébaHID :

Carhsalul L OaHTLfled QL enL Ll eclewienfllel elibHD HIB SIS 1 &
&|0bH CalewiBLD. SIHTaUSI,

(2°-1)=4-1=3

(4°-1)=16-1= 15

a%j(‘surre\),

(6°-1)=36-1= 35

53. QaM@sasUIUL L QHTLH60 D BLILL  6Tewmenemis HT6wIdH
664, 332, 340, 170, ? , 89

ellen : 178

ellenébsID :

CaT@easIUlL OBHTLf6L 2 _6iTem elemienem (PHeVleL 2 v auGHHS GouewiBLb.
SIBSBH DHWIL6T 8 ;G Fnl L CouswiBLD.DISHTUSI,

664 /2=332;332+8=340;340/2=170

SIHIBLIT6V,

170 + 8 = 178

54. SpéaTapid ST albdlwunFiores Smius 61g?

o) Mumbai &) Cochin @) Mysore ®) Vishakhapatnam

alenL : &) Mysore

ellenbsID :

Mysore seally 1oBp SnAISHSHID SLBIS6TlID HINBLPBBHIBET 2 _6iT6Te.

55. Ueireumld OHTLfl6D eu®D DIBHSH 6T60IN6mIS SHT6wIb.
1, 8, 27, 64, 125,.....7

alemL : 216

allendbslD

OaTLfl6d eum DBHS sleminemid ST OHTLT GHuicd elemrdHerlel &I &iTeur
Coueuir(BLD. DIHTUSI,

(1)’=1

(2)’=8

(3)°= 27
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SIHIBUIT6V,
(6)° = 216

56. QHETBHBUULL OHTLF60 eM(BLLL  6TemIeNeNId HTwIH.
5824, 5242, ?, 4247, 3823

allemL : 4718

ellenésd :

(PSH6L 6CTERIGITEN 5824 2 L 60T IIGH6H (PHev 3 @evdd cleviemimedl 582 &7 HPldBdH
SIBHS 6l6W HMLHGD. DIBHToUHI,

5824 - 582 = 5242

5242 - 524 = 4718

eTeGeu el(BULL eT6wr 4718 <Y GID.

57.06ieupd OHTLFl6L aumpD DIBHSH 6lewTenewmis HT6wIb.
4 :18 == 6 : ?

elenL : 38

ellenésd :

CarT@ésiulL OHTLfed alGulL @ GHmel Wisd CFuiwl (Lphendul 6166wt e
QUTHEBD HWIB DIHDMIL 6T 2 8 Fnl L Ceuewi®Ld.

SIHTeUD,

(4°+2=16+2=18

(6)>+2=36+2=238

58. QaMBsaIULL QFTBHefled alBuUl L GCFTELM6VH HTEwIS.
ufled: @PbHwimr :: &Jig: ?

el : Jwm
allenéasD :

wuled @hslwmelenr CGxw LUBensy Y. RCHBUTEL, &g Fadwmele GHdlw
leVmIG Y GLD.
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59.06i6upd GFTBHeMe0 Coupil L. OFTe0LEMeVD HTENIH.
(o) Cxulemev (&) plUT () gevdbaTul (F) &H6RT6RITLOL

ellewL. : FieuIemIMLDL

elleNébaBID :
giewiewimibl] SHefly Siemendh b uuliseilsd QmbaH HlenL &l e

60. Usiteu@mld OBHTLMY LiHd OCFuis?
NATION : ANTINO :: HUNGRY : ?

allewL: UHNGYR

ellendaLD:

NATION er6ip QFmevedled (pHev LoBEID HLd SIewiB 61(1QHHIHSH6IT LTS
ANTINO ez Qamed 2 _@meuruimp. Siewsil Gumev,

HUNGRY — UHNGYR

61. 589654237, 89654237, 8965423, 965423, ?
allenL: 96542

alleNdabLD:

CaT@HsLILL[BHeiTen 6l6wr auflenguled, 589654237 6I6iIB 6T6MI6NI60 (PH6L H6VHHHMD
LG alBGHH QeRILTD 66wt HenLHHH. D6H Gumed @yewiLmb erewremnilsd
smLE QovdsaHmd NNBHH SIBHS 6lew 2 meuruiBpl. PMBWTE, DIBHSH 6I6wl
96542 6IGHIMB 616MI 2 _(HEUTENGI.

62. Ueieumeusmoummled eNBLIL  elewienemt LiTdHg OCFuls.
2, 3, 3, 5 10, 13, 2, 43, 172, 177

alenL: 39

allen&aLD:

Carhssul L OHTLfed DIBHS elemienemill LB @benmlLmL @ Hgled 2 et
eTeRIGIL 631 QHTLT @Quisd 6Teviienssl Fnl L DIBHS 6wt SMLHGL. BCsHCLme,
QrienLuenL. @ HHe0 2 eiten eTWIEIL 651 QOHTLT Suied elewrenemill GLIHHS
SIBHS 616w SN HGLD. ST,

@BMBLILmML L HIH6L 2 _6iT6N  6l6w0T:

2, 3, 10, 39, 172

2+1=3

3+2=35
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QrLenLliuenL. S HH60 266N  6T6m:
3, 5, 13, 43, 177

3*1=3
5*2=10
13*3 =39

63. QaMBsEIULL QFmBHeiled Caupul L GFTELMEVE HTEWIS.
(o) suiir (&) GeussiiGemul (&) etewiGewrul (F) Guomi

allenL : eTemrGeuwIul

ellenéaBID :
oTeTOemiul Hally SMmAHHID LTedls0 bk OUBLILGL CUTEHL ST GLD.

64. QaMBHEIULL QFmhseiled Caupul L GFTELMEVE HTEWIS.
HIHOUBIBET : BAHBHBIGBET = 7 : 1Ol6I&H60LD

allewL : 1oleiTeumTuiey
ellendaID :

BMhHHHBEG M HiHaukisen SmliLmSLiGLTey Weisendhama@ (battery) &m
Wetauruilevassit (terminal) o_gitemen.

65. Usiieumid OBHTLIfled 2_6iT6M HOUMIEN 6TGHINENID  HIT WD,
5, 15, 30, 135, 405, 1215, 3645

allemL : 30
oGS :

CarT@esIUlL OBHTLf6L 2 _6iTem geuleuTh 6leiamIL @ID 3 & OUHmBGNSH6T (LP6VLD
SIBHD eTemIeneNILl CLBEVLTLD. DIGHTeUSI,

5x3=15
15x3 =45
45 x 3 =135

B0 CETBHSIULL. OFHTLfleD o 6iem Hoummen elewi 30 Y ELD.

66. Gar@ssiul L CFmBseflsd alBulL CFTeLensvd HTERIS.
OTHTH: Heweveud : QFUIHGHHTeT : ?

allenL : Fflwir

allenébaslD :
LTHTRS6M6L HensvenoaudlliLieui Hemeveui DHICLITED CFUILHSHSHT6ITES M6
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2 _(HEUTHG6USHIE0 HMevenld OUITEBILILjeusILeuT yFfluir e,

67. Usiieu@mld GFmBoHefled Goumpl L OCFTeLensvd HTENWIS.
(o) wamev () umby (@) e péalell (F) Level

allenL : Geul_Bbasler

ellenésd :
Cau’_Badlel Hallf SIMAMHHID 26U UMBMUI FTTHHEN6N GLD.

68. QHETBHSBILLL OFHTLHl60 eM(BLL L  6TemIenenId HTEIH.
240, ?, 120, 40, 10, 2

allemL : 240

ellenésd :

CaTLfled alBuUlL L HmP Widd CFuiwl OBTHHBILULL eeuiensdl QBTLE Euled
6T6mT UGLILIGHEN epevlD GLIB6EVTID. SISTaUS,

240/ 1 =240

240/ 2 =120

560 alluULL el 240 YGSID.

69. CaT@EsIULL OBHTLH6L DBHHI UMD 6I6NIeNemISH SIS
7, 26, 63, 124, 215, 342, ?

allemL : 511

ellenésd :

OaTLfl6d SDIBHSH elemiencmid STl ERUIeO 6lewIBeNen HewdD HWIH DSH@ILT 1 &
B0 HH60 CeuewIBLD. SIHTOUSI,

(2°-1)=8-1=7

(3°-1)=27-1=26

3185 BumeL,

(8°-1)=512-1=511

70. &6 GaThsslULL CFTmeeisd Geoupl L OFTeOMEVE HTEwIS.
(o) YeveummiGlpsd (&) aSlLmi (&) FHsni (F) euwedledr

allenL : L6L6VTHRIGLO6D

allenébaslD :
LeLEUMTRIGI60 SHallf SimerHEHID S aurshGHlul smelsst Q@EL.

71. GaT@ésUIULL OBHTLF6L DIBHSH UMD CTERTENEWIS HTUID.
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12, 48, 108, 192, 300, ?
allemL : 432

allenébaLd :

OaTL0 DIBHS eTenienemids Hmewmr ST DL LIHL.  6lewIemiel 6uidhaD H6wiD
SISDIL6IT 3 & OUMmBGHNUBHH (LP6OD HleNL HGLD. DIBHTOUS,
(2°*3=4*3=12

(4)°*3=16*3 = 48

3185 6umeL,

(12)>*3 =144 * 3 = 432

72. Usiteu@pld OHTLfle0 eMlBULL  6TamTenemids SHT6uIdb.
5, 17, ?, 65, 101, 145

allewL : 37

ellenésd :

CaT@asIULL OBTLf6L 2 6iTem gealeuT[h eTewigmild ST DL LILIENL. 6IewIH6ITer 2
860 QWhH OHTLEIS SIHBEG aidsd Sl LIBGg NmbH 1 - el dal L
BMLBGID. DIBHTEUDI,

(2°+1=4+1=5

(4P +1=16+1= 17

SIHIBUIT6V,

(6)°+1=36+1= 37

73. Usiieu@mld OHTLMY LiHd OCFuis.
BYCK : DWEV :: FUGT : ?

allemL : HSIR

allenéasLD :

@60t OBHTGLILNL 2 6iTem (PGH60 LOBEHID CPSIBILD GIIDSHHISHET YHISDL DB
auflenguled QeI 61HHIHH6N (PTCaMTHSIWD, SFEWILTD LOBBDID [HITGIHTLD
T(DSHHIHBHET QremiB 61(1pHHIHH6T LaiBamesslud CFsve BHS OSHTEGLLTIS]
BB G LD.

74. Ueiieumd @enemis@Gl QuTmsbSoner Hensmienwld CoHibosHBaHS.

Qgsvmer : 2 uflyemieluied

(o) uFdsen : &FfAulwed (&) YuwpsdseT : upensuuiwed (&) Cwruise :

2 Lellwed (F) Habden : Denolilwied

allenL : (o) yFfsein : YFFlulwed
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ellenBsLD :
CFevmerilel yule) 2 ulygmiediuicd eIaipl DMPHBLILGSIBSHI.
SIBx0umed, wFFmeaien <uiey WFFUIWeEL 6160IH DAMPHSLILGH MBS

75. Ueiieumo OBHTLfle0 DIBHSH UHLD 6I60IEN6NIDH BHTEwID5.
3, 7, 15, 31, 63, ?

allewL : 127
olleN&GHID :

CarT@aslUlL OBHTLf6L 2 6iTem gelQeuT(h 6laiensmIL|D 2 460 OQUmEBs 1 &
Gal_BoUSHT pevld SIBHD elewTenemill GILBELTLD. DIGHTEUSHI,

B *2)+1=7
(7*2)+1=15
SIHIBUIT6V,

63 *2) +1=127

76. S&aTaEmId BTG albSwunFiores Smiuds 61%?
(o) gFur (o) siromsmnesm (R)iflésr (F) ergGredluim

L : () SITOs6iTeeT
elleNb&ID :

CaTHoHBLILLL mausbelfled DTO6ieam HelJ BB DIENANHHID SHEILBIH6IT. DENTEV
SITOyeinesiimT @@ BTG UGLD.

77. Qurpsswranensd Csiey OGFUILIOLD.
W : Uhsrhasl : : (wpHEH : ?
Sl) &L6L &) bHMH ) Cuewt F) YLFEwILD

allewl : F) SLITENILD
allen&sLD :

LEE6T CFibEH UHOETHH UFBEH. AHCUTED (PSHHISH6T CFiHHI QLIFERILD
QYBBS!.
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Logical Reasoning Questions & Answers

1. m Ouewienem FhHU HFLIRHHTLIY, Reusit elenigl SuTellen ¢Cr F@asmaHiflulled
D& Youmeil. HHCe FHHUT SILIUT DbFH OLewTNIBG 6T6ilen 2_mey?

eollenL : LMo

ellenésd :
Souewt Fhallen sumelenr FCsmHflulle &6, YmBWITED, DILIGLIGHTENBE
Fh UL SIIUT OTOT 2 _B6)] YGLD.

2. Uehteu@ld QTLenyll LidHd GCFuis.

LKJ : pon :: ? : hgf
eflew. : DCB

ellenésd :

CarT@sslulL BT SIBs5d sT@Llmenl Gup Whmsdw CHTGULIe
nsley o) alflmsulsig, BTG 6RSHSHIHH6T (PaCambsaslF OFsven Ceusmi(BLb.
SIHTUGI,

L+4=p;K+4=0;J+4=n

SIHIBUIT6V,

D+4=h;C+4=q9;B+4=H1

alu’ L GsTEly = DCB

3. U eteiugl GQoml BL6i OFHTLIALeNL WG 616060, LIPID 6T6ITLIGHI 6THEDIL 60T
OaTLienLwigHl?

o)) aleng @) Wb @)Y F) S

allenL : L

allen&asLD :

U, ereiugl Gomledmha 2 HmauTaBEHl. SiGH6uTev@eu, LD 6reTLZI LY

eTiLIB MBS 2 [HUTSBSI.

4. A Wi waseir B ereiiueuir C enw Fmwewid QFuig OQsmenasipri. C uler
shimawrenr D eeeui E enw gmwenid QFuig Osmenadpri. E ereiiueur B uller
FCanpyeii yeuri. &G, D eretiiout A &G erehion QBT Y &GLD?
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allewL : LO(HLOGGIT

allenédbaLd :

A Wierr waeiwssit B, E syeurizser. B ulenr wemewell C. E uleir wemenad D. C
wBpid D Ha6wni FCasrafleer. s D eeileui A &@ LOMHLOSH6IT SLEUTH.

5. Ueiteumeuseubmien QUThSHHOBHBI SmULNGD HT6HIS5.
9l) sulli &) GeusiGenil &) erewiGewiul F) Guomi

allenL : eTemrG\euwIUl
olleN&GHID :

eTewTOemenuIsh HaIJ DMEIGHHII CUTMH6THEHD LTelledmbad GUBLILIGLD
QuIr@L_senm@HLD.

6. @@ OueKienemIF &L IQHHM I @Mmeut, QbdH Ouewenie BT DiewTewTaN6 LD 6
oTeigl Loemenallulell HIDLT eumi el FapiBmTi. HHCel, SiHH CLIEHTIEDIHESLD
SIUMBGLD 66l 2_Mm6)?

allenL : MoaMHEBEG FCHTHIS

ellenésd :

awmauflel wemenalld@ S eeIBTen, aMmEE brother in law eeiB 2 Be)
GD. SCuewenflen Sievwiemicn L& JUMmBG brother in law eeiip 2 mey
UG, YMBWITeL, DILIGILIGTTENN6T Di6TTemIe DiUHBE LTI, PHB6 DI IGILIGHT
U] FL PSS dmplweuflen omoemmebd FCHTHF eumi.

7. Ueteumeusnoumiein Goumii B 2 _sitenengdd HewiBLILY.
3l) (Ppwed &) 6160 &) LLENET F)Di6mile0

allewL : LLene
allen&asD :
uenaienwlsd SHell SMHSHID CETHHHIMEmID RAHNHEF FTTHDHHI.

8. merledll eretiieui CamienwF & 9dbsmilg, BT ReumenLuwl HTHHTaller @Gy
LDSHEIMLUI LDH6T 6Ie0idh Smpllenmi. 566, HeoMal Camileg ereiienr 2 mey?

llenL : DIBHT DIELEVGHI HHIENS
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allenébaLD :
peiel Camilullehr Hrdhsralen @Gy HEIMLW LOSHEIT.
566, Berlal CHTUIHEG SIHBHT IGLVHI HHIND LU,

9.A,B,C,D,E,F, G wpgip H &8wmi e _&@ BCpréasl euflensuirs

S| THGIGITETEIT .

3l) A elaiueui E eraiiledmEB@ I60GILMBID BHTISTD BLFTUI 2 66T,

&) H eeiiueui D eraieumeb@ SLSIUMID BIEISTD HBUJFTUI 266,

®) C, F ga6wri @uauisd Revenev. B, E @ SimaEled @mliLeuismeir.

F) H esiueui A @ SIbHSH DLSHIBSHIH60 @mlueui wBpid A eeiueui B &g
SIHEBL QLI SLeuTi.

H5Ca1, auflmguien Gm (wgelebd SioihEH @liueui wimi?

elew : E, D

allenébsID :

waev GBludeg, A, E 6@ @emLuled apsiml bUTEH6IT 2 _6iTermeni.

EXXXA

Breismd GOy wg, H eeiueui A @ SIBdHSH BLFHIBHIevd, B ersiueur A
5@ MBS Gplieui. @Hme (PHEL GBI 6T 6115 SHlenLLILFI,
EXXHAB

@rewiLmd @Mfildeiug : EXXHAB XD

apaipmd Gniinfleng : EFGHABCD

560 auflngulsn Rm BmIuled SioibdH @miiueuisst E wobmio D e

10. eireupensuBmiein wr@Ll G SmULNSS HTEwIS.
9l) allTarsCsT Lend <) &liusGHIns &) ymst ) Cumbd BHeneowid

allenL : LBIST
allenébaslD :

yhisT SHelly BB mabHId LeBam CuTH@HH FTHAMISET BHBISHHILD
@LTEh. PHCe ymist 66 g worpul (G SmuUSTELD.
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11. oCags ereiiLeUT @ OUIMENF HLIQHHTLIY, RbH LRI 6lag DILTEI6
P61 wLEWMEG W6 Yauni. P56 Bbd OCUETIENIGEGL DINEC B 6
LomeTeNlB@LD  6T6ile 2_m6y?

allehL : SIDLOT

ellenésd :

IbS Oue SILCaneEEIBE WEH6T WBEPILD SNBSS HHMSHHG CusHFH euri.
b Oueit SILCaEHHIBE WE6T aaILSHTe, SINBaHS6 Wwenaalb@Gl DIICLIGHT
LD&B6IT Yauri. YHBer SIICUIIBEG INCagHaEle Wemeall SIDIOT 2_M6)] YELD.

12. i). 11 wremeuissit (wemmpBw A, B, C,D,E, F, G, H, |, J wmgib K <a@@wimi
SFfwenTll UTTHHTHI SIOTHSHIGIT6ITEI.

). D agiuenir F 6@ 2655516 LB, C &@ ale0HILBIOTS
QTEWILTOUSHTHEYLD 2_6iTeNTiT

). A eteiueui E &@ eueogplons SIeRiLTaISTEa|D LOBEHID @ LbsHdh) 6
Suisuieid 2 _eitemmi.

V). J eeieui A @b B @b e Buujb, G &@& GLIILBID pIBIaISHTHa|D
D _6IT6ITIT.

V). H egiiueui D &@ Sibssuguns SLOypun, | &@& eueoliysld
APBTOUSHTHEYLD D _6IT6ITIT.

ellenésd :

(PSH6L LBEID HIEIBTOUSTS CBTHHBILL L. HEHe606ILIILY,
E*AJB*G

SrewiLTeugl LBEID WHSHTUSTE CBHTHSSILLL  HH6Vl6ILILY,
ICHDF

Cupaewi. Rm ellendssmise LI,

EKAJBIGCHDF

e E6iT :

1. Esgb H @b @emLCw pHealsd oiwoibas @lieur wimi?

el : E @b H sa@b @ Bw gup Cui owibgisiteneni. euiserilsd HHEG6
miueui B.

2. E Welmba H & @Lddenend Srewis.
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oL : E Welmbgd H <yonigd SLLBLOTE SIDiHSEI6TeTIT.

3. @m ussnseier SmHuled @muueur wimi?
edlen. : E wompnb F

4. Ueiieumld OBHTGSUUBEMT | H@& DIBSHIUQUITS DIDITHSHI6TETONTHEM6IT  HITEwIb.
o) AJB &) GCH @) HDF ®) eigieyulsvenso
elen : GCH

5. B Wlelmba eueoliymid cpeiiBreusnds Sioibdl Sliueut wimi?
elen. : C

13. SpsaTapid OHTGLI allbSlunsors Smiug 61g?
o)) Aries &) Gemini @) Leo ®) Virus

elewL : #) Virus

ellenébsID :

Virus selly oemenssid @yrdlulen QUWITEsT Y. VIrus eleiug Gurulamid
UGLD.

14. Uereud eumidbengdaemnsit ' SCHOOLMASTERISH" aehiadm  eumi engulevieiterm
T(DHBHIHHMENS CBTEWI(H 2 HeUTHS (PIPUITEH CFTsv 61gI?

o)) MASTER &) HOUSE @) LOOM w) ROLE

elenL : &) HOUSE

allen&asLD :
Car@sasUULL auriHmsaenst HOUSE ee6ip eumideng Lol LD
SCHOOLMASTERISH ereidp eumidhengddefed QmbaH 2 HoUTdHs (LPIQUITS.

15. 351 eeiiugl "Students Like maths", 643 aeiug "We are Students”
wBEd 748 eteiiugl " They are parents” eefled "We" aeiugparen &lui® eigi?

allenL : 6

ellendbslD
Carhsalul L elett GBUIBH6eMeT @eICeUTH 6TERIEMID @TH UM HENHEMUISH
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GHBGID. BT l 351 60 3 eeiug Students emwuyb, 5 ereiug Like enwiuyi,
1 eteiug Maths emwwb GMILUG Gumew SmensHE OHTGULIID LflSHSHI
uribss We eaip eumibensHenwl 6 616B 611HSH SBISBGLD.

16. Ueiieumd OHTLmIL 1ILiHa QFuism.
Paper : Pen :: Blackboard :?
o)) Teacher &) Student @) Notebok &) Chalk

alewL : #) Chalk

ellenésd :
Paper asiiuglev eips Pen asiug BsHemaulieug Gumsd, Blackboard - 6v
eipd Chalk eeiug CoHeneuliuBLb.

17.A,B,C, X, Y wbgip Z @6wni ei_s@ Hewsulemenl urisbs eiflenaulsd
Slipgieieneni. Z ereieuflenr sueogIBD C eT6iiLiouT cpeIBITLD BHLTTS
Slipgleienmi wBpId B eeiiueui C &@ ale0HIBLD SUeWILTD BHUJTS
Slibgleieneni. X eeiLeui A @& DIBHH UOBILBSHIHEOL Db IeTenTi. HC6
etoumd allemebsend@ alenl welfldasa|lD.

Capemeuwien eufleng :

ZAXCYB

1. suflengufleit HBHBGou SioiHHI6T6N EMHEUMTDH BHTCUNSD.

alenL : X wmpp C
alendad : Q@ETGHSILLL auflngullsit L X, C o8l @meumG auflenau e
DI THSHIETETEUTHEIT LU

2. Zeowl Qurmissl X 61 QL GHFHenenr inflsb.

allel : eUELSHILBHHL RHHEH SyewrmolL_Ld

ellendsd : (PpHev 2 _pmiiunen Z emheH X UNH UOSHILBSHIHD BRI TeUSHTH
IMWHH 2 6itengl. PHGe, X 61 QLD Z 6 uevBHIBHH0 RHHS!
SrewiLmoL1b <G L.

3. Ueeumpd Qenemismeriled Coumi L Senemienuis STewisb.
a) ZA g) XC @) CY ®m) YB 2 )XA
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ellenL. : XA

ellenBsLD :

XA er6iiug OasmBoHELIULL Semenimeriled Couml (B STEwILILIGLD Sen6wrm@LD.
gOeeiipmey, XA Haily SimaIbHsH Qenemiselid 2 _6ilen SIERILTD 61(1DSHSTIH
W50 TWHHBG BSD TWSSTE QOSBILBL BEULSTGLD.

4. A sgb C s@b QL _Cu eHHamenm BLITH6IT DIDTHBIGTGNEINT 6160 HITEwIb.

allenL : gD
eflendasd : QErThdslUlL aflogullsd A g C @b @LBw X a6iB @
BuUi WG 2 _eitenmi. YHCeu, IBI 6THIUIZI 6llMLWITGLD.

5. A X 1oBpib Z: Aetafled Y : ? Gasiiallda@GBiuiLim L QLGFer elenLsnuid
SHITE01 .

alenL : B
allenébsID :
A: X opgib Z: A aeiug euflenguled SIBSHSBHHHI DioibSHIsiTemeu e e
SiMLIY Y&, SHIBume, Y 5@ SBHH Sioibd mliueui B oyeur.

18. @yewi® euflewameit wemp@w C, E, D, B, A (Guemissit) wmpmpip M, O, P, Q, N
(eMIEB6T) YBWeUBDIeT OLewiseT OHB@ CHTHEHUID, EWHIH6T I bHE
Ceradlud sioibleineneni. Gm euflenguilsd 2 _eitemeuiasEmd 6136 HE)y
SlwimhgleTenent. sHBeu Leaumd eflemesseEndsd ol welldbaalb.

1. O 5@ 6aUVGHILBHBEL APHIBTSHTS SIDTHSBI6TEmeUT WITT?

elen : N

allenéasD :

o6 auflnguisd O &@ euevGHILBLD cpeiipmd BUITE Slueui N e,

2. B asiiugy E uleir @LgFHevid, E ereiiug Q ealeni @Ls8lewbd, Q ereiiugy B
ufleir QL HHevid QL 10 worps Db CBTewieni. YHCau, O &@ 61856y
o eieNeNheHE& SLSHIBD QIR ISTS DIOTHSHLLIeUT wimi?
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allewL : Q
allenébaLd :
ysw euflens C, B, D, Q, A wipgw M, O, P, E, N. o456au, O &@ axk@y
o eiteneui B. gHeumed B 5@ SLFHIUBLD QrewiLeubrs SwibSmluei Q.

3. Ueiteu@id 6bg Cmamouimeng cpsmevail L G360 ardlOrsCr Sioibienenson?
a) EQ &)BO @) AN ) AM

alewL : AM
allenébasID :
AM eaeaiLBs cpensvalll LgHdle0 e1HCrHCr ioibHieien Gegmouim@ld.

4. O wpgp P, A wpgido E, B wpgid Q o&Cwmi shisend@st &L 1D omfld
CamewiLmed, OFHBE GBTHES SIS HLLGNTH6MND R (Ppeneismsriled
SIS BLILIGUTSET Wi ?

alenL : C wommpio E

allenébsID :

ydw euflens : Oepmd@ Cbréal uoipSlmiusut - C, A, D, Q, E wBpid e_&a
Crrdd ouoipFHmiueui - M, P, O, B, N. o566, Oam@ GCnrésd
SIihHmLLeuTHelled @M (Wwenenssiad @miueuisest C wBmid E <yeur.

5. Qar@asasiu’ L allemelle L, N e6LambE 61SHCT DioFhHHLILST wimi?

allenL : A
ellenésd :
Carhsalul L elemale L, N elamweamebsa@ aHCT SoibHwmluar A eIi.
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19. @ au@Luempuisd gup wrewied Lomewmieldst A, B,C, D, E, F, G s&CGumt
SlibgleTenent. Sjeuiser euflenFwns 2 eien apeim Usvens |, |, 11l uaweuinsedr
B olwipbgleinenen. geuteurm UsvenswWigild @GompheHd Drewi® Gui SiibH
@mUUT SIeTHEH6T euTTeaudl remellwrs @amuui. C eleiueui oTewel Sieul
A, E, D 4588wrmpés@ Simalsd sjgeilsbensv. @ mswieui B &@ Simalev
Sloipglenenmi. A Usvens | b SeImMLW HERILTHEHL T DipibHieienmi. G
eredLeNT Lievewd Il @60 onoibg isitenmi. E areiieui C &@ FCHIHI6 yueumi.
aTeniBou, Lleiiaumld eNlemebaendd olemL Wlerildbaa|l.

ellenébasID :

C ereirueui wmewiedl sjeui A, E, D @I8unmpesad Simasled Siogellsbensd. A Lsvens
| @60 DiUmMLU HEWILITHEDHL ST DO HHIGTENTT. DIGH6ILIQ (PFH6L Lievensuiled
SIIihG SHLIL6UT ST,

uevemas | : AED

@@ wreweui B &@& oimaled ooipgisitenti. 5660 B &@& imalsd Smliueud
@@ LTewiell YAUTT. G HEVT6D,

uevems Il . F B

E esiiuaui C &@ FCarmHyeit yeuni. C ereiueui womewelluing Shbdd FnBLD.
eT60IB6), DIUMHBE DML G(H Lomewieud L BOL oy ERUIGVID. DIGHIT6V,

usvemas Il 1 G C

@MWy

D, B, C g&8wmi wrewiel. 10BB SIeneiaUHLD LOTERIGUTH6T QeI

ellenmaaE6iT :

1. remreuiseflen GQuUwiisemensd GBULIBS.

el : AEFG

allen&asLD :

DBC <&6wrenyd Hally wopmeuisenten AEFG oua@uimi omewmieurset yeuf.

2. C wLeir ouwibad SLiueur wimi?
alem : G

allendbslD

C wLeir owipbgk Pmiueni G e,

3. 6lbg Lievemsullsd cpeuir DD HSEI6T6T 60T ?
elenL : uevens |
allenébsID :
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uevemad | 60 WL BOW apeur SiDIHGEI6TENGOT.

4. uevensds |l 60 SIOTHH SLILCUTHET WMi?
e : FB

elleNébaBID :

uevemas |l @ev Soibgk @amliueuiser F, B 6.

20. A eatiueui C ufleir wxser. C woppid Q wdlw @meumd FCsTH w6, Z
eredilient Q eileir oubor BEID P ereiiieui Z 6 wmeir. YHCeu, P eteiueni A
&G eoleietl 2 _36)?

eollenL : LMo

ellenésd :

A eeiiueui C ullelr wameir. Z etediueni Q efler ojbor o P ereiuent Z 6
&6, Heomed C ompid Q alul meumd FCsTHfl®ei WBEID Seuismereir
F@xrgyen P elaiupTed Sjeuir A &G LOTIOT 2 M6 YGID.

21. A,BC,D,E, F ioigp G s@6uni eu_b@ GBTHd DIDITHSBIGT6IT6IT.
1. F esiueui E @ SIBSHSH 6U6OSBILMBID SIDTHSHI6TENTI.

2. E esiiuaui G &@ eue0GHIUBLD 401HTH IO THSIGTENITI.

3. Caeiiueui B wompnd D &@ BBHG Sioibgieieni.

4. D @ euevgIUBLD cpeiipeudTa Smliusui Qmpensimsilen @ (Lpeneuisd
SO THGIGTONTIT.

Copemeuwiren eufleng :
(PHL HEB6VIGILILY,
EF

SrewiLmD HHeuedleig,
G * % % E F

APSIBTD SHHeUESGILIY,
GBCDEF

BTEISTD HBHEUCVIEHILILG,
GBCDEFA
CarhsslUl L HHauelay Chemeuwmern euflens Lleoumory &TGHSLILL (B6T6ng.
GBCDEFA
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el H6IT :

1. C @ SLZIIUBLD LILeuTH6IT Wmi?

allewL : G, B

ellenBsLD :

C & QLaumbd Smeur WL GG SibgisTenen. euiser G, B euni.

2. D Welmba euevgHipBID cpSIBIaSHTE SMLLMHSE SLSHILUDBD APSIBeISHTS
@mlent wimi?

elew : D

ellenébasID :

D wielmbag eueogmimid cpsipreustes @miuei A. A uledmbs S SHILBLD
apeiimpeusTd Galiueui D Gui e,

3. B aemeuir wmi wn@mes@ QL Buw Sioibgienenmi?

elenL : G wmpip C

allenébsID :

B aeiiuaui G eeimambs@d C eeLamb@&GD R _Gul SIDihSBI6enTi.

4. A elsiiuaui SIDIHBH MBS B HHener GBILILIBSD.

alenL : auflengulleit sueLHILBID SMISWITS

ellenésd :

A eaeitueui euflengulleil eueOBHILMID RWSHUWITS DT HSHIETENTI.

22. UeiteumeueniouBmieil GOHT@GLILE6M60 DIBHSH UMD HlenevenUld SHTewIdb.
SHINE : VEMJJ :: XBQFO : ?

elen : AYUBT

allen&aID :

CaET@eEsLIULL OBHTGLILS6M6D 2 6iTem @6elOleuT[h BENDLILIHL.  61(IDHSTEIS]
SIBSSBS5D @BMBLILDL 6IRSMBL GLB AweilelBhsl PIBI POHIBTE PS5 bHD
IBHS (WRHSH HMLSGLD. DGHICUTE, euLeuTmH QTLenLLILINL  61(10HSHTHSHI
SBS5S05D QILeLlumL 6iWdHMSL OB waBlelmhd @B PaBTS

G BfHH DM QYhHw DBy euflengullsd LleiiBemeal e11psH BGouewi(BLD.
SIBHTEUG),

S+3=V

H-3=E
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l+4=M
N-4=J]
E+5=J

23. POUND ar6iip Qamevemev MLRKA e1eis @nfluiGassnmed @nldbamen,
ENGLISH er6iip Qamed etsiueutm @&GmldalLBD?

ellenL. : BKDIFPE

ellenéasID :

Car@sasuul L. POUND 6B QaFmedellevieion @elGeur 61(1p5H3Heneiujd cpeis
IS HIEH6N LaiBammedslF Gasver SBHH Beweowmsn MLRKA eae6iuensl Qb
(PQU|ID. DiBTEUSI,

P-3=M

Z CO

w W w
1
A 0

D-3=A
15I6ureo ENGLISH eeiugen @nfluis BKDIFPE <@ib.

24. UeisumeuanauBpieii DIBHS Henevenulds HTewlsb.
ES5, H8, K11, ?

allenL : B2

allenéasD :

@6lCeuTm Hlemeoulguid CETHSSILLL 61105 OMBID 6TRITRIH PHISD DS
auflengulsd 1l QLo nlenends GBHGWL. DSTouH, E uler ymdev sy
auflengulenr LIl 5. iH6uTev, alGULL Blewev B2.

25. A*E=C,H*L=J,P*T=R eaflsd0 J*(L*P) eaiiugen wgdlienLid
BHITEWTD.

allemL : L
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allenébaLd :

CaT@asUIULL geubeurm OSTGUUIID 2 6ien QIewiG 6I(PSHHIBHEHHEG RenL_Bw
2 66N 6I(ISHHIBHMEN 6110 DiFH60 BHHGC eumd 61IpHMBHBW ellenLwines UM
. Si&6urew, J* (L*P)=L*P &@ @mLBw o _siten erpdHmibsst L M N
OP.L*P @ alen. N. J*N &g @ Bw 2 _siten erpdhaibser J KL M N. J
*N et eflem L.

26. P ateiiieng dal L6 (+) aemefd, Q e6iLeng &HWPHHe0 (-) eamad, R ereueng
QumBHeL ( * ) elama)d, S e6LMS AGHH ( / ) elaaDd SMHbHT6L
2P4Q6R8S1R3Q5P7 earaiiugein glienLid SHT6ewids.

allewL : - 136

ellenéasID :

Carhsaiul L GBluiBsasnil LW6ILGSHS SenLLiLgl,
2+4-6*8/1*3-5+7

BODMAS efguller Lig,

W00 QGHHBHNID, SIBHHH CLMmBBNID, DBSHH Fnl LD, BpISwITs
B HHMmOWD BHidHs Geusmi(BLD.
=2+4-6*8*3-5+7

=2+4-144-5+7

=6-149+7

=13 -149

=-136

27. Jeiroud Qenemis@l QuTmSSwoTen Qeneuianwldh CHibosHBHS.
&HE0GHEVLILITES : LO[HIHLOT6T

3l) Geuemeveuruilieiten : Geuemevuleiiono <) U, : CILG &) OFSTHBFTENE0 :
oafluir #) WSPFSF : GILILD

allenL : Beuemeveumuilieitenm : GeusmevuleiienLo

ellenésd :

CaThsalILl L Qenenruled LObHSLOTE 6I6IILIGHI H6VHEVLILITG 616D 6\FTeL6V 601
THTEFCFTEL YGHW. DibH uemsulsd Geusnevulleiienio ereiiIg GeueneveuTuIliL|siTom
TIILSBE 6IHTT CFTEL Y GLD.
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